Eik7A

SANT CNC TOOLS

£Z5HIE I

The contact information of dealer

SANT RUERREE
www.hnsant.com

LSS ME TESBMES INS O

¥ 6102-8L02

OANT

HEVHEH TR
CNC CUTTING TOOLS

EXEREFH/GHI/ALMINR]/ITRRS

SANT PRECISION TOOL FOR TURNING / MILLING / DRILLING/TOOLING SYSTEMS

2018-2019E = mBIF
CATALOGUE 2018-2019

2018-2019hR

() FEMZXEI T RBRAHE

SANT zZHUZHOU SANT CUTTING TOOLS CO.,LTD.



tRIMZEILTIEITI R

ZHUZHOU SANT CUTTING

HRINZETEITI B

ZHUZHOU SANT CUTTING

SANT / A B]E 9T
INTRODUCTION

RNEAIRNEERATR—xREIiRt. HENEESENENERGESmNI . 28k
FHESARERSSEFEiL—thilN. AEBEE~RE: #eET]. #zwy]). FUINTIIA.
R TERERBZFEHRSSHm.

NEHAEBRARNRITER, #IdTISO001REERARIANLE; KAERPRSGHITEIVERIE
H; HEEEMAZAKRHEEESREENTH0 . ANCARMBIEREERIROERNSaEE=InT
REURSMHENEE; BERSEENIHONG-TECHNORIEATITERIISRINFHEEEYL 7h
ERER, LUAR "SANT" ZH-miYREREAT Tl imAeKF.

NERAESFNRITRHESENEMERG S RNER, EPAETFRESIEMTIE, e
NIERHEERINTAAFNNERELSZERZLERSEHm. A5FK "RESE—, REEL" 1Y
B, SetRrEEREY 7T RERITFNEE.

Zhuzhou Sant Cutting Tools Co., Ltd is a modern joint-stock company specializing in the
designing, producing and selling of CNC cutting tools and cemented carbide tools. Located in
Zhuzhou,one of the biggest manufacturing bases of cemented carbide cutting tools in China,our
company mainly produces various cnc turning tools, milling tools, drilling tools, cnc inserts, tooling
systems and various cemented carbide tools.

We have strong design team and complete quality-testing system and have passed the 1ISO9001
Certification of Quality Management System. Besides, ERP system is adopted to improve the efficient
and accurate management. More importantly, we have various kinds of processing equipment,
including MAZAK five-axis linkage high precision machining center, ANCA five-axis linkage high
precision grinding center.In order to make sure the quality of "SANT" series products always stands at
the front of the industry, we have established collaboration relationships with many outstanding
suppliers including NIHONG TECHNO - the heat treatment company.

With the experience of designing and manufacturing cnc cutting tools for many years, we can
provide customers with various non-standard tool holders,and can also provide a complete set of
supporting scheme for required tools during the processing as well as varies carbide tools. In
accordance with the principle"Quality First, Service Supreme", we have established long-term friendly
cooperation relationships with many customers all over the world.




FEamie

Proudut Preview

ARl E 5 ) B S5 88

ISO-INDEXABLE EXTERNAL TURNING TOOL CODE KEY

MZY SMNEZET]

M TYPE EXTERNAL TURNING TOOL HOLDERS

P! SMNRIZET]

P TYPE EXTERNAL TURNING TOOL HOLDERS

SE JMNREZET]

S TYPE EXTERNAL TURNING TOOL HOLDERS

CH! SMNRIZET]

C TYPE EXTERNAL TURNING TOOL HOLDERS

D! SN ZET]

D TYPE EXTERNAL TURNING TOOL HOLDERS

WH! SMRIZET]

W TYPE EXTERNAL TURNING TOOL HOLDERS

RNFLZETIBLI S

INTER TURNING TOOL HOLDER CODE KEY

ME F.5T]

M TYPE INTERNAL TURNING TOOL HOLDERS

PR NFLET]

P TYPE INTERNAL TURNING TOOL HOLDERS

SE RFL%FT]

S TYPE INTERNAL TURNING TOOL HOLDERS

SE) BETIMT

S TYPE INTERNAL TURNING TOOL HOLDERS

RN ETIEIS R

THREADING TOOL HOLDERS CODE KEY

MR ZET]

EXTERNAL THREADING TOOLS

RIRLZET)

INTERNAL THREADING TOOLS

YRrtIrE T B S BE

PARTING AND GROOVING HOLDERS CODE KEY

YIkrtrE T

PARTING GROOVING TURNING TOOLS

H=x(—)

CONTENTS

PO1~P06

PO7~P08

P09~P20

P21~P28

P29~P40

P41~P44

P45~P52

P53~P54

P55

P56~P63
P64~P66

P67~P76

P77~P79

P80

P81

P82

P83

P84~P95

A RAIBtHITIBE—EaR

INDEXABLE MILLING TOOLS OVER CIEW

RIE VA7 AR ELES

INDEXABLE MILLING TOOLS CODE KEY

AR B EIT] R as 2 AN

INDEXABLE MILLING TOOLS CODE KEY

ANt T B RS

INDEXABLE MILING TOOLS

[ AES]

FACE MILLING TOOLS

sl i= AR ]

S QUARE-SHOULDER MILLING TOOLS

i AR

PROFILE MILLING TOOLS

=ZHEADBTIRSY

SIDE AND FACE MILLING TOOLS

BB RS

CHAMFER MILLING TOOLS

K5iReRET) (KBS ) &5

HIGH FEED MILLING CUTTER

- AvA VREY )

HELICAL END FACE MILLING TOOLS

MEET]/=R%ETD

END MILL/FACE MILL

I iRl

INDEXABLE U DRILL

Hx(D)

CONTENTS

P96~P100

P101~P102

P103~P104

P105~P148

P149~P167

P168~P174

P175~P181

P182~P184

P185~P191

P192~P193

P194~P198

P199~P215



H=x(=)

CONTENTS

ZHIJIH | TURNING TOOLS

Bz E8FE%3 Top and hole clamping

; Ila%%;%fk?m P216~P221
ollet chuck arbors
= .
%&H P222 2:51:@%,\5“. Eﬁ*ﬂﬁflﬁ.\%iﬁi%@iﬁ. Top and hole clamping dualclamp.
Extension bar ReslgrianmTRe -RENRERTH ~ETHA. Great fastenering fastening force.
gﬁb%%%ﬂﬁ P223~P224 EH%FP@E% ' %fﬁﬁﬁjﬁao Indexable inserts, economy and durability.
Power milling chuck arbors
ME=R 74K P225~P227 MCBNR/L MCLNR/L MCKNR/L MDJNR/L
Side lock end mill chuck
BRI P228~P232 4
Shell end mill arbors
BREREGHR P233~P234
Morse taper with tang MSBNR/L MSRNR/L MSKNR/L
TR R AR P235~P236 , ‘ ‘ ﬂ
Morse taper without tang \
 =ETISETINE P237~P238
Tool shank for side milling cutter
MTGNR/L MTJNR/L [MTINRILB)
TERGH P239~P245 ’ d —
Tool system accessories
TERFERAER P246~P252
Tool system technical information
MTENN * MVJNR/L ' MVVNN i MVQNR/L
MVUNR/L * MRDNN q MRGNR ﬁ MWLNR/L q

in Pﬁ ﬂﬂﬁgi Hole clamping

PCBNR/L q

PCLNR/L w

PDJNR/L ﬂ

PDNNR/L q

PRDCN

THRAKEGFERIEHBETR FI51H M Ewww. hnsant.com

For more details please visit:www.hnsant.com




ZHIJIA | TURNING TOOLS

FEETISS Product Overvie

PRGCR/L

\
\

PSBNR/L

#H = 71 B

PSKNR/L 1

PTFNR/L

A
\

PTTNR/L

PTGNR/L

e

H S% R%TE%E% Screw on

PWLNR/L

PSSNR/L

#H = 71 B

[ | C% Eﬁﬁgﬂ Top clamping

ZHIJ1IH | TURNING TOOLS

oduct Overview =Tl

CCLNR/L

CTINR/L \

CTUNR/L

\

CSKNR/L \

CSDNN

AL

Design features

REBITEEEE. Using screw for direct clamping.
%*@ﬁ%ﬁﬂﬁ”}\ Simple structure,fewer parts.

B~ PINIA. Apply For Micro And Medium Processes.

SCACR/L

\
\

SCLCR/L

SDACR/L

SDJCR/L

SDNCN

\

SVJCR/L

\

SVJBR/

\

SVACR/L

SVVBN

\

SVVCN

\
\

STACR/L

\
\

SSBCR/L

SSKCR/L q

SSSCR/L

\

STTCR/L ﬂ

SWACR/L

\

SRACR/L

\

SRDCN

\

THRAGEFERIERB X #EEZEKMNiwww.hnsant.com

mw BEER Wedge clamping

CDJNR/L

CSRNR/L

WTQNR/L *

W DE EERN

WTENN \

W

TJINR/L

\|

WWLNR/L

Wedge clamping

DCLNR 1

DCBNR DCKNR

\
\

DDPNN q

DDQNR DSBNR

L
L}

DSDNN \

DWLNR q

THRAGEFBREBE X #EEERMNKEwww.hnsant.com

For more details please visit:www.hnsant.com

For more details please visit:www.hnsant.com



ZHIJ7IH | TURNING TOOLS

FEERTRS Product Overview

B &= 71 A

lj\] }Liﬂ Internal toolholders

[ | M% EQE%;‘& Top and hole clamping

MCKNR /L | MCLNR /L MDQNR/L MDUNR/L MDZNR/L
MSKNR/ L MVQNR/L MVUNR/L MVWNR/L MVXNR/L
—

MWLNR /L MTFNR/L MTQNR/L MTJNR/L MTUNR/L
MTWNR /L
!\o' \

[ | P% #IFH:EQ%;‘:Q Hole clamping

PCLNR/L PDSNR/L PDUNR/L PSKNR/L PTFNR/L

\

PWLNR/L

\

THRAKEFBEREHAE X #EEZEMNBwww.hnsant.com

#H = 71 B

[ | S# !',%%TEE%;‘:Q Screw on

Z#HlIJ712 | TURNING TOOLS
ey JNEIZETIRIEL SR

SCLCR/L

SCLCR/L-H \

SCKCR/L \

SCLPR/L \

SDQCR/L

\

SDUCR/L ‘ SI?ZCRH SDXCRIL \ SDWCR/L SSKCR/L 1
SSSCR/L ﬁ STWCR/L \ STFCR/L 1 STFPR/L STUPR/L 1
s% s% s% SVUCR/L ivwcH
:
% %
[ | Sgé iﬁfﬂl’i?l,)]ﬁ Tungsten steel Internal Turning tools
SCLCR SbQC STFC STUP

|

Y

SDUC

T

?

THREAKEFERIERBE] X #EFEEMMEkwww.hnsant.com




ZEHIJTIE | TURNING TOOLS §AHI §BHI ZE #7182 | TURNING TOOLS

SNEIETIRBLEFRHIN 1SO-indexable Inse ools Code Key 4MNEIZEJIRIBLE N

P S C D R R
BRZC 7 H)) J] . Threading tools [E} E\E}
HAPIER BEETHER Q _— E
Hole clamping Screw on
SWR/L(H) SNRIL(H)
M NFI\‘ C % S T \) L
AR FRAR R % F ! —
Top and hole clamping Top clamping
D w N
Y)W )48 7] H. Parting, grooving tools @ ‘ T
) 80°
Dou;gl% %ﬁ?m?ing . —
| 9b\ iﬁﬁtﬂ wfﬂﬁgﬂﬁ External Parting, Surface Grooving Tools 1.EE FH X clamping system 2. 71 4R Insert shape I 5.31H 75 W
Cutting direction
5t Example | | I
ZQ KGBR/L QE[ICR/L QUIDR/L(HZY) I
RE! M c L N R
QFCIR/L(LE! ) QFCIRR(HE!) QFCILL(LE!) MGEHR/L MGIVR/L ‘ 471K G
3.71BKX5E{RmA Holderstyle and leading angle Insert clearance angle
A B C " D E F N
o o 0
dPli T 1N h °
COO-QODRIL QE[IS PHS B
75° o
107°30’ 90° 93° 95" 50° C
70
N o J Q R s .
11730’ 107°30
n B DY T
D
T U \"/ W X 15°

93¢ , 120°
72°30’ £0
60° E
20°

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




S | INUS

ZHIJ71IH2 | TURNING TOOLS

SMN&RZET] External turning toolholde

bR 244 #:h=8mm, #5408
Integers to be proceeded by 0

eg:h=8 indicated by 08

Sebsl | e

12 12 )

16 16 h,
20 20

25 25

32 32

40 40

50 50

6.7 RS E Tools-tip height

|
25 25 M 12
|

Svobsl | B
12 12
16 16
20 20
25 25
32 32
40 40
50 50

7.7MABEE shank width

B o= 7 A

=

5]:b=8mm, 5 408
Integers to be proceeded by 0
eg:b=8 indicated by 08

8.7MNAKE
Tool length
K5 | KA T | K
Code |Length Code |Length
E 70 b} §
F | & 17 E
G| % - 8
H | 100 c| &
K | 125 <| &
N
M | 150 = g
P 170

9*]]%"]7]'& Cutting edge length

VADARIZ)N
Insert Shape

R

O

-

In@c}r%ied Cuu?gﬁ”ﬂ]fﬂg
Circle g Edge Length
5.556 09
6.350 06 07 11
9.525 09 11 09 09 16 16
12.700 12 15 12 12 22 22
15.875 16 19 15 15 27
19.050 19 19 19 33
25.400 25 25 25 44

THRAKEFBEREHAE X #EEZEMNBwww.hnsant.com

#H = 71 B

MCLNR/L

95°

ZHlIJ7182 | TURNING TOOLS

Dimension(mm) A R~

Applicable Inserts
IR

Clamping screw
KK ERET

Shim
JE

Wrench

WF

Clamp
JEAR

ernal turning toolholders 4NRIZET]

(lamping stud
k)

MCLNR/L 1616H12 16| 16 [100| 16 | 21 | 30
WS061025
2020K12 20| 20 [125| 20 | 25 | 28
2525M12 25| 25 |150| 25 | 32| 32| CN oo 120400 MC1204 53 MCL1814 | MSP617
3225P12 32| 25|170| 32 | 32| 32 WS061030
3232P12 32| 32(170| 32 | 39| 32
2525M16 25| 25150 | 25 | 32| 38
3225P16 32| 25(170| 32 | 33| 38| CNoo 160600 WS061030 | MC1604 3 MCL2114 | MSP821
3232P16 32| 32(170| 32 | 40| 38
3232P19
8213211701321 401 43 |\ 190600 WS081030 | MC1904 S4 MCL2217 | MSP1021
4040R19 40| 40 200 40 | 50 | 43

75°

Dimension(mm) FEA R~

Applicable Inserts
IR

Clamping screw

XK IEET

Shim
JIH

Wrench
T

Clamp
JEN7d

(lamping stud
HiET

MCBNR/L 2020K12 20| 20 |125| 20| 17 | 32 WS061025
2525M12 25| 25 [150| 25| 22 | 32| CNoo 120400 MC1204 s3 MCL1814 | MSP617
WS061030
3225P12 32| 25|170| 32 | 22 | 32
2525M16 25| 25 [150| 25 | 22 | 36
3995P16 30| 25 170| 32| 22| 35| CNoo 160600 WS061030 | MC1604 S3 MCL2114 | MSP821
3232P16 32| 32(170| 32| 27 | 35
3232P19 32|32 (170| 32| 27 | 40
CNoo 190600 WS081030 | MC1904 54 MCL2217 | MSP1021
4040R19 40| 40 |200| 40 | 35 | 40

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




Z #7182 | TURNING TOOLS §BHI §Bu1 ZHI7JH | TURNING TOOLS

4MNEZET] External turning toolholders External turning toolholders 4NRIZET]

MCKNR/L MDPNN
75° J 62°30'

<
L
NEy

(lamping screw Clamp  Clamping stud
KK BRET AR BT

Clamping screw Shim Wrench Clamping stud

HEKIRET TR EIER

—

MCKNR/L  2020K12 20 | 20 |125 | 20 | 25 | 28 WS061025

2595M12 | 25 | 25 | 150 | 25 | 32 | 28 | CNoo 120400 MC1204 s3 MCL1814 | MSP617 MDPNN 1616H11 16 | 16 [100| 16 | 8 | 35 WS061025

3225P12 32 | 25 170 | 32 | 32 | 28 Ws061030 2020K11 20 | 20 | 125 | 20 | 10 | 34 D 1103 2 wcL1sia | mspst3
2525M11 25 | 25 | 150 | 25 |12.5| 36 | DNoo1104mn s3

2525M16 25 | 25 (150 | 25 | 32 | 30 WS061030

3005P16 32 | 25 1170 | 32 | 32 | 30 | CNoo 160600 WS061030 | MC1604 s3 MCL2114 | MSP821 3225P11 327 1250 7077827 2:57 785
2020K1504/06 20 | 20 |125 | 20 | 10 | 42

3232P16 | 32 | 32 (170 | 32 | 38 | 30 WS061025

3232P19 2525M1504/06 | 25 | 25 | 150 | 25 |12.5| 42 | DNos 1504cc . " 04:MSP617

32 | 32 |170 | 32 | 40 | 36 MCL2114
CNoo 190600 WS081030 | MC1904 54 MCL2217 | MSP1021 3225P1504/06 32 | 25 |170 | 32 [125| 42 | DNoo 150600 wsoe1030 | MP1304 06:MSP619
4040R19 | 40 | 40 | 200 | 40 | 48 | 36 3232PT504706 | 45 | a2 | 170 | 32 | 16 | 42

— 107°30’

93°

: : . Clamping Screw Wrench Clamp  Clamping stud Clamping Screw Shim Wrench Clamp  Clampingstud
Dimension(mm) A TR WE IR BT : PE o xokiger i mF R A
MDJNR/L 1616H11 16 | 16 | 100 | 16 | 20 | 30 MDQNR/L 1616H11 16 | 16 | 100 | 16 | 21 | 30 WS061025
WS061025
2020K11 20 | 20 [125| 20 | 25 | 32 | DNoo 1104a0 2 st 2020K11 20 | 20 | 125 | 20 | 25 | 32 DN 1104 D 1103 s2 weLig1a | msps1a
MD1103 M 4 | MSP513 0o 110400
2525M11 25 | 25 | 150 | 25 | 32 | 32 WS061030 s3 2525M11 25 | 25 | 150 | 25 | 30 | 30 WS061030 s3
3225P11 32 | 25 |170 | 32 | 32 | 32 3225P11 2 || E5 | | €2 | 2o || &0
2020K1504/06 | 20 | 20 |125 | 20 | 25 | 36 WS061025 2(5);(5);1155%‘://%(; 20 | 20 | 125 | 20 | 27 | 36 W5061025
oo oo 04:MSP617
2525M1504/06 | 25 | 25 | 150 | 25 | 32 | 38 DNao 150400 04:MSP617 25 1 25 180 25 | 32 | 39 PNos 1504 s3 MCL2114
° 3225P1 504/06 32 25 170 32 32 35 DNoo 150600 WS061030 MD1504 06:MSP619
3225P1504/06 32 | 25 |170| 32 | 32 | 38 DNoo 150600 WS061030 | MD1504 53 MCL2114 . ’
06:M5P619 3232P15047/06 | 55 | 32 | 170 | 32 | 40 | 35
3232P1504/06 | 32 | 32 | 170 | 32 | 40 | 38
4040R15 40 | 40 | 200 | 40 | 48 | 40 DNoo 150600

THRAKEFBEREHAE X #EEZEMNBwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




ZHI7JH | TURNING TOOLS §BHI

4SMN&EZET] External turning toolholders

MSBNR/L
75°

o

Applicable Inserts Clamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) FEA <} TR L MRET PAE w_F JEAR HHET

MSBNR/L 2020K12 20| 20 [125| 20| 17 | 34 WS061025
2525M12 25| 25 [150| 25| 22 | 32 | SNoo 120400 MS1204 s3 MCL1814 | MSP617
3225P12 32| 25 |170| 32 | 22| 32 W5061030
2525M15 25| 25 [150| 25 | 22 | 38
SNoo 150600 WS061030 | MS1504 s3 MCL2114 | MSP821
3232P15 32| 32(170| 32| 29 | 38
3232P19 32| 32(170| 32| 27 | 45
SNoo 190600 WS081030 | MS1904 S4 MCL2217 | MSP1021
4040R19 40 | 40 |200| 40 | 35 | 45
4040825 40 | 40 |250| 40 | 34 | 60 | SNoo 250900 WS101035 | MS2508 4, 5 MCL3220 | MSP1229
75°

Applicable Inserts Clamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) &4 K ) (U pa) R IRET pAE: RF JER HET

MSRNR/L 2020K12 20| 20 [125] 20 | 22 | 32 WS061025
2525M12 25| 25150| 25 | 27 | 32| SNoo 120400 MS1204 $3 | MCL1814 | MSP617
3205P12 32| 25 |170| 32 | 27 | 32 W5061030
2525M15 25| 25 |150| 25 | 27 | a8
SNoo 150600 | WS061030 | MS1504 $3 | MCL2114 | MsP821
3232P15 32| 32170 32 | 35 | 38
3232P19 32| 32 |170| 32 | 35 | 43
SNoo 190600 | WSO81030 | MS1904 s4 | MCL2217 | MsP1021
4040R19 40 | 40 |200| 40 | 43 | 43
4040525 40| 40 |250] 40 | 43| 55|  SNoo 250900 |WS101035 | MS2508 S5 | MCL3220 | MSP1229

THRAKEFBEREHAE X #EEZEMNBwww.hnsant.com

§AHI #1718 | TURNING TOOLS

External turning toolholders 4NRIZET]

MSKNR/L
75°

Applicable Inserts ~ Clamping screw ~ Shim Wrench ~ Clamp  Clamping stud
EIREivA)EY RIS ANk #TF JiST HET

MSKNR/L  2020K12 20| 20 [125| 20 | 25 | 28 WS061025
2525M12 25| 25 [150| 25 | 32| 27 | SNaoo 120400 MS1204 S3 MCL1814 | MSP617
WS061030
3225P12 32| 25 [170| 32| 32 | 27
2525M15 25| 25 [150| 25 | 32 | 32
SNao 150600 WS061030 |  MS1504 s3 MCL2114 | MSP821
3232P15 32| 32 |170| 32| 38 | 32
3232P19 32|32 [170| 32| 38 | 36
SNao 190600 WS081030 | MS1904 sS4 MCL2217 | MSP1021
4040R19 40 | 40 |200| 40 | 50 | 40
4040525 40| 40 |250| 40 | 50 | 45 | SNoo 250900 WS101035 | MS2508 $4, S5 | MCL3220 | MSP1229

45°

Applicable Inserts (lamping screw Shim Wrench  Clamp (lamping stud
Dimension(mm) FEA4< R~} Lz liaya)ey XCEKIZAT - TR WF Ji AT

/O N
I di - el I o
MSDNN 2020K12 20| 20 |125| 20| 10| 34 WS061025
2525M12 25| 25 |150| 25 |12.5 34 SNoo 120400 MS1204 S3 MCL1814 MSP617
WS061030
3225P12 32| 25 |170| 32 |12.5 34
2525M15 25| 25 [150| 25 |12.5] 42
3232P15 32| 32|170| 32 | 16 | 42 SNoo 150600 WS061030 | MS1504 S3 MCL2114 MSP821
3232P19 32| 32170 32 | 16 | 45
SNoo 190600 WS081030 | MS1904 S4 MCL2217 MSP1021
4040R19 40| 40 |200| 40 | 20 | 50
4040825 40 | 40 |250| 40 | 20 | 60 SNoo 250900 WS101035 | MS2508 S4, S5 MCL3220 | MSP1229

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




ZHI7JB | TURNING TOOLS

4MEIZT] External turning toolholders

MSSNR/L

45°

Dimension(mm) 4 X~

Applicable Inserts

MR

(lamping screw

K HRET

Shim
WK

Wrench
W

B o= 7 A

0

Clampd
FA

(lamping stud
AT

MSSNR/L  2020K12 20| 20 |125| 20 | 25 | 36 WS061025
2525M12 25| 25 [150| 25 | 30 | 36
SNoo 120400 WS061030 | MS1204 S3 MCL1814 | MSP617
3225P12 32| 25(170| 32 | 30 | 33
3232P12 32| 32[170| 32 | 38 | 35
2525M15 25| 25 [150| 25 | 30 | 40
SNoo 150600 WS061030 | MS1504 S3 MCL2114 | MSP821
3232P15 32| 32 [170| 32 | 38 | 40
sl 82|82 170| 32 | 38 | 45 SNoo 190600 WS 081030 | MS 1904 S4 MCL2217 | MSP1021
4040R19 40 | 40 |200| 40 | 46 | 45
4040S25 40 | 40 |250| 40 | 50 | 60 SNoo 250900 W5101035 | MS2508 $4, S5 | MCL3220 | MSP1229
90°
H I
b
° :I:
€ L

Dimension(mm) L7 R~

Applicable Inserts

FEHTT

™

(lamping screw

WKIRET

Shim
YA

Wrench
WF

Clamp
JEAR

(lamping stud
HHET

MTGNR/L 2020K16 20| 20 [125] 20 | 25 | 32 WS061025
2525M16 25| 25 |150| 25 | 32 | 30| TNao 160400 MT1603 5523 MCL1814 | MSP513
WS061030
3225P16 32| 25 170 32 | 32| 30
2525M22 25| 25 |150| 25 | 32| 36
3205P22 32| 25 [170| 32 | 32| 36 | TNuo 220400 WS061030 | MT2204 s3 MCL2114 | MSP617
3232P22 32| 32 |170| 32| 38| 36

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com

ZHI7JH | TURNING TOOLS

External turning toolholders 4NRIZET]

B o= 71 A

MTJNR/L
93°

Applicable Inserts (lamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) £ R~ LGUzElEpA)ay XK WRET J]H T JEMR HET

MTINR/LL 1616H16 16| 16 [100| 16 | 20 | 28 WS061025
2020K16 20 | 20 |125| 20 | 25 | 32
52,
2525M16 251251150] 25|32 | 32 | TNy 160400 | WS061030 | MT1603 <3 | MCL1814 | MsP513
3225P16 32| 25170 | 32 | 32 | 32
3232P16 32| 32170 32| 32| 32
2525M22 25| 25150 | 25 | 32 | 36
3232P22 32| 32170/ 32| 38 36

Applicable Inserts (lamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) FEAR RS IR XL RET JI# wRF JERR AHET

MTJNR/L 1616H16B 16 | 16 [100| 16 | 20 | 28 WS061025
2020K16B 20| 20 125 20 | 25 | 32
52,
2525M16B 25| 25150| 25| 82| 82 | TN, 160400 | WS061030 | MT1603 P MCL1814 | MSP513
3225P16B 32| 25 [170| 32 | 32| 32
3232P16B 32|32 [170| 32 | 32| 32
2525M22B 25| 25 [150| 25 | 32 | 36
3005P20B 30| 25 |170| 32 | 32 | 36| TNoo 220400 | WS061030 | MT2204 $3 MCL2114 | MSP617
3232P22B 32| 32170 32 | 38 | 36

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




ZHI7182 | TURNING TOOLS §BHI §AMI ZHI7JH | TURNING TOOLS

4NEZET] External turning toolholders External turning toolholders 4NRIZET]

MTFNR/L MTENN
90°

licable | : . ! Applicable Inserts (lamping screw Shim Wrench Clamp Clampjng stud
Applicable Inserts (lamping screw Shim Wrench Clamp Clampjng stud Dimension(mm) J:A R~ TR B AT JAE: W AR RSET

Dimension(mm) AR~ TR REkggr TR #TF JEAR BiE]

1616H16 MTENN 1616H16 16 | 16 (100| 16 | 8 | 32
16| 16 [100| 16 | 21 | 28 WS061025
ATTANAAL WS061025 2020K16 20| 20 [125| 20 | 10 | 34
2020K16 20| 20 [125| 20 | 25 | 30 2
peoEMI16 S P Y S S - 2525M16 25| 25 [150| 25 |12.5) 32 TNoo 160400 MT1603 o MCL1814 | MSP513
5| 25 |150| 25 ,
TNoo 160400 WS061030 | MT1603 $3 MCL1814 | MSP513 3030P16 a2 | 32 |170| 32 | 16 | 32 WS061030
3225P16 32| 25(170| 32| 32| 32
3232P16 32|32 [170| 32 | 38 | 32
2525M22 25| 25 [150| 25 | 32 | 36
3005P22 30| 25 |170| 32 | 32| 36 | TNowo 220400 WS061030 |  MT2204 S3 MCL2114 | MSP617
3232P22 32|32(170| 32| 38 | 36 MVJNR/I_
MTQNR/L o8

105°

Applicable Inserts  Clamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) AR~ SRR WK HRET IAE::! #F HAf 5T

Applicable Inserts ~ Clamping screw Shim Wrench Clamp  Clamping stud

Dimension(mm) AR +f WU ke U RE R WA ’ - ( (|| ’
’ MVJINRLL 1616H16 16| 16100 16 | 22 | 43
WS061025
2020K16 20|20 125 20| 28| 45| .
MTQNR/L 2020K16 20| 20 |125) 20| 29| 25 WS061025 2525M16 25| 25 [150| 25 | 32 | 45 D;; %%;;j n MV1603 o | MoL2414 | msP13
2525M16 25| 25(150| 25| 35| 28 | TNao 160400 weostozo | MT1603 %I McLisia | Mspsi3 3225P16 32| 25 |170| 32 | 32 | 45| WS061030
3225P16 32| 25170/ 32| 35 | 25 o a0 | 35 |170| 32 | 40 | 45
2525M22 25| 25 [150| 25 | 38 | 36 MT2204 3| McL2114 | MsPe17
TNoo 220400 WS061030
3232P22 32| 32170/ 32 46| 36

THRAKEFBEREHAE X #EEZEMNBwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




ZHI7JB | TURNING TOOLS §BHI

4MEIZT] External turning toolholders

MVVNN
72°30

Applicable Inserts ~ Clamping screw Shim Wrench Clamp  Clamping stud
JiS HET

Dimension(mm) FEA R ) ERMTI A XK MRET JI3 T JERR

MVVNN 2020K16 20| 20 (125 20| 10| 45 WS061025
25| 25 |150| 25 (12.5| 45 S2
ailie VNoo 160400 WS061030 MV1603 . MCL2414 MSP513
32| 25 |170| 32 |12.5| 45
3225P16 U bR R T
3232P16 32| 32(170| 32| 16 | 45
93°

$/0) b
5 ¢

Applicable Inserts

Clamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) FEA s} I ) R

OEN 3 A AL IR FsAR BT

MVUNR/L 1616H16 16 | 16 |100| 16 | 20 | 45
WS061025
2020K16 20| 20 (125| 20 | 25 | 45
VNoo 160400 S2
2525M16 25| 25 (150| 25 | 32 | 45 ) MV1603 MCL2114 | MSP513
HAERE T A S3
3225P16 32| 25(170| 32 | 32 | 45 WS061030
3232P16 32| 32|170| 32 | 40 | 45

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com

§AHI #1718 | TURNING TOOLS

External turning toolholders 4NRIZET]

MVQNR/L
117.5°

Applicable Inserts ~ Clamping screw Shim Wrench Clamp  Clamping stud
SRR NEKIBET T #F FEAR G

MVQNR/L 1616H16 16 | 16 |100| 16 | 24 | 36
WS061025
2020K16 20 | 20 |125| 20 | 27 | 36
Vo 160420 > MCL2114 | MsP513
2525M16 25| 25|150| 25| 33 | 36 | 1o gkt g MV1603 o
3225P16 32| 25(170| 32 | 33 | 36 WS061030
3232P16 32| 32(170| 32 | 40 | 36
95°
H a
S 0 b
e L

Applicable Inserts ~ Clamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) FEA R} IR XNEKIRET T8 WF JEAR AT

MWLNR/L 2020K06 20| 20 [125| 20 | 25 | 28 WS061025 S2

WNoo 060400 MWO0603 MSP513
2525M06 25| 25(150| 25 | 32 | 30 WS061030 s3
2020K08 20| 20 [125| 20| 26| 28 WS061025

MCL1814

2525M08 25| 25(150| 25 | 32| 35

WNoo 080400 MWO0804 S3 MSP617
3225P08 32| 25[170| 32| 32 | 35 WS061030
3232P08 32| 32]170| 32 | 40| 35

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




ZHI7JH | TURNING TOOLS

4MNEZET] External turning toolholders

MRGNR

Applicable Inserts  Clamping screw

Dimension(mm) A R~ bRt lyalay

KK ERET

P

Shim
JIH

B o= 7 A

Wrench
H#T

Clamp
HAR

(lamping stud
HHET

MRGNR/L 2020K12 20| 20 |125| 20 | 25 | 28 WS061025
2525M12 25| 25 (150| 25 | 32| 32 .
RNoo 120400 MR1204 MCL1814 | MSP617
3225P12 32| 25 [170| 32| 32| 32 WS061030
3232P12 32| 32(170| 32| 39 | 32
2
h a
Gl(t) b
-
e
L

Dimension(mm) A R

Applicable Inserts

(lamping screw
BEKHRET

Shim
JJH

Wrench
T

Clamp
JsAR

Clamping stud
HYET

4

MRDNN  2020K12 20| 20 [125] 20| 10| 30
2525M12 32
25| 25 [150] 25 |12.5 RN 12040
3225P12 32| 25 |170| 32 [12.5 30
3232P12 32 32(170| 32| 16 | 30

WS061025

WS061030

MR1204

S3

MCL1814

MSP617

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com

§AHI #1718 | TURNING TOOLS

External turning toolholders 4NRIZET]

PCBNR/L
75°

Applicable Inserts screw Shim Wrench Lever Shim pin
Dimension(mm) &4 CCaElapAl B2ET DR T KLFT e

PCBNR/L 2020K12 20 | 20 | 125/ 20 | 17 | 30
2525M12 25| 25(150| 25 | 22| 26 | CNoo 120400 VHX0821 | PC12318 s3 Lv4 SP4
3232P12 32| 32(170| 32 | 29| 27
2525M16 251251190125 | 22| 82 1 16060 VHX0825 | PC16476 s3 V5 SP5
3232P16 32| 32(170| 32 | 27| 33
3232P19 32| 32|170| 32 | 27| 38
4646519 20| 40 250l 20 [ 35 | 38 CNoo 190600 VHX1027 | PC19476 4 V6 SP6
404052507 40| 40 |250| 40 | 37| 50 | CNoo 250700
404052509 40 40 |250| 40| 37| 50| e 280900 | P | PO $5 v sP8
PCLNR/L

95°

Applicable Inserts screw Shim Wrench Lever Shim pin
Dimension(mm) FEA< R~} AEHIR T F BRET JIH WF AAT (=

PCLNR/L 1616H09 16| 16 100| 16 | 20 | 20
2020K09 20| 20 [125| 20| 25| 22| CNoo 0903mo VHX0613 | PC09318 S25 Lv3 SP3
2525M09 25| 25 150| 25 | 32 | 22
2020K12 20| 20 [125| 20 | 26 | 28
2525M12 25| 25 [150| 25 | 32| 28| CNoo 120400 VHX0821 | PC12318 s3 V4 SP4
3232P12 32| 32[170| 32| 39 | 32
2525M16 251251180125 |32 | 36| \os 160600 VHX0825 | PC16476 s3 V5 SP5
3232P16 32| 32170/ 32| 39 | 36
3232P19 32| 32 [170| 32| 40 | 40
4040519 20| 40 |250| 40 | 29 | 20 CNoo 190600 VHX1027 | PC19476 sS4 V6 SP6
404052507 CNoo 250700
oo | | meme o 0 0 S | s | 5w |

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




ZHIJ7JE | TURNING TOOLS §BHI

4MEIZET] External turning toolholders

PDJNR/L

93° 5¢
\ R
s b
()
93°
€ L

Applicable Inserts screw Shim Wrench Lever Shim pin
Dimension(mm) A RS} FEFETT ) WRET T #F KL (EE
PDJNR/L 1616H11 16| 16 100| 16 | 20 | 25
2020K11 20 | 20 |125| 20 | 25 | 25 DNoo 110400 VHX0613 | PD11270 2.5 Lv3 SP3
2525M11 25 | 25 |150| 25 | 30 | 30
2020K15 20| 20 |125| 20 | 25 | 32
2525M15 25 | 25 [150| 25| 32 | 35 DNoo 150600 VHX0825 | PD15318 S3 LV4B SP4
3232P15 32| 32(170/ 32| 38 | 35
2020K15-3 20| 20 [125/ 20| 25 | 35
2525M15-3 o5 | 25 |150| 25 | 32 | 35 DNoo 150400 VHX0821 | PD15318 S3 Lv4 SP4
3232P15-3 32| 32 /170 32| 38| 35

PDNNR/L
63°

Applicable Inserts screw Shim Wrench Lever Shim pin

Dimension(mm) %E4s X~ MR A H2LT PAE wF ALAF g

PDNNR/L  2020K15 2020|125/ 20| 8 | 37
2525M15 25| 25 |150| 25 [12.5 37 DNoo 150600 VHX0825 | PD15318 S3 Lv4B SP4

3225P15 32| 25 [170| 32 |12.5| 37

3232P15 32|32 (170| 32| 16 | 37

2020K15-3 20|20 125/ 20| 8 | 37
DNoo 150400 VHX0821 | PD15318 3 Lv4 SP4

2525M15-3 25| 25 |150| 25 |12.5 37

3232P15-3 32|32 (170| 32| 16 | 37

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com

§nuI #1718 | TURNING TOOLS

PSBNR/L
75°

Applicable Inserts screw Shim Wrench Lever Shim pin
Dimension(mm) FEA <} EF T A 25T Ak T KLFF g

PSBNR/L 1616H09 16| 16 |100| 16 | 13 | 21
SNoo 090300 VHX0613 | PS09318 $2.5 Lv3 SP3
2020K09 20| 20 |125| 20 | 17 | 23
2020K12 20| 20 |125| 20 | 17 | 28
2525M12 25| 25 |150| 25 | 22 | 28
SNoo 120400 VHX0821 | PS12318 S3 Lv4 SP4
3225P12 32| 25|170| 32 | 22 | 28
3232P12 32| 32|170| 32| 29 | 28
2525M15 25| 25 |150| 25 | 22 | 32
SNoo 150600 VHX0825 | PS15476 S3 V5 SP5
3232P15 32| 32(170| 32 | 28 | 32
3232P19
82182170132 | 36 | 45 SNoo 190600 VHX1027 | PS19476 S4 V6 SP6
4040819 40 | 40 |250| 40 | 35 | 45
SNoo 2507 PS25634
404052507 40 | 40 |250| 40 | 35 | 50 oo oo Vi3 s5 8 sps
4040S2509 40 | 40 |250| 40 | 35 | 50 SNoo 250900 PS25476
45° 8.5°/
h a
S
_I_@O b -
4552 L

Applicable Inserts Shim Wrench Lever Shim pin
Dimension(mm) JEA U~} R ) R YAk T ALAT ek

PSDNN  2020K12 20| 20 [125| 20 | 10 | 30
2525M12 25| 25 |150| 25 [12.5) 32|  SNoo 120400 VHX0821 PS12318 S3 V4 SP4
3232P12 32| 32|170| 32| 16 | 30
2525M15 25 | 25 |150| 25 [12.5| 40
SNoo 150600 VHX0825 | PS15476 s3 V5 SP5
3232P15 32| 32|170| 32| 16| 40
3232P19 32| 32[170| 32| 16| 40
SNoo 190600 VHX1027 PS19476 4 V6 SP6
4040519 40 | 40 [250| 40| 20 | 40
404052507
40 | 40 |250| 40 | 20 | 50 SNoo 250700 VHX1236 PS25634 S5 V8 P8
404052509 40 | 40 |250| 40| 20 | 50 SNoo 250900 PS25476

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




ZHI7JH | TURNING TOOLS

% 7] External turning toolholders

PSKNR/L

75°

Dimension(mm) %4 ]~

Applicable Inserts screw

I T

BRAET

Shim
PAE:

B o= 7 A

Wrench
WF

Lever
ALAF

Shim pin
S

PSKNR/L 1616H09 16| 16 [100| 16 | 20 | 17
S0P0KOS oo s Lissl 50 1 55 | 5 SNoo 090300 VHX0613 | PS09318 52.5 v3 SP3
2020K12 20| 20 |125| 20 | 25 | 26
2525M12 25| 25 |150| 25 | 30 | 26 SNoo 120400 VHX0821 | PS12318 s3 Lv4 SP4
3232P12 32| 32170/ 32 | 38| 26
2525M15 25| 25|150| 25 | 32 | 32
e w2 | 32 |170| 32 | 38 | 32 SNoo 150600 VHX0825 | PS15476 S3 V5 SP5
9292P19 82132170/ 52| 38 | 36 SNoo 190600 VHX1027 | P519476 S4 LV6 SP6
4040519 40| 40 |250| 40 | 48| 32
404082507 40| 40 |250| 40 | 50 | 40 |  SNoo 250700 HK1236 PS25634 <5 W8 sps
404082509 40 | 40 |250| 40 | 50 | 40 SNoo 250900 PS25476

PSSNR/L
l g

45°

Dimension(mm) Ji4s K~

Applicable Inserts NelgW

(COENEAVEY

BRAT

Shim
IR

Wrench
KT

Lever
ATAT

Shim pin
=R

PSSNR/L 1616H09 16| 16 [100| 16 | 18 | 25 SNoo 090300 VHX0613 | PS09318 $2.5 Lv3 sP3
2020K12 20| 20 [125| 20 | 25 | 28
2525M12 25| 25 [150| 25 | 30 | 32 SNoo 120400 VHX0821 | PS12318 s3 Lv4 SP4
3232P12 32|32 (170 32 | 38 | 32
2525M15 25| 25 |150| 25 | 30 | 35
SNoo 150600 VHX0825 | PS15476 s3 V5 SP5
3232P15 32|32 (170 32 | 38 | 35
3232P19 32|32 |170| 32 | 38 | 40
SNoo 190600 VHX1027 | PS19476 54 V6 SP6
4040819 40 | 40 |250| 40 | 48 | 50
404082507 40 | 40 |250| 40 | 48 | 50 SNoo 250700 PS25634
S5 V8 sP8
4040582509 40 | 40 |250| 40 | 48 | 50 SNoo 250900 VHX1236 | bor5476

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com

ZHI7JH | TURNING TOOLS

External turning toolholders 4NRIZET]

H = 7 A

PRDCN .

A0

Applicable Inserts Shim Wrench Lever Shim pin
PRDCN 2020K12 20 | 20 |125| 20| 10 | 25
RCMX 120400 VHX0613 | PR 1204 S2.5 LCL12C SP3
2525M12 25| 25|150| 25| 125 | 25
2525M16 25| 25|150| 25| 10 35
RCMX160600 VHX0621 | PR 1604 S2.5 LCL16C SP4
3232P16 32| 32|170| 32| 16 32
3232P20 32| 32|170| 32| 16 40
RCMX200600 VHX0825 | PR 2004 S3 LCL20C SP5
4040T20 40 | 40 |300| 40 | 20 45
3232P25 32| 32|170| 32| 16 45
RCMX250700 VHX1030 | PR 2506 S4 LCL25C SP6
4040725 40| 40 |300| 40 | 20 50
PRACR/L 07
\
h a
L
€ ©
/ g
b
!Oi@

Applicable Inserts screw  Shim Wrench Lever Shim pin
(CIELEPAVEY HRET AE::! WT FLAT (R

Dimension(mm) 24

PRACR/L 2020K12 20 | 20 | 125 | 20 30
RCMX 120400 VHX0613 | PR 1204 52.5 LCL12C SP3

2525M12 25 25 | 150 | 25 30

2525M16 25 | 25 | 150 | 25 35
RCMX 160600 VHX0621 | PR 1604 52.5 LCL16C SP4

3232P16 32 | 32 | 170 | 32 35

232P20 32 | 32 | 170 | 32 40
E RCMX20060 VHX0825 | PR 2004 S3 LCL20C SP5

4040T20 40 40 | 300 | 40 50

3232P25 32 | 32 | 170 | 32 45
RCMX250700 VHX1030 | PR 2506 S4 LCL25C SP6

4040725 40 | 40 | 300 | 40 50

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




%4718 | TURNING TOOLS §AHI §AHI % #1718 | TURNING TOOLS

External turning toolholders 4NRIZET]

PRGCR/L o) PTFNR/L

Sl T ] ‘Eh 90° 5%
o
|

Applicable Inserts screw  Shim Wrench Lever Shim pin
Dimension(mm) A i < R WRET pak: #HwF ALAT ek
Applicable Inserts Nelg% Shim Wrench Lever Shim pin
Dimension(mm) %E4s K~ R R URET JH T FLAT R
PRGCR/L 2020K12 20 |20 | 125 | 20 | 25
RCMX 120400 VHX0613 | PR 1204 52.5 LCL12C SP3
2525M12 25 | 25 | 150 | 25 32
g525hIE 25 |25 150 | 25 | 35 RCMX 160600 VHX0621 | PR 1604 52.5 LCL16C SP4 PTFENR/L 1616H16 16 | 16| 100| 16 | 20 | 20
3232P16 32 | 32| 170 | 32 | 42 2020K16 20 | 20 |125| 20 | 25 | 20 TNoo 160400 VHX0617 PT16 52.5 Lv3 SP3
3232P20 32 | 32 | 170 | 32 40
RCMX200600 | VHX0825 | PR 2004 53 LCL20C | SP5 2525M16 25)25|150) 25 | 30 | 25
4040120 S e i S 2525M22 2525180/ 25 | 32 | 80 TNoo 2204 VHX0821 PT22 S3 Lv4 SP4
3232P25 32 | 32| 170 | 32 | 45 oo oo
RCMX250700 | VHX1030 | PR 2506 54 LCL25C | SP6 3232P22 32| 32170/ 32 | 38 | 30
Gl RS 20 | 40 | 300 | 40 | 56 3030P27 32| 32|170| 32 | 38 | 35
TNoo 270600 VHX0825 PT27 S3 V5 SP5
PTGNR/I_ 4040827 40 | 40 |250| 40 | 50 | 34
90° 57
(o]
s O b 60
o a
90°
e e e =~ e . B A I
b|
(+)
Applicable Inserts screw Shim Wrench Lever Shim pin
Dimension(mm) A R FER IR LT AR T ALFF Ry L NG
Applicable Inserts screw Shim Wrench Lever Shim pin
PTGNR/L 1616H11 16 | 16|100| 16 | 19| 18 Dimension(mm) JEA4 3 <t MR R BRET I T FLAT S
2020K11 20 | 20 [125| 20 | 24 | 20 TNoo 110300 VHX059B - S2 V2 —
2525M11 25 | 25 |150| 25 | 29 | 20
1616H16 16 | 16 |100| 16 | 19| 22
202016 201201125 20 | 231 25 | o 1604 VHX0617 PT16 S25 Lv3 SP3
oo oo : PTTNR/L 1616H16 16| 16 |100| 16 | 13 | 25
2525M16 25 | 25 |150| 25 | 29 | 25 TNoo 160400 VHX0617 PT16 S2.5 Lv3 SP3
3232P16 32 | 32 |170| 32 | 37 | 32 2020K16 20| 20 |125| 20 | 17 | 25
2505M22 2525M22 25| 25 [150| 25 | 22 | 32 TNoo 220400 VHX0821 PT22 S3 Lv4 SP4
2512511501 25130130 | 1 . 220400 VHX0821 PT22 S3 Lv4 SP4
3232P22 32| 32 (170 82 | 37 | 32
3232P27
82182170182 | 87138 | TNos 270600 VHX0825 | PT27 s3 Lv5 sp5
4040S27 40 | 40 |250] 40 | 47| 38

THRAKEFBEREHAE X #EEZEMNBwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




ZHIJ7JE | TURNING TOOLS §AHI

4MEIZET] External turning toolholders

PWLNR/L

Applicable Inserts screw Shim Wrench Lever Shim pin

Dimension(mm) FEA4% ) REFT ) BT Ak WF FLAT R

PWLNR/L 1616H06 16 | 16 [100| 16 | 19| 22
2020K06 20 | 20 [125/ 20 | 23| 25| WNao 060400 VHX0617 | PWO06270 2.5 Lv3 SP3
2525M06 25| 25 |150| 25 | 28 | 25
2020K08 20 | 20 |125| 20 | 25| 26
2525M08 25|25 |150| 25| 29| 26 |  WNoo 080400 VHX0821 | PW08318 S3 Lv4 SP4
3232P08 32| 32170/ 32| 37| 26

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com

§AHI #1718 | TURNING TOOLS

External turning toolholders 4NRIZET]

SCACR/L
90°

>
 —
_—

o218\ [ 1
—

Applicable Inserts

Dimension(mm) JEA R FEFI R

Stock 77

R|L
SCACR/L 1010E06 10 | 10 | 70 | 10 |10.5| 10 CCoT 060200 L60M2.5X5 TO8
1212F09 12 | 12| 80 | 12 |12.7] 16 CCoT 09T3co L60M4 X 8 T15

SCLCR/L

Applicable Inserts

R R
SCLCR/L 1212F09 12 | 12 | 80 | 12 | 15 | 16
1616H09 16 | 16 | 100 | 16 | 20 | 16 CCaT 09T300 L6OM4X 8 T15
2020K09 20 | 20 |125| 20 | 23 | 20
2020K12 20 | 20 [125| 20 | 24 | 25
2525M12 25 | 25 | 150 | 25 | 20 | 25
3225P12 32 | 25 170 | 32 | 29 | 25 CCeT 120400 Loom3 12 120
3232P12 32 | 32 |170| 32 | 36 | 38

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




%4718 | TURNING TOOLS §AHI §AHI % #1718 | TURNING TOOLS

5MNEZET] External turning toolholders External turning toolholders 4NRIZET]

SDACR/L SDNCN
90° O,O/ 620 30" 07
h a Ol
S /&) b > Sj_ b
297‘9 ﬁ 6230,
L — L L

Applicable Inserts Applicable Inserts
Dimension(mm) A ) FERFIIY Dimension(mm) FA4 ) SRR
Stock {7
a S e
R|L
SDACR/L 1010E07 10 | 10 | 70 | 10 |10.5| 15 DCoT 0702co L60M2.5X5 TO8 SDNCN 1010E07 10| 10|70 | 10 | 5 16
DCoT 070200 L60M2.5% 5 Tos
1212F11 12 | 12 | 80 | 12 [12.5| 20
DCaT 11T30m L6OMA 8 15 1212F07 12|12 |80 |12 | 6 | 20
1616H11 16 | 16 | 100 | 16 |16.7 | 20 1212H11 12 | 12 [100 | 12 | & | 22 DCoT 117300
1616H11 16 | 16 [100 | 16 | 8 | 22 L6OM4 8 15
SD J cn /L 2020K11 20 | 20 |125 | 20 | 10 | 22 DCoT 11T3co
2525M11 25 | 25 [150 | 25 |12.5 | 22

93°

S " SVJCR/L
93° 0y
b
s 5 b\ ‘_' \ a
93° Sl i I
£ L s b
&
Applicable Inserts e L
Dimension(mm) HEA s fEFrI
Applicable Inserts
i JEELSpAYeY
SDJCR/L 1010E07 10 [ 10 | 70 | 10 | 12 | 15 Sock
1212F07 12 [ 12 |80 | 12| 14 | 15 DCaT 070200 L60M2.5X5 T8 L a s | e
L R e e B s M SVJCR/L 1212F11 12 |12 |80 | 12 | 14 | 20
2020K07 20 | 20 (125 | 20 | 22 | 18 1616H11 16 | 16 |100 | 16 | 18 | 22
1616H11 16 | 16 |100 | 16 | 19 | 20 P0P0KA 1 o0 T30 Tias a0 155 1 57 VCoT 110300 L60M2.5% 5 T08
2020K11 20 | 20 |125 | 20 | 23 | 26 DCaT 117300 L60M4 X 8 T15 2525M11 25 | 25 (150 | 25 | 27 | 35
g0zl e e s B e 1616H16 16 | 16 100 | 16 | 18 | 32
. 8225P11 | | | 82|25 1170 | 82 | 28 | 26 2020K16 20 | 20 [125 | 20 | 22 | 32
3232P11 32 | 82 [170 | 32 | 35 | 31 2525M16 25 | 25 |150 | 25 | 27 | 35 VCoT 160400 L60M4 X 8 T15
3225P16 32 |25 |170 | 32 | 27 | 35
3232P16 32 | 32 |170 | 32 | 35 | 45

THRAKEFBEREHAE X #EEZEMNBwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com



ZHI7JH | TURNING TOOLS

External turning toolholders 4NRIZET]

ZHI7JE | TURNING TOOLS

SMN&EZET] External turning toolholders

B o= 7 A

H = 7 A

SVJBR/L

93°

SVACR/L

90°

Applicable Inserts Screw Applicable Inserts
Dimension(mm) %47 eI} BRET Dimension(mm) A R~ TRy
Stock {7
a S e
R | L
SVJBR/L 1212F11 12 | 12 | 80 | 12 | 14 | 27 SVACR/L 1616H16 16 | 16 | 100 | 16 [16.5| 32
1616H11 16 | 16 |100 | 16 | 18 | 27 2020K16 20 | 20 [ 125 | 20 |20.5| 32
VBoT 110300 L6OM2.5%5 08 VCoT 160400 L60M4 X 8 T15
2020K11 20 | 20 (125 | 20 | 22 | 27 2525M16 25 | 25 [150 | 25 |25.5| 38
2525M11 25 | 25 [150 | 25 | 27 | 27
1616H16 16 | 16 |100 | 16 | 18 | 36
2020K16 20 | 20 [125 | 20 | 22 | 41 SVVBN
2595M16 25 | 25 [150 | 25 | 27 | 41 VBT 160400 L60M4X 8 T15
72° 30'
3295P16 32 | 25 170 | 32 | 27 | 41 /0
3232P16 32 | 32 |170 | 32 35 | 41 h * \_' \ a
s
SVABR/L L b >
0 . 17.5°
90 0y
\h 1 a
Applicable Inserts
Dimension(mm) F7A R~f AR
S b L
e | L
Stock 17
. SVVBN 1212F11 12 |12 |80 |12 | 6 | 22
Applicable Inserts 1616H11
¢ 16 | 16 [100 | 16 | 8 | 27
R VBoT 110300 L60M2.5% 5 Tos
2020K11 20 | 20 |125 | 20 | 10 | 30
Stock /¢ 1616H16 16 | 16 [100 | 16 | 8 | 33
R T 2020K16 20 | 20 |125 | 20 | 10 | 33
SVABR/L 1616H16 16 | 16 | 100| 16 |16.5| 32 2525M16 25 |25 | 180 | 25 | 125/ 38 VBLT 160400 LeoM4 8 TS
S 20 120 T13s | 20 12051 3 3225P16 32 | 25 |170 | 32 | 125| 38
: VBaT 160400 L6OMA X8 5 3232P16 3 |32 [170 | 32 | 16 | 38
2525M16 25 | 25 | 150 | 25 [25.5| 38

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




ZHI7JE | TURNING TOOLS

4MEIZET] External turning toolholders

SVVCN
72° 30' 0
h ! \_' \ a
S » b
72°30 | e
L

Applicable Inserts
Dimension(mm) A R~J EUzE[OPA)A

B o= 7 A

Stock [77
SVVCN 1212F11 12 |12 |80 |12 | 6 | 22
1616H11 16 | 16 |100 | 16 | 8 | 27
VCoT 110300 L60M2.5X5 T08
2020K11 20 | 20 (125 | 20 | 10 | 30
1616H16 16 | 16 |100 | 16 | 8 | 33
2020K16 20 | 20 [125 | 20 | 10 | 33
2525M16 25 | 25 | 150 .
25 125 38 VCoT 160400 L60M4 X 8 T15
3225P16 32 | 25 [170 | 32 [125| 38
3232P16 32 | 32 |[170 [ 32 | 16 | 38
75°

Applicable Inserts
RUZElpA)A
SSBCR/L 1212F09 12 |12 |80 | 12 | 11 | 14
SCoT 09T3oo L60M4 X 8 T15
1616H09 16 | 16 |100 | 16 | 13 | 16
2020K12 20 | 20 |125 |20 | 17 | 25
2525M12 25 | 25 | 150 | 25 | 22 | 25 SCoT 120400 L60M5 X 12 T20
3232P12 32 | 32 |170 | 32 | 27 | 28

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com

§AHI #1718 | TURNING TOOLS

External turning toolholders 4NRIZET]

SSDCN

Applicable Inserts
Dimension(mm) AU TR
Stock {7
R| L
SSDCN 1212F09 12| 12|80 (12 | 6 | 16
1616H09 16 | 16 | 100 | 16 8 | 16
2020K09 20 | 20 | 125 | 20 10 | 16 SCoT 09T3oo L60M4 X 8 T15
2525M09 25 | 25 | 150 | 25 |12.5| 25
2020K12 20 | 20 |125| 20 | 10 | 25
2525M12 25 | 25 |150 | 25 |12.5| 25 SCaT 120400 L60M5 X 12 T20
3232P12 32 | 32 (170 | 32 | 16 | 25

SSKCR/L
75°

o/

@ b @A

v

Applicable Inserts
Dimension(mm) &4 ] <) AR
Stock Eff w
R| L
SSKCR/L 1616H09 16 | 16 [100 | 16 | 20 | 13
SCoT 09T3uo L60M4 X 8 T15
2020K09 20| 20 |125 | 20 | 25 | 18
2020K12 20| 20 |125 | 20 | 25 | 18
2525M12 25| 25 |150 | 25 | 32 | 22 SCuT 120400 L60M5 X 12 20
3232P12 32| 32 (170 | 32 | 40 | 27

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




ZHI718 | TURNING TOOLS §AHI

SMN&EZEJ] External turning toolholders

SSSCR/L
45°

o7

=g
1
T
=
1)

Applicable Inserts
Dimension(mm) LA R~ I

Stock 17
a £ e
R|L
SSSCR/L 1616H09 16 | 16 [100 | 16 | 20 | 16
SCoT 09T3mo L60M4 X 8 T15
2020K09 20 |20 [125 | 20 | 25 | 20
2020K12 20 |20 [125 | 20 | 25 | 23
2525M12 25 |25 [150 | 25 | 32 | 25 SCoT 120400 L60M5 X 12 T20
3232P12 32 |32 |170 | 32 | 38 | 28

91°

Applicable Inserts Nel( Wrench
Dimension(mm) AR~} TR 24T T

1212F11

STACR/L TCaT 110200 L60M2.5X5 T08

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com

§AHI #1718 | TURNING TOOLS

External turning toolholders 4NRIZET]

STFCR/L
91°

Applicable Inserts
Dimension(mm) 34 R
STFCR/L 1212F11 1212 |80 | 12 | 14 | 14
1616H11 16 | 16 |100 | 16 | 18 | 16 TCoT 110200 L60M2.5% 5 To8
2020K11 20 | 20 |125 | 20 | 22 | 16
1616H16 16 | 16 [100 | 16 | 18 | 19
2020K16 20 | 20 |125 | 20 | 22 | 19 TCoT 16T300 L60M4 X 8 T15
2525M16 25 | 25 |150 | 25 | 27 | 24
91°

h \_I\ a
s (o b

Applicable Inserts
IR

STGCR/L 0808D09 08 | 08 |60 | 8 | 10 | 11 T 0902
L60M2.2X 5 T06
1010E09 1010 |70 | 10| 11| 11 B
1212F11 12 [ 12 |80 | 12 | 14 | 14
TCoT 110200 L60M2.5 5 TO8
1616H11 16 | 16 |100 | 16 | 17 | 16
2020K16 20 20 |125 20 22 21 TCoT 16T3 L60M4 X 8
o oo T15
2525M16 25 |25 [150 | 25 | 27 | 21

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




ZHIJ7JE | TURNING TOOLS

4NEIZET] External turning toolholders

B o= 7 A

STTCR/L
600 0"/
\ h a
T—"
60° '
e L

Applicable Inserts
FERIRIT

Dimension(mm) 34 R~} WRET T

el v
a S e
R|L
STTCRI/L 1616H11 16 | 16 | 100 | 16 | 13 | 14 TCoT 110200 L60M2.5x 5 TO8
1616H16 16 | 16 | 100 | 16 | 13 | 19
TCoT 16T3uo L60M4 x 8 T15
2020K16 20 |20 [125 |20 |17 | 19
(o]
90 0¥
W T T ]
& > a
o0/ P
€ L

Applicable Inserts

Dimension(mm) A ) IR

Stock {7 w
a S e
R|L
SWACRI/L 1010E04 10 | 10 | 70 | 10 |10.5| 10
WCoX 040200 L60M2.5 x5 To8
1212F04 12 | 12| 80 | 12 |125] 14
1616H06 16 16 | 100 | 16 |16.5| 20 WCoX 06T300 L60M3 x 7 TO9
2020K08 20 | 20 | 125| 20 |20.5| 24 WCoX 080400 L60M4 x 8 T15

THREKERFBELEHEBE] X #1515 EEHMiBwww.hnsant.com

H = 7 A

ZHIJ7JE | TURNING TOOLS

External turning toolholders 4MNEIZE 7]

o7
0° h \ a
B T -
g ]
e |
L
ADD! DIe INSerts = e o o
D - O = - Hi th 7 hE =
e
S%o%k a | b|L|h|s]|e @ v V . p ‘
20 | 20 | 125| 20 | 10 | 11
SRDCN 202008 RCoT 060200 | L6OM2.5x 5 T08 _ _ _
2525M06 25 | 25 | 150 | 25 125 11
2020K08 20 20 | 125 | 20 10 16 RCoT 080300| L60M3x 7 T09
2525M08 25 | 25 | 150 | 25 |125| 16
2020K10 20 | 20 | 125 | 20 | 10 | 25 |RC T 0T340 | L6OM3.5% 10 T15 _ _ _
2525M10 25 | 25 | 150 | 25 |125| 25
2020K12 20 | 20 | 125| 20 | 10 | 35
2525M12 25 | 25 | 150 | 25 |12,5 | 35 |RCeT 120400| LEOM3.5x 12 15 - - -
3225P12 32 | 25 | 170 | 32 | 16 | 35
2525M16 25 | 25 | 150 | 25 |125| 35
RCoT 160600 | L60M4 x 16 T20 R16BS SMo614 s4
3232P16 32 | 32 |170| 32 | 16 | 40
3232P20 32 | 32 |170| 32 | 16 | 40
RCMX2006 |L6OM5x 16-8.1  T20 R20BS | SM0814 S5
4040520 40 | 40 | 250 | 40 | 20 | 40
oy
[T ] AP
0’
1 g =9/
o
L
ADD! DIE INSers = e o o
D - O = - Hi th 7 hE 5
e
a S
¥ alb/ L |n @ W ’/ @ VW g
SRGCR/L 2020K10 20 | 20| 125 | 20 | 25
S o5 | 25| 150 | o5 | 3 |RCT10T3a:| L6OMSS5x 10 T15 - - -
2020K12 20 | 20| 125 | 20 | 27
2525M12 25 | 25| 150 25 32 |RCoT 120400 | L60M3.5x 12 T15 - - -
3232P12 32 | 32| 170 | 32 | 32
ZEZEN D 25 125|150 | 25 | 82 |RG.T16060n| L6OMAx 16 120 R16BS | SMo614 s4
3232P16 32 | 32| 170 32 40
3232P20 32 | 32| 170 | 32 | 40
RCMX2006 |L60M5x16-8.1]  T20 R20BS | SM0814 S5
4040520 40 | 40| 250 | 40 | 48

THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com



ZFHI7JE | TURNING TOOLS §AHI §AHI ZFHI7JE | TURNING TOOLS

AMEZET] External turning toolholders External turning toolholders 4NEIZE 7]

. 95°
H a
i — | |
a
s T/ b 0 > S, E
-\.; -
e & L
L
Applicable Inserts Shim Wrench Clamp Clamp screw screw
App 2 sl €V € €V c Dimension(mm) FEARR ) R R J3k T JEH JRARIZ 22 H2AET
D - 0 = = B 2 7 [l v
B %
S,g?%k a | b | L h | e @ wl ,/ ' p ‘ i
20| 201|125/ 20 | 26| 32
SRACR/L 2020K06 20 | 20 | 125 | 20 | 15 CCLNR/L | 2020K12 CN oo 120700 | MC 1204 $4,83 CCL2612 | DM 0625 | DSP 0612
RCoT 060200| L60M2.5% 5 T08 — — — 2525M12 25| 25150 25| 31| 31
E0ZOMO8 = = o > = gl 25|25|150| 25 | 32 | 36 CNoo 1606 MC 1604 S4 CCL2816 | DM 0830 DSP 0812
2020K08 20 | 20 | 125 | 20 | 18 |RC.T0803ac| LEOM3x7 709 _ _ _ 3005p16 32| 25 170 | 32 | 32 | 36 om R
2525M08 25 25 150 25 23
2020K10 20 | 20 | 1256 | 20 | 20 |7 10T300| L6OM3.5x 10 15 _ _ _
2525M10 25 25 150 25 25
2020K12 20 20 125 20 28
2525M12 25 25 150 25 28 RCoT 120400 | L60M3.5x 12 T15 - - -
3205P12 32 | 25 | 170 | 32 | 28 CDJNR/L
2525M16 25 | 25 | 150 | 25 | 35 03°
RCoT 160600| L60M4 x 16 T15 R16BS SMO0614 S4
3232P16 32 32 170 32 40 H a
3232P20 32 | 32 | 170 | 32 | 40 f
RCMX2006 |L60M5x 16-8.1 T20 R20BS SM0814 S5
4040S20 40 40 250 40 55

Applicable Inserts Shim Wrench Clamp Clamp screw screw
Dimension(mm) FEA EHIRTIR T P FebR EARIRZ BRET
CDJNR/L  2525M15 25| 2515025 | 32| 40
3225P15 32| 25(170| 32 | 32| 40 | DN oo 150700 | MD 1504 S4,83 CCL2612 | DM 0625 | DSP 0612

THRAKEFBREHB X #HEEZEMNwww.hnsant.com THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com



ZH|7JE | TURNING TOOLS §AHI

4MEIZET] External turning toolholders

CSKNR/L
75°

Applicable Inserts Shim Wrench Clamp Clamp screw Screw
Dimension(mm) JEA ) T JIH WF AR Fe iz 22 WRET

= \

CSKNR/L 2020K12 20| 20 |125| 20 | 26| 28
2525M12 25| 25|150| 25| 32| 30 | SN oo 120700 | MS 1204 S4,53 CCL2612 | DM 0625 | DSP 0612
3225P12 32| 25(170| 32 | 32| 30

Applicable Inserts Shim Wrench Clamp Clamp screw screw
Dimension(mm) F:4s X~ EHRII A Ak B F IEfR  HERRIERZZ IRET
CSDNN  2020K12 20| 20 [125|20 | 10 | 36
2525M12 25| 251150 25 [12.5/ 36 | gN o 120700 | MS 1204 | S4,S3 | CCL2612 | DM 0625 | DSP 0612
3225P12 32| 25|170| 32 |[12.5) 36

THREKERFBELEHEBE] X #1515 EEHMiBwww.hnsant.com

§nuI ZFHI7JE | TURNING TOOLS

External turning toolholders 4MNEIZE 7]

CSRNR/L
75°

Applicable Inserts Shim Wrench Clamp Clamp screw screw
Dimension(mm) %E4s K~} LzEliopalay T WRF AR He iz 22 WRET

CSRNR/L 2020K12 20| 20 [125|20 | 22| 32
2525M12 25| 25|150| 25 | 27 | 32 | gN oo 120700 | MS 1204 S4,83 CCL2612 | DM 0625 | DSP 0612

3225P12 32| 25 [170| 32| 27| 32

32| 25(170| 32 | 32 | 40
2ARS SN oo 150700 | MS 1504 sS4 CCL2816 | DM 0830 | DSP 0812

4040R15 40 | 40 |200| 40 | 43 | 40

«O); °

r
‘ (@) “

]

Applicable Inserts ~ Shim Wrench Clamp Clamp screw

Dimension(mm) A R f FERII VAR #F JEAR F i i 22
CRDNN  2020K12 20| 20 |125|20 | 10 | 36
2525M12 25| 25 |150| 25 |12.5/ 36 | RN oo 120700 MR1204 S3,84 CCL2612 | DM 0625 DSP 0612
3225P12 32| 25170 32 |12.5] 36

THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com



ZFHI7JE | TURNING TOOLS §AHI §AHI ZFHI7JE | TURNING TOOLS

4NEIZET] External turning toolholders External turning toolholders FMNEZ7]

CTJNR/L DCLNR/L

93° .
”T ] 95

Applicable Inserts ~ Shim Wrench Clamp Clamp screw screw

plicable Inserts Shim Wrench  Clamp  Clampscrew srew
= % Dimension(mm) A4 s) IR JJ3 T FeA AR WRET
CTINR/L 2020K16 20 | 20 [125| 20 | 26 | 32 a ‘ %
TN oo 160700 | MT 1603 | S4,S3 | CCL2612 | DM 0625 | DSP 0510
2525M16 25| 25 [150| 25 | 31| 32
DCLNR/L 2020K12 20| 20 |125| 20 | 27| 32
2525M12 2525|150 25| 32| 30|  CNoo1204c0 | MC 1204 | S4,S3 | DCL2612 | DM 0625 | DSP 0612
3232P12 32| 32/170| 32| 39| 30

93° 75°

)

—
[{\@
—

Applicable Inserts ~ Shim Wrench Clamp  Clamp screw SCcrew
Dimension(mm) JEA R < IR TIH T R R W2ET

Applicable Inserts Shim Wrench Clamp Clamp screw SCrew
ERI JIH T AR AR IRET

CTUNR/L  2020K16 20| 20 |125| 20 | 25 | 32 DCBNR/L 2020K12 20| 20/125| 20 | 17 | 34
2o2oM16 25125150/ 25 | 32| 32| TNeo1607c0 | MT1603 | 5483 | COL2612 | DM0G25 | DSPOST0 2525M12 25|25|150| 25| 22| 36| CNoo12040c | MC 1204 | S4,S3 | DCL2612 | DM 0625 | DSP 0612
3232P12 32|32/170|32 | 29| 34

THRAKEFBREHB X #HEEZEMNwww.hnsant.com THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com



ZHIJ7JE | TURNING TOOLS

4MEIZET] External turning toolholders

DCKNR/L

75°

B o= 7 A

e L J
Applicable Inserts Shim Wrench Clamp  Clamp screw
Dimension(mm) F4s ]I~} TR T WwF JEAR JEAR IZ 22
DCKNR/L 2020K12 20| 20 |125| 20 | 26 | 28
2525M12 25| 25|150| 25 | 32 | 28 CN oo 120400 MC 1204 | S3. S4 | DCL2612 | DM 0625 | DSP 0612
3232P12 32| 32|170| 32| 39 | 28

rmﬁ
N

;

Dimension(mm) 4 R

Applicable Inserts

R

Shim
JIH

Wrench

Clamp
T

Clamp screw
JEAR

R iR 22

Nel(=

BT

L}

DCMNN  2020K12 20| 20 |125| 20 | 10 | 36
2525M12 25| 25 |150| 25 |12.5) 36
3232P12 32| 32(170| 32| 16 | 36

CN oo 120400

MC 1204 | S3. S4 | DCL2612 | DM 0625 | DSP 0612

THREKERFBELEHEBE] X #1515 EEHMiBwww.hnsant.com

H = 7 A

DDJNR/L
93°

ZHIJ7JE | TURNING TOOLS

External turning toolholders 4MNEIZE 7]

Applicable Inserts Shim Wrench Clamp Clampscrew  screw
Dimension(mm) JE4< K~ T Ik ®F AR ENUE AT
& -t %
DDJNR/L 2020K11 20| 20 (125|20 | 25| 32
2505M11 25 | 25 |150| 25 | 30 | 32 DN oo 110400 MD 1103 S3 DCL2211 | DM 0520 | DSP 0510
2020K1504 20| 20 |125|20 | 25| 40
2525M1504 25| 25 |150 | 25 | 31| 40 DNoo 150400
8232P1504 32|82 |170) 32 | 39] 40 MD 1504 | S4,S3 | DCL2612 | DM 0625 | DSP 0612
2020K1506 20| 20(125| 20 | 25| 40
2525M1506 25| 25[150| 25| 31| 40 DNoo 150600
3232P1506 32| 32/170| 32| 39| 40
DDPNN

62.5°

Applicable Inserts Shim Wrench  Clamp  Clampscrew  screw
Dimension(mm) J&4s ] ) R JI3 T JEAR JEMRIZL2  WEAT
DDPNN 2020K11 20| 20 (12520 | 10 | 32
2525M11 25| 25 [150| 25 [12.5| 36 DN oo 110400 MD 1103 S3 DCL2211 DM 0520 DSP 0510
2020K1504 20| 20|125/20 | 10 | 36
2525M1504 25| 25150 | 25 |12.5| 36 DNoo 150400
3232P1504 32| 32(170| 32 | 16 | 36
MD 1504 S4,8S3 DCL2612 DM 0625 DSP 0612
2020K1506 20| 20(125|20| 10 | 36
2525M1506 25| 25 (150| 25 |12.5| 36 DNoo 150600
3232P1506 32| 32170 32| 16 | 36

THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com



& | INUS

ZHIJ7JE | TURNING TOOLS

4MEIZET] External turning toolholders

DDQNR/L

107.5°

B o= 7 A

icable Inserts Wrench  Clamp  Clamp screw
Dimension(mm) &4 R~ TR WF JEbR EARZZ
DDQNR/L 2020K11 20| 20 [125|20 | 25| 28
DN oo 110400 MD 1103 | S4,S3 | DCL2211 | DM 0520 | DSP 0510
2525M11 25| 25|150| 25 | 31| 28
2020K1504 20| 20 |125|20 | 26 | 36
2525M1504 25| 25|150| 25 | 32| 36 DNoo 150400
3232P1504 32| 32(170| 32 | 38 36 MD 1504
T 20| 20|125| 20| 26| 36 S4,S3 | DCL2612 | DM 0625 | DSP 0612
2525M1506 25| 25150/ 25| 32| 36|  DNoo 150600
3232P1506 32| 32(170| 32| 38| 36

75°

Applicable Inserts
IR

Wrench

Clamp
T

AR

o

Clamp screw
FEARIR 22

B )

DSBNR/L 2020K12 20| 20| 125| 20| 18 | 34
2525M12 25| 25/ 150| 25| 23 | 32
3232P12 32| 32/170| 32| 30| 33

SN oo 120400 MS 1204 83,54 DCL 2612 | DM 0625 | DSP 0612

THREKERFBELEHEBE] X #1515 EEHMiBwww.hnsant.com

H = 7 A

DSDNN

ZHIJ7JE | TURNING TOOLS

External turning toolholders 4MNEIZE 7]

Applicable Inserts Wrench  Clamp Clamp screw SCrew
Dimension(mm) FEAR RS IR PF AR A R 22 WRAET
DSDNN  2020K12 20| 20 | 125 20| 10 | 36
2525M12 25| 25| 150| 25 |12.5/ 36 SN oo 120400 MS 1204 | S3,54 | DCL2612 | DM 0625 | DSP 0612
3232P12 32| 32| 170| 32/12.5/ 36
45°

Dimension(mm) 4 X~

Applicable Inserts
R

Wrench
"

Clamp
AR

e

Clamp screw
FEARIR 22

L)

DSSNR/L  2020K12 20| 20| 125 20| 25 | 36
2525M12 25| 25|150| 25 30| 35
3232P12 32| 32/170| 32| 38| 35

SN oo 120400

MS 1204

S3,84

DCL 2612

DM 0625

DSP 0612

THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com



ZH|7JE | TURNING TOOLS §AHI

4MEIZET] External turning toolholders

DSKNR/L

75°

Applicable Inserts Shim Wrench Clamp Clamp screw screw
ERIRTI R WAE: WT b AR WRET

B ¢ -

DSKNR/L  2020K12 20| 20| 125| 20| 26 | 28
2525M12 25| 25|150| 25| 36 | 28 SN oo 120400 MS 1204 | S3,S4 | DCL2612 | DM 0625| DSP 0612
3232P12 32| 32|170| 32| 38| 32

Applicable Inserts Shim Wrench  Clamp  Clamp screw screw

A—a\ S

DTGNR 2020K16 20 | 20 [125| 20 | 24| 28
2525M16 251251150125 130 28 | 1y . 160400 MT 1603 | S3 | DCL2211 | DM0520 | DSP 0510
3225P16 32| 25 170 | 32 | 30| 28
3232P16 32| 32170 32 | 38| 32

THREKERFBELEHEBE] X #1515 EEHMiBwww.hnsant.com

§nuI ZFHI7JE | TURNING TOOLS

External turning toolholders 4MNEIZE 7]

DTFNR

==
Q

? '% "
QY
.« ©

Applicable Inserts Shim Wrench  Clamp Clamp screw screw
Dimension(mm) A< s fHFRI JIH WF I8 T A YA

A a3

DTFNR/L 2020K16 ® | ® 20| 20|125|20 | 25 | 28
[ BN J
Gl 252515025 | 30 | 26 TN oo 160400 MT 1603 S3 DCL 2211 | DM 0520 DSP 0510
3225P16 ® | ® 32| 2517032 | 30 | 26
3232P16 ® | ®| 3232|1701 32 | 38| 26

f

Applicable Inserts Shim Wrench  Clamp Clamp screw SCrew
Dimension(mm) A ) bR ya) Az T JEb  RARIEZ BRAT

o(‘

DVVNN 2020K16 20 | 20 |125|20 | 10 | 45
Al 25251150 25 |12.5) 45 VN oo 160400 MV 1603 S3 DCL 3113 | M5X25 DSP 0510
3225P16 32 | 25 |(170| 32 [12.5| 45 (R~ )
3232P16 32|32 (170| 32 | 16 | 45

THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com



ZH|7JE | TURNING TOOLS §AHI

4MEIZET] External turning toolholders

DVJNR

93°

Applicable Inserts Shim Wrench  Clamp  Clampscrew
Dimension(mm) A K~ T I T Febe gz @,ﬁ%

DVJNR/L 2020K16 20| 20 |125| 20 | 26 | 45
2525M16 25| 25|150| 25 | 32 | 45 VN o 160400 MV 1603 53,54 oL a113| Msx2s 0P 0510
3225P16 32| 25|170| 32 | 32 | 45 (R %)
3232P16 32| 32|170| 32 | 40 | 45

95°

Applicable Inserts Nalin! Wrench  Clamp Clamp STl Screw
Dimension(mm) A R I T HF TRk AR 824T

DWLNR/L 2020K08 20| 20125 20| 25 | 32
s4
2525M08 25| 25]150| 25| 32| 31| N .1 080400 MW 0804 | DCL 2612 | DM 0625 | DSP 0612
3205P08 32| 25|170| 32| 32 | 31
3232P08 32| 32|170| 32| 39| 31
20| 20| 125| 20 25
2020K06 25 WN o5 060305 MW 0603 |  S3 DCL2211 | DM 0520 | DSP 0510
2525M06 25| 25|150 25| 30 | 25

THREKERFBELEHEBE] X #1515 EEHMiBwww.hnsant.com

§nuI ZFHI7JE | TURNING TOOLS

External turning toolholders 4MNEIZE 7]

WTQNR/L
105°

e

Applicable Inserts  Clamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) &A1) R WRET JI T Ak HRUEE

WTQNR/L 2020K16 20| 20 [125| 20| 30 | 27
2525M16 25| 25 150| 25 | 35 | 27 |  TNoo 16040s MT 1603 Sszf WTL16 | SZ0515
3232P16 32| 32|170| 32 | 45| 32 WMO0525
2525M22 25 | 25 |150| 25 | 38 | 36
TNoo 2204 00 MT2204 | S3S4 | WTL22 | SZ0618
3230P22 32| 32 |170| 32 | 45 | 36

6
93° ) ;
s @\ b

J3e

Applicable Inserts  Clamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) A I LT JI B"F UR QI VY 24

A
WTJINR/L 1316H16 13| 16 |125| 31 | 20 | 20
1616K16 16 16 |125| 31 | 22 | 32
2020K16 20| 20|125/ 31 | 25| 32|  TNoo 1604as MT 1603 | S5 WTL16 | SZ0515
2525M16 25 | 25 |150| 31 | 32 | 32 WMO525
3232P16 32 |32|170| 31| 39 | 36
2o25M22 2512511501 25132 | 38| o 020400 MT2204 | $354 | WTL22 | SZ0618
3232P22 32|32 |170| 32 | 39 | 38

THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com



ZHI7IR

WTENN

TURNING TOOLS

SMEI%ET] External turning toolholders

Dimension(mm) A4

icable Inserts

IR RES

(lamping Screw

Wrench
BT

Shim
JJ3s

Clamp
AR

Clamping stud
ik

WTENN  2020K16 ‘ 20 | 20 |125| 20| 10 | 34
2525M16 25| 25 150| 25 125 33| TNoo 16040c MT1603 | o | WTLie | SZ0515
3232P16 ‘ 32| 32 |170| 32 | 16 | 33 WMO525
il | i e B 25512‘5 2 TNoo 2204 oo MT 2204 53,54 WwTL22 SZ 0618
3232P22 | 32 | 32 |170| 32| 16 | 33 |
6,
-
95° Yol b a _
1 //‘__
5° -_-_-_1
i o r
s
y )
50‘
e
A L

WWLNR/L 2020K08
2525M08
3232P08

|
20| 20 (125 25

20 | 32 170 40

25| 25 (150 32.

Applicable Inserts

eI 2

WNoo 080400

Clamping screw

WMOs25

Wrench
4T

Shim
T

=

MW 0804 S8
54

Clamp

Hadi

WWL08

Clamping stud
e b

SZ 0618

* HL T A A

THEGEFHREHE F #HESEMiswww.hnsant.com

FHIZIR

‘Internal turning toolholders R¥LZEJ]

TURNING TOOLS

IZ NHEE

w o= I A
il Symbol A E G S X
JIFFHER bl andl | BUPERH | E AT I {0 I )
Type of shank | SteelShanks | +ili®HIiL ' Carbide | Steel Shank | Special Insert
|0il Cooling Hole | Carbide Shanks ¢ Application
0il Cooling Hole
1.71##ERX Tool holder type
i Example I

S

25

3.71HKM Tool length

6.71%®4k Tool holder style

L

v

RIS
Top and hole clamping

4E%EFX Clamping system

P S

100 125 150 160 180‘200|250 300| 350/ 400 @ f} Eﬁij

HKMNQ‘RSTU

AL FF I % 2

Hole clamping

E) K A

Screw on

Tool holder diameter

C
|

571K 4 Insert shape

I 7.71KEf Insert clearance angle

L

8.41H%A @ Cutting direction

THEGEFHAEHA R ¥HHEEMEwww.hnsant.com

B R Ls

£ ik

II‘E.I
il i85 7
& BT
<%



ZFHI7JE | TURNING TOOLS §AHI §AHI ZFHI7JE | TURNING TOOLS

AZFLZET] Internal turning toolholders Internal turning toolholders HFLZE7]

MCKNR/L MDQNR/L

75° 6% _______________ 107°30’
[l |

Dmin

Applicable Inserts Shim Clampingstud ~ Clamp ~ Campingscrew — Wrench Shim Clampingstud ~ Clamp ~ Clamping screw Wrench

Dimension(mm) ZE4 fEF 0 ) Ak e Feb XCKIRET RE T RS ET AR BT
S20Q-MCKNR/L12 26| 20|18 | 180 | 14 | 35 S20Q-MDQNR/L1504 26|20 | 18 | 180 | 13 | 40 MCL1810| WS 061020
X MSP 613 | MCL1810 | WS 061020| S2.5,S3 X MSPS13 825,53
S25R-MCKNR/L12 32| 25 | 23 | 200 | 165 | 35 S25R-MDQNR/L1504 32|25 | 23 | 200 | 17 | 45
DNoo 1504
S32S-MCKNR/L12 40| 32 | 30 | 250 | 22 | 50 S32S-MDQNR/L1504 40|32 | 30 | 250 | 20 | 55 R
CNoo 120400 MSP617
S50U-MCKNR/L12 60 | 50 | 48 | 350 | 30 | 60 S32S-MDQNR/L1506 40|32 | 30 | 250 | 20 | 55
DNao 150600 MSP619
S40T-MDQNR/L1506 50| 40 | 38 | 300 | 24 | 55
95° 93°

Applicable Inserts Shim Campingstud ~ Clam Clampil Applicable Inserts ; ] 3
. . . np ampngscrew — Wrench . . Shim Clampingstud ~ Clamp ~ Clampingstrew — Wrench
Dimension(mm) &4 ) (U TEPIVE R R (1 Y (E Y € Dimension(mm) A BRMDIY - Ty T R Wk BT
o 26|20 | 18 | 180 | 13 | 40 MCL1810 | WS 061020 = 28 | 20 | 18 | 180 | 17 | 40 MCL1810|WS 061020
S20Q-MCLNR/L12 X MSP 613 $2.5.53 S20Q-MDUNR/L1504 X MSP613 525,53
S25R-MCLNR/L12 32| 25 | 23 | 200 | 16 | 40 S25R-MDUNR/L1504 32 | 25| 24 | 200 | 19 | 40 ONew 1504 MCL1814
$32S-MCLNR/L12 40| 32 | 30 | 250 | 20 | 50 | CNoo120400 S32S-MDUNR/L1504 40 | 32| 30 | 250 | 22 | 45 e
MCL1814 | WS 061025 s3 MSP617
S40T-MCLNR/L12 50| 40 | 37 | 300 | 26 | 55 MC 1204 | MSP617 S40T-MDUNR/L1504 S0 | 40| 87 | 300 | 26 | 55 MCL2114 WS061025  S3
MD1504
S50U-MCLNR/L12 60 | 50 | 46 | 350 | 31 | 70 S32S-MDUNR/L1506 40 | 32| 30 | 250 | 22 | 45
DNoo 150600 MSP619
S40T-MDUNR/L1506 50 | 40 | 37 | 300 | 26 | 55

THRAKEFBREHB X #HEEZEMNwww.hnsant.com THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com



ZHIJ7JE | TURNING TOOLS

AZFLZET] Internal turning toolholders

MDZNR/L

93°

Dmin

B o= 7 A

ZHIJ7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

H = 7 A

MVQNR/L

117°30” e ——————
h Dmin
| [ Yany
._4‘."’_ A I p + _____ m
S \'<\ (e) ‘ AN 7/
e ¢d \95:/

L

Applicable Inserts
R R

Shim

(lamping stud
Ak

HIET

(lampingscrew — Wrench

Clamp
XERIZET /T

Dimension(mm) 37 R~ JEAR

L=

S25R-MVQNR/L16 32 | 25| 23 |200| 17 | 12°| 40 X MSP510 | MCL1814
S32S-MVQNR/L16 42 | 32| 30| 250 22 | 17°| 40 | VNLILI 16040001 WS061025 | S2,S3

MV 1603 | MSP513 | MCL2414
S40T-MVQNR/L16 50 | 40 | 37 |300| 27 | 15° | 50

93°

Applicable Inserts — Shim  Clampingstud~ Clamp  Campingszen Wrench
Dimension(mm) A s BERIRITT Ak kT J£1=)yip WEIBET T
S25R-MDZNR/L1504 36 |25 |23|200| 22 | 35 | 11 X MSP613 S2.5,83
$32S-MDZNR/L1504 43 |32 |30 250 | 26 | 40 | 12| DNaog 150400
S40T-MDZNR/L1504 50 |40 | 37 |300| 29| 50 111.5 1504 MSP617 | McL1814 | wsos1025|  S3
S32S-MDZNR/L1506 43 | 32| 30|250| 26| 40 | 12
DNoo 150600 MSP619
S40T-MDZNR/L1506 50 | 40| 37 |300| 29 | 50 |11.5
75°
6 )
e —
h
|
S o\ O
75 e
L

Applicable Inserts
IR

Shim
TR

(lamping stud
G

Clamp
JEAR

(lamping screw

XK MRET

Wrench
w"T

<l
S20Q-MSKNR/L12 26 | 20| 18 [180| 13 |157| 31 X MSP613 MCL1810 | WS061020
S25R-MSKNR/L12 32 | 25| 23|200| 17|12°| 35
- o SN 12040001 MCL1814| WS061025 | S2.5,S3
S32S-MSKNR/L12 40 | 32| 30 |250| 22 |17°| 40 MS 1204 | MSP617
S40T-MSKNR/L12 50 | 40 | 37 |300| 27 | 15°| 50

THREKERFBELEHEBE] X #1515 EEHMiBwww.hnsant.com

Dimension(mm) FE4< R~}

Applicable Inserts
R TI

Shim
Pak:

=l

(lamping stud
55T

Clamp
JEAR

(lamping screw

XUEKERET

Wrench
EE

S25R-MVUNR/L16 36| 25| 23|200| 20 | 40 | 8 X MSP510

$32S-MVUNR/L16 42|32 |30 |250 | 23 | 40 | 8 | VNLI] 1604071 MCL1814 | WS061025 | S2,S3
MV 1603 | MSP513

S40T-MVUNR/L16 50| 40 | 37 | 300 | 27 | 55 | 10

THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com



ZH|7JE | TURNING TOOLS §AHI

MVWNR/L

Applicable Inserts Shi g ;
Dimension(mm) A ERI R Jj]iqb\] CIar%n%r}EgTstud CI%%IEP il;n;piniiére% W;E%Ch

" 4

S25R-MVWNRI/L16 36| 25|23 | 200 | 22 | 35 | 10 X MSP510
S32S-MVWNR/L16 48 |1 32130 | 250 | 25 40 | 10 | VNOI[I 1604000 MCL1814 | wsos1025| 2.3
S40T-MVWNR/L16 56| 40|37 | 300 | 29 | 45 | 11 MV 1603 | MSP513 ’
96°

Dmin

N /

Applicable Inserts Shm
Dimension(mm) 74 3kt iabalay JAED

Clampingstud ~ Clamp ~ Clampingstrew — Wrench

BT JEB BCKERET /T

S25R-MVXNR/L16 32| 25| 23 | 200 | 17 | 55 X MSP510

S32S-MVXNR/L16 42132 30 | 250 | 21 | 60 | yN(] 16040000 MCL2414 | WS061025 | 52,53
MV 1603 | MSP513

S40T-MVXNR/L16 50| 40 | 38 | 300 | 25 | 68

THREKERFBELEHEBE] X #1515 EEHMiBwww.hnsant.com

H = 7 A

MWLNR/L

95°

Dimension(mm) 4 K~ R R JIH i)

ZHIJ7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

Applicable Inserts

Shim  (Clmpingstd ~ Clamp  Campingstrew ~ Wrench

IEAR XCKIRET  4RF

&l

S20Q-MWLNR/L08 25|20 | 18 180 | 145 | 36
X MSP613 | MCL1810 |WS061020 | S2.5,S3
S25R-MWLNR/L08 32| 25| 28 200 17 40
S32S-MWLNR/L0O8 41|32| 30 250 22 50 | WNLICJ 0804011
S40T-MWLNR/L0O8 50| 40| 37 | 300 27 55 MW 0804 MSP617 | MCL1814 |WS061025| S3

91°

Dmin

Applicable Inserts Shim Clampingstud ~ Clamp ~ Clampingsurew — Wrench

Dimension(mm) %E4s R~ A 970 Ak AT JRAC  XCKIZET iR

(O) llg®

$20Q-MTFNR/L16 25| 20| 18| 180 | 13 | 35 oLta10 | weoetozn
S25R-MTFNR/L16 32| 25|23 | 200 | 16 | 40 X | MSP510

$325-MTFNR/L16 40| 32| 50| 250 | 20| 45 | TN 1604 | (yrperel o |MOLISHa | wsostoas 52,83
S40T-MTFNR/L16 0| 4037 | 300 | 25 | s0

THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com



ZH|7JE | TURNING TOOLS §AHI

AZFLZET] Internal turning toolholders

MTQNR/L

107.5° 6

sho7se —— N

Applicable Isers — Shim  Clanpingstud e
Dimension(mm) 52K+ N TRt L T

S20Q-MTQNR/L16 25 | 20 | 18| 180 | 14 | 35 X MSP510 | MCL1810 |WS061020
S25R-MTQNR/L16 32 | 25 | 23| 200 | 18 | 35 sos3
TNOO 16040001 :
$32S-MTQNR/L16 40 | 32 | 30| 250 | 21 | 40 MCL1814 | WS061025
MT 1603 | MSP513
S40T-MTQNR/L16 50 | 40 | 37| 300 | 25 | 50

93° 6% ______________ -

Applicable Inserts  Shim  lampingstud Campi
Dimension(mm) A s LAYy T) T (:.J%%jip -&ng& W§¥h

A & lle® —

S25R-MTJUNR/L16 32| 25 | 23 | 200 | 15 | 40 X MSP510
$32S-MTJNR/L16 40 | 32 | 30 | 250 | 18 | 45
S40T-MTJINR/L16 50 | 40 | 37 | 300 | 24 | 55

TN 1604000 | MT 1603 | MSP513 MCL1814|WS061025| S2,S3

THREKERFBELEHEBE] X #1515 EEHMiBwww.hnsant.com

§nuI ZFHI7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

MTUNR/L
93° 6% ______________ -
Dmin @
—
e L d -

Applicable Inserts Shi Clamping stud i
Dimension(mm) JEA - razE PN jjg aggr}éftu Cj%fnép ;l;fimig% W*rgn%ch

S20Q-MTUNR/L16 25 | 20 | 18 | 180 | 13 | 31 X MsP510 | MCL1810 | WS061020
| 32 | 25 23 200 17 35
S25R-MTUNR/L16 TNCI] 160401 s2.53
- 40 | 32 30 250 22 40 MCL1814 |WS061025
S325-MTUN&/L16 MT 1603 | MSP513
S40T-MTUNR/L16 50 | 40 | 37 | 300 | 23 | 50
60° .
Y e — —
||
Dmin
h .
—_—— e AN L - e — - ] & | \\
5| 60O — RN
60 d =
e
L

Applicable Inserts Shim  Clmpingstud ~ Clamp ~ Campingstrew ~ Wrench

Dimension(mm) 74 R~ fERT I T3 G R XCKIBET E

0 ¢*

S20Q-MTWNR/L16 27| 20| 18 | 180 | 15 | 31 « MSP510 MCL1810| WS061020

S25R-MTWNR/L16 32| 25| 23 | 200 | 17 | 35

S32S-MTWNR/L16 40 | 32 | 30 | 250 | 22 | 42 | TNLCIC) 16040000 MCL1814 |WS061025| S2,S3
MT 1603 | MSP513

S40T-MTWNR/L16 50 | 40 | 38 | 300 | 27 | 50

THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com



ZHIJ7JE | TURNING TOOLS

AZFLZET] Internal turning toolholders

PCLNR/L
95°
6"/?_5;@ _______________
5 = -
S| G57© -

Applicable Inserts

Dimension(mm) &4 R fERM IR

Screw

BT

Wrench

T

B o= 7 A

Lever

FLAT

Shim Shim pin
JIH Er

S16Q-PCLNR/L09 20 | 16 | 15 |180| 10 |-12°| 30
S20Q-PCLNR/L09 25|20 | 18 |180| 12 |-11°| 30 | CNoo 090300 VHX0509 S2 Lv3C - -
S25R-PCLNR/L09 32| 25| 231|200 15 |-10° 35
S20Q-PCLNR/L12 25|20 | 18 |180| 13 |-11°] 35

VHX0613 | S2.5 LV4A — -
S25R-PCLNR/L12 32 | 25| 23 |200| 15 | 12°| 40
S32S-PCLNR/L12 44 | 32 | 30 |250| 22 |-10°| 50

CNoo 120400

S40T-PCLNR/L12 54 | 40 | 37 |300| 24 |-10°| 55 VHX0821|  S3 Lv4 PC12318| SP4
S50U-PCLNR/L12 63 | 50 | 47 | 350| 27 |-10° 58
S50U-PCLNR/L19 63 | 50 | 47 |350| 32 |-10°| 70 | CNoo 190600 | VHX1027 | S4 LV6 PC19476| SP6
62° 30'

Applicable Inserts

Dimension(mm) AU~ AR

Screw
WRET

Wrench
HF

Lever

ATAF

Shim Shim pin
DAL S 1

- 4

S32S-PDSNR/L15 40| 32| 30| 250 |23.5| 45 | 9

DNoo 150600 | VHX0821 S3 Lv4B | PD15318 SP4
S40T-PDSNR/L15 50 | 40 | 37 | 300 |28.5| 43 | 11
S32S-PDSNR/L15-3 40| 32| 30| 250 |23.5| 45 | 9

DNoo 150400 | VHX0821 S3 Lv4 PD15318 SP4
S40T-PDSNR/L15-3 50 | 40 | 37 | 300 |28.5| 43 | 11

THREKERFBELEHEBE] X #1515 EEHMiBwww.hnsant.com

ZHIJ7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

H = 7 A

PDUNR/L
93°

Dmin

Applicable Inserts Screw  Wrench
fERMI R WRET T

Shim
A

Lever

Shim pin
Dimension(mm) FE4 R~} AW B

S20Q-PDUNRIL 11 25 | 20 | 18 | 180 13 |—16° 30 B B
S25R-PDUNRIL 11 32 | 25| 23 | 200| 17 |-139 35 | DNooitodo | VHXOS12 1 S2 | LV3D
S32S-PDUNR/L 11 40 | 32 | 30 | 250| 22 |-16°| 40 VHX0617 | S2.5 Lv3 | PD11270| SP3
S32S-PDUNR/L 15 40 | 32 | 30 [250| 22 |-16°| 50

DNoo 150600 | VHX0821|  S3 LV4B | PD15318| SP4
S40T-PDUNR/L 15 50 | 40 | 37 | 300| 27 |-11°| 50
e D o 40 32| 30 1 250) 22 |-16° 50 DNao 1504 VHX0821|  S3 LV4 PD15318 | SP4

oo (ulu]

S40T-PDUNR/L 15-3 50 | 40 | 37 | 300| 27 |-11°| 50

75° ﬁf——: _____________

Applicable Inserts Screw  Wrench
fER )R WRET T

g

Shim
I

Lever

Shim pin
FLAF

A

Dimension(mm) JEA R~

S25R-PSKNR/L 12 32| 25| 23 200 17 |-12°| 42 VHX0613 | S2.5 LV4A - -
S32S-PSKNR/L 12 44 | 32 | 30 |250| 22 |-10°| 45 | SNoo 120400 Vhix S P P

0821 3 12318 4
S40T-PSKNR/L 12 54 | 40 | 37 | 300| 27 |-10° 50

THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com



ZFHI7JE | TURNING TOOLS §AHI §AHI ZFHI7JE | TURNING TOOLS

PTFNR/L SCLCR/L
90° 95°

Applicable Inserts Screw  Wrench  Lever Shim Shim pin Applicable Inserts
Dimension(mm) FEA R~ R T R HRET W FLAF JIE e Gzl
Stock/Eff
od S e
R|L

S16Q-PTFNR/L 11 20| 16| 15 | 180 | 11 | 28 S07K-SCLCR/L 06 9 | 7 6 125 46 | 15

. 25|20 | 18 | 180 | 13 | 31 TNoo 1103 - - o 10 | 8 7 125 45 | 14
S20Q-PTFNR/L 11 oo oo VHX0509 S2 LVv2 S08K-SCLCR/L 06 CCuT 060200 L60M2.5X5 Tos

S25R-PTFNRI/L 11 32| 25| 23 | 200 | 17 | 35 S10K-SCLCRI/L 06 12 110 | 9 | 125 6 | 17

S25R-PTFNR/L 16 32| 25| 23 | 200 | 17 | 42 VHX0512 | S2 LV3B - - S12M-SCLCR/L 06 16 | 12 | 1 150 7 17

S32S-PTFNR/L 16 44 |32 | 30 | 250 | 22 | 50 | TNoo 160400 S12M-SCLCR/L 09 16 | 12 | 11 150 8 25

VHX0613| S2.5 LV3  |PT16476 SP3

S40T-PTFNR/L 16 54 | 40 | 37 | 300 | 27 | 55 S16Q-SCLCR/L 09 20 | 16 | 15 180 9 27
- CCoT 097300 L60M4X8 T15

S20Q-SCLCR/L 09 25 | 20 | 18 180 11 28

S25R-SCLCR/L 09 32 | 25 23 200 14 35

PWLN RI L S25R-SCLCRIL 12 32 | 25 | 23 200 17 38
o5° S32S-SCLCRI/L 12 36 | 32 | 30 | 250 18 | 45 CCuT 120400 LEOMSX12 T20

6%&1_@_ _______________ S40T-SCLCR/L 12 50 | 40 | 37 | 300 | 27 | 60

i ]
- SCLCR/L-H
|
© - 95°

Applicable Inserts ~ Screw ~ Wrench ~ Lever ~ Shim  Shim pin
Dimension(mm) JEA R ) I BT BT ALHF Ak Pl

@ Applicable Inserts
R R
S16Q-PWLNR/LO6 20 | 16| 15 |180| 11 |-13° 25
S20Q-PWLNR/L0O6 25 | 20| 18 |180| 13 |-13° 32 | WNoo 060405 | VHX0512 | S2 | LV3B - -
S25R-PWLNR/L06 32 | 25| 23 |200| 17 |-13° 35
S20Q-PWLNR/L08 25| 20| 18 |180| 13 |-13° 32
S25R-PWLNR/LO8 32 | 25| 23 |200| 17 |-13° 45 | \\n o 0804 VHX0B13) 825 | LV4A B - S08K-SCLCR/L 06HO9 9| 8 | 7 [125] 43 |-15°| 15
S32S-PWLNR/L08 40 | 32| 30 |250| 22 (-13°| 50 VHXO821 3 S10K-SCLCR/L 06H11 11 | 10 9 |125 | 55 |-13°| 16 CCuoT 060200 L60M2.5X5 TO8
S40T—PWLNR/LOS 50 | 40| 42 |300| 30 |-13°| 55 Lv4 |PWo08318| SP4 S12M-SCLCR/L 06H13 13 | 12 | 11 | 150 | 6.5 |-10°| 17
516Q-5CLCR/L O9H17 17 | 16 | 15 | 180 | 85 -12°| 27 CCoT 097305 L6OM4X8 T15

THRAKEFBREHB X #HEEZEMNwww.hnsant.com THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com



S | INYS

ZHIJ7JE | TURNING TOOLS

AZFLZET] Internal turning toolholders

B o= 7 A

SCKCR/L
75°

0%

=

Dmin

Wrench
HF

Applicable Inserts Screw
FERKIT ) kT

Stock 77 w
s | 6 | e

R|L
S08K-SCKCR/L06 10 8 75 | 125 | 55 | 13° | 15
S10K-SCKCR/L06 13 10 9 125 7 12 15 CCo T 060200 L60M2.5X5 Tos
S12M-SCKCR/L06 16 12 11 150 8 10° 20
S12M-SCKCR/L09 16 12 11 | 150 8 12° | 20
S$16Q-SCKCR/L09 20 16 15 | 160 10 10° 25 CCo T 09T300 L60M4X8 T15
S$20Q-SCKCR/L09 24 20 19 | 180 | 13 | 8&° 30
S25R-SCKCR/L09 31 26 24 | 200 | 16 | 8&° 35

SDQCR/L
107°30'

Applicable Inserts
Dimension(mm) 4R ~f K IR

S08K-SDQCR/LO7 10| 8 | 7 |125| 6 | -8

S10K-SDQCR/L 07 1310 9 [125) 7 | -8 20| it oromes L6OM2.5X5 08
S12M-SDQCR/L 07 16 | 12| 11 |150| 9 | -8°| 22

$16Q-SDQCR/L 07 20| 16 | 15 |180| 11 | -6°| 27

$20Q-SDQCR/L 11 25| 20| 18 |180| 13 | -6°| 35 DCoT 11T3oo L60M4X8 T15
S25R-SDQCR/L 11 32| 25| 23 |200| 17 | -6°| 38

THREKERFBELEHEBE] X #1515 EEHMiBwww.hnsant.com

H = 7 A

SDXCRI/L

120°

ZHIJ7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

Applicable Inserts
R I R
S10K-SDXCR/L 07 13| 10| 9 | 125 7 -8° | 18
S12M-SDXCR/L 07 16 | 12 | 11 | 150 8 -8° | 20 DCoT 070200 L6OM2.5X5 To8
S16Q-SDXCR/L 07 20 | 16 | 15 | 180 10 -6° | 25
S20Q-SDXCR/L 11 25| 20| 18 | 180 13 -6° | 33
S25R-SDXCR/L 11 a0 | 25| 23 | 200 16 & | 32 DCoT 117300 L60M4X8 T15
62°30'

Applicable Inserts
fER )R

S12M-SDWCR/L 07 19| 12| 11 |125| 11| -8°| 15| 55

S16Q-SDWCRI/L 07 23| 16 | 15 | 180|12.5 -8°| 15 5 DCoT 070200 L60M2.5X5 To8
S20Q-SDWCR/L 07 27 | 20 | 19 | 180|14.5| -8°| 22 | 55

S20Q-SDWCR/L 11 27 | 20 | 19 | 180|14.5 -6°| 25 6

S25R-SDWCR/L 11 32| 25| 24 |200| 18 | -6°| 25 7 DCoT 11T3oo L60M4X8 T15
S32S-SDWCRI/L 11 40 | 32| 30 |250|21.5| -6°| 40 | 6.5

THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com



ZEI7JE | TURNING TOOLS §AHI

AZFLZET] Internal turning toolholders

SDUCR/L
93°
\ = ]
h Dmin
L9 T N
o ] \
: ‘./J_—e.l L d E.://

Applicable Inserts
G lapAa

Stock i/
od s g e f
R|L
SO8K-SDUCR/LO7 13108 | 765|125 8 | -g° 4
S10K-SDUCR/L 07 1310 | 9 | 125] 7.7 | -8° 3 DCo T070200 L60M2.5X5 T08
S12M-SDUCR/L 07 16 | 12 | 11 | 150| 8.5 | —g°| 22 | 3
$16Q-SDUCR/L 07 20 | 16 15 | 180| 11 | —6°| 27 | 3.5
$20Q-SDUCR/L 11 25 |20 | 18 | 180|14.5| —-6°| 30 | 5.5 DCo T11T3m0 L60M4X8 T15
S25R-SDUCR/L 11 32 | 25 23 | 200|18.5| -6°| 35 7

SDZCR/L
93

Applicable Inserts Screw Wrench
R WRAT HF

Stock [f
R |L
S20Q-SDZCR/L11 27 | 20 | 18 | 180 | 16 | -6°| 20 | 7.5
S25R-SDZCR/L 11 33 25 | 23 | 200 | 19 -6°| 30 7.5 BCo T11T300 L6OMAXE 15
S32S-SDZCRI/L 11 40 | 32 | 30 |250 | 23 | -6°| 35 | 8.4
S40T-SDZCR/L 11 50 | 40 | 37 | 300 | 28 | —4°| 50 | 9.4

THREKERFBELEHEBE] X #1515 EEHMiBwww.hnsant.com

§nu1 ZFHI7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

SSKCR/L
75° D
SY |
== - J o
’\% — ‘
s|] @ jd—- o
e mi
L

. . Applicable Inserts Screw Wrench
Dimension(mm) FEA fEHI TR AT wRF
S12M-SSKCR/L 09 16 | 12 | 11 | 150 | 9 | -10°| 25
S16Q-SSKCR/L 09 20 | 16 | 15 | 180 | 11 | -11°| 30
S25R-SSKCR/L 09 32 25 23 | 200 | 17 | -8° | 40
S25R-SSKCR/L 12 32 25 23 | 200 | 17 | -8 40 SCo T 120400 L6OM5X12 T20
S32S-SSKCRI/L 12 40 | 32 | 30 | 250 | 22 | -10°| 45

SSSCR/L
45°

Applicable Inserts Screw
GOz [sapaNa WRET

S12M-SSSCR/L 09 17 | 12 | 11 | 150 | 10 | -10°| 15 | 4.5

S16Q-SSSCR/L 09 22 | 16 | 15 | 180 | 13 | -11°| 25 | 55

S20Q-SSSCRI/L 09 25 | 20 | 18 | 180 | 15 | -6° | 30 | & SCcTO09T3s0 | L6OM4X8 T15
S25R-SSSCR/L 09 32 25 | 23 | 200| 17 | -8° | 35 | 55

S25R-SSSCRI/L 12 32 | 25 | 23 | 200 | 17 | -8° | 35 | 55 SCo T 120400 LEOMBX12 T20
S32S-SSSCRI/L 12 40 | 32 | 30 | 250 | 22 | -10°| 40 7

THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com



ZH|7JE | TURNING TOOLS §AHI

AZFLZET] Internal turning toolholders

STFCR/L

91°

Applicable Inserts
IR

S0BK-STFCR/L09 1008 | 7 | 125 | 55 8

S10K-STFCR/L09 12 10 9 125 6.8 10 TCo T 090200 L60M2.2X6 TO6
S12M-STFCR/LO9 6 | 12| 11| 150 | & | 10

S12M-STFCR/L11 14 12 11 150 6.5 25

S16Q-STFCR/L 11 18 16 15 180 9 25 TCo T 110200 L60M2.5X5 TO8
S20Q-STFCRI/L 11 25 20 18 180 11 25

S25R-STFCR/L 16 32 25 23 200 17 40

S32S-STFCRIL 16 s6 | a2 | s | 20 | 18 | so | 0o LOM4X8 Tis
S40T-STFCR/L 16 50 | 40 | 37 | a0 | 25 | 60

STWCRI/L ” ﬂ
60° i —

Applicable Inserts Screw
IR )
S10K-STWCRI/L 11 14 | 10 9 | 125 | 8 |-10°| 14
S12M-STWCRI/L 11 16 | 12 11 | 150 | 9 |-13°]| 25
S16Q-STWCRI/L 11 20 | 16 | 15 | 180 | 11 |-10°| 30 TCo T 110200 L60M2.5X5 T08
S20Q-STWCRIL 11 25 | 20 | 19 | 180 | 13 | —6° | 30
S25R-STWCRI/L 11 32 | 25 | 24 | 200 | 17 | -6° | 35
S20Q-STWCRIL 16 25 | 20 | 19 | 180 | 145| -3° | 36
S25R-STWCRI/L 16 32 | 25 | 24 | 200 | 17 | —-6° | 49
S32S-STWCRIL 16 39 | 32 | 30 | 250 | 22 |_10°| 50 TCo T 16T300 LBOM4X8 Ti5
S40T-STWCR/L 16 50 | 40 | 37 | 300 | 25 | _g° | 50

THREKERFBELEHEBE] X #1515 EEHMiBwww.hnsant.com

§nuI ZFHI7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

910 0°
=
Dmin
h
5149112 b —
e L 9
Applicable Inserts
GaELPALS
S08K—STFPR/L09 10 | o8 7 | 125 5 |-10°| 14 TPo T 090200 (i)
S10K-STFPR/L11H11 11 10 9 125 | 55 | -13°
S12M-STFPRIL 11H13 13 | 12 | 11 | 150 | 6.8 | ~10° TPO T 110800 zeceny | -0OME2XS To8
S16Q-STFPR/L 11H17 17 16 15 | 180 | 8.8 | —6°
93° 0¥
an ="
Dmin
(¢]

Applicable Inserts N5 Wrench
R0 BRET EGR

Stock %17
od s 5} e

S08K-STUCR/L09 11 | 08 | 7 | 125 | 55 |~15°

. - 11 16 125 | 55 | -15° | 24
SOl L0 E 15 TCo T 090200 L60M2.2X6 Toe
S10K-STUCR/L09 13 10 9 125 6 |-13°| 10
S10K-STUCR/L09-A16 13 16 15 | 125 7 |—-18 | 30
S10K-STUCR/L11 13 10 9 125 7 |[-12°| 10
S10K-STUCR/L11-A16 16 16 15 | 125 7 |-12°| 30

—. 16 12 11 | 150 7 |-10° | 25
S12M-STUCR/L11 TCo T 110200 L60M2.5X5 TO8
S12M-STUCR/L11-A16 16 16 15 | 150 7 | -10° | 30
S16Q-STUCR/L11 20 16 15 | 160 9 | -8 | 25
S20Q-STUCR/L11 25 20 19 | 180 | 11 |-6° | 25
S25R-STUCR/L11 31 25 24 | 200 | 15 | -4 | 34
S20Q-STUCR/L16 25 20 19 | 180 | 13 | -8° | 36
S25R-STUCR/L16 31 25 24 | 200 | 17 | -6 40 TCo T 16T300 L60MAXE _
S32S-STUCR/L16 39 32 30 | 250 | 18 | -4° | 50
S40T-STUCR/L16 50 40 38 | 300 | 25 | -2° | 60

THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com



ZEI7JE | TURNING TOOLS §AHI

AZFLZET] Internal turning toolholders

SVQCR/L
107.5°

Applicable Inserts
R R
Stock [i/7
Dmin| ¢d | h | L s | 6| e f

R|L
S20Q-SVQCR/L16 27 | 20 | 18 | 180| 15 | -8° | 40 | 6.0
S25R-SVQCR/L16 32 | 25 | 23 | 200 |18.5|-8° | 45 | 6.9 VCo T 16040 o L60M4X8 T15
S32S-SVQCRI/L 16 40 | 32 | 30 |250| 22 | _g° | 56 | 8.4
S40T-SVQCR/L 16 50 | 40 | 37 |300| 27 | _g° | 64 | 9.4

SVQBR/L
107.5°

Applicable Inserts
FERIT

S20Q-SVQBR/L16 27 | 20| 18 |180| 15 | -8°| 40 | 6.0
S25R-SVQBR/L16 32 | 25| 23 | 200 185| -8’ 45 | 6.9 VBo T 16040 o L6OM4X8 Ti5
S32S-SVQBRI/L 16 40 | 32| 30 | 250 | 22 | _8°| 56 | 8.4
S40T-SVQBR/L 16 50 | 40| 37 |300| 27 | _g°| 64 | 9.4

THREKERFBELEHEBE] X #1515 EEHMiBwww.hnsant.com

§nu1 ZFHI7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

SVUCR/L
93°
Y£ _______________ ]
h Dmin
_____ N
. \:e-///

Applicable Inserts Screw
ERIITI R B4

S$16Q-SVUCR/L11 22 | 16 | 15 | 180 | 135 | 24 | 6 VCo T 11080 L60M2.5X5 Tos
S20Q-SVUCR/L16 31 20 | 19 | 180 | 19 32 | 95
S25R-SVUCR/L16 35 | 25 | 23 | 180 | 20 | 32 | 8.4 VCo T 160400 L60M4X8 Ti5
S32S-SVUCRIL 16 42 | 32 | 30 | 250 | 22 49 | 8.4
S40T-SVUCRIL 16 51 | 40 | 37 | 300 | 27 | 49 | 11
SVWCR/L

Dmin

N //

o

Applicable Inserts

IR b

Stock /7 w

R | L
S16Q-SVWCR/L11 25| 16 | 15 | 180 | 14 | 25 | 6.9 VCao T 110300 L60M2.5X5 TO8
S20Q-SVWCR/L16 32| 20 | 18 | 180 | 22 | 25 |129
S25R-SVWCR/L16 36| 25 | 23 | 200 | 22 | 30 | 10 VCo T 160400 L60M4X8 T15
S32S-SVWCRIL 16 45| 32 | 30 | 250 | 27 | 42 |12.2
S40T-SVWCR/L 16 55| 40 | 37 | 300 | 30 | 50 | 11

THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com



ZEE|7JE | TURNING TOOLS

AFLZET] Internal turning toolholders

#H = 71 A

SVXCR/L

Applicable Inserts
I
S16Q-SVXCR/L11 20| 16 | 15 180 | 95 | 35 | 2 VCo T 110300 L60M2.5X5 TO8
S20Q-SVXCR/L16 25| 20 | 18 180 13 | 40 | 4
S25R-SVXCR/L16 32| 25 | 23 200 | 145 | 40 | 3 VCo T 160400 L6OMAXS 5
S32S-SVXCRI/L 16 40 | 32 | 30 250 21 62 | 6
S40T-SVXCR/L 16 50 | 40 | 37 300 24 | 62 |55
93°
Dmin
TN
i I
//
.

Applicable Inserts Screw

Dimension(mm) A R I YRET

S16Q-SVZCRI/L 11 22|16 | 15 | 180 | 135| 15 | 6.5

VCo T 110300 L60M2.5X5 T08
S20Q-SVZCR/L 11 28 | 20 | 18 180 16 22 | 75
S25R-SVZCR/L 16 34 | 25 | 23 | 200 | 21 30 | 10
S32S-SVZCR/L 16 40 | 32 | 30 | 250 | 23 | 35 | 9 VCo T 160400 L60M4X8 T15
S40T-SVZCRIL 16 50 | 40 | 37 300 29 40 | 11

THREKERFBELEHEBE] X #1515 EEHMiBwww.hnsant.com

H = 7 A

SWUBR/L

CO5H-SWUBR/L06

ZHIJ7JE | TURNING TOOLS

en steel Internal Turning tools $2$XFLZET]

—.Dmin

) =k

@d
H

Applicable Inserts

FEFRIT J

Screw
HRET

v

4.5

100

-18°

C06J-SWUBR/L06

5.5

110

3.5

-13°

WBoT060100

L60M2.0X4.3

T06

SCLCR/L

Applicable Inserts
R

C07K-SCLCR/L06 10 | 7 |65 | 125 | 45 |-15°| 8
CO08K-SCLCR/L06 10 | 8 |75 |125| 5 |-15°| 8
C10M-SCLCR/L06 12 | 10 | 95 150 | 6 |-13°| 14 CCaT0602:00 Lo0M2.5X5 To8
C12Q-SCLCR/L06 14 | 12 | 11 [ 180 | 7 |-10°| 14
C12Q-SCLCR/L09 16 | 12 | 11 | 180 | 8 |-10°| 14
C14Q-SCLCR/L09 16 | 14 | 13 | 180 | 8 |-12°| 18
C16R-SCLCR/L09 18 | 16 | 15 | 200 | 9 |-12°| 20 CCoT09T3ao L60M4XS8 T15
C20S-SCLCR/L09 22 | 20 | 19 | 250 | 11 | _g°| 26
C25T-SCLCR/L09 28 | 25 | 23 | 300 | 14 | —6°| 29

T BRARALDFRITRUTRSNATER W ESHE LR

Note:Tungsten steel Anti-shaking Internal Turning tools with collant hole or without collant hole both can be offered.

THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com



ZFHI7JB | TURNING TOOLS §AMI §AUI ZFHI7JE | TURNING TOOLS

£5$MINFLZEJ] Tungsten steel Internal Turning sten steel Internal Turning tools $35XARFLZET]

STFCR/L SDQCR/L

Applicable Inserts Screw
R WERE]

Applicable Inserts
fERINTI R

CO8K-STFCR/L09 10 | 8 | 75| 125 5 | -10| 8 C10M-SDQCR/L07 13 | 10 | 95 |150| 7 | -8 | 14
C10M-STFCR/L09 12 1 10 | 95| 150 | 6 | -10| 14 TCoT090200 L60M2.2X6 To6 C12Q-SDQCR/L07 16 | 12 | 11 | 180 | 9 | -8 | 14 DCoT0702m0 L60M2.5X5. 0 T08
C12Q-STFCR/L09 16 | 12 | 11 | 180 | 8 -5 | 14 C16R-SDQCR/L07 20 | 16 | 15 | 180 | 13 | -6° | 20
C12Q-STFCR/L11 16 | 12 | 11 | 180 | 8 | -6 | 14
C16R-STFCR/L11 18 | 16 | 15 | 200 | 9 | -6 | 20 TCoT110210 L60M2.5X5.0 To8
C20S-STFCR/L11 25 | 20 | 19 | 250 | 12 | -6 | 26 SDUCRIL
STUPR/L

Applicable Inserts Screw
TERIIT IR

Applicable Inserts
HEIG I _TF: C10M-SDUCR/LO7 13| 10| 95150 7 | -8 | 14
C12Q-SDUCR/L07 16 | 12 | 11 | 180| 9 | -8 14 DCLT0702 L60M2.5%5. 0 108
od : C16R-SDUCR/L07 20 16 15 | 200 | 11 -8° 20
C20S-SDUCR/L07 25 20 | 19 | 250 | 13 | -6° 16
COBK-STUPRILO9 1) 8 |75]126 55|10 8 & BRRERA AR TR AR A LS o
C10M-STUPR/L09 13|10 | 95(150| 65| -8 | 14 TP5T090200 () L60M2.5X5.0 Tos Note:Tungsten steel Anti-shaking Internal Turning tools with collant hole or without collant hole both can be offered.
C12Q-STUPR/L09 16 | 12 | 11 |180| 7.5| -6 | 14
C12Q-STUPR/L11 16 | 12 | 11 180| 75| -6 | 14
C16R-STUPR/L11 18 | 16 | 15 |200| 9 | -6 | 20 TPoT110300 (RE) L60M3.0X7 T10
C20S-STUPR/L11 25 |20 | 19 |250| 12 | -6 | 26

T BINREALDTRETRETRSIAFRSHIP I SHEPEE

Note:Tungsten steel Anti-shaking Internal Turning tools with collant hole or without collant hole both can be offered.

THREKERFBELEHEBE] X #1515 EEHMiBwww.hnsant.com THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com




S | INUS

ZHIJ7JE | TURNING TOOLS

IRETIRELSRAN Threading toolh

R
T h %
4t Right
HUbRTEREEEL B:h=8mm, #7408
Integers to be proceeded by 0
L eg:h=8 indicated by 08
e BTIAT 002
il Left
3.E0HIA M 4ANNR®
Cutting direction Tools-tip height
3EHl Example I
1LEEAR

|
ZE.%i'SCﬁéit Type of thread

Clamping System

C
JEAR: 555X
Top clamping
N | A#E Internal
S
W | 424 Extemal
BRET He B =X
Screw on

A b
e\
f5]:b=8mm, ¥ 4 08

Integers to be proceeded by 0
eg:b=8 indicated by 08

vE IR T AR R

5.7 E shank width

B o= 7 A

H 100
K 125
M 150
P 170
Q 180
R 200
T 250

6.7] FF-[:&]E Tool holder length
]

|
25 25 M 16

7.71F R~ Insert dimension

éch‘iDjé Cutt%gﬁ e)jizgiili%ngth Inscribeljg Jgle dia.
11 11 6.305

16 16 9.525

22 22 12.70

27 27 15.89

THRAKEFBREHB X #HEEZEMNwww.hnsant.com

B o= 71 A

IMBN%ET] External threading tools

SEavsEEpl]

Dimension(mm) H&As R~}

ZHIJ7JE | TURNING TOOLS

Threading toolholders 1847]

Applicable Inserts
T

Screw

J1 ) HRET

Shim
JJ#

Shim Screw
JIHIEET

Wrench
#wF

SWR/L 1010H11H 10| 10/ 10 [100| 16
1212H11H 12| 12| 12 /1100| 16
C1616H16H | | | 16| 16| 16 | 100| 20
2020K16H 20 | 20| 20 |125| 25
2525M16H 25| 25| 25 |150| 32
3225P16H 32| 32| 25| 170| 32
3232P16H 32| 32| 32|170| 40
2525M22H 25| 25| 25150 32
3225P22H 32| 32| 25 |170| 32
3232P22H 32| 32| 32|170| 40
4040S22H 40 | 40| 40 | 250| 50

R/LT16.01W-0oGM

R/LT22.01W-0oGM

L60 M2.5 x 6 — — T08
T15
L60 M3.5x 12| TT16-00 SS04008
S2.5
T20
L60 M5 x 16 TT22-00 SS04008 25

*E: BETNHREWNSEKRMNEE A Note:The insert is Zccct brand.

Applicable Inserts Screw Shim Screw Wrench
Dimension(mm) A ) FERITT ) JIF 24T JIHAZET T
SWR/L  1010H11 10} 101101100 16 11ERIL L60 M2.5x 6 — — Tos
IREAES L B 12 12] 121100 16 | e
1616H16 16 | 16 | 16 | 100| 20
2020K16 20 | 20| 20 |125| 25
2525M16 25 | 25| 25 |150| 32 16ER/L L60M3.5x 12| TT16-a0 $504008 ST;E;
3225P16 32| 32|25 |170| 32
3232P1 6 32 32 32 1 70 40 ....................................................................................................................................
2525M22 25 | 25| 25 |150| 32
3225P22
82| 32|25 170) 32 22ER/L L60 M4x 16 | TT22-oo
3232P22 32| 32| 32|170| 40
$504008 T20
4040822 40 | 40| 40 |250| 50 S2.5
3232P27 32 | 32|32 (170| 40
27ERIL L60M6x 16 | TT27-oo
4040827 40 | 40| 40 |250| 50

*iEM: BETHEWSEISOEIRTI F . Note:The insert is ISO brand.

THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com



ZFHI7JE | TURNING TOOLS §AHI §AHI ZFHI7JE | TURNING TOOLS

¥247J] Threading toolholders ) holderscode key YIRTHIET I FanERIN
A7) Intormal threading too 40160 8 7048 0 250
nterna reading toolis Parting and grooving holders code key

I

: L. AMNE i 1) T DR T R
h g " . External and surface cuttin
_ < o N A,¢Dm1n g
: s B\ % N \
> L1 bd 1. {EaRe 2. MIA=
Bl A7) . Q : YN E : SNEIEDHI 5. PMETIESE 6. tIMETITIRERE 8. SAIMEIRE
P : {Ikf F : immEyIHl

Q F G D 25 25 R 22 52 H

Applicable Inserts Shim Screw

Dimension(mm) A M Ik URET WF JIRIRE

Stock J#E A7 | | | | I
1 1 1 1

SNR/L0010K11H 10 |125 126 [95|32| LT11.01N=0oGM . o j g s 4 iR

SNR/L0012K11H 12 |1 16| 6 [11.5/ 32| RT11.01N-0oGM LOOM2SxS ) 108 3 EEHLS SR NeLrel 7. NRNEGF 9. IREETIER e %
................................................................. o DO LA WA LT3 ULl diiosstutisdsB SOOI SO O A IR E RIS M DEKS R:&5 L:& PENENER 10. imEIETI IR

SNR/L0013M16H 13 [150| | 16|10 [155) 32 —HFHYN—ET] S: 7] b ST H:Bk L:&X

_ B D : W7 N : & T ( SNEDFERTERE )
SNR/L0016M16H 16 |150 20|12 [15.5] 40 L T16.01Noce G T15 201D ’
SNR/L0020Q16H 20 [180| | 25|14 [195] 40 e L60 M3.5x8
RT16.01N-ooGM TT16 o o

_ SNRALOO25R16H| | 251200 |30/16 |24 | 45 ST;% $504008 W R 4)FE ) H
__SNR/LO032S16H | 32 | 250 88120 180 |55 | LT JR SO Internal cutting
_SNR/ALO0025R22H| | 251200  130|18 |24 | 45| RBToo 01N-0oGM
- SNR/L0032822H 82250, | 38|22 |30 |55 LT22.01N-coGM | 1122 L60 M5x 16 ;205 §804008

SR T 401300 | 46126 |38 | 60 1. tIENESSR 2. HFER 5. EfIERS 6. XIRITI AT
*E: BENREUSEKRMNE A, Note:Theinsertis Zccct brand.

| | ;
Applicable Inserts q MlNEY
Dimension(mm) HA MR BEF IR C 32 S-Q G D R 11-44
] e I
. 7. DEWEGF -
3. JIFFKE 4. JEIRS - 8. BAIUIHIRE 9. BR/INIFAR

NR/L0010K11 10 |125 12 6 |95 32 2 c

ShlIRLET 11IR/L —_ L60 M2.5x5 |  TO8 R:EL:E
_SNR/LOO12K11 | |12]125] | 166 115 32 e e

SNR/L0013M16 13 |150 16|10 [15.5| 32 o

 ERIRLTTIEAN | 18)150] ] 2012|155 40 o 5 FT-01Wr T8 ) ] JAE

SNR/L0020Q16 20 180 25|14 19.5] 40 Height of blades

SNR/L0025R16 25 |200 30|16 | 24 | 45 161R/L TT16 L60 M3.5x8 5504008

SNR/L0032516 32 250 38|20 |30 | 55 S2.5 P H s 32 32

SNR/L0025R22 25 {200 30|18 |24 | 45
..................................................................................................... T20 SSO4008 I I I I
_ SNR/L0032522 |32]250] ) 38|22|30) 55 22IR/L TT22 LBOM4x16 | go5 | | | |
~ SNR/L0040T22 _|40[300| | 46|26 |38 | 60 o o o o o o o

SNR/L0032S27 N -
e | BB.1250) ) 40124190 | 55 120 Jss04008 1. KR 2. YIKFTIEEEE 3. XRTIH I 4. JIEEAUAR 5. JREE

27IR/L TT27 L60 M6 x 16 S25
SNR/L0040T27 40 /300 50|30 | 38 | 60 .

*iFM: BREINRENS#EISOEMRIIF. Note:Theinsertis ISO brand.

THRAKEFBREHB X #HEEZEMNwww.hnsant.com THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com




2| INUS

ZFHI7JE | TURNING TOOLS §AHI §AHI ZFHI7JE | TURNING TOOLS

YWrtIsET]  Parting and grooving toolhol g and grooving toolholders  HIRFHIIET]

,l' ﬂ] ﬁ . ﬂl ‘E 7] E External Parting, Grooving and Turning Tools 9" m m . w *E 7] E External Parting, Grooving and Turning Tools
& A

|| :

Wi L

k- T

.

= -
Iq%
©
—
k- o

L JI R #w F 7] 2% R
FEA R SJ Dimension(mm) [ Wrench Type FEA R S) Dimension(mm) Inse):ts Séﬁre{v V?lh;en%c:‘h
TSNS = o 7
we | Lol s w R @ C 5 T T N = 4 & T
1616R/L10 16x16 100 15 25 | 10 ZEDwwwrx—s M5 20 s 1616-2 16 100 | 15 2 |145 | MGMN200-M M5 x 17 S4
1616R/L17 16x16 100 15 25 | 17 ZXEDwrrx—s 2020-2 20 125 | 19 2 | 145 | MGMN200-M M6 x 20 S5
2020R/L10 20x20 | 125 | 19 | 25 | 10 | Z+EDwwer—s MGEHR/L Qe 25 150 | 24 2 | 145 | MGMN200-M M6 x 20 S5
2020R/L17 20x20 | 125 19 25 | 17 ZHEDwrn—s M6 x 20 S5 1616-2.5 16 100 | 15 25 | 1655 | MGMN250-M M5 x 17 sS4
2525R/L10 25x25 150 24 25 | 10 ZAEDxwrr—s 2020-2.5 20 125 | 19 25 | 165 | MGMN250-M M6 x 20 S5
2525R/L17 25x25 150 24 25 | 17 =Dt 2525-2.5 25 150 24 25 | 16.5 MGMN250-M M6 x 20 S5
1616R/L10 16x16 100 | 14.8 3 10 Z+FD#xw—in M5 x 20 < 1616-3 16 100 | 148 | 3 |18 MGMN300-M M5 x 17 sS4
1616R/L17 16x16 100 | 14.8 3 17 Z+FDwxwe—w 2020-3 20 125 | 188 | 3 |18 MGMN300-M
2020R/L10 20x20 | 125 | 18.8 3 10 ZxFDxwr—xx 2020-3-T10 20 125 | 188 | 3 |10 MGMN300-M
2020R/L17 20x20 | 125 | 18.8 | 3 | 17 | Z+FDwow— V6w 20 2525-3 25 150 | 238 | 3 |18 MGMN300-M M6 x 20 S5
X
2525R/L10 25x25 150 | 23.8 3 10 ZAFDwrw—x S5 2525-3-T10 25 150 | 238 | 3 |10 MGMN300-M
2525R/L17 25x25 150 | 23.8 3 17 ZAFDp = 3232-3 32 170 | 305 | 3 |18 MGMN300-M
2020R/L13 20x20 125 | 185 4 13 ZxGDwwxx—s 3232-3-T10 32 170 | 305 | 3 |10 MGMN300-M
2020R/L 22 20x20 | 125 | 185 4 22 2D 2020-4 20 125 | 185 | 4 |18 MGMN400-M
2525R/L13 25x25 150 | 235 4 13 ZxGDwrwr—sr 2020-4-T10 20 125 | 185 | 4 |10 MGMN400—M
2525R/L 22 25x25 150 23.5 4 22 Z+GDwwxr—wx 25054 o5 150 235 4 18 MGMN400—M
3232R/L13 32x32 170 | 30.5 4 13 ZsGD#rrr—s 2525-4-T10 25 150 | 235 | 4 |10 MGMN400-M
3232R/L 22 32x32 170 | 30.5 4 22 Z+GDwwwr—xx 30304 32 170 305 | 4 18 MGMN400—M
2525R/L13 25x25 150 23 5 13 ZxHD*wrx—xx MG x 20 S5 3232-4-T10 32 170 | 305 | 4 |10 MGMN400-M
X
2525R/L 22 25x25 | 150 | 23 5 | 22 | ZsHDwwrx—xx 2020-5 20 150 | 18 e MEMNSO0-M M6 x 20 S5
2525N 30 25x25 150 | 125 5 30 ZrHSxwxx—xx 2020-5-T15 20 150 | 18 5 |15 MGMN500-M
3232R/L13 32x32 170 30 5 13 Z+HD#xwx—xx 2595_5 o5 150 | 23 5 |23 MGMN500—M
3232R/L 22 32x32 170 30 5 22 ZrHD#xxx—xx 2525-5-T15 25 150 | 23 5 |15 MGMN500-M
3232N 30 32x32 170 16 5 30 Z+HSxrwx—xx 32305 32 170 30 5 |23 MGMN500-M
2525R/L13 25x25 150 | 22.6 6 13 Z+KDwwrr—r 3939_5_T15 32 170 | 30 5 |15 MGMN500—M
2525R/L 22 25x25 | 150 | 22.6 6 22 ZHKD wxx—sx 2020-6 20 125 | 17 6 |23 MGMNG00-M
2525N 30 25x25 | 150 | 125 | 6 | 30 | Z+KSwwwr—wx 2020-6-T10 20 125 | 17 6 |10 MGMNG00-M
3232R/L13 32x32 170 | 29.6 6 13 Z+KDwwrx—s 25056 o5 150 26| 6 |23 MGMNG600-M
3232RIL 22 32x32 170 | 29.6 6 22 ZKD s —sx 2525-6-T15 25 150 | 226 | 6 |15 MGMN600-M
3232N 30 32x32 170 16 6 30 KSRt 3232-6 32 170 | 296 | 6 |23 MGMN600-M
* AT B RN iR T 3032-6-T15 32 170 | 296 | 6 |15 MGMNG600-M

Parting, grooving, turning, profiling inserts are adaptable to the tools.

THREKERFBELEHEBE] X #1515 EEHMiBwww.hnsant.com

* afde )W, UIREL W D) . (BLE R E i K T ) Note:The insert is Korloy brand.

Parting, grooving, turning, profiling inserts are adaptable to the tools.

THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com



e | INUS

ZHIJ7JE | TURNING TOOLS

IBYI#ET] Parting and grooving toolholde

SGTR/L

50

SGTR/L

Dimension(mm) JE4% R~

Applicable Inserts
R R

BRET

Clamping screw

B o= 7 A

Lol Lo| Wi £ ’/
1212H16C 12| 12 [100| 20 | 12| 16
1616H16C 15| 16 |100| 20 | 16 | 20
2020K16C 20| 20 125| 20 | 20 | 25 GLR/L3oo0o M3.5x8 Ti5
2525M16C 25| 25 150| 20 | 25 | 32
2020K22C 20| 20 |125| 30 | 20 | 25
GLR/L4ooo M4 x 10 T15
2525M22C 25| 25 |150| 30 | 25| 32

*EH: BETDREZWSERZTIA. Note:The insertis Toshiba brand.

KGBR/L

50

KGBR/L

Dimension(mm) &4 R~

h

w

©

Applicable Inserts

HERRTI R

Clamping screw
BRAT

b|L|h|s]|e Q ‘
2020K22-15 20 20|125|20 | 25| 24
GB43R/050~300 DM 0625 CGBRIL s4
2525M22-15 25| 25150 | 25 | 30 | 25
2020K22-25 20 | 20 |125| 20 | 25 |25.5 s4
GBA43R/250~330 DM 0625 CGBRIL
2525M22-25 25 | 25 |250 | 25 | 30 |25.5
2020K22-35
201201125/ 20 | 251255  Gp43R/350-480 DM 0625 CGBRIL s4
2525M22-35 25| 25150 25 | 30 |25 5

*iEMH: BENRZINSETEZETIHK, Note:The insert is Kyocera brand.

THREKERFBELEHEBE] X #1515 EEHMiBwww.hnsant.com

H = 7 A

Type
5

QFFD2525R/L10-48H
QFFD2525R/L17-48H
QFFD2525R/L10-60H
QFFD2525R/L17-60H
QFFD2525R/L10-74H
QFFD2525R/L17-74H
QFFD2525R/L10-100H
QFFD2525R/L17-100H
QFGD2525R/L13-52H
QFGD2525R/L 22-52H
QFGD2525R/L13-64H
QFGD2525R/L 22-64H
QFGD2525R/L13-90H
QFGD2525R/L 22-90H
QFGD2525R/L13-130H
QFGD2525R/L 22-130H
QFHD2525R/L 13-58H
QFHD2525R/L 22-58H
QFHD2525R/L 13-86H
QFHD2525R/L 22-86H
QFHD2525R/L 13-130H
QFHD2525R/L 22-130H
QFHD2525R/L 13-185H
QFHD2525R/L 22-185H
QFHS2525R/L 30-185H
QFKD2525R/L 13-60H
QFKD2525R/L 22-60H
QFKD2525R/L 13-88H
QFKD2525R/L 22-88H
QFKD2525R/L 13-160H
QFKD2525R/L 22-160H
QFKS2525R/L 30-160H

ZHIJ7JE | TURNING TOOLS

ting and grooving toolholders  {IRfIRET]

ﬁﬁwg’ EH]JJE Surface Grooving and Turning Tools

- T

/;
; H
i

PDmax

° Lot
FA R} Dimension(mm) Appl%?l;ljej iserts Smigv Vi%er?ch

HxB | L s |w|a | 2D / ( ‘'
25x25 | 150 | 26 | 3 |10 | 48-66 | ZTFDO303-MG
25x25 | 150 | 26 | 3 |17 | 48-66 | ZTFDO303-MG
25x25 | 150 | 26 | 3 |10 | 60-80 | ZTFDO303-MG
25x25 | 150 | 26 | 3 |17 | 60-80 | ZTFDO303-MG
25x25 | 150 | 26 | 3 |10 | 74-110 | ZTFDO303-MG
25x25 | 150 | 26 | 8 |17 | 74-110 | ZTFDO303-MG
25x25 | 150 | 26 | 3 |10 | 100-150| ZTFDO303-MG
25x25 | 150 | 26 | 3 |17 | 100-150| ZTFDO303-MG
25x25 | 150 | 26 | 4 |13 | 52-72 | ZTGD0404-MG
25x25 | 150 | 26 | 4 |22 | 52-72 | ZTGD0404-MG
25x25 | 150 | 26 | 4 |13 | 64-100 | ZTGDO404-MG
25x25 | 150 | 26 | 4 |22 | 64-100 | ZTGDO404-MG
25x25 | 150 | 26 | 4 |13 | 90-140 | ZTGDO404-MG
25x25 | 150 | 26 | 4 |22 | 90-140 | ZTGD0404-MG
25x25 | 150 | 26 | 4 |13 | 130-230| ZTGDO404-MG
25x25 | 150 | 26 | 4 |22 | 130-230| ZTGD0404-MG
o505 | 150 | 26 | 5 |13 | 58-96 | zTHDOso4MG | 00 55
25x25 | 150 | 26 | 5 |22 | 58-96 | ZTHDO504-MG
25x25 | 150 | 26 | 5 |13 | 86-140 | ZTHDO504-MG
25x25 | 150 | 26 | 5 |22 | 86-140 | ZTHDO504-MG
25x25 | 150 | 26 | 5 |13 | 130-200| ZTHDO504-MG
25x25 | 150 | 26 | 5 |22 | 130-200| ZTHDO504-MG
25x25 | 150 | 26 | 5 |13 | 185-400| ZTHDO504-MG
25x25 | 150 | 26 | 5 |22 | 185-400| ZTHDO504-MG
25x25 | 150 | 26 | 5 |30 | 185-400| ZTHS0504-MG
25x25 | 150 | 26 | 6 |13 | 60-100 | ZTKDOBOS-MG
25x25 | 150 | 26 | 6 |22 | 60-100 | ZTKDOBOS-MG
25x25 | 150 | 26 | 6 |13 | 88-180 | ZTKDOBOB-MG
25x25 | 150 | 26 | 6 |22 | 88-180 | ZTKDOBOB-MG
25x25 | 150 | 26 | 6 |13 | 160-400| ZTKDOBOS8-MG
25x25 | 150 | 26 | 6 |22 | 160-400| ZTKDOBOS-MG
25x25 | 150 | 26 | 6 |30 | 160-400| ZTKS0608-MG

* XA BETNFEIWNS E2#%4$57 K, Note:The insert is Zccct brand.

THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com



ZEE|7JE | TURNING TOOLS

ZEE|7JE | TURNING TOOLS

ting and grooving toolholders  HIBfHIHET]

ymEtIiE. EHI7IR QFOD-RR |

D
» LDy ™

l
|
S

7
E@ [

1
w

| INUS

iE 7)Y ) x; &I 47 w T
T T &I o0 % T ey i
Type < 1< Dimension(mm) Applicable inserts Sgr'ew Wrench Type Applicable inserts Screw Wrench
=A il = 5
k) 2D = L 2D
HxB ‘ L S W | 2D / ( ( HxB L S WA | M / ' (
QFFD2525R/L 10-48L 25x25 150 365 @3 | 10 | 48-66 | ZTFDO0303-MG GFFDESCSRRI0-40H 26x25 | 150 | 26 | 3 | 10 | 48-66 | ZTFDO303-MG
QFFD2525R/L 17-48L 25x25i 150 | 435 | 3 |17 | 48-66 ZTFD0303-MG QFFD2525RR17-48H 25x25 | 150 | 26 3 \ 17 | 48-66 ZTFD0303-MG
QFFD2525R/L10-60L 25x25 150 365 3 | 10 | 60-80 ZTFD0303-MG QFFD2525RR10-60H 25x25 = 150 26 3 | 10 | 60-80 ZTFD0303-MG
QFFD2525R/L 17-60L 25x25| 150 | 435 | 3 |17 | 60-80 ZTFD0303-MG QFFD2525RR17-60H 25x25 | 150 26 3 ‘ 17 | 60-80 ZTFD0303-MG
QFFD2525R/L 10-74L 25x25 150 365 | 3 | 10 | 74-110 | ZTFD0303-MG QFFD2525RR10-74H 25x25 | 150 26 3 | 10 | 74-110 | ZTFDO0303-MG
QFFD2525R/L 17-74L 25x25 | 150 435 3 17 74-110 ZTFD0303-MG QFFD2525RR17-74H 25x25 150 26 3 ‘ 17 | 74-110 ZTFD0303-MG
L 25x25 150 ; - i
giigiggg:jﬂg 1ggt S 225 : 10 | 100-150 | ZTFDO0303-MG QFFD2525RR10-100H 26x25 | 150 26 38 | 10 | 100-150 | ZTFD0303-MG
& 150 5 17 | 100-150 | ZT -
dica 0 25)(25|_ | & FD0303-MG QFFD2525RR17-100H 25x25 | 150 26 3 ‘ 17 | 100-150 | ZTFD0303-MG
QFGD2525R/L 13-52L | 32008 [ & |1 | Bl | FTORed-Ma QFGD2525RR13-52H 25x25 | 150 | 26 | 4 13 | 52-72 | ZTGDO0404-MG
QFGD2525R/L 22-52L 25X25| 150 485 | 4 |22 | 52-72 ZTGD0404-MG
: QFGD2525RR 22-52H 25x25 | 150 | 26 4 ‘ 22 | 52-72 ZTGD0404-MG
QFGD2525R/L 13-64L 25x25 150 395 4 |13 | 64-100 | ZTGD0404-MG
_ QFGD2525RR13-64H 25x25 | 150 26 4 | 13 | 64-100 | ZTGD0404-MG
QFGD2525R/L 22-64L 25x25| 150 | 485 | 4 |22 | 64-100 | ZTGDO404-MG ; '
| _ QFGD2525RR 22-64H 25x25 | 150 | 26 4 ‘ 22 | 64-100 | ZTGD0404-MG
QFGD2525R/L 13-90L 25x25 150 395 4 | 13 | 90-140 | ZTGD0404-MG QFGD2525RR13-90H -
| -9 25 o i
QFGD2525R/L 22-90L 25x25 150 485 | 4 |22 | 90-140 | ZTGDO404-MG QFGD2535FR 25-00H ek P P bl B B i Bl
QFGD2525R/L 13-130L 25x25 150 395 =4 | 13 | 130-230 = ZTGD0404-MG e 2 NI " ‘ e L ATAR RN
-1 e
ke ey 25x25| 150 | 485 | 4 |22 | 130-230 | ZTGDOSO4-MG FGD2525RR13-130H 25x25 | 150 26 4 | 13 | 130-230 | ZTGD0404-MG
PECRERET 92E6L ) By ey e B e ey M6 x 20 S5 QFGD2525RR22-130H 25x25 | 150 | 26 4 | 22 | 130-230 | ZTGDO0404-MG it &
OFHD2525R/L 22581 ssxas | o[ 4ss |8 |22 | seies S QFHD2525RR13-58H 25x25 | 150 | 26 5 | 13 | 58-96 ZTHDO0504-MG
QFHD2525R/L 13-86L e e o e B R QFHD2525RR 22-58H 25x25 | 150 | 26 5 ‘ 22 | 58-96 ZTHD0504-MG
QFHD2525R/L 22-86L 26x25 150 485 | 5 |22 | 86-140 | ZTHDO504-MG QFHD2525RR 13-86H 25x25 | 150 26 5 | 13 | 86-140 | ZTHD0504-MG
QFHD2525R/L 13-130L 6x25]| 1501 396 | & |15 | 130200 | ZTHDOSOAMG QFHD2525RR 22-86H 25x25 | 150 | 26 5 \ 22 | 86-140 | ZTHDO0504-MG
QFHD2525R/L 22-130L 25x25| 150 485 5 |22 | 130-200 | ZTHDO504-MG QFHD2525RR 13-130H 25x25 | 150 26 5 | 13 | 130-200 | ZTHD0504-MG
QFHD2525R/L 13-185L 25x25 150 395 @ 5 | 13 | 185-400 @ ZTHD0504-MG QFHD2525RR 22-130H 25x25 | 150 | 26 5 \ 22 | 130-200 | ZTHDO504-MG
QFHD2525R/L 22-185L 25x25 150 485 | 5 |22 | 185-400 | ZTHDOS504-MG QFHD2525RR 13-185H 26x25 | 150 26 5 13 | 185-400 | ZTHD0504-MG
QFHS2525R/L 30-185L 25x25 150 56.5 5 |30 185-400 | ZTHS0504-MG QFHD2525RR 22-185H 25x25 | 150 26 5 ‘ 22 | 185-400 | ZTHDO0504-MG
QFKD2525R/L 13-60L 25x25 150 | 395 6 |13 | 60-100 | ZTKDO608-MG QFHS2525RR 30-185H 25x25 | 150 | 26 5 | 30 | 185-400 = ZTHS0504-MG
QFKD2525R/L 22-60L 25x25 150 485 <6 22 | 60-100 = ZTKDOGOS-MG QFKD2525RR 13-60H 25x25 | 150 | 26 6 \ 13 | 60-100 | ZTKD0608-MG
QFKD2525R/L 13-88L 25x25 150 | 395 6 | 13 | 88-180 | ZTKDO608-MG QFKD2525RR22-60H 25x25 | 150 26 6 | 22 | 60-100 | ZTKDO608-MG
QFKD2525R/L 22-88L 25x25 150 485 6 |22 | 88-180 | ZTKDO608-MG QFKD2525RR 13-88H 25x25 | 150 | 26 6 \ 13 | 88-180 | ZTKD0608-MG
QFKD2525R/L 13-160L 25x25 | 150 | 39.5 | 6 |13 | 160-400 | ZTKDO608-MG QFKD2525RR 22-88H 25x25 | 150 = 26 | 6 | 22 | 88-180 | ZTKD0608-MG
QFKD252SH:L 22-160L 25x25 150 | 485 = 6 | 22 | 160-400 | ZTKDO0608-MG QFKD2525RR 13-160H 25x25 | 150 | 26 | 6 | 13 | 160-400 | ZTKDOGOS-MG
QFKS2525R/L 30-160L 25x25 150 565 | 6 | 30 | 160-400 ZTKS0608-MG QFKD2525RR 22-160H 25x25 | 150 | 26 | 6 22 | 160-400 | ZTKDO608-MG
QFKS2525RR 30-160H 25x25 | 150 | 26 6 | 30 | 160-400 | ZTKS0608-MG

THEGEFHREHE F #HESEMiswww.hnsant.com

THRECEFHREHE R #EESEMswww.hnsant.com

& | SANT



ZFHI7JE | TURNING TOOLS §AMI §AHI ZFHI7JE | TURNING TOOLS

Y& 7] Parting and grooving toolholders arting and grooving toolholders  IBFIRET]

QFOD-LL
W. — ]
S a @ B ]
- | hﬁ a
L
ar
A [\
H L {oL|_Jol[ %
1 T L
=
Type HEARSF Dimension(mm) Appl]i\léiljg }iiserts Smf’gv ‘jl%ei
RE D 5 .
- HxB - S W] tmineban f ( ( Dimension(mm) A< R~ Ap?;%bég gﬁrts Smc?rg/
QFFD2525LL10-48H 25x25 | 150 | 26 | 3 | 10| 48-66 ZTFD0303-MG
QFFD2525LL17-48H 25x25 | 150 | 26 | 3 | 17 | 48-66 ZTFD0303-MG Q
QFFD2525LL10-60H 25x25 | 150 | 26 | 3 | 10 | 60-80 ZTFD0303-MG B
QFFD2525LL17-60H 25x25 | 150 | 26 | 3 | 17 | 60-80 ZTFD0303-MG T 16 | 16 | 100|164 3 | 16 | ZQWX3NTI1_IE
QFFD2525LL10-74H 25x25 | 150 | 26 | 3 | 10| 74-110 | ZTFDO303-MG 1616R04 16| 16 | 100 164 4 | 18 |  ZOMX4NTi-IE Msx17 S
QFFD2525LL17-74H 25x25 | 150 | 26 | 3 | 17| 74-110 | ZTFD0303-MG 2020R03 20 | 20 | 125(204| 3 | 20 | ZQMX3N11-IE
QFFD2525LL10-100H 25x25 | 150 | 26 | 3 | 10| 100-150 | ZTFDO303-MG 2020R04 20 | 20 | 125|204| 4 | 20 | zaQMxan11-IE
QFFD2525LL17-100H 25x25 | 150 | 26 | 3 | 17| 100-150 | ZTFD0303-MG 2525R03 o5 | 25 | 150 |25.4| 3 | 20 | ZQMX3N11-IE 620 o
QFGD2525LL13-52H 25x25 | 150 | 26 | 4 | 13 | 52-72 ZTGD0404-MG 2525R04 55 | 25 | 150|25.4| 4 | 20 | ZQMX4N11-IE
QFGD2525LL 22-52H 25x25 | 150 | 26 | 4 | 22| 52-72 ZTGD0404-MG el coro o5 | 25 | 150 |25.4| 5 | 25 | ZQMX5N11-IE
QFGD2525LL13-64H 25x25 | 150 | 26 | 4 | 13| 64-100 | ZTGDO0404-MG 2525R06 25 | 25 | 150 |257| 6 | 32 | ZQMXBN11-IE
QFGD2525LL 22-64H 25x25 | 150 | 26 | 4 | 22| 64-100 | ZTGD0404-MG 3225R03 s | 25 |170|254| 3 | 25 | ZQMX3N11-IE
QFGD2525LL13-90H 25x25 | 150 | 26 | 4 | 13 | 90-140 | ZTGDO0404-MG 3225R04 82 | 25 | 170|254] 4 | 25 | ZOMXANUI-IE | S5
QFGD2525LL 22-90H 25x25 | 150 | 26 | 4 | 22| 90-140 | ZTGDO0404-MG 3225R05 3 | 25 |170|254| 5 | 25 | ZQMX5N11-IE
QFGD2525L113-130H 25x25 | 150 | 26 | 4 | 13| 130-230 | ZTGDO404-MG | | S225R06 | | 32 | 25| 170 |257] 6 | 82 | ZQMXGNT1-IE | | .
QFGD2525LL22-130H 25x25 | 150 | 26 | 4 | 22| 130-230 | ZTGDOAO4-MG | 1616L03 16 | 16 | 100 [16.4| 3 | 16 | ZQMX3N11-IE M5x17 o
QFHD2525LL13-58H 25x25 | 150 26 5 | 13| 58-96 ZTHDO0504-MG x20 S5 1616L04 16 | 16 | 100 | 16.4| 4 | 16 | ZQMX4N11-IE
QFHD2525LL 22-58H 25x25 | 150 26 5 | 22 | 58-96 ZTHDO0504-MG 2020L03 20 | 20 | 126/20.4) 3 | 20 | ZQMX3N11-IE
QFHD2525LL 13-86H 25x25 | 150 | 26 5| 13| 86-140 | ZTHDO0504-MG 2020L04 20 | 20 | 125]204] 4 | 20 | ZQMX4N11-IE
QFHD2525LL 22-86H 25x25 | 150 | 26 | 5 | 22| 86-140 | ZTHDO0504-MG 2525L03 25 | 25 | 150|254] 3 | 20 | ZQMX3N11-IE M6x20 S5
QFHD2525LL13-130H 25x25 | 150 | 26 | 5 | 13| 130-200 | ZTHDO0504-MG 7o, BN 25 | 25 | 1502541 4 | 20 | ZQMX4N11-IE
QFHD2525LL22-130H 25x25 | 150 | 26 | 5 | 22| 130-200 | ZTHDO0504-MG 2525L05 25 | 25 | 150 254] 5 | 25 | ZQMXSN11-IE
QFHD2525LL13-185H 25x25 | 150 | 26 | 5 | 13| 185-400 | ZTHD0504-MG 2525L.06 25 | 25 | 1501257) 6 | 32 | ZQMXeN11-IE
QFHD2525LL22-185H 25x25 | 150 | 26 | 5 | 22 | 185-400 | ZTHD0504-MG 8225103 32 | 25170254 3 | 25 | ZQMX3N11-IE
QFHS2525LL30-185H 25x25 | 150 | 26 | 5 | 30 | 185-400 | ZTHS0504-MG Lot 82 | 25 | 17012541 4 | 25 | ZQMXANTI-IE |\ 0o) S5
QFKD2525LL 13-60H 25x25 | 150 | 26 | 6 | 13 | 60-100 | ZTKDO608-MG e 82 | 25 | 170 254] 5 | 25 | ZQMXSN11-IE
QFKD2525LL22-60H 25x25 | 150 | 26 | 6 | 22 | 60-100 | ZTKDOB0B-MG 2250 32 | 25 |70 257] 6 | 32 | ZQMXGN11IE
QFKD2525LL13-88H 25x25 | 150 | 26 | 6 | 13| 88-180 | ZTKD0608-MG
QFKD2525LL 22-88H 25x25 | 150 | 26 | 6 | 22 | 88-180 | ZTKDOBOS8-MG
QFKD2525LL 13-160H 25x25 | 150 | 26 | 6 | 13 | 160-400 | ZTKDO0608-MG
QFKD2525LL 22-160H 25x25 | 150 | 26 | 6 | 22 | 160-400 | ZTKD0B608-MG
QFKS2525LL 30-160H 25x25 | 150 | 26 | 6 | 30 | 160-400 | ZTKS0608-MG

THREKERFBELEHEBE] X #1515 EEHMiBwww.hnsant.com THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com



ZEE|7JE | TURNING TOOLS

YJRFYI#&7] Parting and grooving toolholders

YHEI RS TR

External Parting Blade

S L »

JIHEIE AR
7 JE AT :

SPB  326-S 26 24 110 21.6
426-S 26 3.2 110 21.6
526-S 26 40 | 110 21.6
626-S 26 5.2 110 21.6
332-S 32 2.4 150 25
432-S 32 3.2 150 25
532-S 32 4.0 150 25
632-S 32 5.2 150 25

ZOMX3N11-1E
ZOMX4N11-1E
ZQMX5N11-1E
ZOMXEN11-1E
ZOMX3N11-1E
ZOMX4ANT1-1E
ZOQMX5N11-1E
ZAOMXEN11-1E

SPBZF NI B EMESANTEIE A TIPHSZE % J1EE SPB parting blade is matching with PHS parting blade holder from SANT.

D

QELIS

Dimension(mm) #t4s Ji ]

Type
iR}
H h

QEES26N 10 26 19 2
QEFS26N 110 26 19 2.4
QEGS26N 110 26 19 32
QEHS26N 110 26 19 4
QEKS26N 110 26 19 5
QEES32N 150 32 24.6 2
QEFS32N 150 32 246 24
QEGS32N 150 32 24.6 32
QEHS32N 150 32 24.6 4
QEKS32N 150 32 24.6 5

@ ;B oW

Applicable Inserts
il IR
60 ZPES02502-MG . QS5
60 ZPFS50302-MG Qss
70 ZPGS0402-MG QS5
70 ZPHS0503-MG Qss
70 ZPKS0604-MG Qss
100 ZPES02502-MG Qss5
100 ZPFS0302-MG Qss5
120 ZPGS0402-MG Qss5
120 ZPHS0503-MG Qss
120 ZPKS0604-MG Qss

QEISEF NN EERESANTE XA FQZSEF| 7] 8 QELIS parting blade is matching with QZS parting blade holder from SANT.

THEGEFHREHE F #HESEMiswww.hnsant.com

RENMERERNTIR]

RE

Type

Tl

Internal Grooving and Turning Tools

HEA JL<) pimension(mm)

WwH IR
Applicable inserts

BT

Screw

| TURNING TOOLS

‘Parting and grooving toolholders YW T]

" T
Wrench

) - -
e S w Ima):ml“:f <M'J~ﬁ]3'[rﬂ / ( (
C20Q-QEDRIL 05-27 20 180 15.2 25 5 27 KA 53
C25R-QEDR/L 07-33 25 ‘ 200 20.3 25 7 B ZTED#sarmex)
C32S-QEDRIL 09-42 32 | 250 253 | 25 9 42 | el Mexl? S4
C20Q-QFDRL05-27 | 20 | 180 | 182 | 3 | & | 27 | | wmax14 | 3
C25R-QFDR/L 07-33 25 200 20.3 3 7 33 '
C32S-QFDR/L 09-42 32 ‘ 250 25.3 3 9 4270 ZRFDssax—we | MOXT7 o
C25R-QGDR/L 08-35 25 200 215 4 8 35 e | MEXAT sS4
C325-QGDR/L 11-44 32 ‘ 250 27.5 4 11 44
C4OT-QGDRL13-54 | 40 | 300 | 3385 | 4 | 13 | 54 |ZRGDwww—wx| MOX20 | S5
C25R-QHDRIL 08-35 25 | 200 | 215 | 5 8 | 3 | srHDersumrn | M5X17 s4
C32S-QHDR/L 11-44 32 250 275 5 11 44 ) 6 550 &k
C40T-QHDRIL 13-54 40 ‘ 300 335 5 13 I IR i
C25R-QKDR/L 08-35 25 200 215 6 8 35 ZTKDwwis—s | MEx17 sS4
C32S-QKDRI/L 11-44 3z ‘ 250 27.5 6 11 44
C40T-QKDRIL 13-54 40 | 300 | 335 6 T L =
C50T-QKDR/L13-64 50 | 300 381 6 14 64

THRECEFHREHE R #EESEMswww.hnsant.com



ZHIJ7JE | TURNING TOOLS

LI ] Parting and grooving toolhold

REVERERTIR]

R2Y

Internal Grooving and Turning Tools

= .,

i
j+))

@d

T

Inserts

B o= 7 A

# F
Wrench

od Lol s | w e & 'l
2016-1.5 16 180 | 113 | 15| 3 MGMN150-M M4 x 14 S3
2520-1.5 20 180 | 13.1 15 | 4 MGMN150-M M5 x 17 S4
2925-1.5 25 200 | 162 | 15 | 4 MGMN150-M M5 x 17 S4
2016-2 16 125 | 124 | 2 3 MGMN200-M M4 x 14 S3
2520-2 20 125 14 2 5 MGMN200-M M5 x 17 S4
2925-2 25 200 | 172 | 2 5 MGMN200-M M5 x 17 S4
2016-2.5 16 125 125 25 6 MGMN250-M M4 x 14 33
2520-2.5 20 180 | 15.1 25| 6 MGMN250-M M5 x 17 sS4
2925-2.5 25 200 | 182 | 25 | 6 MGMN250-M M5 x 17 s4
2520-3 20 180 | 156 | 3 6 MGMN300-M M5 x 17 s4
3125-3 25 200 18.9 3 5 MGMN300-M M5 x 17 s4
3732-3 32 250 | 215 | 3 6 MGMN300-M M5 x 20 s4
2520-4 20 180 | 156 | 4 6 MGMN400-M M5 x 17 s4
3125-4 25 200 | 189 | 4 6 MGMN400-M M5 x 17 sS4
3732-4 32 250 | 215 | 4 6 MGMN400-M M5 x 20 34
3125-5 25 200 | 19.1 5 8 MGMN500-M
3732-5 32 250 | 215 | 5 8 MGMN500-M
3125-6 25 200 | 19.4 | 6 8 MGMNB00-M
3732-6 32 250 | 215 | 6 8 MGMNG00-M
3732-8 32 250 | 232 | 8 | 10 | MGMN80O-M M6 x 20 S5
4540-8 40 30 | 272 | 8 10 MGMN800-M
3125-6A 25 200 | 19.4 | 6 8 MGMN600-M
3732-6A 32 250 | 215 | 6 MGMNB600-M
3732-8A 32 250 | 234 | 8 10 MGMN800-M
4540-8A 40 30 | 272 | 8 10 MGMN800-M

L IS 3711 TN JCJH‘E\ E@J\ B AN (EEE%%/%RUJH) Note:The insert is Korloy brand.

Parting, grooving, turning, profiling inserts are adaptable to the tools.

THREKERFBELEHEBE] X #1515 EEHMiBwww.hnsant.com

H = 7 A

ZHIJ7JE | TURNING TOOLS

g and grooving toolholders  HIRftIIE]]

BFrNEERTIIRMTIEE  Parting Blade Holders

i
I 1
|

h:

" T

FEA R ~)- Dimension(mm) L1 Wrench

Type clamp
5

PHS2026
PHS2526

PHS3226
PHS2032
PHS2532
PHS3232
I TIEEFFSPB#%7%JIHR This parting blade holder is for SPB parting blades.

THREKEFBEREHEBE] X 1515 % Miwww.hnsant.com




HR(0) SANT

Yt 7JE | MILLING TOOLS
Ir xable milling tools AI¥&(EEHITIE

Category Shape Xt [z Feature Category SUELE Xt [z Feature
51 Ak ZH S $FE %3 AR ZH S FFAE
Kr:45° AFO1 Kr:45° AFO02
Kuifigit, WHIER i
s il e KETfigit, MHIBR
AIRALEERITIR—WE  pgg~p100 Tkgus B DREB g, GA
INDEXABLE MILLING TOOLS OVER CIEW FMAO1 5 ! FMAOD2 miigit, WEhEHEN
o ( ) €elir 1278 (Zecct)
o A SEOT 1273 ([ Zceet cCe
EIE: ez IVRI=ERE=S | P101~P102 R 1057 _ R 106
INDEXABLE MILLING TOOLS CODE KEY Kr:45° AFO03 e ar. S Kr:45° AFO04 S R
g _.ﬂ,;-%, BEESENE, ER, WERERT
ol N | AD4 E
INDEXABLE MILLING TOOLS CODE KEY e segmzoa &chct; glﬁﬁom [ Spocti
107 @ SE[IN 1504 { Zceet 108 &
Kr:45° AF04 e Kr:45° AFO5
8710
8TIOLEKFR T FRETE
oIS EITI B RS FMAO4 gf}ﬁﬁﬂﬂﬁﬁ*m E, BESERE
INDEXABLE MILING TOOLS 5%
8% . OFKR0O7 ( Zcect ) = 3 0D 0605 | /R4 )
W19 m 110
iEEsVAEY] _
FACE MILLING TOOLS P105+P148 Kr:45° AFO06 Kr:45° AFO7
16T TS, B e
ﬁﬁ@ﬁﬂ%ﬁﬂgﬁu P149~ p167 EMAQ7 RESFIR IR 35 171 38 He OE &R T
S QUARE-SHOULDER MILLING TOOLS gﬁ?ﬁm 0804010 [ Zecet) P
i ONCIC 08T ( Zecet ) SNOIM 1204 ( Zocot)
[yl
ﬂ‘jﬁ?%ﬁﬂgﬁu P168~P174 BAim-112®\ . W13 m
PROFILE MILLING TOOLS 1) Kr:45° AFO08 H Kr:45° AFO09
_ H 8T, &iFk & 8UmMNE, Bl
=HEADGTIRSY P175~P181 po SEFMHIESN, Bk b #4570k 38
SIDE AND FACE MILLING TOOLS :
SNEX 1206ANN { 35igf# ) gﬁ?ﬁxwosxm [ $ER )
41 R114 3 RA157
BRSIEA  p1gr~p184 |
CHAMFER MILLING TOOLS Kr:45° AF10 AR N Kr:45° AF11
s WS, BAH IR TIR, EFtk
WREET] ( Kifes ) &5 1=
= L ~ WP, BES &I PR A4,
HIGH FEED MILLING CUTTER P185~P191 ;‘# f: MBS, B8
Y : SNMU 1305 ( i+ )
Eﬁfgﬁ%ﬂ?ﬂ R 116 7T PNMU 1205ANER ( 3% ) R 117 &
E P192~P193 -
HELICAL END FACE MILLING TOOLS Kr:55° DFO1 s w Kr:67° DFO1 I
1271 kR, 103 , :
iz%?a)]/%ﬂé%]] MHEEERER, #HN HEESERE R RIS, BN
~ FMDO02
END MILL/FACE MILL P194~P128 FMDO02 :;ﬁﬁ i\zﬂ]%m. BER
R118 T HNEX0905 (Zccet) R PNEG 110512R ( Zccet )
VRS = | Kr:60° DFO2 . :65°
o] R fLER RS P199~P215 WERf, EUIHIH Eras*  DEO3 sMBMIIS, Bt
INDEXABLE U DRILL SFET R, KEIESEM : BESFUIHI 1, FRA/D
FMDO3 | I, Hk@Es ~ HERRR AT R iR
o BX: 1505ZNE (Wie)
Mi21 @ LNKT 2510 ( Zecet ) 01221237
Kr:75° EFO01 —_—
TENABHEDERT Kr:75° EF02 WEHNS, EOEH
FERDERY R IAENR, KEH
FMEO1 | $kEFEMI FMEO4 = M, RRiiH
8%, Bx.
W 124 5 LMNE 32.534 | Zceet ) 0 125 7 LNKT 1506 (Zccct )

THRAFEFHERSHA R FHEEEMEwww. hnsant.com




#HI7J& | MILLING TOOLS §AHI §AHI #HI7JE | MILLING TOOLS

AIEAUHHEITIAR Indexable milling tc exable milling tools BJEAzHEHEITIE

Category Shape XiF Rz Feature Category Shape Xif Rz Feature Category Shape XiF Rz Feature Category Shape XiF Rz Feature
250 b2 TN ZRS ¥FE 23 AN ZRS FFE 3 AR ZRBS ¥FE ]| AN EZRS FFE
Kr:75° EFO03 Kr:75° EFO04 Kr:90° PEO1 Kr:90° PEO1
Er e Al —_
- e, e ERAMEIRELS, AT, =Heie w7, =HBiE
5:355 3 ’ FMEO2 | EAS , EMPO1| 7. TIHIE AN EMPo2| 7 VIHIETIN
| . 5% 5% EER
?I‘f(N 1504 ( Zecet) SPK[] 1204 ( Zcect ) APKT 11T3[1[] ( Zcceet) APKT 11T3[1[] ( Zccet)
1265 SPKN 1203 ( Zooct ) 1277 1495 APKT 16040107 ( Zcect) 1505 APKT 1604000 ( Zccet)
Kr:75° EFO06 EEIR A, KR Kr:75° EFO7 Kr:90° PEO2 Kr:90° PEO2
S 7 B iz Bt i g 40 1 HE SWﬁiﬁiﬂH, ZiFFE @ EMghE, HEEHF EiZiE, HBiF=Z T
e BELFUIEIBR A /N, IR y EMPO4 FRBEEN, MIHERS EMPO0O3
. 2% = 5%, %
SPMT 1806 EDER (% ) SNMX 1205XTN (45 El5 ) APKT 117300 ( Zecet) APKT 117300 ( Zecet)
1293 L1307 1517 1525
Kr:90° PFO1 Kr:90° PFO02 B, #, BFHigit, Kr:90° PEO3 Kr:90° PEO4
4 RERFHNIGRA
S Lo Rl EHEHEE ¥%§ ML, TEEE DOFMENRE, HIH
i, ZFEREY FMPO2 | 4ot / EMPO5 | fLIT EMPO8| A/, AKAE
5%, . S % EEE
TPKN 2204 ( Zccet) ?E?E.TOQT308PER Jecet APMT 113504PDER ( Zccct ) LDCIC] 1504 ( Zxfi XAt )
( )
WA315 132-13451 SEET 120308PER ( Zcoot ) 1535 APMT 160408FDER ( Zccct) R1547
L TETE nsam Ly W, ®, guiit, Kr:90° PEOS HERT), =i Kr:90° PEOS EERT, SHEHR
AL 3y =1 b T i ~ z ’o—o N
: T Exme §ﬁ§g§;#$§§ 7, EIEAN, G 7, MEIBAN,
FMPO03 : Lip 2 o = . HEE SR . HEE %R
?N?(T EN-ZR ( L% ) AL 7 B A EMPO9 5%
1506EN-. : :
5 Bx. B APKT 1705PER ( 45E% ) B -

Kr:90° PFO5 R e Kr:90° PFO06 B Kr:90° PEO6 ThE R R, 1R 1y Kr:90° PEO6 KR, TEERRR AN
H SIS, B ] ANBT, B i L=l il o) i T e
o " FMPOs | XERE, (EH 7 €, REFMO0° , EF 7 pee e

. EHE, £8 : FHREMT ' )
7] ?ﬁ%’xzzoqum (45BE= ) 7] : : : A%A?T:QSSDDPEER (&)
so = :
1387 13970 MT 12T308PEER (=% ) W1570 S s EErEy () 01585 AXMT 170500 IPEER ( fi% )
Kr:90° PFO7 Kr:90° PFO08 Kr:90° PEO7 Kr:90° PEOS8 SHmERYT), BE
. TR, B ARTETR, EEE R, W E NRBE, DEES
) %, YHIBH, TRE 445553 AmT f, RIFMO0° , A
: T TRE / ?P?/IEHOBSPDER (X&) :f—ml
R140% YOMTIE0400PDER (5] R1a1T LNWX170808 PNSR (%) 1597 ARMT160SEDER { ) R1607% HEe ]
a 1 B i LR
Kr:90° PF09 EMBFTIS, Bl Kr:R  RFO1 gy EEMMEL DR Kr:90° PEO08 =l Kr:90° PEO09 SHEmERTIT, YK
SE4F7) O 5 b B K AT (714 ) R, REEREFIEHE HE. B : BAE, BEFH
figit, PIHIER : % 90° , ERFHMIT 90° , EBRATHMI
or FMRo2| AT toTaMo-0n Zea : .
: = cce L /R - :
XNEX 0806 ( L7 ) (718 )| RCKT 1606MO-DR ( Zccot) ADMT 1909080 Igéﬁi R390-11T300 (%)
J143-144% RCKT 2006MO-DR ( Zccet ) 1617 ADMT 160608R ( FL/R4% ) 16251 R390-17040100 ( W% )
Kr:R RFO02 R AN 7 O RRETE Kr:R RFO03 Kr:90° PEO9 SHEpERTT, W Kr:90° PE10

KRR, YIHIIES
I, SH, BT
AE

EMRO4 | TR EDE®

FMRO3| = srapiges 25

(71 )| 5=,
RDKW 0803MO ( Zccct )
, FMRO4| RDKW 10T3/1204MO ( Zccet)

(o

=
o
)

HIBEAE, RIEFH BHEAREL
90° , EBAFREMI RYIEI B
B%.
R390-11T30 ( %) 5%

16

2%
RPMT/W 1204 (=% ) s
(71&) ngliggmggﬁﬁﬁi RPMT1606 (=%) R390-170410J ( i%F) BDMT11080J0] (% )
R145-1460 RDKW 2006MO ( Zecet ) R1473 7 4| BDMT1704000] (%)

Kr:R RFO04
iR T F& T IRETIE
&, HERE

2%
QPMT 1204MO ( %)

148

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com

& | SANT



#tEI7JE2 | MILLING TOOLS

“E8I7JE | MILLING TOOLS §AHI §AHI

AJEAUHHITIR Indexable milling tools Indexable milling tools AJ4&{UsEHITIE

Category Shape 3o 57 Category Shape Xt R Feature Category Shape %o [z Feature Category Shape Feature
#*31 Foqk 2R 50 VN Z8S ¥FE ] b 7N 2R YFE ]| 27N FFE
a1 Kr:90° PE10 EREY Kr:90° PE11 Kr:45° ACO1 Kr:60° DCO1
- HEREYR, Kuifig |
JE R IEI 7 o {ETEhE B T g MNEEERA, FLEA, g INFEE R, FLERA,
N : w0 u
7 o=, L CMAO1| $hElfEI% CMDO1| kbl
A BDMT 11T3JCIER (F%& ) bl P #t 5% i 2%
BDMT 1704000IER (3% ) B APKT 100304PDER ( £ ) 7] 2 SPMT 120408 ( Zccct) 7] SPMT 120408 ( Zccct)
% 1655 & 166F 18271
i Kr:90° PE12 Kr:30° 2ZCO1 1
# MBRIE, BFE
7] : BefF, HhEE NFEER, LES, A% SHERER, M
. CMZO1| gtk f %7 o
LNCIX151008PNR ( 33& 7 ) e S§P%M:T120408(Z t) 7 &
CCC
R167R 1847 # 0194-198F
Category Shape Xt R Feature Category Shape it K Feature Ca}t’egory Srlape Xt Bg Fea}ure Ca}t’egory Sh/ape Xt B Feature
%51 ik zEE P E %5 Mk zme e %3 Bk 2ES FHE %3 B zES
r:R . r: XKo1 5 ZEYY Kr:x XKo1 BN RZEYIE A
R  RBOf R — Kr:R  RBO2 . _ x BRABE A, :
Ingﬁﬁigi% AMANEMNT, R KEAYIE, ATE Kt iIHEl, AT
BJ’ P - AZHSZHNER, XMRO1 MI, WEEE, £E XMRO1 MI, WEEE, £E
BMRO1 ' BMRO3| IM#EERS, niRis T TE
#3%. ZDET 08T2 ( Zccct) P e ( ) Son
ZDET 1103 ( Zcccet) s : : SDMT 09T3 ( Zccet SDMT 09T3-DM ( Zccot )
168TT Sie ((gggg:; 169FT X(PZgIcﬁlzo/zs/so/astos M185F SDMT 1204 ( Zccot) M186FT SDMT 1204 ( Zooot)
r:R 15 R Kr:x XKo2 RN RBEEIEH, Kr:x XKo02 ABRSBEEYIEAN,
1’2 "R REOZ SERNEMT. % g | EABANEAMT, % x KGH, AFEGE x REEVIR, BFEG
it A= BRI, p R BRI, i mI, WEEE, FE i mI, WEEE, FH
7 / BMRO3| M#REE, HiRisF 5 BMRO3| IMiES, HiFtF % XMRO1| £ XMRO1) mg
%ﬁﬂe/zoxzs/somnsos s B%. # . % WPGT 060415ZSR ( Zccct )
XPHT 16/20/25/30/32R803 WPGT 080615ZSR ( Zccct )
= (Zecet) WATR ( Zooot) 7] 5187-188F WPGT 05/06/08/09 ( Zccct ) 7] M189F WPGT09072523R(2223)
Kr:x XKO03 Kr:x XKO03
r:R RBO3 Kr:R RB04 T "
NERKES, BT AEIRLit, TAIEN eTMBEIIE, B eTMBBIIH, EFH
BT, REBEE, b, MHNBER, B # He 57
/ BMRO4| meEieE / RN, KIRIE e
5% ]
Sotix1203/1604/2005 ZNVIT 1804100-C (%) (L BT =L Vg o onn-mv
R172-1735 12506/3007/3207 ( Zcoct ) 17450 i ) R190F
Category Shape + R Feature Category Shape Feature
Category  Shape  IfAI i Category  Shape YW e %3 Ttk %&ﬁ 454 k8 Wik B
25 2N Z28S YFE ]| 2N ZHS YFE =
Kr:90° PHO1 Kr:90° PHO1
r:R PTO1 r:R PTO1 14 r B, mhEE, K 14 r B, mipEHEE, K
T’**”ﬁ' AR *f""*’”ﬁ' UL e / YR, SEEMTHE i / R, SEEMTHE
PAAY I\ Iy A
hva HMPO1| X% hva HMPO1| %%
y TMPO1| # SMPO3| 4. s o P } .
MPHT 060304-DM ( Zccet ) = MPHT 060304-DM ( Zccct ) APKT 150412 ( Zccct ) APKT 150412 ( Zccct )
MPHT 080305-DM ( Zccct ) — MPHT 080305-DM ( Zcecet ) 7] 01925 SPMT 120408 ( Zcect ) 7] 1935 SPMT 120408 ( Zccet )
RA75% MPHT 120408-DM ( Zecet ) 1] MPHT 120408-DM ( Zccct )
7]
_ Kr:90° PTO1 Kr:90° PTO2 Categor
= mmsnE, ouEn | 9 MR, HAEMT, FRse g ol
H I 7] 47), ZFMHEEF UD25/UD35
7] SMP03| 5. SMPO1 S ubD20 .
o MPHT 060304-DM ( Zcect ) 5% '_’ RS, ERAE '_’ DS, EREE
MPHT 080305-DM ( Zccot ) XSEQ 1202/1203 ( Zccet) %, WEET, HBEIR %, WEEF, HEIR
7 1777 MPHT 120408-DM ( Zccet) R178-1795 ARG AR o) W, RIFMRERE, I * W, RIFNRERE, I
Kri90° PTO02 HIE RSN, TS HIEBERERN, $HFLIE
r- ] RO D
e — o Maoaiam | ERREREELR. % R203-2047 | EMEERBELR.
47], ZFELF = = e = = e
’ D BN, ERHES, % UD40/UD50 BN, ERHES, %
; SMPOT| - . fa |UD30 ZEH, HENG, RIFHE # ZEH, HENG, RIFHE
XSEQ 1202/1203 ( Zcccet ) ERE, YHSEREDN, RRE, VHIERERESN,
18018170 /12T3/1204/12T4 ( Zecet) * GABERNREREELR. * SAMERNRARREER,
A
M205-206% SPGT 050204/060204/07T308 M207-210F SPGT 050204/060204/07T308
/090408/110408/140512 /090408/110408/140512

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com

TREGEFELAERR R #HEE

B ™ #www.hnsant.com




#tEI7J2 | MILLING TOOLS

AI(UEEHITIR Indexable milling tools

* B[R HtHI T) R R SRR

#H = 71 A

TR PEES YIHI 7] & B (mm)
Lead Angle Type Of Tools Cutting Edge Length
EeET] TIA Insert 7J) i TR Shape of blade
A ° F F illing tool RNERER
45 acemiing oo Incircle diameter c D R S T L
FREEMHET
D 60° E Shoﬁdlzr milling tool 5.556 - -  —  — 09| —
. B Eﬁ#ﬁﬂng ool 635 06 07 —  — 11 —
E 75
9.525 09 11 09 09 16 | —
T TEsIot milling tool 1
P 900 12.700 12 15 12 12 22
K KT ’
High feed milling cutter
Zz 300 15.875 16 19 15 15 27 —
c  EmmT
Chamfer milling tool 19.050 19 o 19 19 33 o
R El# . ’
H WERESISET] -
Helical end face milling tool 25.400 25 — 25 44 25
X %
Special
KRS
Number Of Type
%iﬁ?’:‘i*ﬂ Shell Structure
922,27 ©27,32,40
A 2 B |
Eixl) 33 22 I Ei !
= 37| . = '
= : e & [ 50
| ! 63 0 ;
A ! B !
Type Of 1.13.5 Type Of |
Adapter| 218,20 Adapter| !
©50,63,80 ©38,45,56 |
! | ©100,125,160 |
GB5342-96#1 &£ H1D50-080 EXEHET] GB5342-96#1 E HID100-@160 EXEEET]
GB5342-960f@50-@80shell Facmilling Cutter GB5342-960f@100-2160shell Facmilling Cutter
) 101.6 177.8 ,
C | 260 D 101.6
& 7 : ; 2 T
% i | ! #® 7R ! 7B
a i 1 ! 63 | . | | ! ! ! 70
. . | £ % 0 T AT T | | ¢/ 80
Type O ‘E—;% ! Type Of | £22]| |28 !
Adapter Adapter| i T =
200,250 - I |

GB5342-961 £ #19200-@250

EXEHT

GB5342-9631 EHID3 15K L L&Y

EXEHT

MERF. BN, EXEREEEFTRSHATAREIBHEARER side-locked Shank. Straight Shank, Morse Taper Shank

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com

H = 7 A

T A RFEM L wTm)

Tool Installation Position

A AT w ) & =
Atype of adapter Side-locked

B BEI#ZEO T A 3
B type of adapter Replaceable Head

CE#EO =R

c C type of adapter MT Morse

D Dﬂ& m} BT %E:_Ct
D type of adapter Taper

Z - J EEK
Straight shank Spline

YtEI7JB | MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE

?

TENIMSERE 9D

Diameter

THREAKEFERIERBE] X #EFEEMMEkwww.hnsant.com

YIEIBE R & LE  BEpRE) EHRIK
Cutting Direction Right Left Face Milling Tool
=
s short
TEKE M kR HE BTN
Tool Length Measure Standard Cutter Arbor
L pIIES
lengthening
EREE ZEAHT
) Side And Face
Groove Width H1i2 Milling Tool
BRMT IR 11 552 7)
The deepest machining 104 m“ﬁ;‘ _I'%L‘: Face

EsE AP £

Tooth




#HIJ7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

AIEAUHHITIR Indexable milling tools Indexable milling tools FJ&{UsEHITIE

3 PN .
* Eliﬂu’f‘ﬁﬁlmﬁ'm%ﬂﬂll Mil TIB Rtk ERIETIA
*L( :l fT 7 KESTIH
meEss | C | D | R | S T VvV W bk 2
AT AR (mm) < HEEE
TR | oS = L E
we| A%l | ARGEE | NEWE | KS| G%I| axwEE | IKEAE Q — Q E‘ A& 9» s 7115 I8 B (mm)
. . N > 65" 3.97 06 % 079
N RN AR NI o ¢ D B w—" . " 000
5
A 8 ¢ >65° 556 09 e 198
H| 5 BE R| =% B @ 60 06 02 238
@ = 6.35 06 07 11 11 ™ 558
N .
D E H 80 08 03 3.18
c| = x Eﬁ’ Fl % R C:' 9.525 09 11 09 | o9 16 | 16 | 06 3 397
555° / > 65° 10.0 10 04 476
K L mi Y F R @l Al A x 17 120 12 T4 496
e 12.7 12 15 | 12 12 2 | 22 08 P 556
<
15.875 16 15 15 27 Ts 505
O Q O w i x M il #HE ﬂ:D 16.0 19 16 06 6.35
0 P R <65° 19.05 19 19 19 33 Te 6.75
T £ B G £l WE @ 20.0 20 07 7.94
/\ < s 25.0 25 | 25 | 25 09 9.52
s T v Q . — X | 25.4 25 25 T9 9.72
® T 31.75 31 1 1.1
i <65° 32 32 12 12.70
u| = WE
w z @ YR TRE B
RS BB R B X

)|

2zloalenlr2an oy

RE| ER(E) (RS ER(E)

m 3
m
Q A i 1837 181 7] Bl (mm) HE RS
A B 151 D1
= I= _ ‘ — A
wa| DLBEM | PEECD| BES! | (5%) MEMEHERR (R, KNS ) F_/ 4
A% (mm) AZE(mm) | AZ(mm) @ TIABEAE (mm) Kr an K
O
¥ -0.1
Al 20005 | 20025 | 20025 | e | pog x| 0BR| S5ER| SEY ER A | 452 | A | 3 e o
¢ D F | 0.005 £0.013 | #0.025 | 635 | £0.08 | +0.08 | 0.08 | £0.11 | £0.16 | - . o YIEI A mE
<l 15° D 60° B 5° 1-10 1-0.15
c £0.013 £0.025 10025 | 9525 | 0.08 | +0.08 | +0.08 | 0.1 | 0.16 | - E <> R &
127 | #0.13 | £0.13 | +0.13 | +0.15 | - E 75° C 7° 150 P
2-15 2-0.20
H +0.013 +0.013 +0.025
15.875| +0.15 | £0.15 | +0.15 | £0.18 | - 850 150 L P
E \br F \I& E +0.025 +0.025 +0.025 | 19.05 | +0.15 | +0.15 | +0.15 | £0.18 | - F D 3-20° 3-0.25
20° 25 o o ’ G
G +0.025 +0.025 +013 | 254 | -— | *0.18] -- P 90 E 20 T ) N T [a]
® HIEEOD1AE(mm) : 4-25 4-0.30
J +0.005  |+0.05-+0.13| +0.025 z HE F 25° w
WiZEE |E=ff EFAF |80°%| 55°% k| 35°%H EF 5.30°
G N K $0.013 | 40.05-£0.13| $0.025 G 30° - 5-0.35
30° 0 6.35 | +0.05 | +0.05 | +0.05 | £0.05 | +0.05 | -
L $0.025 1 £0.05-+0.13| £0.025 | 9595 | +0.05 | +0.05 | +0.05 | +0.05 | +0.05 | +0.05 N 0° 6.0.40
M | +0.08-+0.18 |+0.05-+0.13 +0.13 12.7 +0.08 | +0.08 | +0.08 | +0.08 - +0.08 11° Q ’
15.875| $0.10 | +0.10 | +0.10 | £0.10 | - | £0.10 P 7045 EN
P 0| HEftbinEm N | +0.08-+0.18 |+0.05-+0.13| +0.025 - Y.
— 19.05 | £0.10 | £0.10 | £0.10 | £0.10 | — | £0.10 Z HT
U | +0.13-+0.38 |+0.08-+0.25 +0.13 254 . +0.13 — — — +0.13

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AHI
HEEJIR Kras

AFO1

* 71 B K Spare

T1H Insert B2ZE Threaded Sleeve | 71 8 $T Insert Screw " =F Wrench W F Wrench

&

SE[JT12T3 S13BS SM0508 TL60 M3.5X10 T15T S3.5

EH: METREWNSEZ#%kMESATIF . Note: The insertis Zccct brand.

* 71EARES

Type EHZA R~ (mm) Dimension

AF01.12A22.050.04 40 62.4 50 22 40 6

AF01.12A22.063.05 50 75.4 63 22 40 6 A 5 0.5
AF01.12A27.080.06 60 92.4 80 27 50 6 A 6 1.3
AF01.12B32.100.07 70 112.4 100 32 50 6 B 7 1.8
AF01.12B40.125.08 80 137.4 125 40 63 6 B 8 3.0
AF01.12B40.160.10 100 172.4 160 40 63 6 B 10 5.0
AF01.12C60.200.12 160 212.4 200 60 63 6 C 12 6.8
AF01.12C60.250.14 200 262.4 250 60 63 6 C 14 11.2
AF01.12D60.315.18 270 327.4 315 60 70 6 D 18 20.8

THRAKCEFE RSB X #EEZEEMNEwww.hnsant.com

§AHI $tHI7JE | MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE

TR ks Sk FLIPE

AF02

* JJELMi4 Spare

TR Insert Y2ZE Threaded Sleeve| 7] F 3247 Insert Screw " =F Wrench 3R =F Wrench

£

SE[JT12T3 S13BS SM0508 TL60 M3.5X10 T15T S3.5

FH: BENFBWSE/RMEEATIF.  Note: The insertis Zccct brand.

* JIEMHEELS Type of

Type EHZARSF(mm) Dimension Adapter

= #O
]
6 o oo [ o0 | o | v | » | i

AF02.12A22.050.03 40 62.4 50 22 40 6

AF02.12A22.063.04 50 75.4 63 22 40 6 A 4 0.5
AF02.12A27.080.04 60 92.4 80 27 50 6 A 4 1.2
AF02.12B32.100.05 70 112.4 100 32 50 6 B 5 1.8
AF02.12B40.125.06 80 137.4 125 40 63 6 B 6 3.55

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#tEI7J2 | MILLING TOOLS

AI(UEEHITIR Indexable milling tools
BT Ko

AF03 e

~H

[ L L Y=g Lo
L 1.1 11 J | S I'I J

* 71 ELHH¥ Spa

71 B Insert 713£ Tool chuck EHR Clamp WES 3] T SR H25T

Double Headed Screw

" =F Wrench

I : Tool chuck screw

SE[IN1203 LSE12R/L S3
WO1R/L DM8x21X LOM5x15.1
SELIN1504 LSE15R/L sS4

FHH: BETNFBWSZHRMEATIF . Note: The Insert Is Zecct Brand.

* NIENKES

#tEI7J2 | MILLING TOOLS

NV DOWRO

* 7] ELHi4 Spa

T1F Insert 71 R 82 %T Insert Screw

OFKTO05T3 TL60 M4X10 T15T

R =F Wrench

R METEBEWNSZ#%NEEATIE . Note: The Insert Is Zccct brand.

* 71B#EBIS Type of M

=
SA T R N B B Y
80 103 27 50 55

AF03.12A27.080.04 A 4 1.8
AF03.12B32.100.05 100 122 32 50 5.5 B 5 24
AF03.12B40.125.06 125 147 40 63 5.5 B 6 4.4
AF03.12B40.160.08 160 181 40 63 5.5 B 8 6.4
AF03.12C60.200.10 200 221 60 63 5.5 C 10 8.5
AF03.12C60.250.12 250 270 60 63 5.5 C 12 14.1
AF03.12D60.315.15 315 353 60 63 5.5 D 15 222
AF03.15A27.080.04 80 103 27 50 7.5 A 4 1.7
AF03.15B32.100.05 100 122 32 50 7.5 B 5 23
AF03.15B40.125.06 125 147 40 63 7.5 B 6 4.2
AF03.15B40.160.08 160 181 40 63 7.5 B 8 6.1
AF03.15C60.200.10 200 221 60 63 7.5 C 10 8.3
AF03.15C60.250.12 250 270 60 63 7.5 C 12 13.6
AF03.15D60.315.15 315 353 60 63 7.5 D 15 21.8

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com

Type
S

AF04.05A22.050.04

EZR~F(mm) Dimension Adapter

40 56 50 22 40 3.5

AF04.05A22.050.05 40 56 50 22 40 3.5
AF04.05A22.063.05 50 69 63 22 40 3.5
AF04.05A27.080.06 60 86 80 27 50 3.5
AF04.05B32.100.07 70 106 100 30 50 3.5 B 7 2.6
AF04.05B40.125.08 80 130 125 40 63 3.5 B 8 4.2
AF04.05B40.160.10 100 165 160 40 63 3.5 B 10 5.1
AF04.05C40.160.10 100 165 160 40 63 3.5 C 10 4.8

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#tEI7JB | MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE

#tEI7J2 | MILLING TOOLS §AHI

mEEJI R krase \) Q P RUNK

AFO04

* TJELMH¥ Spare * 71 ELH4 Spare

T1H Insert 71 3£ Tool chuck PES$) T H2 5T #F Wrench T1H Insert T1 R 424T Insert Screw #|F Wrench
— : Double Headed Screw| Tool chuck screw Adjusting Screw .,\

OFKR0704 LOFO7R/L WST02 DM8*21 LOM5X15 TMO0608 S3S4 OD[1[]0605 TL60 M5X12 T20T
EH: RETREWSEHRMETII R, Note: The insertis Zecct brand. EH: BETRENSZRREIIA . Note:The Insert Is Walter brand.

* 7JEHHES Typeo * 718 MRS Type of Milling

Type EZARH(mm) pimension Ef)th Type B R~F(mm) pimension

B % G %
AF04.07A27.080.05 60 91 80 27 63 5 A 5 AF05.06A22.050.04 40 60 50 22 40 10
AF04.07B32.100.06 70 111 100 32 63 5 B 6 1.8 AF05.06A22.063.05 50 73 63 22 40 10 A 5) 0.5
AF04.07B40.125.08 80 136 125 40 63 5 B 8 3.9 AF05.06A27.080.06 60 90 80 27 50 10 A 6 0.8
AF04.07B40.160.10 100 171 160 40 63 5 B 10 5.9 AF05.06B32.100.07 70 110 100 100 50 10 B 7 1.5
AF04.07C60.200.12 204 211 200 60 50 5 C 12 7.6 AF05.06B40.125.08 80 135 125 125 63 10 B 8 25
AF04.07C60.250.16 254 261 250 60 50 5 C 16 13.3 AF05.06C40.160.09 100 170 160 160 63 10 C 9 4
AF04.07D60.315.20 319 321 315 60 50 5 D 20 18.3

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#tEI7J2 | MILLING TOOLS
EfEJJE kras
AFO06

* 71 ELH4 Spare

TR Insert FE 24T Clamping Screw #RF Wrench

-

EETIE weas
AF06

* T B Mt Spare

TR Insert

YtEI7JB | MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE

N DoOmp

L1

@DI1
@D
[o)e]

71 R 8 %T Insert Screw " F Wrench

ON[J[Jo6041] L60 M4X10 T15T

ON[I[J08T5[][] L60 M5X12 T20T

EH: BRETDRFEWSERINIEATIF . Note:The insert is Zecct brand.

* 71E#MEEIS Typeo

EAERS(mm) pimension

o [ oo [ oo | o | 5 | m

AF06.06A22.050.05 40 62 50 22 45 4
AF06.06A22.063.06 50 75 63 22 45 4 A 6 0.5
AF06.06B27.080.07 60 92 80 27 50 4 B 7 1.2
AF06.06B32.100.08 70 112 100 32 63 4 B 8 1.2
ONO06 AF06.06B40.125.09 80 137 125 40 63 4 B 9 2.6
AF06.06C40.160.11 100 172 160 40 63 4 C 11 4.3
AF06.06C60.200.13 160 212 200 60 63 4 C 13 7.6
AF06.06C60.250.15 200 262 250 60 63 4 C 15 13.5
AF06.06D60.315.17 250 327 315 60 70 4 D 17 20.8
AF06.08A22.063.05 50 78 63 22 40 5 A 5 0.5
AF06.08B27.080.06 60 95 80 27 50 5 B 6 1.2
AF06.08B32.100.07 70 115 100 32 63 5) B 7 1.2
AF06.08B40.125.08 80 140 125 40 63 5 B 8 2.6
ONO8
AF06.08C40.160.10 100 175 160 40 63 5 Cc 10 4.3
AF06.08C60.200.12 160 215 200 60 63 5 Cc 12 7.6
AF06.08C60.250.14 200 265 250 60 63 5 C 14 13.5
AF06.08D60.315.16 250 330 315 60 70 5 D 16 20.8

THRAKCEFE RSB X #EEZEEMNEwww.hnsant.com

ON[J[Jo6041]

ON[I[J08T5[][]

TL60 M4X10 T15

TL60 M5X12 T20

EH: METRFENSEZ#%MEEATIF . Note: The Insert Is Zccct brand.

w 71E MBS Type of Milli

Type

B A R~F(mm) pimension ACEIHET iy

| EARYOmomensen | Alpler| ool
8= 0O 3]
D1 L L1 ez
37 25 20 100 45 4

AF06.06W20.025.02 W 2

AF06.06W25.032.03 44 32 25 110 50 4 W 3 0.3
AF06.06W32.040.04 52 40 32 120 55 4 W 4 0.4
AF06.08W25.032.02 47 32 25 120 55 5 W 2 0.4
AF06.08W32.040.03 55 40 32 120 55 5 w 3 0.5
AF06.08W32.050.04 65 50 32 120 55 5 W 4 0.6

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#HI7JR | MILLING TOOLS §AMI §AUI #:HI7J2 | MILLING TOOLS
HHTIR ks VvV DOm0 o EHTIE Keas N D OM0O

AFO07

= I

* TJELMI4F Spe * 71 ELHi4 Spa

@Dl
@D

ap

jofe]
P D2

TR Insert E## clamp I Sk #2£T Double Headed Screw #HF Wrench T1F Insert 71 Fr #2%T Insert Screw #F Wrench
SN[LIN1204 WSTO1 #0O: DM6*20 S3 SNEX1206ANN TL60 M4X10 T15T
T BETDRZWSZE/RMEEATIF . Note: The insert is Zcect brand. EH: BETREWUSEREF IR . Note:The insert is Korloy brand.

* 71E B Type * 71E#1#&BI2 Type of Mil

Type | Typs BARF(mm) oimension
w2 0O wH e
o [ [ [ ] [ e o N R
AF07.12C60.200.18 209 215 200 60 40 5 (¢} 18 AF08.12A22.050.04 40 63 50 22 40 6
AF07.12C60.250.24 259 265 250 60 40 5 (¢} 24 9.2 AF08.12A22.063.06 50 76 63 22 40 6 A 6 0.7
AF07.12D60.315.30 324 330 315 60 40 5 D 30 124 AF08.12B27.080.07 60 93 80 27 50 6 B 7 1.2
AF07.12D60.355.34 364 370 355 60 40 5 D 34 16.2 AF08.12B32.100.08 70 113 100 32 50 6 B 8 1.7
AF07.12D60.400.38 409 415 400 60 40 5 D 38 19.2 AF08.12B40.125.10 80 138 125 40 63 6 B 10 3.6
AF07.12D60.450.44 459 465 450 60 40 5 D 44 23.2 AF08.12C40.160.12 100 173 160 40 63 6 C 12 4.8
AF08.12C60.200.14 150 213 200 60 63 6 C 14 5.3
AF08.12C60.250.16 180 263 250 60 63 6 C 16 12

THRAKEFBEREHAE X #EEZEMNBwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#tEI7JB | MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE

#tEI7J2 | MILLING TOOLS §AuI
ETIR knes NV DOMPOO

AF09

* TJELMH4 Spe * 7] B4 Spar

TR Insert 71 4247 Insert Screw " =F Wrench T1F Insert 71 K %247 Insert Screw #|F wrench

~ ~

SN

SNMX1205XTN TL60 M4X10 T15T PNMU1205ANER TL60 M5X12 T20T
EH: BETNRZWUSERHERIIF. Note:The insert is Taegutec brand T BETRZWSERET R - Note:The insert is Kyocera brand.

* 71E##&BIS Type * 71B &R SType of Millin

Type BARF(mm) pimension Adapter . Type BARF(mm) pimension

= #0 3 ) =

J J

_ | oo: | oo | o0 | e | 0 ]| » ] gx — o | oo | oo | od | v ]| = |
40 63 50 22 40 6

AF09.12A22.050.04 A 4 0.5 AF10.12A22.063.05 50 76 63 22 45 55

AF09.12A22.063.05 50 76 63 22 40 6 A 5 0.7 AF10.12B27.080.06 60 93 80 27 50 515/ B 6 1.0
AF09.12B27.080.06 60 93 80 27 50 6 B 6 1.2 AF10.12B32.100.08 70 113 100 32 50 55 B 8 1.4
AF09.12B32.100.08 70 113 100 32 50 6 B 8 1.7 AF10.12B40.125.10 80 138 125 40 63 5.5 B 10 215,
AF09.12B40.125.10 80 138 125 40 63 6 B 10 3.6 AF10.12C40.160.12 100 173 160 40 63 5.5 C 12 3.8
AF09.12C40.160.14 100 173 160 40 63 6 C 14 48 AF10.12C60.200.14 150 213 200 60 63 515 C 14 6.5
AF09.12C60.200.18 150 213 200 60 63 6 C 18 5.3 AF10.12C60.250.16 180 263 250 60 63 55 C 16 9.1
AF09.12C60.250.20 180 263 250 60 63 6 C 20 12

THRAKEFBEREHAE X #EEZEMNBwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AMI §AUI #HI7JE | MILLING TOOLS
Indexable milling tools BJ4&{usEHITIR
EHTIR kees VvV DOm0 O EHTIR kess V BOMROD

AF11 DFO1

'.J

=
-l'
*

g‘
D

* 718K Spa * 718 M Spar

T1R Insert T 4247 Insert Screw " F Wrench T1F Insert E ¥ 4247 Clamping Screw &k Clamp #|F wrench
" & I
SNMU1606 TL60 M5X12 T20T HNEX0905 #HA: DM6*20 W18N S8)
B BETNRBWSEFIFTFII R, Note: The Insert Is Iscar brand. FH: BETNRBWSEKRMNEATIF . Note: Theinsertis Zccct brand.

* 71E#IEBS Type of * 71E &R Type of Mill
Type EZA R~ (mm) Dimension /-;;T:pl)ter ‘ i e HA&R~F(mm) Dimension
— | 02 | o0 | o0 | ed | H | @ | Ex - o0 | o0 | o0 | od | H | @ |
50 64 50 22 50 7.5

AF11.16A22.050.04 A 4 0.3 DF01.09A27.080.08 60 88.5 80 27 50 8.5 A 8 1.1
AF11.16A22.063.05 50 7 63 22 50 125 A 5 0.5 DF01.09B32.100.10 70 108.5 100 32 50 8.5 B 10 2.6
AF11.16A27.080.06 60 94 80 27 50 75 A 6 1.0 DF01.09B40.125.14 80 133.5 125 40 63 8.5 B 14 3.7
AF11.16B32.100.07 70 114 100 32 50 125, B 7 1.4 DF01.09B40.160.18 100 168.5 160 40 63 8.5 B 18 5.6
AF11.16B40.125.08 80 139 125 40 63 75 B 8 25 DF01.09C60.200.22 150 208.5 200 60 63 8.5 C 22 6.3
AF11.16C40.160.10 100 174 160 40 63 7.5 © 10 3.8 DF01.09C60.250.28 200 258.5 250 60 63 8.5 Cc 28 10.3
AF11.16C60.200.14 150 214 200 60 63 7.5 C 14 6.5 DF01.09D60.315.32 270 3235 315 60 63 8.5 D 32 21.7
AF11.16C60.250.16 180 264 250 60 63 7.5 C 16 9.1

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AMI §AUI #HI7JE | MILLING TOOLS
mEtJIE keer v K it E keer V K

DFO1 DFO1

* 71 K4 Spar

T1F Insert T 4247 Insert Screw

; * 71 B4 Spare

PNEG110512R TL60 M4X10 TI5T J1H Insert JE & 424 Clamping Screw E#R Clamp #"=F Wrench

S
o
it

FH: BENRFBWSEKRMEATIF. Note: The insert is Zccct brand. . &

PNEG110512R DM6+20 W18N S3

* J1E MBS Type of
Type EHARF(mm) Dimension Aéalgter
= .
D2 D1 H Fzt
DF01.11A22.050.04 40 60 50 22 45 5
DF01.11A22.063.05 50 73 63 22 50 5 A 5| 0.8 * J]E*mmﬂ% Type of
DF01.11B27.080.06 60 90 80 27 50 5 B 6 1.1
Type EZA R~ (mm) Dimension Adapter

EH: METRBWNSE%RIMNEEATIF . Note: The insertis Zccct brand.

7N DF01.11B32.100.07 70 110 100 32 50 5] B 7 1.8 = #0
B DF01.11B40.125.08 80 135 125 40 63 5 B 8 2.9
DF01.11A27.080.10 60 90.1 80 27 50 5
DF01.11B40.160.10 100 170 160 40 63 5 B 10 5.6
DFO01.11B32.100.14 70 110.1 100 32 50 5} B 14 1.6
DF01.11C60.200.12 150 210 200 60 63 5 C 12 7.9
DF01.11B40.125.18 80 135.1 125 40 63 5 B 18 3.2
DF01.11C60.250.14 180 260 250 60 63 5 (o] 14 13.4
DF01.11B40.160.22 100 170.1 160 40 63 5 B 22 5.8
DF01.11A22.050.05 40 60 50 22 45 5 A 5 0.6
DFO01.11A22.063.06 50 73 63 22 50 5] A 6 0.9
DF01.11B27.080.08 60 90 80 27 50 5 B 8 1.2
% DF01.11B32.100.10 70 110 100 32 50 5 B 10 1.9
B DF01.11B40.125.12 80 135 125 40 63 5 B 12 3.2
DFO01.11B40.160.14 100 170 160 40 63 5 B 14 6.4
DF01.11C60.200.16 150 210 200 60 63 5 C 16 8.5
DF01.11C60.250.18 180 260 250 60 63 5] C 18 18

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#tEI7JB | MILLING TOOLS

AI(UEEHITIR Indexable milling tools

mEEJI B keseo
DFO02

* 71ELH4F Spa

T1R Insert J18 Shim T B 984T Insert Screw | 73 H##2%T Shim Screw
13 ~ ~

LNKT2510 LLN25R-ZR TL60 M5X16 L60 M3.5X10 T15T/T20T

| =F Wrench

EH: METREWNSEZ#%MEEA TR, Note: Theinsertis Zccct brand.

* J1E#MHEES Type of

Type BAR(mm) pimension
DF02.25B40.125.05 80 154 125 40 63 17
DF02.25C40.160.06 100 189 160 40 63 17 C 6 6.9
DF02.25C60.200.08 150 229 200 60 63 17 C 8 10.5
DF02.25C60.250.10 160 278 250 60 63 17 C 10 16.7
DF02.25D60.315.12 270 346 315 60 63 17 D 12 27.3

THRAKCEFE RSB X #EEZEEMNEwww.hnsant.com

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE
W Om

mEEJT] B keese
DFO3

DFO3. 15840,

160. 10

T1F Insert 71 #24T Insert Screw

Fi oy

~

R365-1505ZNE TL60 M4X10

EH: METREWNSZLEERTIF . Note:The insert is Sandivk brand.

* NIEMKEES T

Type EARH(mm) pimension
=
- | ov: | o0 | o0 | od | K | o
40 57 50 22 40 6

DF03.15A22.050.04

DF03.15A22.063.05 50 70 63 22 40 6
DF03.15A27.080.06 60 87 80 27 50 6
DFO03.15B32.100.07 70 107 100 32 50 6
DFO03.15B40.125.08 80 132 125 40 63 6
DF03.15B40.160.10 100 167 160 40 63 6
DF03.15C60.200.12 150 207 200 60 63 6

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com

A
A
A
B

@

#|F Wrench

T15T

1.8

3.4

5.2

7.8



DFO3

* 718 K4 Spare

T1R Insert

RS =

#tEI7JB | MILLING TOOLS

AI(UEEHITIR Indexable milling tools
EETIR Kees

@ d
@ D2

E 2 484T Clamping Screw E#R Clamp R F Wrench

i
i

R365-1505ZNE

EH: BENREUSELRERTIR,

* JIEMHEEIS Typeo

DM6*20 W18N S3

Note: The insertis Sandivk brand.

DF03.15A27.080.10

DF03.15B32.100.14

DF03.15B40.125.18

DF03.15B40.160.22

DF03.15C60.200.28

DF03.15C60.250.36

60

70

80

100

150

180

EARH(mm) pimension Adapter
tz3m|
87 80 27 50 6 A 10 14
107 100 32 50 6 B 14 2.0
132 125 40 63 6 B 18 3.8
167 160 40 63 6 B 22 57
207 200 60 63 6 C 28 10.2
257 250 60 63 6 C 36 15.2

THRAKCEFE RSB X #EEZEEMNEwww.hnsant.com

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE

* 7B K4 Spare

TIF Insert 71 By 4247 Insert Screw $F Wrench

g

LNE32.534 TL60 M4X10 T15T

FHH: RETHFEWNSEHRIMEEATIF . Note: The insert is Zccct brand.

“ J1EMIRBIS Type of Milli

Type EZAR Rt (mm) Dimension

| =
o (e T o [od T W [ ]
80 132 125 40 63 8

EF01.15B40.125.16 B 16 3.5
EF01.15B40.160.20 100 168 160 40 63 8 B 20 6.1

EF01.15C60.200.25 150 208 200 60 63 8 C 25 7.4
EF01.15C60.250.32 200 257 250 60 63 8 C 32 13.1
EF01.15D60.315.40 250 323 315 60 63 8 D 40 255

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#HI7JR | MILLING TOOLS §B I #HI7JE | MILLING TOOLS

mHEEJJE xrrs 0 OmQ mHEEJJE xrrs P RLKK)

EF02

T1F Insert 713 Tool chuck FEsR Clamp | FE %84T Clamping Screw uES 3] R F Wrench

. Tool chuck screw

TR Insert 18 Shim 71 8857 Insert Screw | J1E4E£T Shim Screw #HF Wrench SPKN1203 LSP12RIL WO4R/L WM8x17
. . o sS3
ﬁ SPKN1203 LSP12R/IL WO4R/L WMB=22 LOMSE=%15.1 &
4
LNKT1506 LLN15R-ZR TLBO M4X15 LE0 M3X8 T10T/T15T SPKN1504 LSP15R/L WO4R/L WMBx22
W RENREBUSERMEBTI . Note: The insert is Zecct brand. B REDRFBUSEKRMNETTIF. Note: The insert is Zccet brand.

* JIEHERE Type of Mi

* J1EIEREES Type 1 Type EZE R 5 (mm) Dimension Aigaer

=
80 84 27 50 6

é—"f’; EFR(mm) pimension A;;aupter “gifg“ EF03.12A27.080.04 4 A 11

3 (ka) EF03.12B27.100.06 100 104 27 50 6 6 B 19

EF02.15B40.125.06 80 137 125 40 63 8 B 6 38 R et v o = = o2 : . ” o
EF02.15B40.160.08 100 170 160 40 63 8 B 8 6.6 S g = = = 5 = 5 2
EF02.15C60.200.10 150 208 200 60 63 8 ¢ 10 96 EFO03.12C60.200.142 200 2o oo - % - m -
EF02.15C60.250.12 200 257 250 60 63 8 c 12 134 o St b i - o 5 . - g s
EF02.15D60.315.16 250 328 315 60 63 8 D 16 252 T a1 1 60 . 6 20 5 -
EF03.15A27.080.04 80 84 27 50 8 4 A 1.0

EF03.15B27.100.06 100 104 27 50 8 6 B 18

EF03.15B40.125.08 125 129 40 63 8 8 B 33

EF03.15B40.160.10 160 164 40 63 8 10 B 54

EF03.15C60.200.12 200 204 60 63 8 12 c 7.9

EF03.15C60.250.16 250 253 60 63 8 16 c 136

EF03.15D60.315.20 315 318 60 70 8 20 D 23.1

THREAEGFHRIEME X F1§iHZEMEwww.hnsant.com THREGEFHZEHE R FEESEMiswww.hnsant.com




#tEl7JE | MILLING TOOLS Hsﬂn“!-

Eﬁﬂa Kr:75° 0 0 M)a

EF04

* TIRH#F Sparep

T1F Insert 71 R #2%T Insert Screw #F wrench

SPK[ 11204 TLBO M5X12 T20T

FEE: MENEBINSEHMNERTIE. Note: The insert is Zccct brand.

* 71EHEES Type of milli

: Adapter| Tooth | Weight
Typ;e BA R (mm) pimension ;;Ep . f;;i E?g
i | o0 | o0 | o0 | e | H | & | B o
40 54 50 20 40 6 A 4 0.3

EF04.12A22.050.04

EF04.12A22.063.05 50 66 63 22 50 6 A 5 0.6
EF04.12A27.080.06 60 83 80 27 50 6 A 6 0.9
EF04.12B32.100.07 70 103 100 32 50 6 B 7 14
EF04.12B40.125.08 80 128 125 40 63 6 B 8 25

THEAEFERERE R #1HESEMNBwww.hnsant.com

inHIT1H

MILLING TOOLS




#HI7J8 | MILLING TOOLS §AHI §At"l #HI7JE | MILLING TOOLS
mEEJI B ks v PREK) mEEJI B ks Q PRKK)

EF06 EFO07

* 7JELMi¥ Spar * 7JE K Spare

TIF Insert JE 8247 Clamping Screw &% F Wrench T1R Insert T1 R 4247 Insert Screw #HF wrench

~

SPMT1806EDER TL60 M6X16 T25T SNMX1205XTN TL60 M4X10 T15T
EH: METRBWNSEZERTEAT K, Note: The insert is Kyocera brand. FHH: METTRENSZESNE., Note: Theinsertis Taegutec brand

* 71E#HEEIS Type of m * 71E##EEIS Type of

Tyee e Type
m S 2| ER B
EF06.18A27.080.04 60 87 80 27 50 12.4 A 4 1.3 EF07.12A22.050.05 40 56 50 22 40 8 A 5 0.3
EF06.18B32.100.05 70 107 100 32 50 12.4 B 5 2.0 EF07.12A22.063.06 50 70 63 22 40 8 A 6 0.5
Zﬁi EF06.18B40.125.06 80 132 125 40 63 12.4 B 6 3.6 EF07.12A27.080.07 60 87 80 27 50 8 A 7 1.2
= EF06.18B40.160.08 100 167 160 40 63 12.4 B 8 5.0 EF07.12B32.100.08 70 107 100 32 50 8 B 8 a7/
EF06.18C60.200.10 150 207 200 60 63 12.4 C 10 7.7 EF07.12B40.125.10 80 132 125 40 63 8 B 10 2.8
EF06.18C60.250.12 180 257 250 60 63 12.4 C 12 12.0 EF07.12C40.160.12 100 166 160 40 63 8 C 12 4.4
EF06.18A27.080.06 60 87 80 27 50 12.4 A 6 1.3 EF07.12C60.200.16 150 207 200 60 63 8 C 16 6.1
EF06.18B32.100.07 70 107 100 32 50 12.4 B 7 1.9 EF07.12C60.250.20 180 257 250 60 63 8 C 20 10.8
% EF06.18B40.125.08 80 132 125 40 63 12.4 B 8 3.5
2 EF06.18B40.160.10 100 167 160 40 63 12.4 B 10 4.9
EF06.18C60.200.12 150 207 200 60 63 12.4 C 12 7.6
EF06.18C60.250.14 180 257 250 60 63 12.4 C 14 17.0

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#HI7JE | MILLING TOOLS §AMI §AUI #HI7JE | MILLING TOOLS

AIEAUHHITIR Indexable milling tools Indexable milling tools FJ&{UsEHITIE

mEEJIE Knoo
PFO1

mEETIE koo
PFO2

* 718 HHE Spar * 71EMHE Spare

T K 24T Insert Screw % 3F Wrench T1F Insert 71 #24T Insert Screw iR =F Wrench

TPKN2204 MYL8X18 S4 SEET09T308PER TL60 M3X7 TO8T
EHH: RETREWNSE#kiMEEATIK, Note: Theinsertis Zccct brand. FHH: BETTHFENSEZ#%MESA TR, Note: Theinsertis Zccct brand.

* 71 #HEES Typeo * 71B#H#EEIS Type of

PF01.22A22.063.03 50 63 22 50 15 A 3 0.5 PF02.09A22.050.05 40 50 22 40 6.5

PF01.22A27.080.04 60 80 27 50 15 A 4 0.9 PF02.09A22.063.06 50 63 22 40 6.5 A 6 0.5

PF01.22B32.100.05 70 100 32 50 15 B 5 1.8 PF02.09A27.080.08 60 80 27 50 6.5 A 8 0.9

PF01.22B40.125.06 80 125 40 63 15 B 6 2.5 PF02.09B32.100.08 70 100 32 50 6.5 B 8 1.7

PF01.22B40.160.07 100 160 40 63 15 B 7 3.6 PF02.09B32.100.10 70 100 32 50 6.5 B 10 1.7
PF02.09B40.125.12 80 125 40 63 6.5 B 12 2.6

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#tEI7J2 | MILLING TOOLS

AI(UEEHITIR Indexable milling tools
EHTIR Koo

PFO2

=
#
ilj

* 7B K4 Spar

T1 K Insert
o]

SEET120308PER S12BSX SMO0508

Y22 Threaded Sleeve | 71 5 24T Insert Screw R F wrench #F Wrench

TL60 M3.5X10 TI5T S3.5

EH: METRENSE#%MESATIF . Note: The insert is Zccct brand.

* J1EMHEES Type of

Type EZA R~ (mm) Dimension A;:Etef
S =
_oo: | o0 | ed | v |
40 50 22 40 10

PF02.12A22.050.03

PF02.12A22.063.04 50 63 22 40 10 A 4 0.65
PF02.12A27.080.04 60 80 27 50 10 A 4 0.9
E PF02.12B32.100.05 70 100 32 50 10 B 5 1.2
S PF02.12B40.125.06 80 125 40 63 10 B 6 3.1
PF02.12C40.160.08 100 160 40 63 10 C 8 41
PF02.12C60.200.10 140 200 60 63 10 (¢} 10 6.1
PF02.12C60.250.12 200 250 60 63 10 C 12 10.9
PF02.12A22.050.04 40 50 22 40 10 A 4 0.3
PF02.12A22.063.05 50 63 22 40 10 A 5 0.65
;é PF02.12A27.080.06 60 80 27 50 10 A 6 0.9
2 PF02.12B32.100.07 70 100 32 50 10 B 7 1.2
PF02.12B40.125.08 80 125 40 63 10 B 8 3.1
PF02.12C40.160.12 100 160 40 63 10 C 12 4.1

THRAKCEFE RSB X #EEZEEMNEwww.hnsant.com

H = 7 A

E§kTI R weoo

* NNENRKES

Type
S

PF02.12A22.050.05

PF02.12A22.063.06

PF02.12A27.080.08

PF02.12B32.100.10

PF02.12B40.125.12

PF02.12C40.160.14

PF02.12C60.200.16

PF02.12C60.250.18

PF02.12D60.315.24

50

60

70

80

100

140

200

250

63

80

100

125

160

200

250

315

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com

22

27

32

40

40

60

60

60

AR~ (mm) Dimension

o> | oo | ed | W |
40 50 22 40 10

40

50

50

63

63

63

63

63

Adapter
0

X

C
C
C
D

YtEI7JB | MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE
~ € Ond

0.65

0.9

1.2

3.1

41

6.1

10.9

21.6



#tEI7J2 | MILLING TOOLS

AI(UEEHITIR Indexable milling tools
EETIR Koo

PFO3

#H = 71 A

o€ OO

LN20

* 71ELHH4 Spa

T K Insert

LN25

7] %84T Insert Screw| 71 8 42%T Shim Screw " F Wrench #HF Wrench

LNKT1506EN-ZR LLN15-ZR TL60 M4X12 L60 M3X7 T15T T10T
LNKT2007DN-ZR LLN20-ZR TL60 M4X15 L60 M3X7 T15T T10T
LNKT2510-ZR LLN25R-ZR TL60 M5X17 L60 M3.5X10 Ti5T T20T

EH: BETDHRBWNSEZHRNEEAMIETIF . Note:The insertis Zcect brand

* J1E MRS Typeo

Category Type mm) Dimension Adapter
5] i &0
st

PF03.15B40.125.06 80 125 40 63 8 B 6 3.2
PF03.15C40.160.08 100 160 40 63 8 C 8 5.1

LN15
PF03.15C60.200.10 150 200 60 63 8 (o} 10 6.5
PF03.15C60.250.12 200 250 60 63 8 C 12 11.5
PF03.15D60.315.16 250 315 60 63 8 D 16 19.8

THRAKCEFE RSB X #EEZEEMNEwww.hnsant.com

H = 7 A

EETIE keoo

* NNENKES

Type

B e
PF03.20B40.125.06
PF03.20C40.160.08
PF03.20C60.200.10
PF03.20C60.250.12
PF03.20D60.315.15
PF03.25B40.125.05
PF03.25C40.160.06
PF03.25C60.200.08
PF03.25C60.250.10

PF03.25D60.315.12

80

100

150

200

250

80

100

150

200

250

125

160

200

250

315

125

160

200

250

315

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com

40

40

60

60

60

40

40

60

60

60

B R~F(mm) pimension

oo | o0 | od | e

63

63

63

63

63

63

63

63

63

63

Adapter
0
ER

W O O O O

o O O O

YtEI7JB | MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE

19.8

3.2

5.1

6.5

19.8



#tEI7JB | MILLING TOOLS §AMI
Eﬁﬂa Kr:90°

PFO04

* 7JELHi4F Spar

71K Insert 2= Threaded Sleeve| 71 F 12 %$T Insert Screw 3" F Wrench 3" =F Wrench

R290-12T308 S12BSX SMO0508 TL60 M3.5X10 T15T S3.5

FH: BETNABWSZLHETRIEIIR . Note: The insert is Sandvik brand.

* 71B#EBS Type of

Type BAR(mm) Dimension

PF04.12A22.050.03 40 50 22 40 9

PF04.12A22.063.04 50 63 22 40 9 A 4 0.6
PF04.12B27.080.04 60 80 27 50 9 B 4 0.9
PF04.12B32.100.05 70 100 32 50 9 B 5 1.3
PF04.12B40.125.06 80 125 40 63 9 B 6 27
PF04.12C40.160.08 100 160 40 63 9 C 8 4.1
PF04.12C60.200.10 150 200 60 63 9 C 10 6.2
PF04.12C60.250.12 180 250 60 63 9 C 12 10.7

THRAKCEFE RSB X #EEZEEMNEwww.hnsant.com

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE

71 #24T Insert Screw iR =F Wrench

%

TNGX2207PNTN TL60 M5X12 T20T

M BENEZWSESHEEMMIIA, Note: The insert is Taegutec brand.

* 71EHEES
Type EHZA R~ (mm) Dimension A*;alr_-)lter E;ﬁt[h
60 80 27 50 14

PF05.22A27.080.05 A 5

PF05.22B32.100.06 70 100 32 50 14 B 6 1.5
PF05.22B40.125.08 80 125 40 63 14 B 8 2.4
PF05.22C40.160.10 100 160 40 63 14 C 10 4.0
PF05.22C60.200.12 150 200 60 63 14 C 12 5.7
PF05.22C60.250.14 180 250 60 63 14 C 14 10.3

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#tEI7J2 | MILLING TOOLS

mEEJI B keoo

PFO6

YtEI7JB | MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE

* 7JELMH4F Spa

71 F Insert Y22 Threaded Sleeve| 71 F 4T Insert Screw #=F Wrench #=F Wrench TJ1# Shim 82 Threaded Sleeve | 71 F ¥ 4T Insert Screw R F Wrench K F Wrench
SOMT12T308PEER S12BSX SM0508 TL60 M3.5X10 T15T 5815 XDMT120408PDER S12BSX SM0508 TL60 M3.5X10 T15T S3.5
. RETARNSESESMIIE . Note: The insertis Mitsubishi brand. FH: BENREZWNSEZEERMEIIF. Note: The insert is Sumitomo brand.

* 7JEHHES Type * 71EAHES

. EHZARSF(mm) Dimension Type A;‘d;Dpter -E;;h
= ) =

PF06.12A22.050.04 40 50 22 40 10 PF07.12A22.050.04 40 50 22 40 4
PF06.12A22.063.05 50 63 22 40 10 A 5 0.5 PF07.12A22.063.05 50 63 22 40 5 0.5
PF06.12B27.080.06 60 80 27 50 10 B 6 0.6 PF07.12A27.080.06 60 80 27 50 6 1.0
PF06.12B32.100.07 70 100 32 50 10 B 7 1.4 PF07.12B32.100.07 70 100 32 50 10 B 7 1.5
PF06.12B40.125.08 80 125 40 63 10 B 8 2.2 PF07.12B40.125.08 80 125 40 63 10 B 8 25
PF06.12C40.160.12 100 160 40 63 10 C 12 35 PF07.12C40.160.10 100 160 40 63 10 (o} 10 4.5
PF06.12C60.200.16 150 200 60 63 10 (¢} 16 6.2 PF07.12C60.200.12 150 200 60 63 10 (o} 12 8.3
PF06.12C60.250.18 180 250 60 63 10 (¢} 18 10.7

THRAKEFBEREHAE X #EEZEMNBwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE

#tEI7JB | MILLING TOOLS §AHI
HFETI A xkneor Ny 0 (PRNK

PFOS8

* 71 ELHi{4 Spare

71 B25T Insert Screw R =F Wrench J1F Insert 71 #24T Insert Screw iR =F Wrench
LNMX170808PNSR TL60 M4X12 T15T XNEX0806 TL60 M4X12 T15T
FH: BENREWNSEERMBEIIF. Note: The insert is Sumitomo brand. M BETREBWSZLEREIIA . Note: The insertis SECO brand.

* 7JEHHES Typeo * JIEMBEEIST
Type EAR(mm) Dimension A?;aupter Lo;;h Type E 7R~ (mm) Dimension
=] 5] =]
_ oo | o0 | o | K| % | g = | oo | o0 | od | W | @ |
60 80 27 50 14 40 50 22 40 6

PF08.17B27.080.05 B 5 PF09.08A22.050.05

PF08.17B32.100.06 70 100 32 50 14 B 6 1.8 PF09.08A22.063.06 50 63 22 40 6 A 6 0.5

PF08.17B40.125.06 80 125 40 63 14 B 6 24 PF09.08B27.080.07 60 80 27 50 6 B 7 1.0

PF08.17B40.160.08 100 160 40 63 14 B 8 4.0 PF09.08B32.100.08 70 100 32 50 6 B 8 1.8

PF08.17C60.200.10 150 200 60 63 14 C 10 6.5 PF09.08B40.125.11 80 125 40 63 6 B 11 24

PF08.17C60.250.12 180 250 60 63 14 C 12 12.3 PF09.08B40.160.12 100 160 40 63 6 B 12 3.8
PF09.08C60.200.16 150 200 60 63 6 C 16 6.2

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#tEI7JB | MILLING TOOLS §AMI

AI(UEEHITIR Indexable milling tools

Ei$ 7 8 ECOUOe@ o0
RFO1

* 7B K4 Spar

J1F Insert 71 K 24T Insert Screw $RF Wrench
RCKT10T3MO-DM TL60 M4X10 T15
RCKT1204MO-DR TL60 M4X10 T15

EH: METRBEWNSEHRMNEEARIETIIF o Note: The insert is Zccct brand.

* 71E##EEIS Type of

Type EERF(mm) Dimension Adapter

0

=]

- " oo | e | L U ® | g
5 25 20 100 30 5

RF01.10W20.025.02 W 2 0.2
RF01.10W25.032.02 5 32 25 120 35 5 w 2 0.5
RF01.12W32.040.03 6 40 32 120 40 6 W 3 0.7
RF01.12W32.050.03 6 50 32 120 40 6 W 3 0.8

THRAKCEFE RSB X #EEZEEMNEwww.hnsant.com

§AHI #HI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE

Ei$h 7] 8 ECOVEe@ o0
RFO1

* J1ELH4F Spare
T1F Insert 71 B2 4T I_nsert Screw iR =F Wrench
RCKT1204MO-DR TL60 M4X10 T15T
RCKT1606MO-DR TL60 M5X12 T20T
RCKT2006MO-DR TL60 M6X16 To5T

EH: BENFEWNSEKRIMNEAMRMEIIE, Note: Theinsertis Zccct brand.

* JNIEMKES

Type EHZA R~ (mm) Dimension Adapter

] = ED
_ | oo | od | H | o | @ g
6 63 22 50 50 6

RF01.12A22.063.04

RF01.16B27.080.05 8 80 27 50 60 8 B 5 0.7
RF01.16B32.100.06 8 100 32 50 70 8 B 6 1.2
RF01.20B40.125.07 10 125 40 63 80 10 B 7 22
RF01.20B40.160.08 10 160 40 63 100 10 B 8 4.2

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AMI

AI(UEEHITIR Indexable milling tools

7] 8 ECOVOe@ o0
RF02

* 71 ELHi¥ Spare

J1F Insert 71 %247 Insert Screw R =F Wrench
RDKWO0803MO TL60 M3X7 T10
RDKW10T3MO TL60 M4X10 T15
RDKW1204MO TL60 M4X10 T15

i BETDREWNSERMNEEARIMEII . Note: The insert is Zccct brand.

* 7NEHHERIS Type of
Type HZAR~T(mm) Dimension

] =2
il = 5

@D ad L L1 ap
RF02.08W16.016.02 4 16 16 100 25 4 W 2 0.1
RF02.08W25.025.02 4 25 25 100 30 4 w 2 0.3
RF02.10W32.032.02 5 32 32 120 40 5 W 2 0.7
RF02.12W32.040.03 6 40 32 120 40 6 W 3 0.7
RF02.12W32.050.04 6 50 32 120 40 6 W 4 0.8

THRAKCEFE RSB X #EEZEEMNEwww.hnsant.com

§AHI #tHI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE

Ei$h 7] 8 SECOVEe@ 00
RF02

* J1E M Spare

T1R Insert 71 F 25T Insert Screw ER clamp #RF Wrench

RDKW1204MO TL60 M4X10 WD204 T15T
RDKW1605MO TL60 M5X12 WD208 T20T
RDKW2006MO TL60 M6X16 T25T

FH: BETDRBWSERMNEEATIF. Note: Theinsertis Zccct brand.

* 71E##&BIS Type of Mi
Type EARRF(mm) Dimension A:;E:er Log*jtzh

us R @D od H @D2 ap = -
RF02.12A22.050.03 6 50 22 40 40 6 A 3
RF02.12A22.063.04 6 63 22 50 50 6 A 4 0.5
RF02.16B27.080.05 8 80 27 50 60 8 B 5 1.2
RF02.16B32.100.06 8 100 32 50 70 8 B 6 1.6
RF02.20B40.125.06 10 125 40 63 80 10 B 6 1.9
RF02.20B40.160.07 10 160 40 63 100 10 B 7 3.7

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#HI7J& | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

AJ%AI5HITIR Indexable milling tools Indexable milling tools RIFAZHEHITIR

s 718 CECOVO@ N0 Ly GECONVO @ oM
RFO3

* J)ELM¥ Spare * 7JE K Spare

T1F Insert T1 i #24T Insert Screw JEHR Clamp " F Wrench J1F Insert T K 42457 Insert Screw #"=F Wrench
RPMT1204MO TL60 M4X10 WD204 T15T QPMT120440 TL60 M4X10 T15T
RPMT1606MO TL60 M5X12 WD208 T20T

FH: BEDRFEWSEERMEIIA. Note: The insert is Sumitomo brand.

EH: BENRBWNSE=%RMII K, Note: The insert is Mitsubishi brand.

* 71E RIS Type of * 71E##EEIS Type of

EAR(mm) Dimension Type E A R~F(mm) Dimension
S
RF03.12A22.050.04 6 50 22 40 40 6 A 4 0.4 RF04.12A22.050.04 40 50 22 40 A 4 0.2
RP12 RFO03.12A22.063.05 6 63 22 45 50 6 A 5 0.7 RF04.12A22.050.05 40 50 22 40 A 5| 0.2
RF03.12B27.080.06 6 80 27 50 60 6 B 6 1.2 RF04.12A22.063.05 50 63 22 40 A 5 0.4
RF03.16A22.063.04 8 63 22 50 40 8 A 4 0.7 RF04.12A22.063.06 50 63 22 40 A 6 0.4
RP16 RF03.16A27.080.05 8 80 27 50 60 8 A 5 1.2 RF04.12A27.080.06 60 80 27 50 A 6 0.9
RF03.16B32.100.06 8 100 32 63 70 8 B 6 1.6

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#£417J2 | MILLING TOOLS §AHI §ANI #£47J8 | MILLING TOOLS
H BT Keso PY NI HBEET] kesor CQPOOY™» onpo

PEO1 PEO1

ap

L1

@D
@d

ap

* 71 ELE 4+ Spa * 71 8L Sp

J1 R Insert 71 4247 Insert Screw iR F Wrench J1F Insert 71 R 24T Insert Screw R F Wrench
"
APKT11T30 TL60 M2.5X6.5 TO8 APKT11T3[I[] TL60 M2.5X6.5 TO8T
APKT1604[11] TL60 M4X10 T15 APKT1604[1[] TL60 M4X10 T15T
* J1AMEES Type

Adapter g i * ﬂaiﬂﬁﬂ _

Category| Type

#0O
PE01.11216.012.01 12 16 85 25 105 z 1 0.1 %3 s mm--“ Bt
PE01.11216.016.02 16 16 90 25 105 z 2 0.1 PE01.11A22.050.06
PE01.11Z20.020.02 20 20 100 30 10.5 z 2 0.2 AP1i  PE01.11A22.063.08 63 22 50 40 11 A 8 0.6
PE01.11225.025.03 25 25 115 35 105 z 3 0.4 PE01.11A27.080.08 80 27 60 50 11 A 8 12
apyq L TE01-11Z32.032.04 32 32 125 40 105 z 4 0.7 PE01.11B32.100.10 100 32 70 50 11 B 10 17
PE01.11W16.012.01 12 16 85 o5 105 W 1 0.1 PE01.16A22.050.05 50 22 40 40 155 A 5 0.3
PE01.11W16.016.02 1 16 9 o5 105 W s 0.1 PE01.16A22.063.06 63 22 50 40 155 A 6 05
PE01.11W20.020.02 20 i 100 % 105 w 2 02 AP16  PE01.16A27.080.07 80 27 60 50 155 A 7 11
PE01.11W25.025.03 »s o5 115 a 105 w 3 04 PE01.16B32.100.08 100 32 70 50 155 B 8 16
PEO01.11W32.032.04 i 4 15 ” 105 w 07 PE01.16B40.125.10 125 40 80 63 155 B 10 32
PE01.16225.025.02 25 25 115 35 155 z 2 04 PE01.16B40.160.10 160 40 100 63 155 B 10 6.3
PE01.16232.032.03 32 32 125 40 155 z 3 0.7
EH: METREWNSEHRMNESARIETIF . Note: The Insert Is Zccct brand.
AP16  PE01.16232.040.04 40 32 130 42 15.5 z 4 0.8
PE01.16W25.025.02 25 25 115 35 155 W 2 0.4
PE01.16W32.032.03 32 32 125 40 155 W 3 07
PE01.16W32.040.04 40 32 130 42 155 W 4 0.8

THRAKEFBEREHAE X #EEZEMNBwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com



#tEI7JB | MILLING TOOLS §AHI

HEHT] Koo COPOODPION0OD

PEO2

Ll
op

@D
ju)e]

* 71EHH¥ Spa

T1H Insert T1 K "84T Insert Screw #R=F Wrench

e .
=i

)
L)
-s

APKT11T3[[] TL60 M2.5X6.5 TO8

EH: METRBWNSEKRiNEEARIIIF . Note: The insert is Zccct brand.

* 718 ##EIS Typeo

Type BARF(mm) Dimension PRI

| = 0
- oo | e | L | ot | @ | gx
20 20 120 45 29

PE02.11W20.020.01 w 1 0.3
PE02.11W25.025.02 25 25 130 55 39 W 2 0.4
PE02.11W32.032.02 32 32 140 65 48 w 2 0.7
PE02.11W32.040.02 40 32 150 75 55 w 2 1.3

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com

§nuI #HI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE

B BET] Kesor CQPOO PoOnD
PEO2

* 7JELHH4 Spa

T1H Insert T1 K %257 Insert Screw #HF Wrench

]
=

o
g

APKT11T30[] TL60 M2.5X6.5 TO8T

E: BETRBNSEHRMESEASRETIF , Note: The insert is Zccct brand.

* 71E#MEBS Type of

e EHZARSF(mm) Dimension

u =]
o T T T T
50 22 40 58 39

PE02.11A22.050.04

PE02.11A27.063.04 63 27 50 58 39 A 4 0.9
PE02.11B32.080.05 80 32 60 63 39 B 5 1.3
PE02.11B40.100.06 100 40 70 63 39 B 6 2.0

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#tEI7JB | MILLING TOOLS §AHI

FIBTIE Keso CPOQPONOO

PEO3

71 4247 Insert Screw R =F Wrench

APMT113504PDER TL60 M2.5X6.5 TO8

APMT160408PDER TL60 M4X10 T15

EE: BETHBRNSEHMNET R E, Note: The insertis Zecet brand.

* J1E#ERIS Type of

EAERF(mm) pimension Fulelgitets

AP11 PE03.11W25.025 25 25 130 40 20 w 3 0.5

. PE03.16W32.032 32 32 140 50 30 w 3 0.8
6

PE03.16W32.040 40 32 150 50 30 w 3 1.0

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com

§AHI #HI7J2 | MILLING TOOLS

BIRTIR ke CPOOPON0CO

PEO4

* 71 ELH4 Spe

T1H Insert 71 K %247 Insert Screw " F wWrench

b

b
i

LDO15040]0] TL60 M3.5X12 T15T

EH: METRBEWNSERNXNGRIIIF . Note: The insert is Ceratizit brand.

* JIEHHES Type

EZA R~ (mm) Dimension
PE04.15A16.040.04 35 40 16 40 13 A 4 0.3
PE04.15A22.050.05 40 50 22 40 13 A 5 0.5
PE04.15A22.063.06 50 63 22 40 13 A 6 0.9
PE04.15B27.080.07 60 80 27 50 13 B 7 1.7
PE04.15B32.100.08 70 100 32 50 13 B 8 1.7
PE04.15B40.125.10 80 125 40 63 13 B 10 2.6
PE04.15B40.160.12 100 160 40 63 13 B 12 35

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#tEI7JB | MILLING TOOLS §AHI

BIETIE ko CQPOOP oOnd

PEOS

Ll

op,

)]
[ )]

J1F Insert 71 F 25T Insert Screw R =F Wrench

APKT1705PER TL60 M4X10 T15

EH: BETNRZWNSE2EBESRRMEIIA . Note: The insert is Taegutec brand.

* ﬂﬁiﬂ*ﬁiq Type o

Type EZA R~ (mm) Dimension Adapter| Tooth

PE05.17W25.025.02 25 25 100 35 14 W 2 0.3
PE05.17Z25.025.02 25 25 200 45 14 z 2 0.5
PE05.17W32.032.03 32 32 110 40 14 W 3 1.2
PE05.17Z32.032.03 32 32 200 45 14 z 3 1.8
PE05.17W32.040.04 40 32 115 45 14 W 4 24
PEO05.17Z32.040.04 40 32 250 45 14 z 4 3.2

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com

§AHI #HI7J2 | MILLING TOOLS

HBTIR Koo CPOOD ona

PEOS

7”# Insert T1 K 42457 Insert Screw #HF Wrench

~

d

APKT1705PER TL60 M4X12 T15T

FH: BETNRZWUSEHERTMEIIR. Note: The insert is Taegutec brand.

* JIEMHEES Type o

Type HZA R~ (mm) Dimension

) =
-~ o | o0 | o | H | % |
35 40 16 40 14

PE05.17A16.040.04 A 4 0.3
PEO05.17A22.050.05 40 50 22 40 14 A 5 0.4
PEO05.17A22.063.06 50 63 22 40 14 A 6 0.5
PEO05.17A27.080.07 60 80 27 50 14 A 7 1.3
PEO05.17B32.100.08 70 100 32 50 14 B 8 1.5
PEO05.17B40.125.09 80 125 40 63 14 B 9 3.9
PE05.17C40.160.10 100 160 40 63 14 C 10 5.6
PE05.17C60.200.12 150 200 60 63 14 C 12 7.0

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#HI7J& | MILLING TOOLS §AHI §AHI #HI7JE | MILLING TOOLS

AIEAUHHITIAR Indexable milling tools Indexable milling tools FJ&{UsEHITIE

FRTIE weeo CPOOPoON0O FIRTIS, oo CPOOBPor0O
PEO6 PEO6

@D a
o
y
I g
A
Qd
@ D2

* 71ELMH¥ Spa

T1H Insert 71 K 24T Insert Screw #R=F Wrench

=

)

* 71ELHH¥ Spa

AXMT123500C0PEER TL60 M3X7 TO8
AXMT1705C]CIPEER TL60 MAX10 15 J1F Insert 7] K %247 Insert Screw " F wrench
-t
FH: BENFBWSEZEERMBEIIF . Note: The insert is Sumitomo brand. i
* na*mmﬂ% Type o AXMT1235C]JPEER TL60 M3X7 TO8T
AXMT1705JJPEER TL60 M4X10 T15T
Type =
ETE=] FH: BENRFBWSZEERARBERIIA . Note: The insert is Sumitomo brand.

PE06.12Z216.016.02.S 16 16 100 25 10 4 2 0.3

= -
PE06.12216.016.02.M 16 16 145 25 10 z 2 05 * JJEMAEELS Type of Millin

PE06.12220.020.03.S 20 20 110 30 10 z 3 0.6 e P};algter
Axio PE06.12225.025.04.S 25 25 120 35 10 z 4 1.0 PE06.12A16.040.06 40 16 35 40 10
PE06.12225.025.04.M 25 25 170 50 10 z 4 15 AX12  PE06.12A22.050.07 50 22 40 40 10 A 7 0.3
PE06.12232.032.05.S 32 32 130 40 10 z 5 2.0 PE06.12A22.063.08 63 22 50 40 10 A 8 0.5
PE06.12232.032.05.M 32 32 180 60 10 z 5 2.4 PE06.17A16.040.04 40 16 35 40 14 A 4 0.3
PE06.12232.040.06.S 40 32 150 30 10 z 6 2.5 PE06.17A22.050.05 50 22 40 40 14 A 5 0.3
PE06.12232.040.06.M 40 32 180 30 10 z 6 32 AX17  PE06.17A22.063.06 63 22 50 40 14 A 6 0.5
PE06.17225.025.02.S 25 25 120 35 14 z 2 1.0 PE06.17A27.080.07 80 27 60 50 14 A 7 1.7
PE06.17225.025.02.M 25 25 170 50 14 z 2 15 PE06.17B32.100.08 100 32 70 50 14 B 8 3.2
AX17 PE06.17232.032.03.S 32 32 130 40 14 z 3 20 PE06.17B40.125.09 125 40 80 63 14 B 9 6.3
PE06.17232.032.03.M 32 32 180 60 14 z 3 2.4
PE06.17232.040.04.S 40 32 170 50 14 z 4 2.5
PE06.17232.040.04.M 40 32 220

THRAKEFBEREHAE X #EEZEMNBwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#HI7J& | MILLING TOOLS §AMI §AHI #HI7JE | MILLING TOOLS

FIRTIE weee CPOOPON0O FAIRTIE weee CPOOPON0O

PEO7 PEOS8

L1

@D
@d

op

* 718 M Spa * 718 M Spa

T1F Insert 71 5 %247 Insert Screw | F Wrench T1H Insert 71 K 4247 Insert Screw #F Wrench

~

APMT1035JJPDER TL60 M2.5X6.5 Tos ADMT080304R TL60 M2.5X6.5 TO8
APMT1605JJPDER TL60 M3.5X10 T15 ADMT120408R TL60 M3X8 T10
R RETHEWSEERKMIIA . Note: The insert is Sumitomo brand. EW: RETREZWSERRERETF . Note: The insert is Walter brand.
0O o =
i i
PE07.10Z20.020.03.S 20 20 130 35 17 z 1 0.3 PE08.08W16.016.02 16 16 20 34 8 w 2 0.1
PE07.10220.020.03.M 20 20 185 60 17 z 1 0.5 PE08.08W20.020.03 20 20 20 39 8 W 3 0.2
AP10  PE07.10Z25.025.04.S 25 25 140 40 26 z 1 1.2 ADOS PE08.08W25.025.04 25 25 100 43 8 w 4 0.3
PE07.10Z25.025.04.M 25 25 220 75 26 z 1 1.8 PE08.08W32.032.05 32 32 110 49 8 w 5 0.6
PE07.10225.030.04.S 30 25 150 50 35 z 1 2.4 PE08.08W32.040.06 40 32 110 40 8 w 6 0.7
PE07.10225.030.04.M 30 25 230 50 35 z 1 32 PE08.08216.016.02 16 16 180 34 8 z 2 0.3
PE07.16232.032.04.S 32 32 150 50 39 z 1 0.3 PE08.08220.020.02 20 20 200 39 8 z 2 0.5
PE07.16232.032.04.M 32 32 230 90 39 z 1 0.5 PE08.08225.025.03 25 25 200 43 8 z 3 0.7
AP16  PE07.16232.035.04.S 35 32 150 50 39 z 1 1.2 PE08.12W25.025.03 25 25 100 43 11.5 w 3 0.35
PE07.16232.035.04.M 35 32 230 50 39 z 1 1.8 PE08.12W32.032.04 32 32 110 49 11.5 w 4 0.6
PE07.16232.040.04.S 40 32 160 50 39 z 1 2.4 AD12 PE08.12W32.040.05 40 32 110 40 115 w 5 0.7
PE07.16Z32.040.04.M 40 32 240 50 39 z 1 32 PEO08.12225.025.03 25 25 200 43 11.5 z 3 0.7
PE08.12232.032.04 32 32 250 49 1.5 z 4 1.5
PE08.12232.040.05 40 32 250 45 115 z 5 1.6

THRAKEFBEREHAE X #EEZEMNBwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#tEI7JB | MILLING TOOLS

AI(UEEHITIR Indexable milling tools
F5IETIE Koo

PEOS8

* 71ELHi* Spare

J1 R Insert 71 4247 Insert Screw " F Wrench

-

* 718 M Spar

J1F Insert

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE
CPOOPoONaO

71 K #24T7 Insert Screw " =F Wrench

“

ADMT080304R TL60 M2.5X6.5 TosT
ADMT120408R TL60 M3X8 T10T
ADMT160608R TL60 M4X10 -

EHH: RETHRBZWNSERMRYIIF. Note: The insert is Walter brand.

* JNEMERS Type of milling t

Type EZAR~F(mm) Dimension Adapter

s O
40 16 35 40 8

PE08.08A16.040.06

ADO8
PE08.08A22.050.07 50 22 40 40 8 A 7 0.38
PEO08.12A16.040.05 40 16 35 40 11.5 A 5 0.2
PE08.12A22.050.06 50 22 40 40 11.5 A 6 0.3

AD12 PEO08.12A22.063.07 63 22 50 40 11.5 A 7 0.6
PE08.12A27.080.08 80 27 60 50 11.5 A 8 1.1
PE08.16A16.040.04 40 16 35 40 15 A 4 0.2
PE08.16A22.050.05 50 22 40 40 15 A 5 0.3

AD16 PE08.16A22.063.06 63 22 50 40 15 A 6 0.6
PE08.16A27.080.07 80 27 60 50 15 A 7 1.0
PE08.16B32.100.08 100 32 70 50 15 B 8 1.6
PE08.16B40.125.10 125 40 80 63 15 B 10 3.4
PE08.16C40.160.12 160 40 100 63 15 C 12 4.3

THRAKCEFE RSB X #EEZEEMNEwww.hnsant.com

R390-11T3[J[]

R390-17041]

TL60 M2.5X6.5 TO8

TL60 M3.5X10 T15

T BETDRZWSZEUHETIF. Note: The insert is Sandvik brand.

* J1E MBS Type of Mi

11

17

Type
S
PE09.11Z216.016.02
PE09.11Z20.020.02
PE09.11Z25.025.03
PE09.11232.032.03
PE09.11Z32.040.04
PE09.11W16.016.02
PE09.11W20.020.02
PE09.11W25.025.03
PE09.11W32.032.03
PE09.11W32.040.04
PE09.17Z25.025.02
PE09.17232.032.03
PE09.17Z32.040.04
PE09.17W25.025.02
PE09.17W32.032.03

PE09.17W32.040.04

16 16

20

25

32

40

16

20

25

32

40

25

32

40

25

32

40

= m) Dimension Adapter
#0

100 20 10 z 2 0.3
20 110 25 10 z 2 0.4
25 120 32 10 z 3 05
32 130 40 10 z g 0.8
32 170 40 10 z 4 17
16 73 25 10 W 2 0.3
20 81 25 10 W 2 0.4
25 88 32 10 w 3 0.5
32 100 40 10 w 3 0.8
32 110 40 10 W 4 17
25 120 32 15.7 z 2 0.4
32 130 40 15.7 z 3 0.8
32 170 40 15.7 z 4 0.9
25 88 32 15.7 w 2 0.4
32 100 40 15.7 W 3 0.8
32 110 40 15.7 W 4 0.9

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#HI7J& | MILLING TOOLS §AHI §AHI #HI7JE | MILLING TOOLS

AIEAUHHITIAR Indexable milling tools Indexable milling tools FJ&{UsEHITIE

FEIRe € G @ PONOD FEIR € g G @ POMDO
PEO9S PE10

L1

@D
@d

ap

* J1ELH{{4 Spare

71 84T Insert Screw iR F Wrench J1H Insert 71 5 #2847 Insert Screw #%F Wrench

=

R390-11T30]] TL60 M2.5X6.5 TO8T BDMT11T30JER TL60 M2.5X6.5 To8
R390-17041[] TL60 M3.5X10 T15T BDMT1704JCJER TL60 M4X10 T15
EH: BENRENSELSETRIMII A, Note:The insert is Sandvik brand. FH: BENREZWNSEREMMEII R, Note:The insert is Kyocera brand.
o TN AAHEST
Z0 O
i BS y
PE09.11A16.040.04 40 16 35 40 10 A 4 0.4 PE10.11216.016.02 16 16 100 30 10 z 2 0.2
y PE09.11A22.050.05 50 22 40 40 10 A 5 0.5 11 PE10.11220.020.03 20 20 110 32 10 z 3 0.3
PE09.11A22.063.06 63 22 50 40 10 A 6 0.6 PE10.11225.025.03 25 25 120 32 10 z 3 0.3
PE09.11A27.080.07 80 27 60 50 10 A 7 0.9 PE10.11232.032.04 32 32 130 40 10 z 4 0.4
PE09.17A16.040.03 40 16 35 40 15.7 A 3 0.3 PE10.17225.025.02 25 25 120 36 15.7 z 2 0.3
PE09.17A22.050.04 50 22 40 40 15.7 A 4 0.4 i PE10.17232.032.03 32 32 130 40 15.7 z 3 0.4
17 PE09.17A22.063.05 63 22 50 40 15.7 A 5 0.6 PE10.17232.040.04 40 32 150 40 15.7 z 4 0.5
PE09.17A27.080.06 80 27 60 50 15.7 A 6 0.8
PE09.17B32.100.07 100 32 70 50 15.7 B 7 1.0
PE09.17B40.125.08 125 40 80 63 15.7 B 8 27

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#HI7J& | MILLING TOOLS §AHI §AHI #HI7JE | MILLING TOOLS

AIEAUHHITIAR Indexable milling tools Indexable milling tools FJ&{UsEHITIE

FRTRN € G G @ MOWOO FRTRN € G @ BOWDD
PE10 PE11

* J1EHHF spare Y 71 B4 Spare

71F Insert 71 R84 Insert Screw R F Wrench 71K Insert 71 K #24T Insert Screw iR F Wrench

~

%

BDMT11T3[ICJER TL60 M2.5X6.5 TO8ST APKT100304PDER TL60 M2.5X6.5 TO8T
BDMT1704JJER TL60 M4X10 15T FE: BETEZNSZEIFRMEIE . Note:Theinsertis Iscar brand.
EE: BETDREWSEZETEMMIIF . Note:The insert is Kyocera brand.

* 71E MRS Type of Millin * 71EMBRIS T

Type EZRR~H(mm) pimension Adapter

8BS #0
| oo | oo | o2 | ]| @ ] gx
50 22 40 40 10

Tooe EHZARSF(mm) Dimension

| =
5 | oo | oa | oo | w | & |
40 16 35 40 8

PE10.11A22.050.07 PE11.10A16.040.05

11 PE10.11A22.063.08 63 22 50 40 10 PE11.10A22.050.06 50 22 40 40 8 A 6 0.3
PE10.11A27.080.10 80 27 60 50 10 AP10  pE11.10A22.063.07 63 22 50 40 8 A 7 0.6
PE10.17A22.050.05 50 22 40 40 15.7 PE11.10A27.080.08 80 27 60 50 8 A 8 1.1

. PE10.17A22.063.06 63 22 50 40 15.7 PE11.10B32.100.10 100 32 70 50 8 B 10 1.6
PE10.17A27.080.08 80 27 60 50 15.7 A 8 0.8
PE10.17B32.100.09 100 32 70 50 15.7 B 9 15

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#HI7J& | MILLING TOOLS §AHI §AHI #HI7JE | MILLING TOOLS

F3IETIE krsor € @ onoo 1R 7] “w € @ ono
PE12 RBO1

@D a
O
T s
@d
@ D2
* 71 EHHF Spa * 718 HHF Spa
J1 5 Insert 71 |5 #2%T Insert Screw #R = Wrench J1E Insert J1F Insert 71 B 5247 Insert Screw #RF Wrench
LN[CIX151008PNR TL60 M4X10 Ti15T ZDETO08T2CYR10 SPMT060304 TL60 M2.5X5 T08
HH: RETERNSEZSEMESMIIE. Note:The insert is Korloy brand. ZDET1103CYR12.5 SPMT060304 TL60 M2.5X5 TO8
ZDET13T3CYR16 SDMT090308 TI60 M3.5X10 T15
ZPNT2204CYR20 SPMT120408 TL60 M5X13 T20

A BETRBWSEKRNEEAMEIIF . Note:The insert is Zccct brand.

* 71E MBS Type of * 71BiEES

EZ'KRT-"(”"“) Dimension Adapter
en Type EHARSH(mm) Di . & (kg)

PE12.15A22.050.04 50 22 40 40 14

RB01.20W20.020.S 20 20 125 50 20 w 4 0.3
PE12.15A22.063.06 63 22 50 40 14 A 6 0.6

RB01.20W20.020.M 20 20 150 75 20 W 4 0.3
PE12.15A27.080.07 80 27 60 50 14 A 7 1.2

RB01.20W20.020.L 20 20 200 100 20 w 4 04
PE12.15B32.100.8 100 32 70 50 14 B 8 24

RB01.25W25.025.S 25 25 150 70 23 w 4 0.5
PE12.15B40.125.10 125 40 80 63 14 B 10 3.8

RB01.25W25.025.M 25 25 175 95 23 w 4 0.6
PE12.15B40.160.12 160 40 100 63 14 B 12 46

RB01.25W25.025.L 25 25 200 100 23 w 4 0.7

RB01.32W32.032.S 32 32 175 85 31 w 4 0.9

RB01.32W32.032.M 32 32 200 100 31 w 4 1.1

RB01.32W32.032.L 32 32 250 150 31 w 4 1.4

RB01.40W32.040.S 40 32 175 50 41 w 5 1.4

RB01.40W32.040.M 40 32 200 50 41 w 5 1.7

RB01.40W32.040.L 40 32 250 50 41 W 5 2.1

THRAKEFBEREHAE X #EEZEMNBwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#HI7J& | MILLING TOOLS §AHI §AHI #HI7JE | MILLING TOOLS

ih ] “w € @ ovo {hfz k7] ~“w € @ 0vwo
RBO2 RBO2

Ll

@d

@D
@d

ap

1R Insert E#] Clamp 7] 4247 Insert Screw " F Wrench

XPHT16R803 TL60 M2.5X6.5 Tos
J1H Insert E Clamp 7] K %247 Insert Screw % FWrench XPHT20R10T3 TLEOM3.5X8 T15
XPHT25R1204 TL60 M4X10 T15
XPHT16R803 TL60 M2.5X6 T08 XPHT30R1506 WD208 TL60 M5X12 T20
XPHT20R10T3 TL60M3.5X8 Ti5 XPHT32R1606 WD208 TL60 M5X12 T20
XPHT25R1204 TL60 M4X10 T15 B RETNRFEWNSERMNEARBETIF . Note:The insert is Zccct brand.
XPHT30R1506 WD208 TL60 M5X12 T20
*x 71EMKBES

XPHT32R1606 WD208 TL60 M5X12 T20

HZA R~ (mm) Dimension

# [EEK
EH: RETHREWSEZHRMNEEAREIIF . Note:The insert is Zccct brand. & e

RB02.16Z20.016.S 16 20 150 70 16 z 2 0.3

* JIEHEES Type RB02.16Z20.016.M 16 20 180 80 16 z 2 0.4

- #0 x
16 20 111 60 16

RB02.16W20.016.S w 2 0.2 RB02.20Z25.020.L 20 25 250 150 20 z 2 0.7
RB02.20W25.020.S 20 25 127 70 20 W 2 0.3 RB02.25Z25.025.S 25 25 180 80 25 z 2 0.6
RB02.20W25.020.M 20 25 150 80 20 W 2 0.4 RB02.25Z25.025.M 25 25 200 100 25 z 2 0.7
RB02.25W25.025.S 25 25 137 80 25 w 2 0.4 RB02.25Z225.025.L 25 25 250 110 25 z 2 0.8
RB02.25W25.025.M 25 25 200 100 25 W 2 0.6 RB02.30Z32.030.S 30 32 200 120 30 z 2 1.0
RB02.30W32.030.S 30 32 161 100 30 W 2 0.8 RB02.30Z32.030.M 30 32 250 150 30 z 2 1.3
RB02.30W32.030.M 30 32 250 150 30 W 2 1.3 RB02.30Z32.030.L 30 32 300 200 30 z 2 1.6
RB02.32W32.032.S 32 32 161 100 32 W 2 0.8 RB02.32Z32.032.S 32 32 200 120 32 z 2 1.1
RB02.32W32.032.M 32 32 250 120 32 W 2 1.3 RB02.32Z32.032.M 32 32 250 150 32 z 2 1.4

RB02.32Z32.032.L 32 32 300 200 32 z 2 1.6

THRAKEFBEREHAE X #EEZEMNBwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AHI §AHI #HI7JE | MILLING TOOLS

7] ~“w € @ 0vo ihfz k7] v @ © ono
RBO2 RBO3

L
Ll
L [m) °
MT ROy oY
Ll
Q—
o
A
\'}:“
ap
- TIEMHE Spa
Diameter J1 5 Insert 71 5 #2457 Insert Screw #F Wrench
HEE '
* NNBH#H spa
¢12 ZOHX1203 170 M4X10TT T15
J1F Insert EHR clamp 7] /5 #4T7 Insert Screw % FWrench
¢16 ZOHX1604 170 M5X12TT T20
¢ 20 ZOHX2005 170 M5X16TT T20
XPHT16R803 TL60 M2.5X6.5 TO8

¢25 ZOHX2506 170 M6X20TT T20

XPHT20R10T3 TL60M3.5X8 T15
¢ 30 ZOHX3007 170 M8X25TT T30S

XPHT25R1204 TL60 M4X10 T15
¢ 32 ZOHX3207 170 M8X25TT T30S

XPHT30R1506 WDz208 TL60 M5X12 T20 ) ) )

FH: METFEWSERMEEAREIIF . Note:The insert is Zccct brand.
XPHT32R1606 WD208 TL60 M5X12 T20
| ‘ * TIEAERE T
EH: METREWNSE®RMNEARIETIIF .  Note:The insert is Zccet brand.

Type E 7K R~F(mm) Dimension

R - B
12 12 125 35 6

* 71EHERIS Type

RB03.12212.012.M z 1 0.1
EZAR~F(mm) Dimension Weight s1p  RBO3.12Z120121L 12 12 150 45 6 z 1 0.1
2= (kg)

RB03.12216.012.M 12 16 125 50 6 z 1 02

RB02.20MT3.020.M - RB03.12216.012.L 12 16 150 70 6 z 1 0.2
RB02.20MT3.020.L 20 3 186 100 20 2 0.4 RB03.16216.016.M 16 16 150 40 8 z 1 0.2
RB02.25MT3.025.M 25 3 156 70 25 2 0.4 616 RB03.16216.016.L 16 16 180 55 8 z 1 0.3
RB02.25MT3.025.L 25 3 186 100 25 2 0.4 RB03.16220.016.M 16 20 150 60 8 z 1 0.3
RB02.30MT4.030.M 30 4 189 70 30 2 0.8 RB03.16Z20.016.L 16 20 180 o0 8 z 1 0.3
RB02.30MT4.030.L 30 4 229 120 30 2 1.0 RB03.20220.020.M 20 20 180 65 10 z 1 0.4
RB02.32MT4.032.M 32 4 179 70 32 2 0.9 ’ RB03.20220.020.L 20 20 250 100 10 z 1 0.6
RE02.32MT4.032.1 32 4 209 100 32 2 0.9 ‘ RB03.20225.020.M 20 25 180 75 10 z 1 06
RB03.20225.020.L 20 25 200 95 10 z 1 08

THREKEFBREHEBE K ¥I151E%Miwww.hnsant.com THREGEFBERAEHE] X ¥EIEEMMIEwww.hnsant.com



#HI7J& | MILLING TOOLS §AUI §AHI #HI7JE | MILLING TOOLS

AIEAUHHITIAR Indexable milling tools Indexable milling tools FJ&{UsEHITIE

R ~C @ © ono s ek7) ~w € @ o0no
RBO4

EZARR~F(mm) Dimension Adapter

0

RB03.25225.025.M 25 25 200 70 12.5 z 1 0.7 L

025 RB03.25225.025.L 25 25 250 100 12.5 z 1 0.9
RB03.25232.025.M 25 32 200 90 12.5 z 1 1.0 90 s s
RB03.25232.025.L 25 32 250 110 12.5 z 1 1.3 op
RB03.30Z32.030.M 30 32 250 80 15 z 1 1.2

e30 RB03.30Z32.030.L 30 32 300 110 15 z 1 1.5

. RB03.32Z32.032.M 32 32 250 80 16 z 1 1.4
’ RB03.32Z32.032.L 32 32 300 110 16 z 1 1.7

* 7B K4 Spare

T1H Insert T1F Insert 71 K 8247 Insert Screw #=F Wrench
afj (‘:
ZNMT1804100-C ZNMT2004100-S TL60 M3X7 T10
ZNMT2205125-C ZNMT2305125-S TL60 M4X10 T15
ZNMT2706150-C ZNMT2806150-S TL60 M4X10/TL60M5X12 T15/T20

FH: BENREZWSEZEERBEII R . Note:The insert is Sumitomo brand.

* 71EHEBIS Type

Type E 7 R~F(mm) Dimension
= oo | oo | L | U ®
20 25 140 60 20

RB04.20Z25.020.S

RB04.20Z25.020.M 20 25 200 60 20 z 2 0.5
RB04.20225.020.L 20 25 250 80 20 z 2 0.7
RB04.25232.025.S 25 32 150 70 23 z 2 0.6
RB04.25232.025.M 25 32 220 75 23 z 2 0.8
RB04.25232.025.L 25 32 300 100 23 z 2 1.0
RB04.30232.030.S 30 32 160 80 28 z 2 0.9
RB04.30Z32.030.M 30 32 240 85 28 z 2 1.2
RB04.30232.030.L 30 32 350 120 28 z 2 1.8

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREAKEFERIERBE] X #EFEEMMEkwww.hnsant.com




#e&I7J2 | MILLING TOOLS §AUI §AHI #E&I7JE | MILLING TOOLS
Indexable milling tools BJEEEEHEITIE
ZENNBENA o OwD ZENNHENA P om0

PTO1 PTO1

@Dl

* J1E M Spa
* 71ELMiEF Spe J1H Insert 71 %247 Insert Screw wF Wre_:ﬁnch

T1H Insert T1 R #24%T Insert Screw " =F Wrench

MPHT060304-DM TL60 M2.5X6.5 TO8T

MPHT080305-DM TL60M3X7 T10T
MPHT060304-DM TL60M2.5X6.5 Tos

MPHT120408-DM TL60 M5X11 T20T
MPHT080305-DM TL60M3X7 T10
MPHT120408-DM TL60M5X11 T20 FH: RETRBWNSEZHMNEEAREIIF . Note:The insert is Zccct brand.

FH: RETREWNSEZEHRMNEEARMEIIF . Note:The insert is Zccet brand. * 71Ai#iERe Type of

Type EARF(mm) Dimension
= oo | oo | G | A H
EAR~F(mm) Dimension PT01.06J27.080.10.H8 80 41 27 12 8

PT01.06J32.100.14.H8 100 47 32 12 8 14 0.3

PT01.06W25.021.01.H9 21 25 10 100 32 ° 1 0.2 MPoe PT01.06J32.100.14.H10 100 47 32 14 10 14 0.4
PT01.06W25.025.01.H11 25 25 12 100 35 11 1 0.3 PT01.06J40.125.16.H10 55 55 e " 10 16 06
PT01.08W32.032.02.H14 32 32 15 110 45 14 2 05 PT01.08J40.125.12.H12 125 55 40 16 12 12 0.7
PTO01.12W32.040.02.H18 40 32 19 125 55 18 2 0.7 MPo8 PT01.08J40.160.14.H12 160 62 40 - 12 14 13
PT01.12W40.050.02.H22 50 40 25 140 65 22 2 12 PT01.12J40.160.12.H16 160 62 40 20 16 12 16
PT01.12J40.160.12.H18 160 62 40 24 18 12 1.9

MP12  PT01.12J40.160.12.H20 160 62 40 26 20 12 2.1

PT01.12J50.200.14.H16 200 72 50 20 16 14 25

PT01.12J50.200.14.H18 200 72 50 24 18 14 2.9

PT01.12J50.200.14.H20 200 72 50 26 20 14 33

THRAKEFBEREHAE X #EEZEMNBwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#:4/7JE | MILLING TOOLS §AHI §ANI #:4I7JE | MILLING TOOLS
ZENNBENA o OwD ZENNHENA P om0

PTO1 PTO2

J1 K Insert 71 K 4247 Insert Screw #F Wrench
J1F Insert 71 K 5247 Insert Screw
XSEQ1202 191M4X3.2X TO9ST
MPHT060304-DM TL60 M2.5X6.5 TO8T
XSEQ1203 191M4X4.2X T15T
MPHT080305-DM TL6OM3X7 TH0T
XSEQ12T3 191M4X5.1X T15T
MPHT120408-DM TL60 M5X10 ToOT
XSEQ1204 191M4X6.3X T15T

R BETREWNSE®RMNSEAREIIF . Note:The insert is Zccct brand.
191M4X6.3X T15T

XSEQ12T4
* J1E MBS Type of
B RENFBUSERMNEARETIF - Note:The Insert Is Zccet brand.
HARS(mm) Dimension Adapter i
gj‘_‘é * JIEHHEEE Type o
2 T

PT01.06A22.080.10.H8 80 45 22 40 8 21 10 A 0.4 EARF(mm) Dimension 0 Weight
vipos PT01.06B27.100.14.H8 100 55 27 40 8 24 14 B 0.6
PT01.06B27.100.14.H10 100 55 o7 2 10 o4 14 B 0.7 PT02.12J27.100.10.H4 100 40.7 27 12 4 10 0.2
PT01.06B32.125.16.H10 125 65 32 45 10 33 16 B 1.1 92 PT02.12440.125.12.H4 125 50.5 40 12 & 12 0.3
PT01.08B32.125.12.H12 125 65 3 45 12 33 12 5 14 PT02.12J40.160.16.H4 160 66.7 40 12 4 16 05
MPos [ e ieo a2l e 80 20 45 12 e " . . PT02.12J27.100.10.H5 100 45 27 12 5 10 0.2
PT01.08C40.200.18.H12 200 92 0 50 12 53 18 c ap 93 pr02.12440.125.12.H5 125 58 40 12 5 12 03
PT01.12B32.125.10.H16 125 65 32 50 16 30 10 B 23 e i L 160 68 40 -z 5 16 06
PT01.12B40.160.12.H16 160 80 40 60 16 45 12 B 23 PT02.12J27.100.10.H6 100 45 27 12 6 10 03
\pip PTO1:12B40.160.12H18 160 80 40 60 18 45 12 B 24 s Sl e e V=5 o 40 12 2 1 v,
PT01.12C40.200.14.H16 200 92 40 50 16 53 14 c 26 PT02.12J40.160.16.H6 160 68 40 12 6 16 07
PT01.12C40.200.14.H18 200 92 40 50 18 53 14 c 39 PT02.12J50.200.18.H6 200 72 50 12 6 18 14
PT01.12C40.200.14.H20 200 92 40 50 20 53 14 c 42 PT02.12J50.250.24.H6 250 72 50 12 6 24 7

THRAKEFBEREHAE X #EEZEMNBwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#HI7JE | MILLING TOOLS §AHI §AHI #HI7JE | MILLING TOOLS
=ZEANHE A &7 O ZENNEHETA P Omd

PTO2
I —

Hl
&
PT02.12J27.100.10.H7 100 45 27 12 7 10 0.3 i B
PT02.12J40.125.12.H7 125 58 40 12 7 12 0.4 ol 5
04 8 g
PT02.12J40.160.16.H7 160 68 40 12 7 16 08
PT02.12J50.200.18.H7 200 72 50 12 7 18 12 y
PT02.12J50.250.24.H7 250 72 50 12 7 24 19 -
PT02.12J27.100.10.H8 100 45 27 12 8 10 0.3
PT02.12J40.125.12.H8 125 58 40 12 8 12 05
T4 PT02.12J40.160.16.H8 160 68 40 12 8 16 0.9
PT02.12J50.200.18.H8 200 72 50 12 8 18 14 B Insert 7 B 84T Insert Screw 45 Wrench
PT02.12J50.250.24.H8 250 72 50 12 8 24 22
XSEQ1202 191M4X3.2X TOOT
XSEQ1203 191M4X4.2X T15T
XSEQ12T3 191M4X5.1X T15T
XSEQ1204 191M4X6.3X TI5T
XSEQ12T4 191M4X6.3X -

EH: METRFEWNSEHRMESAREIIF . Note:The insert is Zccct brand.

* 71E#EEIS Type of

HZAR~F(mm) Dimension

PT02.12A22.063.06.H4 63 32 22 40 4 14 A 6 0.2
02 PT02.12A22.080.08.H4 80 40 22 50 4 18 A 8 0.4
PT02.12A27.100.10.H4 100 48 27 50 4 23 A 10 0.6
PT02.12A22.063.06.H5 63 32 22 40 5 14 A 6 0.2
03 PT02.12A22.080.08.H5 80 40 22 50 5 18 A 8 0.4
PT02.12A27.100.10.H5 100 48 27 50 5 23 A 10 0.7
PT02.12A22.063.06.H6 63 32 22 40 6 14 A 6 0.2
PT02.12A22.080.08.H6 80 40 22 50 6 18 A 8 0.4
I PT02.12A27.100.10.H6 100 48 27 50 6 23 A 10 0.7
PT02.12B40.125.12.H6 125 70 40 50 6 30 B 12 1.0
PT02.12B40.160.16.H6 160 70 40 50 6 41 B 16 1.3

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com

| SANT



#HI7JE | MILLING TOOLS §AHI §AHI #HI7JE | MILLING TOOLS
EE 7] y] %iﬁu 7] E‘ %/ 0 Ny 0 ﬁll % ﬁ)] Kr:45° Chamfer Milling Tools Q V ‘ 9 Ny a

ACO1
o0 [ oo [ o0 |
63 32 22

B N ]
PT02.12A22.063.06.H7 40 7 14 A 6 0.2
PT02.12A22.080.08.H7 80 40 22 50 7 18 A 8 0.5
04 PT02.12A27.100.10.H7 100 48 27 50 7 23 A 10 0.7
PT02.12B40.125.12.H7 125 70 40 50 7 27 B 12 11
PT02.12B40.160.16.H7 160 70 40 50 7 41 B 16 1.4
PT02.12A22.063.06.H8 63 32 22 40 8 14 A 6 0.2
PT02.12A22.080.08.H8 80 40 22 50 8 18 A 8 0.5
T4 PT02.12A27.100.10.H8 100 48 27 50 8 23 A 10 0.8
PT02.12B40.125.12.H8 125 70 40 50 8 27 B 12 1.1
PT02.12B40.160.16.H8 160 70 40 50 8 41 B 16 15

T1H Insert 71 5 #2457 Insert Screw % =F Wrench

SPMT120408 TL60 M5X12 T20

R BETRENSEHRMESAREIIF . Note:The insert is Zccct brand.

* 71E#MHEBIS Type of

EARF(mm) Dimension Adapter

B0

R
AC01.12Z20.012.01 12 20 100 40 z
ACO01.12W20.012.01 12 20 100 40 w 1 0.2
AC01.12Z25.025.02 25 25 120 40 z 2 0.4
ACO01.12W25.025.02 25 25 120 40 w 2 0.4
AC01.12Z32.032.03 32 32 180 50 z 3 1.0
AC01.12W32.032.03 32 32 180 50 w 3 1.0

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#tEI7JB | MILLING TOOLS

AI(UEEHITIR Indexable milling tools
@]ﬁﬁﬂ Kr:60°  hamfer Milling Tools

DCO1

H = 7 A

Dt POMND

Ll

@d

* 7JELMH¥ sSpa

J1 K Insert 7] B 8247 Insert Screw # FWrench

SPMT120408 TL60 M5X12 T20

FHH: BETREWNSERMNEAREIIF. Note:The insert is Zccct brand.

* 71B#1EBIS Type of M

EZA R~ (mm) Dimension Adapter
tz-Jm|
DC01.12Z20.012.01 12 20 100 40 z
DCO01.12W20.012.01 12 20 100 40 W 1 0.2
DC01.12Z25.025.02 25 25 120 40 4 2 0.4
DCO01.12W25.025.02 25 25 120 40 w 2 0.4
DC01.12Z32.032.02 32 32 180 50 z 2 1.0
DCO01.12W32.032.02 32 32 180 50 w 2 1.0

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE

Dt POND

H = 7 A

ﬁll ﬁ %i )J Kr:30° ¢ amier Milling Tools
ZCO01

Ll

[oRe]

* 7JELMi¥ Spa

J1H Insert 71 K #24T Insert Screw #F Wrench

SPMT120408 TL60 M5X12 T20

EH: METREWNSEHRMESAREIIF . Note:The insert is Zccct brand.

* 71E#MEES Type

EZA R~ (mm) Dimension Adapter| Tooth
tz-3m| HE
ZC01.12Z20.012.01 12 20 100 40 z 1
ZC01.12W20.012.01 12 20 100 40 w 1 0.2
ZC01.12Z25.025.02 25 25 120 40 z 2 0.4
ZC01.12W25.025.02 25 25 120 40 W 2 0.4
ZC01.12Z32.032.03 32 32 180 50 z 3 1.0
ZC01.12W32.032.03 32 32 180 50 W 3 1.0

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com

= | SANT



#tEI7JB | MILLING TOOLS §AHI

AI(UEEHITIR Indexable milling tools

K871 SO @ TP OHO
XKO1

Ll

@Jd

* 71 ELMH¥ Spar.

T1F Insert 71 4247 Insert Screw | JE#R 42 £T Clamping Screw E#R Clamp iR =F Wrench
SDMT09T3-DM TL60 M3.5X8 T10/T15
L60 M4X10 WD204
SDMT1204-DM TL60 M4X10 T15

EH: METRFEWNSEGRMNEEAREIIF .  Note:The insert is Zccct brand.

* 71E B8 Type of Milli

Type EHZAR~F(mm) Dimension fekelgiets

8BS &0
oo | e LU ks
25 25 140 60

XK01.09Z25.025.02 4

XK01.09Z32.032.03 32 32 150 70 YA 3 0.8
XK01.09Z32.035.03 35 32 150 50 4 3 0.8
XKO01.12Z32.032.02 32 32 150 70 Z 2 0.8
XKO01.12Z32.040.03 40 32 150 50 Z 3 1.3

THRAKCEFE RSB X #EEZEEMNEwww.hnsant.com

§AHI #HI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE

Xittt8 7R SO @ P ONO
XKO1

* J1E M Spar

J1H Insert 71 B 24T Insert Screw | TEBRZ£T Clamping Screw JE#R Clamp " F Wrench
SDMT09T3-DM TL60 M3.5X8 T10T/T15T
L60 M4X10 WD204
SDMT1204-DM TL60 M4X10 T15T

FHH: BETNRFEWNSERMNEAREIIF . Note:The insert is Zccct brand.

* 71B#iEEIS Type of

EHZA R~ (mm) Dimension

XK01.09A22.050.04 50 40 22 40

XKO01.09A22.063.06 63 50 22 50 A 6 0.5
XK01.09A27.063.06 63 50 27 50 A 6 0.6
XK01.12A22.063.05 63 50 22 50 A 5 0.5
XK01.12A27.063.05 63 50 27 50 A 5 0.6
XK01.12A27.080.05 80 60 27 50 A 5 0.9
XK01.12B32.100.06 100 70 32 50 B 6 1.8

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#HI7J& | MILLING TOOLS §AUI §AHI #HI7JE | MILLING TOOLS

AIEAUHHITIAR Indexable milling tools Indexable milling tools FJ&{UsEHITIE

AN A e veY P oOvo Rt NR e vOeY D oOvo
XK02

HZA R~ (mm) Dimension WSght
EE£(ka)

XK02.06Z232.040.03.M 40 32 200 50 A 3 1.5

L WPO06
L1 XKO02.06Z32.040.03.L 40 32 300 50 Z 3 1.8
= XKO02.08Z32.040.02.S 40 32 150 50 z 2 0.9

=) °

QU S8 WP08 XK02.08Z32.040.02.M 40 32 200 50 z 2 1.5
XK02.08Z32.040.02.L 40 32 300 50 Z 2 1.9
XKO02.09Z32.050.02.S 50 32 150 50 Z 2 1.9

WPO09
XK02.09Z232.050.02.M 50 32 200 50 Z 2 2.5

* J1EL Mt Spare

J15 Insert 71 B 4247 Insert Screw | JE#R#2£T Clamping Screw JEHR Clamp iR F Wrench
WPGT050315ZSR TL60 M3.5X8 T10
WPGT060415ZSR TL60M4X10 T15
WPGT080615ZSR

TL60 M4X10 L60 M5X12 WD208 T20
WPGT090725ZSR

FH: BETNABWSEHRMNEARETIR,  Note:The insert is Zccct brand.

* 71E #1815 Type of Milling

BEA R~ (mm) pimension

XK02.05220.020.02.S

WP05  ¥K02.05220.020.02.M 20 20 180 100 z 2 0.3
XK02.05220.020.02.L 20 20 250 130 z 2 0.8
XK02.06225.025.02.S 25 25 140 60 z 2 0.4
XK02.06225.025.02.M 25 25 200 120 z 2 06
XK02.06225.025.02.L 25 25 300 180 z 2 10

WP06 ' xK02.06232.032.03.5 32 32 150 70 z 3 0.8
XK02.06Z32.032.03.M 32 32 200 120 z 3 10
XK02.06232.032.03.L 32 32 300 180 z 3 16
XK02.06232.040.03.S 40 32 150 50 z 3 0.9

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREAKEFERIERBE] X #EFEEMMEkwww.hnsant.com

| SANT



#HI7J& | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

AIEAUHHITIR Indexable milling tools Indexable milling tools FJ&{UsEHITIE

AN A e veY P oOvo Rt NR e vOeY D oOvo
XKO02 XKO03

L

* J1ELHiF Spare
J1H Insert 71 B 4247 Insert Screw | FE#REE£TClamping Screw E Clamp #%=F Wrench * 71 ELMi{% Spare
@ - - & J1 K Insert TIHY2%T Insert Screw #F Wrench

L1

@D
@d

WPGT060415ZSR TL60 M4X10 T15T {@\ ;5
WPGTO080615ZSR

TL60 M5X12 TL60 M5X12 WD208 T20T WNMX09T316ZNN-MM TL60 M3X7 T10
WPGT090725ZSR

FH: RENRBNSZREFRMEIIF, Note:Theinsertis Korloy brand.

FH: BENRBEWSERMNEASRIEIIF.  Note:The insert is Zccct brand.

* 71E#iEEIS Type of Milli

* 71E BB S Type

HZA R~ (mm) Dimension

EAR~F(mm) Dimension

WP06  XK02.06A22.050.04 50 40 22 50
XK02.08A22.050.03 50 40 22 50 XK03.09225.025.02.8 25 % 140 60
XK02.08A22.063.04 o 0 25 . XK03.09225.025.02.M 25 25 200 120 z 2 06
XK02.08A27.063.04 63 50 27 50 XK03.09225.025.02.L 25 25 300 180 z 2 10
P08 | K02.0BA27.080.05 . 0 o7 o XK03.09232.032.03.S 32 32 150 70 z 3 08
XK02.08B32.100.06 100 0 a0 6 B 5 oo XK03.09232.032.03.M 32 32 200 120 z 3 1.4
XK02.08B40.125.07 125 80 20 63 B ; a5 XK03.09232.032.03.L 32 32 300 180 z 3 17
XK02.08B40.160.08 160 100 40 63 B 8 6.0 XK03.09232.040.04.S 40 32 150 50 z 4 0.9
XK02.09A22.063.03 63 50 22 50 A 3 0.7 XK03.09232.040.04.M 40 32 200 50 z 4 138
XKO2.09A27.080.04 80 0 07 63 N 4 4 XK03.09232.040.04.L 40 32 300 50 z 4 18
WP09 " Xk02.09B32.100.05 100 70 32 63 B 5 2.1
XK02.09B40.125.06 125 80 40 63 B 6 37
XK02.09B40.160.07 160 100 40 63 B 7 6.3

| INUS

189

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




#HIJ7J&2 | MILLING TOOLS §AUI §AHI #HI7JE | MILLING TOOLS

AIEAUHHEITIR Indexable milling tools Indexable milling tools FJ&{UsEHITIE

KiH{7IH ~ 6 o @ PREK B T 3L 5 7] Keso0® < o PRk
XKO03 PHO1

L
L1
ap
o = o]
8 ® . 2
* 71 B B4 Spare f * 718 M4 Spare
J1 5 Insert 7] K 4247 Insert Screw 3= Wrench J1F Insert 171 Side Cutting Insert J1 4247 Insert Screw #HF Wrench
WNMX09T316ZNN-MM TL60 M3X7 T10T APKT150412 SPMT120408 TL60 M5X12 T20
HHE. METERZINSZEEMAZMIE, Note:The insertis Korloy brand. EH: BETRZWSEH®RNMIEEE. Note:The Insert Is Zcoct brand.

* 7JB#EBIS Type of Milling T * 71E RIS Type of M

Type EHZA R~ (mm) Dimension Type AR (mm) Dimension
XKO03.09A16.040.04 40 35 16 40 A 4 0.2 PHO01.12W40.040.02.E55 40 40 175 95 55
XK03.09A22.050.05 50 40 22 40 A 5 0.3 PHO01.12W40.050.04.E55 50 40 175 95 55 w 04 1.5
XKO03.09A22.063.06 63 50 22 40 A 6 0.5
XKO03.09A27.080.07 80 60 27 50 A 7 1.1
XK03.09B32.100.08 100 70 32 50 B 8 1.7

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREAKEFERIERBE] X #EFEEMMEkwww.hnsant.com




#HIJ7J&2 | MILLING TOOLS §nuI §AHI #EEYHIJTJE | MOLD MILLING TOOLS

. . BAP HAGH#HT]
2 i 3 5% 7] K90 ( o G 0 BAP right angel shouder end mill

PHO1

>

Roughing Finish

==
o) .'
o

Y Roughing Finish

.
] o]

oD
leLEHI
LN
F

<
e

Sioot. plunge miling Sloulder milling  Copy milling

BRI A eSS RF L33

NESER h Applicable inserts Teeth Screw Pressure
Stocked Letms plate
BAP300R-10-130-C10-1T 10 | 10 130 30 | - | 9 APMT1135PDER 1 TO8 M2.5X5
BAP300R-11-130-C10-1T 11|10 130 30 | - | 9 APMT1135PDER 1 TO8 M2.5X5
BAP300R-12-130-C12-1T 12 |12 130 30 | - | 9 APMT1135PDER 1 To8 M2.5X5
BAP300R-13-130-C12-1T 13 | 12 130 30 | - | 9 APMT1135PDER 1 To8 M2.5X5
BAP300R-16-130-C16-2T 16 | 16 |130| 40 | - | 9 APMT1135PDER 2 T08 M2.5X5
BAP300R-16-160-C16-2T 16 | 16 |160| 40 | — | 9 APMT1135PDER 2 To8 M2.5X5
BAP300R—-16-200-C16-2T 16 | 16 | 200 | 40 | 100 | 9 APMT1135PDER 2 To8 M2.5X5
* TIEB# Sp: BAP300R-17-160-C16-2T 17 | 16 |160| 40 | — | 9 APMT1135PDER 2 To8 M2.5X5
BAP300R-17-200-C16-2T 17 | 16 |200| 40 | — | 9 APMT1135PDER 2 TO8 M2.5X5
BT M) 71 B Side Cutting Insert 71 4T Insert Screw 4K Wrench BAP300R-20-130-C20-2T 20 | 20 |130| 40 | - | 9 APMT1135PDER 2 TO8 M2.5X5
- BAP300R-20-160-C20-2T 20 | 20 |160| 50 | - | 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-20-200-C20-2T 20 | 20 | 200| 50 | 100| 9 APMT1135PDER 2 To8 M2.5X5
BAP300R-21-160-C20-2T 21 | 20 |160| 50 | - | 9 APMT1135PDER 2 To8 M2.5X5
APKT150412 SIAMAIEL. T2 TL6O M5X12 T20T BAP300R-21-200-C20-2T 21 | 20 |200| 50 | - | 9 APMT1135PDER 2 T08 M2.5X5
. o BAP300R-25-160-C25-2T 25 | 25 [160| 50 | - | 9 APMT1135PDER 2 TO8 M2.5X5
ER: TTHRA%MNEEBEREIIF . Note:The insert is Zccct brand. BAP300R-25-200-C25-9T o5 | 25 | 200 50 - 9 APMT1135PDER 5 Tos M2.5X5
BAP300R-26-160-C25-2T 26 | 25 |160| 50 | - | 9 APMT1135PDER 2 T08 M2.5X5
BAP300R-26-200-C25-2T 26 | 25 |200| 50 | - | 9 APMT1135PDER 2 To8 M2.5X5
* J1E MRS Type of BAP400R
BAP400R-25-160-C25-2T 25 | 25 |160| 50 | — | 14 | APMT1604PDER 2 T15 M4X8
Type A;;Eer Eoﬁt; BAP400R-25-200-C25-2T 25 | 25 |200| 75 | - | 14 | APMT1604PDER 2 T15 M4X8
s ““ Bt = BAP400R-25-250-C25-2T 25 | 25 |250| 50 | - | 14 | APMT1604PDER 2 | T15 M4x8
2 BAP400R-26-160-C25-2T 26 | 25 |160| 40 | - | 14 | APMT1604PDER 2 T15 M4X8
PH01.12JT50.050.04.084 50 246.75 145 84 JT50 4 BAP400R-26-200-C25-2T 26 | 25 [200| 50 | - | 14 | APMT1604PDER 2 T15 M4X8
PHO1.120T50.063.04.074 - - . 24 TS0 4 55 BAP400R-26-250-C25-2T 26 | 25 [250| 50 | - | 14 | APMT1604PDER 2 T15 M4X8
BAP400R-32-160-C25-2T 32 | 25 |160| 50 | - | 14 | APMT1604PDER 2 T15 M4x8
r50 PHO01.12JT50.063.04.104 63 266.75 165 104 JT50 4 6.0 BAP400R-32-200-C25-2T 32 | 25 |200| 50 | - | 14 | APMT1604PDER 2 T15 M4x8
e AT R L . 206.75 . 134 50 4 - BAP400R-32-160-C32-3T 32 | 32 |160| 50 | - | 14 | APMT1604PDER 3 T15 M4x8
BAP400R-32-200-C32-3T 32 | 32 |200| 80 | - | 14 | APMT1604PDER 3 T15 M4x8
PHO1.124750.080.04.104 80 266.75 165 104 JT50 4 7.0 BAP400R-32-250-C32-3T 32 | 32 |250| 60 | 115| 14 | APMT1604PDER 3 T15 M4x8
PHO01.12JT50.080.04.144 80 306.75 205 144 JT50 4 7.0 BAP400R-32-300-C32-3T 32 | 32 |300| 60 | 165 | 14 APMT1604PDER 3 T15 M4x8
BAP400R-35-160-C32-3T 35 | 32 |160| 50 | - | 14 | APMT1604PDER 3 T15 M4X8
PH01.12BT50.050.04.084 50 246.75 145 84 BT50 4 48 BAP400R-35-200-C32-3T 35 | 32 |200| 60 | — | 14 | APMT1604PDER 3 T15 M4X8
PHO01.12BT50.063.04.074 63 236.75 135 74 BT50 4 55 BAP400R-35-250-C32-3T 35 | 32 | 250 | 60 | - 14 APMT1604PDER 3 T15 M4X8
BAP400R—-35-300-C32-3T 35 | 32 |300| 60 | — | 14 | APMT1604PDER 3 T15 M4X8
PH01.12BT50.063.04.104 63 266.75 165 104 BT50 4 6.0 BAP400R-35-350-C32-3T 35 | 32 |350| 60 | — | 14 | APMT1604PDER 3 T15 M4X8
BT50 PHO1.12BT50.063.04.134 63 296.75 195 134 BT50 4 6.3 BAP400R-35-400-C32-3T 35 | 32 |400]| 60 | - | 14 APMT1604PDER 3 T15 M4X8
BAP400R—-40-200-C32-3T 40 | 32 |200| 60 | - | 14 | APMT1604PDER 3 T15 M4X8
PHO1-128750.080.04-104 80 266.75 165 104 BT50 4 7.0 BAP400R-40-250-C32-3T 40 | 32 |250| 60 | - | 14 | APMT1604PDER 3 T15 M4X8
PHO01.12BT50.080.04.144 80 306.75 205 144 BT50 4 7.0 BAP400R-40-300-C32-3T 40 | 32 | 300 | 60 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-40-350-C32-3T 40 | 32 |350| 60 | — | 14 | APMT1604PDER 3 T15 M4X8
BAP400R-40-400-C32-3T 40 | 32 |400| 60 | - | 14 | APMT1604PDER 3 T15 M4X8

#iE: BENFEWSR=%. %hilsEAEIA.
THREKEFBERER®B R #HEEMMNEBwww.hnsant.com THREEEFERERB R FHEEMMEBwww.hnsant.com Note: Matching insert we suggest Mitsubishi Zccct brand




B E%E|7JE | MOLD MILLING TOOLS

AI(UBEHITIR Indexable milling tools

MOLD MILLING TOOLS

ndexable milling tools AJ%&{EtEITIE

REHHITIA

B = 1 A #H = 71 B

EMR E&37%t7] EMRW E&37i%7]
EMR round dowel end mill EMRW round dowel end mill L
- _ﬁ‘nul
Roughing Finish
o Rou:ﬁi?[;?::inish 7' A
i 7
3 Roughing Finish
| il
Roughing Finish ‘ -
A oD | od| L | L1|L2| h [ adesit ce Pressure
BN & wF = &R EMRW-6R-32-160-C25-2T | 32 | 25 | 160 | 50 6 RPMW/T1204 MO 2 T15 M4X10 | WD-204
TSR oD | od L1 h Applicable inserts Teeth Wrench Screw Pressure —6R-32-160-C2o- - _
Stocked Letms plate EMRW-6R-32-200-C25-2T | 32 | 25 [200| 50 | - 6 RPMW/T1204 MO 2 T15 M4X10 | WD-204
EMR-4R-12-130-C12-1T | 12 | 12 | 130 | 40 _ 4 RPMWO0802 MO 1 T10 M3X7 _ EMRW-6R-32-250-C25-2T | 32 | 25 | 250 | 60 - 6 RPMW/T1204 MO 2 T15 M4X10 | WD-204
EMR-4R-13-130-C12-1T | 13 | 12 | 130 | 40 _ 4 RPMWO0802 MO 1 T10 M3X7 _ EMRW-6R-35-160-C32-3T | 35 | 32 | 160 | 50 - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-16-130-C16-2T | 16 | 16 | 130 | 40 _ 4 RPMWO0802 MO 2 T10 M3X7 | WD-202 EMRW-6R-35-200-C32-3T | 35 | 32 | 200 | 50 - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-16-160-C16-2T 16 | 16 | 160 | 40 _ 4 RPMWO0802 MO 2 T10 M3X7 WD=202 EMRW-6R-35-250-C32-3T | 35 | 32 | 250 | 60 - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-16-200-C16=2T | 16 | 16 | 200 | 40 | 100| 4 RPMWO0802 MO 2 T10 M3X7 | WD=202 EMRW-6R-35-300-C32-3T | 35 | 32 | 300 | 60 - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-17-160-C16=2T | 17 | 16 | 160 | 40 _ 4 RPMWO0802 MO 2 T10 M3X7 | WD=202 EMRW-6R-35-350-C32-3T | 35 | 32 | 350 | 60 - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-17-200-C16-2T | 17 | 16 | 200 | 50 _ 4 RPMWO0802 MO P T10 M3X7 | WD-202 EMRW-6R-40-200-C32-3T | 40 | 32 | 200 | 50 - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-20-160-C20-2T 20 | 20 | 160 | 50 _ 4 RPMWO0802 MO 2 T10 M3X7 WD-202 EMRW-6R-40-250-C32-3T | 40 | 32 | 250 | 60 - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-20-200-C20-2T | 20 | 20 | 200! 50 | 100| 4 RPMW0802 MO P T10 M3X7 | WD-202 EMRW-6R-40-300-C32-3T | 40 | 32 (300 | 60 | — 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-21-160-C20-2T | 21 | 20 |160| 50 | - | 4 RPMW0802 MO 2 T10 M3X7 | WD-202 EMRW-6R-40-350-C32_3T | 40 | 32 /350 60 - | 6 | RPMW/T1204MO 3 T15 | M4X10 | WD_204
EMR-4R-21-200-C20-2T | 21 | 20 | 200 | 50 | - | 4 RPMW0802 MO 2 T10 M3X7 | WD-202 &iE: BREDREWSR=ZEMIIF, Note: Matching insert we suggest Mitsubishi brand
EMR-5R-20-160-C20-2T | 20 | 20 | 160 | 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 TRS E%ﬁ%n
EMR-5R-20-200-C20-2T | 20 | 20 |200| 50 [100| 5 RPMW1003 MO 2 T15 M4X10 | WD-204 .
EMR-5R-21-160-C20-2T | 21 | 20 |160| 50 | - | 5 | RPMW1003 MO 2 T15 | M4x10 | WD-204 TRS round dowel end mill N
EMR-5R-21-200-C20-2T | 21 | 20 {200 | 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 Rh
EMR-5R-25-160-C20-2T | 25 | 20 | 160 | 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 . [—
EMR-5R-25-160-C25-2T | 25 | 25 | 160 | 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 S
EMR-5R-25-200-C25-2T | 25 | 25 {200 | 75 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 gf" I8 T e e Hh
EMR-5R-25-250-C25-2T | 25 | 25 | 250 | 60 | 115| 5 RPMW1003 MO 2 T15 M4X10 | WD-204 y - >
EMR-5R-30-160-C25-2T | 30 | 25 | 160 | 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 _" L1, J . -J
EMR-5R-30-200-C25-2T | 30 | 25 |200| 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 L L i S Sfmfz‘
EMR-5R-30-250-C25-2T | 30 | 25 [ 250 | 60 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204
EMR-5R-30-300-C25-2T | 30 | 25 {300 | 60 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204
EMR-5R-35-160-C32-2T | 35 | 32 | 160 | 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 = R e £ [ g 9 i 2
EMR-5R-35-200-C32-2T | 35 | 32 | 200 | 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 Az =0 AEEO oD | od| L 1l 2 h Applicable inse e Pressure
EMR-5R-35-160-C32-3T | 35 | 32 | 160 | 50 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 ocked Le pla
EMR-5R-35-200-C32-3T | 35 | 32 | 200 | 50 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-4R-12-130-C12-1T 12 | 12 |130| 40 | - 4 RDMT0802MO 1 TO8 M3X7
EMR-5R-35-250-C32-3T | 35 | 32 |250| 60 | — 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-4R-16-160-C16-2T 16 | 16 | 160 | 40 | - 4 RDMT0802MO 2 TO8 M3X7 | WD-202
EMR-5R-35-300-C32-3T | 35 | 32 {300 | 60 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-4R-20-160-C20-2T 20 | 20 | 160 | 50 | - 4 RDMT0802MO 2 TO8 M3X7 | WD-202
EMR-5R-35-350-C32-3T | 35 | 32 {350 | 60 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-4R-20-200-C20-2T 20 | 20 |200| 50 | - 4 RDMT0802MO 2 TO8 M3X7 | WD-202
EMR-5R-35-400-C32-3T | 35 | 32 {400 | 60 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-5R
EMR-5R-40-200-C32-4T | 40 | 32 | 200 | 50 | - 5 RPMW1003 MO 4 T15 M4X10 | WD-204 TRS-5R-25-160-C25-2T 25 | 25 |160| 50 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
EMR-5R-40-250-C32-4T | 40 | 32 | 250 | 60 | - 5 RPMW1003 MO 4 T15 M4X10 | WD-204 TRS-5R-25-200-C25-2T 25 | 25 |200| 75 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
EMR-5R-40-300-C32-4T | 40 | 32 {300 | 60 | - 5 RPMW1003 MO 4 T15 M4X10 | WD-204 TRS-5R-30-160-C25-2T 30 | 25 | 160 | 40 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
EMR-5R-40-350-C32-4T | 40 | 32 | 350 60 | — 5 RPMW 1003 MO 4 T15 M4X10 | WD-204 TRS-5R-30-200-C25-2T 30 | 25 |200| 50 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
. . — . _ o ) L TRS-5R-30-250-C25-2T 30 | 25 |300| 60 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
s BEASEUSHEE WNE . BERRAR . Note: Matehing insertwe suggestMitsublshi, zeceet brand, TRS-5R-35-160-C32-3T | 35 | 32 |160| 50 | - | 5 RDMT10T3M0 3 T15 | M4X10 | WD-204
TRS-5R-35-200-C32-3T 35 | 32 |200| 50 | - 5 RDMT10T3MO 3 T15 M4X10 | WD-204
TRS-5R-35-250-C32-3T 35 | 32 |250| 60 | - 5 RDMT10T3MO 3 T15 M4X10 | WD-204

&iE: BREDREWSRABAIIETIFA. Note: Matching insert we suggest Hitachi brand

THREGCEFBELAEHE] X #EEEMKMEwww.hnsant.com

THREGERFBEAEHE] X ¥1Ei1EEMMi#Ewww.hnsant.com




wEEHIJTIE

AI(UEEHITIR Indexable milling tools

BAPEHRAGERH®T]

MOLD MILLING TOOLS

BAP right angle shoulder face mill

B o= 7

H = 7 A

EMRW B &%t
EMRW round dowel face mill

e
a

A -

g =1t

Roughing Finish
K/
ZHmT

Roughing Finish

2

ngomilng Slouidormiling  Gopy milling

ER R (g S 25T EHR
FrERER ’ oD | od Applicable inserts Teeth Wrench Screw Pressure
Stocked Letms plate
BAP400R-50-22-4T 50 | 22 | 50 |10.4| 6.3 | 14 APMT1604PDER 4 T15 M4X10 -
BAP400R-63-22-4T 63 | 22 | 50 |{10.4| 6.3 | 14 APMT1604PDER 4 T15 M4X10 -
BAP400R-63-22-5T 63 | 22 | 50 |{10.4| 6.3 | 14 APMT1604PDER 5 T15 M4X10 -
BAP400R-80-27-6T 80 | 27 | 50 |12.4| 7 14 APMT1604PDER 6 T15 M4X10 -
BAP400R-100-32-6T 100 | 32 | 50 |14.4| 8 14 APMT1604PDER 6 T15 M4X10 -
BAP400R-125-40-6T 125| 40 | 63 |16.4| 9 14 APMT1604PDER 6 T15 M4X10 -
#iE: BRENRFEWSEBR=%E. %iMEAEIIF. Note: Matching insert we suggest Mitsubishi, Zccect brand
EMR B &8%Ri#%7]
EMR round dowel face mill
.90, .
= .
5 ﬂ = ry Roughing Finish
] =
| '
i T ?ﬂﬁflﬂl
. Roughing Finish
1 It
f" hmﬂéww
- oD | Sloot. plunge miling Sloulder milling  Copy milling
VS oD od| H|W | T | a Applicable inse e e i
EMR-5R-50-22-4T 50 | 22 | 50 {104/ 6.3 | 5 RPMW1003MO0 4 T15 M4X10 | WD-204
EMR-5R-63-22-4T 63 | 22 | 50 {104/ 6.3 | 5 RPMW1003MO0 4 T15 M4X10 | WD-204
EMR-5R-63-22-5T 63 | 22 | 50 {104/ 6.3 | 5 RPMW1003MO0O 5 T15 M4X10 | WD-204
EMR-5R-80-27-6T 80 | 27 | 50 |12.4| 7 5 RPMW1003MO0 6 T15 M4X10 | WD-204
EMR-5R-100-32-6T 100 | 32 | 50 |14.4] 7 5 RPMW1003MO 6 T15 M4X10 | WD-204

#iE: BETNRBWSRISOIRETIF . Note: Matching insert we suggest ISO standard brand

THREGCEFBELAEHE] X #EEEMKMEwww.hnsant.com

REHHITIA

MOLD MILLING TOOLS

Indexable milling tools EJ&&{EEEITIE

Roughing Finish

& |
lm

oughing Finish

..

Sioot. plunge miling Sloulder milling  Copy milling

| @D >
VEE R oD|od| H | W | T | a [addEaiis -
EMRW-6R-50-22-4T 50 | 22 | 50 |10.4/ 6.3 | 6 RPMW/T1204MO0O 4 T15 M4X10 | WD-204
EMRW-6R-63-22-4T 63 | 22 | 50 |10.4/ 6.3 | 6 RPMW/T1204MO0O 4 T15 M4X10 | WD-204
EMRW-6R-63-22-5T 63 | 22 | 50 {104/ 6.3 | 6 RPMW/T1204MO0 5 T15 M4X10 | WD-204
EMRW-6R-80-27-6T 80 | 27 | 50 |12.4| 7 6 RPMW/T1204MO0O 6 T15 M4X10 | WD-204
EMRW-6R-100-32-6T 100 | 32 | 50 |14.4| 7 6 RPMW/T1204MO 6 T15 M4X10 | WD-204
iE: BETNRBWSB=%MT K., Note: Matching insert we suggest Mitsubishi brand
TRS EI837$%7)
TRS round dowel end mill J\’x‘ N -
4 | mmz |
m A=l 4 g P
1 P
i K
i T ;gmn:
' Roughing Finish
ii_ ...
v
T Amm
| ®D > Sloot. plunge millng Sloulder miling  Copy milling
Ve oD|od| H| W |T | a R :
TRS-5R-50-22-4T 50 | 22 | 50 |10.4/ 6.3 | 5 RDMT10T3MO 4 T15 M4X10 | WD-204
TRS-5R-63-22-4T 63 | 22 | 50 {104/ 63| 5 RDMT10T3MO 4 T15 M4X10 | WD-204
TRS-6R-50-22-4T 50 | 22 | 50 |10.4/ 6.3 | 6 RDMT1204MO0 4 T15 M4X10 | WD-204
TRS-6R-63-22-4T 63 | 22 | 50 |10.4/ 6.3 | 6 RDMT1204MO0 4 T15 M4X10 | WD-204
TRS-6R-63-22-5T 63 | 22 | 50 {104/ 6.3 | 6 RDMT1204MO0 5 T15 M4X10 | WD-204
TRS-6R-80-27-6T 80 | 27 | 50 |124| 7 6 RDMT1204MO0 6 T15 M4X10 | WD-204
#iE: BENRFBWSRBAIMII . Matching insert we suggest Hitachi brand
KM-45° SR 8%70
KM-45° face mill -
Roughing Finish
z- =
- mr
oughing Fi
=
&mﬂAmm Eﬁh
Sloot. plunge millng Sloulder miling  Copy milling
YA oD | od| H| W | T |ob1f addEis ce Pressure
KM12-50-22-4T 50 | 22 | 50 |10.4| 6.3 | 64 SEKT1204[][] 4 T20 M5X11
KM12-63-22-4T 63 | 22 | 50 |10.4| 6.3 | 77 SEKT1204[][] 4 T20 M5X11
KM12-80-27-5T 80 | 27 | 50 (12.4| 7 94 SEKT1204[][] 5 T20 M5X11
KM12-100-32-5T 100 | 32 | 50 |[14.4| 8 | 114 SEKT1204\:|_D 5 T20 M5X11

THREGERFBEAEHE] X ¥1Ei1EEMMi#Ewww.hnsant.com

#iF: BENREZWSER=%. hilsEAETI R,
Note: Matching insert we suggest Mitsubishi, Zcccct brand.



#HI7JE | DRILLING TOOLS §Au1 §AHI #hHI7J& | DRILLING TOOLS

UD20/25/30/35/40/50 #Hialix 7575

LS
RS
w S
03 3.8
04 4.3
05 5.4 5.0
06 6.5 6.0
07 7.94
1. RABRESMNG, REBLLE, NEEEES 08 8.7
Ej]ﬂﬁﬁ‘j'g:x—.o w 09 9.8
1.Using highly-strength special steel and surface strength s 11 1.5
process, making higher strength and more wear-resistanc: :
S |:| 14 14.3

20,25,30,40,50

KELE

TIE R4k YIHI 71K B

Cutting Edge Length

2. ZEEREEXR, HiBEIRG.

2.The space of chip flute is much bigger, the discharge is more

Length-diameter Ratio

3. 2P YIHIFERITHN FRERE, UIHIIRSANS HlA
FHABR, MHIBES, HBEERREALEESE

3.Through the insert install the angle, the insert which is
balance design, cutting in low vibration, the lathe main a
is low. Cutting efficiency is high. Drilling precision and the
finish are much better.

HE, KEBHRPEAE,
o o o o

4.The series of big diameter U drill can be changed in d
size of toolholder, changed in the drilling diameter. Help th
to cost saving substantially.

5. FEIVRNE ML FL, WA RHREL, FHHEIRR

5.The new type of double helix internal cooling hole, coolin

lubricating are much better, and can drilling deeper. I
7] ﬁ-%ﬂ c 7 125~580 wo| Es EONER
Type Of Tools o
®s | 110 12.5mm~58mm E A #it Diameter
=

Adapter

up AL J]Fl-ﬁﬁ J]E-E?;

U drill Insert Clearance Angle Diameter

THREGCEFBELAEHE] X #EEEMKMEwww.hnsant.com THREGERFBEAEHE] X ¥1Ei1EEMMi#Ewww.hnsant.com




#hHI7J& | DRILLING TOOLS §Au1 §Au1 $#hH)7J2 | DRILLING TOOLS

FLINTJJE Hole-machining Tools

Hole-machining Tools F i1 TJ]&

Y FH4TEILEE T K & & BN Indexable U Drill Insert 7@ 7ﬁ
" T BEENARESTNTIESSHS Z AN E
= w s re TR EE(mm) re JIEEE(mm)
A 03 38 00 0.79 05 5.96
04 43 TO 0.99 T5 5.95
05 4 50 01 1.59 06 6.35
- o pe | DEAEEM | DdEEm BES || TAEEM | TEEM [EEES :
rE T Btk F | 2Zmm) | 2ZFmm) | 2aEmm) | VT SEmm) | 2Fmm) | 28 mm) 06 6.5 6.0 T1 1.98 T6 6.75
A +0.005 +0.025 +0.025 A +0.005 +0.05£0.13 +0.025 02 2.38 07 7.94
07 7.94 : :
S F +0.005 +0.013 +0.025 F +0.013 +0.05£0.13 +0.025 T2 2,58 09 9.52
C +0.013 +0.025 +0.025 C +0.025 +0.05+0.13 +0.025 08 8.7
+0. +0. +0. +0. +0.05+0. +0. o 03 3.18 T9 9.72
9.8
+0. +0. +0. +0.08+0. +0.05+0. +0.
o H +0.013 0.013 0.013 H 0.08+0.18| £0.05+0.13 0.13 N o 13 3.97 11 1111
W E +0.025 +0.025 +0.025 E | £0.08+0.18| +0.05+0.13 +0.025 . 04 4.76 12 12.70
G +0.025 +0.025 +0.13 G | £0.13+£0.38| +0.08+0.25 +0.13 14 14.3
T4 4.96

wlclvxIoalos]: 2] < Row
MR s | |

RS | BXTL | EXHEE TR EIE RS | BT | EEEEE TR EIE

RS BRE) (RS EFAE) >65°
Vil e 42X 1 s =3
S I v T T B g NREMEE HEERKS
A B > 65°
= I H| % B ﬁ R| x B 3 =) 68 re L
> 65° 04 0.4mm R a
c D P ¢ i % @ F & wE Q 08 0.8mm L Yl
>65°
e 15 J . wE @ A & F D:D 12 1.2mm N [
<65°
E F J}p
25° <65°
T| 5 | == €f§§ G| # wa | ]2

U =l KE

0| Hfttus BB R EERR

&
<65°
o| | o ol o EA| T o
30° 0"

THREGCEFBELAEHE] X #EEEMKMEwww.hnsant.com THREGERFBEAEHE] X ¥1Ei1EEMMi#Ewww.hnsant.com




#:HI7J2 | DRILLING TOOLS §AUI §AMI #hHI7J2 | DRILLING TOOLS

Hole-machining Tools #,;jiTJ]

A §% 45 3% 7L 5N N ] 4% 45 3% 7L 5N S
UuD20 L uD20 L

LI L2 Ll L2

3
@ o1
@ o2

3
o1
@ o2

UD20.SP05.125.W20 125 20 25 50 26 94 L60M2x 4.3 T06 UD20.SP09.285.W32 285 32 45 60 58 146 L60M3.5x 8 T10
UD20.SP05.130.W20 13.0 20 25 50 26 94 L60M2 x 4.3 T06 UD20.SP09.290.W25 290 25 45 56 58 142 L60M3.5x 8 T10
UD20.SP05.135.W20 135 20 25 50 28 96 SPOICI050204 L60M2x 4.3 T06 UD20.SP09.290.W32 290 32 45 60 58 146 L60M3.5x 8 T10
UD20.SP05.140.W20 140 20 25 50 28 96 L60M2x 4.3 T06 UD20.SP09.295.W32 295 32 55 60 60 151 L60M3.5x 8 T10
UD20.SP05.145.W20 145 20 25 50 30 99 L60M2x 4.3 T06 UD20.SP09.295.W40 295 40 55 70 60 161 L60M3.5x 8 T10
UD20.SP05.150.W20 150 20 25 50 30 99 L60M2x4.3 T06 UD20.SP09.300.W32 30.0 32 55 60 60 151 L60M3.5x 8 T10
UD20.SP06.155.W25 165 25 32 56 32 108 L60M2.2x5.5 T07 UD20.SP09.300.W40 300 40 55 70 60 161 L60M3.5x8 T10
UD20.SP06.160.W25  16.0 25 32 56 32 108 L60M2.2x5.5 To7 UD20.SP09.305.W32 305 32 55 60 62 154 L60M3.5x 8 T10
UD20.SP06.165.W25 165 25 32 56 34 110 L60M2.2x5.5 To7 UD20.SP09.305.W40 305 40 55 70 62 164 L60M3.5x8 T10
UD20.8P06.170.W25 117.0. 25 32 | 56 | 34 | 110 L60M2.2x5.5 o7 UD20.SP09.310.W32 31.0 32 55 60 62 154 SPC11090408 L60M3.5x8 T10
UD20.SP06.175.W25 175 25 32 56 36 113 L60M2.2x5.5 To7 UD20.SP09.310.W40 310 40 55 70 62 164 LEOM3.5x 8 T10
UD20.SP06.180.W25 180 25 32 56 36 113 L60M2.2x5.5 To7 UD20.SP09.315.W32 |31.5| 32 | 55 | 60 | 64 | 156 L60M3 58 10
Uoaostosistums |(ssl solse Lo Lon s - sromomen niagess [ To pmssstiwee 013 @ 5 70 6 1
UD20.SP06.195.W25 195 25 32 56 40 119 L60M2.2x5.5 T07 32::::::::;:::?;2?: 2;8 ii :2 38 2: 122 tggm':zg Eg
UD20.SP06.200.W25 200 25 32 56 40 119 L60M2.2x5.5 To7 :
UD20.SP06.205.W25 205 25 32 56 42 121 L60M2.2x5.5 T07 UD20.5P09.326.W32 325 32 | 55 ' 60 | 66 | 159 L6OMS.5x8 1o
UD20.SP06.210.W25 210 25 32 56 42 121 L60M2.2x5.5 To7 D0 RO O N L6OM3.5x8 1o
UD20.SP06.215.W25 215 25 32 56 44 123 L60M2.2x 5.5 T07 UD20.8P09.330.W32 [33.0) 32 | 55 | 60 | 66 | 159 L60M3.5x8 10
UD20.SP07.220.W25 220 25 32 56 44 123 L60M2.5 x 6.5 T08 UD20.SP09.330.W40  33.0 40 55 70 66 169 CEOME:5ix8 IR
UD20.SP07.225.W25 225 25 45 56 46 127 L60M2.5x6.5 T08 UD20.SP11.340.W32 340 32 55 60 68 161 L60M4x 10 T15
UD20.SP07.225.W32 225 32 45 60 46 131 L60M2.5x6.5 T08 UD20.SP11.340.W40 340 40 55 70 68 171 L60M4 x 10 T15
UD20.SP07.230.W25 23.0 25 45 56 46 127 L60M2.5x 6.5 To8 UD20.SP11.350.W32 350 32 55 60 70 164 L60M4 x 10 T15
UD20.SP07.230.W32 230 32 45 60 46 131 L60M2.5% 6.5 Tos UD20.SP11.350.W40 350 40 55 70 70 174 L60M4 x 10 T15
UD20.SP07.235.W25 235 25 45 56 48 130 L60M2.5% 6.5 T08 UD20.SP11.360.W32 36.0 32 55 60 72 167 L60M4 x 10 T15
UD20.SP07.235.W32 235 32 45 60 48 134 L60M2.5x 6.5 TO8 UD20.SP11.360.W40 360 40 55 70 72 177 L60M4 x 10 T15
UD20.SP07.240.W25 240 25 45 56 48 130 L60M2.5x6.5 To8 UD20.SP11.370.W32 37.0 32 55 60 74 170 L60M4 x 10 Ti5
UD20.SP07.240.W32 240 32 45 60 48 134 L60M2.5x6.5 To8 UD20.SP11.370.W40 37.0 40 55 70 74 180 SP11110408 L60M4 x 10 Ti5
UD20.SP07.245.W25 245 25 45 56 50 133 L60M2.5x6.5 To8 UD20.SP11.380.W32 380 32 55 60 76 173 L60M4 x 10 Ti5
UD20.SP07.245.W32 245 32 45 60 50 137 L60M2.5x6.5 To8 UD20.SP11.380.W40 380 40 55 70 76 183 L60M4 x 10 T15
UD20.SP07.250.W25 250 25 45 56 50 133 SPI[107T308 L60M2.5x6.5 To8 UD20.SP11.390.W32 390 32 55 60 78 175 L60M4 x 10 Ti5
UD20.SP07.250.W32 25,0 32 45 60 50 137 L60M2.5x 6.5 T08 UD20.SP11.390.W40 39.0 40 55 70 78 185 L60M4 x 10 T15
UD20.SP07.255.W25 25,5 25 45 56 52 135 L60M2.5x 6.5 TO8 UD20.SP11.400.W32 40.0 32 60 60 80 178 L60M4 x 10 T15
UD20.SP07.255.W32 255 32 45 60 52 139 L60M2.5x6.5 T08 UD20.SP11.400.W40 400 40 60 70 80 188 L60M4 x 10 T15
UD20.SP07.260.W25 26.0 25 45 56 52 135 L60M2.5% 6.5 TO8 UD20.SP11.410.W40 410 40 60 70 82 191 L60M4 x 10 T15
UD20.SP07.260.W32 26.0 32 45 60 52 139 L60M2.5x 6.5 TO8 UD20.SP14.420.W40 42.0 40 60 70 84 193 L60MS5 x 13 T20
UD20.SP07.265.W25 265 25 45 56 54 137 L60M2.5x6.5 To8 UD20.SP14.430.W40 430 40 60 70 85 196 L60M5x 13 T20
UD20.SP07.265.W32 265 32 45 60 54 141 L60M2.5x 6.5 To8 UD20.SP14.440.W40 440 40 60 70 83 198 L60MEx13 T20
Snsosperratam s ol awosvss | o uDzosprsssawdd 150 0 (0 1 % o
UD26.5P07.276.W26 275 25 | 45 | 26 | 26 | 140 LMo oo e To8 UD20.SP14.460.W40 460 40 60 70 92 205 SP[1140512 L60M5 x 13 T20
UD20.SP07.275.W32 275 32 45 60 56 144 L60M2.5x6.5 To8 ::::::::Z:Z:::’v:: j;'g jg gg ;g 2: 2?2 tggmg:g 128
UD20.SP09.280.W25 280 25 45 56 56 140 L60M3.5x 8 T10 :

UD20.SP09.280.W32 28.0 32 45 60 56 144 SPCI1090408 L60M3.5x8 10 UD20.SP14.490.W40 490 40 | 60 | 70 | 98 | 212 L6OMS x 13 120
UDZ0.5P05.285.W25 2851 25 45 56 | 58 143 L6OM3 5 x8 10 UD20.SP14.500.W40 500 40 60 70 100 215 L60M5 x 13 T20

THREGCEFBELAEHE] X #EEEMKMEwww.hnsant.com THREGERFBEAEHE] X ¥1Ei1EEMMi#Ewww.hnsant.com




t#hHI7J& | DRILLING TOOLS §AHI §AHI #hEI7JE | DRILLING TOOLS
Hole-machining Tools F,JiTJ]E

A §% 45 3% 7L 5N N ] §% 45 3% 7L 5N
UD30 L UD30 L

L1 L2 Ll L2

3
@ o1
@2

,-—-
3
@ o1
@ o2

* TIELMHEES * TIELMEES
BRI Dimensor BARH ) Dimensor —
B82S

UD30.SP05.125.W20 125 20 25 50 39 107 L60M2x 4.3 T06 UD30.SP09.280.W25 280 25 45 56 84 168 L60M3.5x 8 T10
UD30.SP05.130.W20 130 20 25 50 39 107 L60M2x 4.3 Tos UD30.SP09.280.W32 280 32 45 60 84 172 L60M3.5% 8 T10
UD30.SP05.135.W20 135 20 25 50 42 110 SPLIC1050204 L60M2 x 4.3 T06 UD30.SP09.285.W25 285 25 45 56 87 171 L60M3.5x 8 T10
UD30.SP05.140.W20 140 20 25 50 42 110 L60M2 x 4.3 To6 UD30.SP09.285.W32 285 32 45 56 87 171 L60M3.5x8 T10
UD30.SPO05.145.W20 145 20 25 50 45 114 L60M2 x 4.3 T06 UD30.SP09.290.W25 290 25 45 56 87 171 L60M3.5x 8 T10
UD30.SP05.150.W20 | 15.0] 20 | 25 | 50 | 45 | 114 L60M2x 4.3 08 UD30.SP09.290.W32 290 32 45 60 87 175 L60M3.5x8 T10
UD30.SP06.155.W25 155 25 32 56 48 124 L60M2.2x5.5 T07 3323'::33':::'x:: gg': i;‘; g: sg gg 131 tggmg'gzg Eg
UD30.SP06.160.W25 160 25 32 56 48 124 L60M2.2x5.5 T07 UD30.SP09.205.W32 295 32 55 60 90 181 L60M3.5 x 8 T10
uR30,5P06.165.W25s |16.5] 725 | 82 |7567| 51 | 127 L60M2.2x5.5 Ui UD30.SP09.295.W40 295 40 55 70 90 191 L60M3.5x 8 T10
UD30.SP06.170.W25 170 25 32 56 51 127 L60M2.2x5.5 TO7 UD30.SP09.300.W32 30,0 32 55 60 90 181 L60M3.5x8 T10
UD30.SP06.175.W25 175 25 32 56 54 131 L60M2.2x5.5 T07 UD30.SP09.300.W40 300 40 55 70 90 191 SPOICI090408 L60M3.5x 8 T10
UD30.SP06.180.W25 18.0 25 32 56 54 131 L60M2.2x 5.5 T07 UD30.SP09.305.W32 305 32 55 60 93 185 L60M3.5x8 T10
UD30.SP06.185.W25 185 25 32 56 57 134 SR L60M2.2x 5.5 T07 UD30.SP09.305.W40 305 40 55 70 93 195 L60M3.5x 8 T10
UD30.SP06.190.W25 19.0 25 32 56 57 134 L60M2.2x5.5 T07 UD30.SP09.310.W32 31.0 32 55 60 93 185 L60M3.5x 8 T10
UD30.SP06.195.W25 19.5 25 32 56 60 139 L60M2.2x5.5 T07 UD30.SP09.310.W40 31.0 40 55 70 93 195 L60M3.5x 8 T10
UD30.SP06.200.W25 20.0 25 32 56 60 139 L60M2.2x 5.5 To7 UD30.SP09.315.W32  31.5 32 55 60 96 188 L6OM3.5x8 T10
UD30.SP06.205.W25 205 25 32 56 63 142 L60M2.2x5.5 T07 UD30.SP09.315.W40 _ 31.5 40 55 70 96 198 L6OM3.5x8 T10
UD30.SP06.209.W25 209 25 32 56 63 142 L60M2.2x 5.5 To7 UD30-3809:320- W23 0N S SEcONIMOCINI 5 L6OM3.5x8 e

UD30.SP09.320.W40 320 40 55 70 96 198 L60M3.5x 8 T10
UD30.SP06.210.W25 210 25 32 56 63 142 L60M2.2x 5.5 T07 UD30.SP09.325.W32 325 32 55 60 99 192 LEOM3.5x 8 T10
UD30.SP06.215.W25 215 25 32 56 66 145 L60M2.2x 5.5 T07 UD30.SP09.325.W40 325 40 55 70 99 202 L60M3.5x8 T10
UD30.SP07.220.W25 220 25 32 56 66 145 L60M2.5x 6.5 T08 UD30.SP09.330.W32 330 32 55 60 99 192 L60M3.5 x 8 T10
UD30.SP07.225.W25 225 25 45 56 69 150 L60M2.5x 6.5 T08 UD30.SP09.330.W40 33.0 40 55 70 99 202 L60M3.5x 8 T10
UD30.SP07.225.W32 225 32 45 60 69 154 L60M2.5x 6.5 TO8 UD30.SP11.340.W32 340 32 55 60 102 195 L60M4 x 10 T15
UD30.SP07.230.W25 230 25 45 56 69 150 L60M2.5% 6.5 T08 UD30.SP11.340.W40 34.0 40 55 70 102 205 L60M4 x 10 T15
UD30.SP07.230.W32 230 32 45 60 69 154 L60M2.5% 6.5 T08 UD30.SP11.350.W32 350 32 55 60 105 199 L60M4 x 10 T15
UD30.SP07.235.W25 235 25 45 56 72 154 L60M2.5% 6.5 T08 UD30.SP11.350.W40 350 40 55 70 105 209 L60M4 x 10 T15
UD30.SP07.235.W32 235 32 45 60 72 158 L60M2.5x 6.5 T08 UD30.SP11.360.W32  36.0 32 55 60 108 203 L60M4 x 10 T15
UD30.SP07.239.W25 239 25 32 56 72 154 L60M2.5x6.5 T08 UD30.SP11.360.W40  36.0 40 55 70 108 213 L60M4 x 10 T15
UD30.SP07.239.W32 239 32 45 60 72 158 L60M2.5x 6.5 T08 3323':::'3:’18'ng g;'g 2(2) 2: sg m g?; tggmzlg Eg
UD30.SP07.240.W25 240 25 45 56 72 154 L60M2.5% 6.5 T8 UD30.8P11.375. W32 375 32 | 55 60 132 [ 211 . LG e 6 5
UD30.SP07.240.W32 240 32 45 60 72 158 L60M2.5% 6.5 T08 UD30.5P11.375.Wa0  37.5| 40 | 55 | 70 | 114 | 221 PLI[1110408 L60M4 10 T1e
UD30.SP07.245.W25 245 25 45 56 75 158 L60M2.5x 6.5 TO8 UD30.SP11.380.W32 38.0 32 55 60 114 211 L60M4 x 10 T15
UD30.SP07.245.W32 245 32 45 60 75 162 L60M2.5x6.5 To8 UD30.SP11.380.W40 38.0 40 55 70 114 221 L60M4 x 10 T15
UD30.SP07.250.W25 250 25 45 56 75 158 SPJ]07T308 L60M2.5x 6.5 T08 UD30.SP11.390.W32 390 32 55 60 117 214 L60M4 x 10 T15
UD30.SP07.250.W32 250 32 45 60 75 162 L60M2.5% 6.5 T08 UD30.SP11.390.W40 39.0 40 55 70 117 224 L60M4 x 10 T15
UD30.SP07.255.W25 255 25 45 56 78 161 L60M2.5% 6.5 T08 UD30.SP11.400.W32 400 32 60 60 120 218 L60M4 x 10 T15
UD30.SP07.255.W32 255 32 45 60 78 165 L60M2.5%6.5 TO8 UD30.SP11.400.W40 40.0 40 60 70 120 228 L60M4 x 10 T15
UD30.SP07.260.W25 26.0 25 45 56 78 161 L60M2.5x6.5 T08 UD30.SP11.405.W40 40.5 40 60 70 123 232 L60M4 x 10 T15
UD30.SP07.260.W32 260 32 45 60 78 165 L60M2.5x 6.5 To8 UD30.SP11.410.W40  41.0 40 60 70 123 232 L60M4 x 10 T15
UD30.SP07.264.W25 264 25 45 56 81 164 L60M2.5 x 6.5 T08 3::3'::::'223;':: 22'3 :g gg ;g 122 ggg tggmgzlg Eg
UD30.SP07.264.W32 264 32 45 60 81 168 L60M2.5%6.5 T08 e D oD th0 o | e L60MS5 x 13 T20
UD30.SP07.265.W25 265 25 45 56 81 164 L60M2.5x6.5 T08 UD30.SP14.450.W40 45:0 40 60 70 135 247 L60M5x 13 T20
UD30.SP07.265.W32 265 32 45 60 81 168 L60M2.5x 6.5 T08 UD30.SP14.460.W40 460 40 60 70 138 251 SPOIC1140512 L60M5 x 13 T20
UD30.SP07.270.W25 27.0 25 45 56 81 164 L60M2.5x 6.5 TO8 UD30.SP14.470.W40 47.0 40 60 70 141 254 L60M5x 13 T20
UD30.SP07.270.W32 27.0 32 45 60 81 168 L60M2.5% 6.5 T08 UD30.SP14.480.W40 48.0 40 60 70 144 258 L60M5x 13 T20
UD30.SP07.275.W25 275 25 45 56 84 168 L60M2.5% 6.5 To8 UD30.SP14.490.W40 490 40 60 70 147 261 L60M5 x 13 T20
UD30.SP07.275.W32 275 32 45 60 84 172 L60M2.5% 6.5 T08 UD30.SP14.500.W40 50.0 40 60 70 150 265 L60M5 x 13 T20

THREGCEFBELAEHE] X #EEEMKMEwww.hnsant.com THRAKEFEREHB X #EEZEMNwww.hnsant.com

=T



#:HI7J2 | DRILLING TOOLS §AUI §AMI #hHI7J2 | DRILLING TOOLS

Hole-machining Tools #,;jiTJ]

A §% 45 3% 7L 5N N ] §% 45 3% 7L 5N N
uD40 L uD40 L

LI L2 Ll L2

3
@ o1
@ o2

3
o1
@ o2

Type EARF(mm) pimension Insert Type EAR(mm) pimension Insert =i

UD40.SP05.125.W20 125 20 25 50 52 120 L60M2 x 4.3 T06 UD40.SP09.285.W32 285 32 45 60 116 204 L60M3.5 x 8 T10
UD40.SP05.130.W20 130 20 25 50 52 120 L60M2 x 4.3 T06 UD40.SP09.290.W25 29.0 25 45 56 116 200 L60M3.5x 8 T10
UD40.SP05.135.W20 135 20 25 50 56 124 SPLILI050204 L60M2 x 4.3 T06 UD40.SP09.290.W32 29.0 32 45 60 116 204 L60M3.5 x 8 T10
UD40.SP05.140.W20 140 20 25 50 56 124 L60M2 x 4.3 T06 UD40.SP09.295.W32 295 32 55 60 120 211 L60M3.5 x 8 T10
UD40.SP05.145.W20 145 20 25 50 60 129 L60M2x4.3 T06 UD40.SP09.295.W40 295 40 55 70 120 221 L60M3.5x 8 T10
UD40.SP05.150.W20 15.0 20 25 50 60 129 L60M2x 4.3 T06 UD40.SP09.300.W32 30.0 32 55 60 120 211 L60M3.5% 8 T10
UD40.SP06.155.W25 1152525 32 56 64 140 L60M2.2x5.5 TO7 UD40.SP09.300.W40 30.0 40 55 70 120 221 L60M3.5 x 8 T10
UD40.SP06.160.W25 16.0 25 32 56 64 140 L60M2.2x 5.5 T07 UD40.SP09.305.W32 305 32 55 60 124 216 L60M3.5x 8 T10
M0, SR06 2165 W 2 S R N2 I I ORIl LE0M2.25.5 o7 UD40.SP09.305.W40  30.5 40 55 70 124 226 L60M3.5x8 T10
UD40.5P06.170.W25 1 17.0 25 | 32 | 56 | 68 | 144 LE0M2.2x5.5 o7 UD40.SP09.310.W32 31.0 32 55 60 124 216 SPOI1090408 L60M3.5x8 T10
UD40.SP06.175.W25 17.5 25 32 56 72 149 L60M2.2x 5.5 T07 T T P R R B TR T10
UD40.SP06.180.W25 _ 18.0 25 | 32 | 56 | 72 | 149 L60M2.2x5.5 o7 UD40.SP09.315.W32 315 32 55 60 128 220 L60M3.5x 8 T10
UD40.SP06.185.W25 185 25 32 56 76 153 SPLIC1060204 L60M2.2x 5.5 T07 UD30.5P00.315.Wwa0 3151 a0 55 | 70 T128 [ 230 L6OM3.5 5 o
UD40.SP06.190.W25 19.0 25 32 56 76 153 L60M2.2x 5.5 T07 UD40.5P09.320.W32 | 320 32 | 55 | 60 | 128 | 220 L6OMS 55 o
UD40.SP06.195.W25 195 25 32 56 80 159 L60M2.2x 5.5 T07 : :

UD40.SP06.200.W25 20.0 25 32 56 80 159 L60M2.2x 5.5 T07 S O N L6OM3.5x8 10
UD40.SP06.205.W25 205 25 32 56 84 163 L60M2.2x5.5 T07 UD40.8P09.325.W32 |32.5 32 | 55 | 60 | 132 225 L60M3.5x8 T10
UD40.SP06.210.W25 210 25 32 56 84 163 L60M2.2x 5.5 T07 UD40.5P09.325.W40 325 40 55 | 70 132 235 Lihidlot Jio
e e o o e e e = UD40.SP09.330.W32 330 32 55 60 132 225 L60M3.5 x 8 T10
UD40.SP07.220.W25 220 25 32 56 88 167 L60M2.5x 6.5 Tos UD40.SP09.330.W40  33.0 40 55 70 132 235 L60M3.5x 8 T10
UD40.SP07.225.W25 2205 25 45 56 92 173 L60M2.5x6.5 T08 UD40.SP11.340.W32 34.0 32 55 60 136 229 L60M4 x 10 T15
UD40.SP07.225.W32 225 32 45 60 92 177 L60M2.5% 6.5 To8 UD40.SP11.340.W40 34.0 40 55 70 136 239 L60M4 x 10 T15
UD40.SP07.230.W25 230 25 45 56 92 173 L60M2.5% 6.5 T08 UD40.SP11.350.W32 350 32 55 60 140 234 L60M4 x 10 T15
UD40.SP07.230.W32 230 32 45 60 92 177 L60M2.5x 6.5 T08 UD40.SP11.350.W40 350 40 55 70 140 244 L60M4 x 10 T15
UD40.SP07.235.W25 235 25 45 56 96 178 L60M2.5x 6.5 T08 UD40.SP11.360.W32 360 32 55 60 144 239 L60M4x 10 T15
UD40.SP07.235.W32 235 32 45 60 96 182 L60M2.5x 6.5 T08 UD40.SP11.360.W40 36.0 40 55 70 144 249 L60M4x 10 T15
UD40.SP07.240.W25 240 25 45 56 96 178 L60M2.5x 6.5 T08 UD40.SP11.370.W32 37.0 32 55 60 148 244 L60M4x 10 T15
UD40.SP07.240.W32 240 32 32 60 96 182 L60M2.5x 6.5 T08 UD40.SP11.370.W40 37.0 40 55 70 148 254 SPOI110408 L60M4x 10 T15
UD40.SP07.245.W25 245 25 45 56 100 183 L60M2.5% 6.5 T08 UD40.SP11.380.W32 38.0 32 55 60 152 249 L60M4x 10 T15
UD40.SP07.245.W32 245 32 45 60 100 187 L60M2.5x 6.5 T08 UD40.SP11.380.W40 38.0 40 55 70 152 259 L60M4 x 10 T15
UD40.SP07.250.W25 250 25 45 56 100 183 SPLIJ07T308 L60M2.5x 6.5 To8 UD40.SP11.390.W32 390 32 55 60 156 253 L60MAx 10 T15
UD40.SP07.250.W32 25.0 32 45 60 100 187 L60M2.5x 6.5 TO8 UD40.SP11.390.W40 39.0 40 55 70 156 263 L60M4 x 10 T15
UD40.SP07.255.W25 255 25 45 56 104 187 L60M2.5x 6.5 T08 UD40.SP11.400.W32 400 32 60 60 160 258 L60MAx 10 15
UD40.SP07.255.W32 255 32 45 60 104 191 L60M2.5x 6.5 T08 UD40.SP11.400.W40 400 40 60 70 160 268 Lo e
UD40.SP07.260.W25 260 25 45 56 104 187 L60M2.5x 6.5 To8 UD40.5P11.410.W40 | 41.0| 40 | 60 | 70 | 164 | 273 L60MA x 10 T15
UD40.SP07.260.W32 260 32 45 60 104 191 L60M2.5x 6.5 T08 T O 2ty e | | 5o s [ L6OM5 x 13 20
33::'2::;':::'322 22': gg :2 zg 122 12; ::ngiZ::g Ig: UD40.SP14.430.W40 430 40 60 70 172 282 L60M5 x 13 T20
UD40.SP07.270.W25 270 25 45 56 108 191 L60M2.5x 6.5 TO8 .U VI (O IG5, LEOMS > 13 T20
UD40.SP07.270.W32 270 32 45 60 108 195 L60M2.5x 6.5 T08 UD40.SP14.450.W40 _ 450 40 | 60 | 70 | 180 292 L6OMS x 13 120
UD40.SP07.275.W25 275 25 45 56 112 196 L60M2.5x 6.5 T08 S I D DI i SPLL140512 L6OMS5x 13 LD
UD40.SP07.275.W32 275 32 45 60 112 200 L60M2.5x 6.5 T08 UD40.SP14.470.W40  47.0 40 60 70 188 301 L6OM5 x 13 120
UD40.SP09.280.W25 280 25 45 56 112 196 L60M3.5x 8 T10 UD40.SP14.480.W40 480 40 60 70 192 306 L60MS x13 T20
UD40.SP09.280.W32 280 32 45 60 112 200 SP[1[1090408 L60M3.5x8 T10 UD40.SP14.490.W40 490 40 60 70 196 310 L60M5 x 13 T20
UD40.SP09.285.W25 285 25 45 56 116 200 L6OM3.5x 8 T10 SD055 Bl 5 0.0 Wil OB 1V VR VI Dy VI DOl LOOMSRgIS Uz

THREGCEFBELAEHE] X #EEEMKMEwww.hnsant.com THREGERFBEAEHE] X ¥1Ei1EEMMi#Ewww.hnsant.com




#hHI7JB | DRILLING TOOLS §AHI §AHI $#hH)7J2 | DRILLING TOOLS
Hole-machining Tools #,;jiTJ]
A §% 45 3% 7L 5N N ] §% 45 3% 7L 5N L

UD50 L UD50 L
/ LI L2 / Li L2

o1
D02

3
@ o1
@ o2

* 7)ELH{{¥ Spe * 71 ELH#¥ Spe
BARS(M) pimension — BAR(mm) Dimension —

UD50.SP05.125.W20 125 20 25 50 65 133 L60M2x 4.3 UD50.SP09.290.W32 29.0 32 45 60 145 233 L60M3.5X8 T10
UD50.SP05.130.W20 13.0 20 25 50 65 133 L60M2x 4.3 T06 UD50.SP09.295.W32 29.5 32 55 60 150 241 L60M3.5X8 T10
UD50.SP05.135.W20 135 20 25 50 70 138 SPCICI050204 L60M2x 4.3 T06 UD50.SP09.300.W32 30.0 32 55 60 150 241 L60M3.5X8 T10
UD50.SP05.140.W20 140 20 25 50 70 138 L60M2x 4.3 T06 UD50.SP09.300.W40 30.0 40 55 70 150 251 L60M3.5X8 T10
UD50.SP05.145.W20 145 20 25 50 75 144 L60M2 x 4.3 T06 UD50.SP09.310.W32 31.0 32 55 60 155 247 SPOICI090408 L60M3.5X8 T10
UD50.SP05.150.W20 150 20 25 50 75 144 L60M2x 4.3 T06 UD50.SP09.310.W40 31.0 40 55 70 155 257 L60M3.5X8 T10
UD50.SP06.155.W25 155 25 32 56 80 156 L60M2.2x5.5 T07 UD50.SP09.320.W32 320 32 55 60 160 252 L60M3.5X8 T10
UD50.SP06.160.W25 16.0 25 32 56 80 156 L60M2.2x5.5 T07 UD50.SP09.320.W40 32.0 40 55 70 160 262 L60M3.5X8 T10
UD50.SP06.165.W25 165 25 32 56 85 161 L60M2.2x5.5 T07 UD50.SP09.330.W32 330 32 55 60 165 258 L60M3.5X8 T10
UD50.SP06.170.W25 17.0 25 32 56 85 161 L60M2.2x5.5 T07 UD50.SP09.330.W40 33.0 40 55 70 165 268 L60M3.5X8 T10
UD50.SP06.175.W25 175 25 32 56 90 167 L60M2.2x5.5 T07 UD50.SP11.340.W32 340 32 55 60 170 263 L60M4X10 T15
UD50.SP06.180.W25 180 25 32 56 90 167 L60M2.2x5.5 T07 UD50.SP11.340.W40 34.0 40 55 70 170 273 L60M4X10 T15
UD50.SP06.185.W25 185 25 32 56 95 172 SPI[]060204 L60M2.2x5.5 T07 UD50.SP11.350.W32 350 32 55 60 175 269 L60M4X10 T15
UD50.SP06.190.W25 19.0 25 32 56 95 172 L60M2.2x5.5 T07 UD50.SP11.350.W40 350 40 55 70 175 279 L60M4X10 T15
UD50.SP06.195.W25 195 25 32 56 100 179 L60M2.2x5.5 T07 UD50.SP11.360.W32 36.0 32 55 60 180 275 L60M4X10 T15
UD50.SP06.200.W25 20.0 25 32 56 100 179 L60M2.2x5.5 T07 UD50.SP11.360.W40 36.0 40 55 70 180 285 L60M4X10 Ti5
UD50.SP06.205.W25 205 25 32 56 105 184 L60M2.2x5.5 T07 UD50.SP11.370.W32 37.0 32 55 60 185 281 L60M4X10 T15
UD50.SP06.210.W25 21.0 25 32 56 105 184 L60M2.2x5.5 T07 UD50.SP11.370.W40 37.0 40 55 70 185 291 SPJ[1110408 L60M4X10 Ti5
UD50.SP06.215.W25 215 25 32 56 110 189 L60M2.2x5.5 T07 UD50.SP11.380.W32 380 32 55 60 190 287 L60M4X10 T15
UD50.SP07.220.W25 220 25 32 56 110 189 L60M2.5x 6.5 T08 UD50.SP11.380.W40 38.0 40 55 70 190 297 L60M4X10 T15
UD50.SP07.225.W32 225 32 45 60 115 200 L60M2.5x 6.5 T08 UD50.SP11.390.W32 39.0 32 55 60 195 292 L60M4X10 T15
UD50.SP07.230.W32 230 32 45 60 115 200 L60M2.5x 6.5 TO8 UD50.SP11.390.W40 39.0 40 55 70 195 302 L60M4X10 Ti5
UD50.SP07.235.W32 235 32 45 60 120 206 L60M2.5x 6.5 T08 UD50.SP11.400.W32 40.0 32 60 60 200 298 L60M4X10 T15
UD50.SP07.240.W32 240 32 45 60 120 206 L60M2.5x6.5 T08 UD50.SP11.400.W40 40.0 40 60 70 200 308 L60M4X10 Ti5
UD50.SP07.245.W32 245 32 45 60 125 212 SPOCI07T308 L60M2.5x 6.5 T08 UD50.SP11.410.W40 41.0 40 60 70 205 314 L60M4X10 T15
UD50.SP07.250.W32 250 32 45 60 125 212 L60M2.5x6.5 T08 UD50.SP14.420.W40 420 40 60 70 210 319 L60M5X13 T20
UD50.SP07.255.W32 255 32 45 60 130 217 L60M2.5x 6.5 T08 UD50.SP14.430.W40 43.0 40 60 70 215 325 L60M5X13 T20
UD50.SP07.260.W32 26.0 32 45 60 130 217 L60M2.5x 6.5 T08 UD50.SP14.440.W40 440 40 60 70 220 330 L60M5X13 T20
UD50.SP07.265.W32 265 32 45 60 135 222 L60M2.5x 6.5 T08 UD50.SP14.450.W40 450 40 60 70 225 337 L60M5X13 T20
UD50.SP07.270.W32 27.0 32 45 60 135 222 L60M2.5x6.5 T08 UD50.SP14.460.W40 46.0 40 60 70 230 343 SPJ[]140512 L60M5X13 T20
UD50.SP07.275.W32 275 32 45 60 140 228 L60M2.5x 6.5 T08 UD50.SP14.470.W40 47.0 40 60 70 235 348 L60M5X13 T20
UD50.SP09.280.W32 280 32 45 60 140 228 SPLIC1090408 L60M3.5x 8 T10 UD50.SP14.480.W40 48.0 40 60 70 240 354 L60M5X13 T20
UD50.SP09.285.W32 285 32 45 60 145 233 L60M3.5x 8 T10 UD50.SP14.490.W40 49.0 40 60 70 245 359 L60M5X13 T20

UD50.SP14.500.W40 50.0 40 60 70 250 365 L60M5X13 T20

THREGCEFBELAEHE] X #EEEMKMEwww.hnsant.com THREGERFBEAEHE] X ¥1Ei1EEMMi#Ewww.hnsant.com




#hHI7J& | DRILLING TOOLS §Bu1 §AMI $#hH)7J2 | DRILLING TOOLS

Hole—machining Tools F 0T 7]
T 8% 4 1% FL 5K "/ T 8% 4 1% 7L 5K "/
UD25 UD35

* 71 ELH¥ Spa * 71 ELHi4 Spa

Type EAR~H(mm) pimension & Type BAR(MM) pimension =14
51 50 75 133 80 250 L60M2.5x 6.5 UD 07CA.W11 UD 07CA.Z1 51 50 75 186 80 303 L60M2.5x 6.5 UD 07CA.W11 UD 07CA.Z1
UD25.SP07.510.530.W50 52 50 75 133 80 250 SP[][]07T308 L60M2.5x6.5 UD 07CA.W12 UD 07CA.Z1 UD35.SP07.510.530.W50 52 50 75 186 80 303 SP[][107T308 L60M2.5x6.5 UD 07CA.W12 UD 07CA.Z1
53 50 75 133 80 250 L60M2.5x 6.5 UD 07CA.W13 UD 07CA.Z1 53 50 75 186 80 303 L60M2.5x 6.5 UD 07CA.W13 UD 07CA.Z1
54 50 75 140 80 260 L60M2.5% 6.5 UD 07CA.W21 UD 07CA.Z2 54 50 75 196 80 316 L60M2.5x 6.5 UD 07CA.W21 UD 07CA.Z2
UD25.SP07.540.560.W50 55 50 75 140 80 260 SP[I[107T308 L60M2.5x6.5 UD 07CA.W22 UD 07CA.Z2 UD35.SP07.540.560.W50 55 50 75 196 80 316 SP[I[107T308 L60M2.5x6.5 UD 07CA.W22 UD 07CA.Z2
56 50 75 140 80 260 L60M2.5x 6.5 UD 07CA.W23 UD 07CA.Z2 56 50 75 196 80 316 L60M2.5x 6.5 UD 07CA.W23 UD 07CA.Z2
57 50 75 155 80 281 L60M3.5x 8 UD 09CA.W11 UD 09CA.Z1 57 50 75 217 80 343 L60M3.5x 8 UD 09CA.W11 UD 09CA.Z1
58 50 75 155 80 281 L60M3.5x 8 UD 09CA.W12 UD 09CA.Z1 58 50 75 217 80 343 L60M3.5x 8 UD 09CA.W12 UD 09CA.Z1
59 50 75 155 80 281 L60M3.5x 8 UD 09CA.W13 UD 09CA.Z1 59 50 75 217 80 343 L60M3.5x 8 UD 09CA.W13 UD 09CA.Z1
UD25.5P09.570.620.W50 60 50 75 155 80 281 SPLILI090408 L60M3.5x 8 UD 09CA.W14 UD 09CA.Z1 UD35.5P09.570.620.W50 60 50 75 217 80 343 SPLILI090408 L60M3.5x 8 UD 09CA.W14 UD 09CA.Z1
61 50 75 155 80 281 L60M3.5x 8 UD 09CA.W15 UD 09CA.Z1 61 50 75 217 80 343 L60M3.5x 8 UD 09CA.W15 UD 09CA.Z1
62 50 75 155 80 281 L60M3.5x 8 UD 09CA.W16 UD 09CA.Z1 62 50 75 217 80 343 L60M3.5x 8 UD 09CA.W16 UD 09CA.Z1
63 50 75 165 80 295 L60M3.5x 8 UD 09CA.W21 UD 09CA.Z2 63 50 75 231 80 361 L60M3.5x 8 UD 09CA.W21 UD 09CA.Z2
64 50 75 165 80 295 L60M3.5x 8 UD 09CA.W22 UD 09CA.Z2 64 50 75 231 80 361 L60M3.5x 8 UD 09CA.W22 UD 09CA.Z2
UD25.5P09.630.660.W50 65 50 75 165 80 295 SIPLeees L60M3.5x 8 UD 09CA.W23 UD 09CA.Z2 UD35.5P09.630.660.W50 65 50 75 231 80 361 EIHRIEL e L60M3.5x 8 UD 09CA.W23 UD 09CA.Z2
66 50 75 165 80 295 L60M3.5x 8 UD 09CA.W24 UD 09CA.Z2 66 50 75 231 80 361 L60M3.5x 8 UD 09CA.W24 UD 09CA.Z2
67 50 75 183 80 320 L60M4 x 10 UD 11CA.W11 UD 11CA.Z1 67 50 75 256 80 393 L60M4 x 10 UD 11CA.W11 UD 11CA.Z1
68 50 75 183 80 320 L60M4 x 10 UD 11CA.W12 UD 11CA.Z1 68 50 75 256 80 393 L60M4 x 10 UD 11CA.W12 UD 11CA.Z1
69 50 75 183 80 320 L60M4 x 10 UD 11CA.W13 UD 11CA.Z1 69 50 75 256 80 393 L60M4x 10 UD 11CA.W13 UD 11CA.Z1
UD25.SP11.670.730.W50 70 50 75 183 80 320 SP[1[]110408 L60M4x10 UD 11CA.W14 UD 11CA.Z1 UD35.5P11.670.730.W50 70 50 75 256 80 393 SP[1[]110408 L60M4x10 UD 11CA.W14 UD 11CA.Z1
71 50 75 183 80 320 L60M4x 10 UD 11CA.W15 UD 11CA.Z1 71 50 75 256 80 393 L60M4x 10 UD 11CA.W15 UD 11CA.Z1
72 50 75 183 80 320 L60M4 x 10 UD 11CA.W16 UD 11CA.Z1 72 50 75 256 80 393 L60M4 x 10 UD 11CA.W16 UD 11CA.Z1
73 50 75 183 80 320 L60M4 x 10 UD 11CA.W17 UD 11CA.Z1 73 50 75 256 80 393 L60M4 x 10 UD 11CA.W17 UD 11CA.Z1
74 50 75 200 80 330 L60M4x 10 UD 12CA.W21 UD 12CA.Z2 74 50 75 280 80 410 L60M4 x 10 UD 12CA.W21 UD 12CA.Z2
75 50 75 200 80 330 L60M4 x 10 UD 12CA.W22 UD 12CA.Z2 75 50 75 280 80 410 L60M4x 10 UD 12CA.W22 UD 12CA.Z2
76 50 75 200 80 330 L60M4 x 10 UD 12CA.W23 UD 12CA.Z2 76 50 75 280 80 410 L60M4 x 10 UD 12CA.W23 UD 12CA.Z2
UD25.SP12.740.800.W50 77 50 75 200 80 330 SP[I[]120408 L60M4x10 UD 12CA.W24 UD 12CA.Z2 UD35.SP12.740.800.W50 77 50 75 280 80 410 SP[1[]120408 L60M4x10 UD 12CA.W24 UD 12CA.Z2
78 50 75 200 80 330 L60M4x 10 UD 12CA.W25 UD 12CA.Z2 78 50 75 280 80 410 L60M4x 10 UD 12CA.W25 UD 12CA.Z2
79 50 75 200 80 330 L60M4x 10 UD 12CA.W26 UD 12CA.Z2 79 50 75 280 80 410 L60M4 x 10 UD 12CA.W26 UD 12CA.Z2
80 50 75 200 80 330 L60M4x 10 UD 12CA.W27 UD 12CA.Z2 80 50 75 280 80 410 L60M4 x 10 UD 12CA.W27 UD 12CA.Z2

THREGCEFBELAEHE] X #EEEMKMEwww.hnsant.com THREGERFBEAEHE] X ¥1Ei1EEMMi#Ewww.hnsant.com




#hHI7JB | DRILLING TOOLS §AHI §AHI $#hH)7J2 | DRILLING TOOLS

A] 8% {1 i% FL ¥4 A] 8% {5 7% FL &4
i ¢ ¢
UD30 Category

BEARS(mm) pimension

K Al
L2
L1 o UD30.WC05.260.W32 26 32 55 83 60 176
. UD30.WC05.270.W32 27 32 55 86 60 180
[m] 0 8 o
ASY =~ WCO05
UD30.WC05.280.W32 28 32 55 89 60 184
UD30.WC05.290.W32 29 32 55 92 60 188
UD30.WC05.300.W32 30 32 55 95 60 192
UD30.WC06.310.W40 31 40 60 98 70 203
* TIEHHE Spar UD30.WC06.320.W40 32 40 60 101 70 206
J1 5 Insert 71 5 24T Insert Screw W =F Wrench UD30.WC06.330.W40 33 40 60 104 70 209
Q UD30.WC06.340.W40 34 40 60 107 70 212
! .350.W4 40

WCMX030208 L60 M2.5X6.5 T08 WO0s UD30.WC06.350.W40 35 ey 110 0 215
UD30.WC06.360.W40 36 40 60 113 70 218

WCMX040208 L60 M2.5X6.5 To8
UD30.WC06.370.W40 37 40 60 116 70 221

WCMX050308 L60 M3X8 T10
UD30.WC06.380.W40 38 40 60 119 70 225

WCMX06T308 L60 M3.5X8 T15
UD30.WC06.390.W40 39 40 60 122 70 228

WCMX080412 L60 M4X10 T15
UD30.WC06.400.W40 40 40 60 125 70 231
UD30.WC06.410.W40 41 40 60 128 70 234
* 71E#MEBS Type of UD03.WC08.420.W40 42 40 60 131 70 239
EART(mm) Dimension UDO03.WC08.430.W40 43 40 60 134 70 242
UDO03.WC08.440.W40 44 40 60 137 70 245
UD30.WC03.160.W25 1 o5 a0 o 56 129 UDO03.WC08.450.W40 45 40 60 140 70 248
UD30.WC03.170.W25 i o5 - o " . UDO03.WC08.460.W40 46 40 60 143 70 251

WCo03
UD30.WC03.180.W25 18 o5 a 58 56 137 UDO03.WC08.470.W40 47 40 60 146 70 253
UD30.WC03.190.W25 19 o5 4 o i 140 UDO03.WC08.480.W40 48 40 70 149 70 255
UD30.WC03.200.W25 20 o5 - o 5 143 WCo8 UDO03.WC08.490.W40 49 40 70 152 70 257
UD30.WC04.210.W25 1 o5 20 - 6 153 UD03.WC08.500.W40 50 40 70 155 70 259
UD30.WC04.220.W25 o o 20 . 56 156 UDO03.WC08.510.W40 51 40 70 158 70 261
WC04
UD30.WC04.230.W25 23 o 40 . 5 159 UDO03.WC08.520.W40 52 40 70 161 70 263
UD30.WC04.240.W25 04 o5 40 6 5 16 UDO03.WC08.530.W40 53 40 70 164 70 265
D03.WC08.540.W4
UD30.WC04.250.W25 25 25 40 79 56 165 UD03.WC08.540.W40 54 40 70 167 70 267
UDO03.WC08.550.W40 55 40 70 170 70 269
UDO03.WC08.560.W40 56 40 70 173 70 271
UDO03.WC08.570.W40 57 40 70 176 70 273
A BETNRFEZWSEH|RIMEEA.  Note:The Insert Is Zcect brand.

UD03.WC08.580.W40 58 40 70 179 70 275

THREGCEFBELAEHE] X #EEEMKMEwww.hnsant.com THREGERFBEAEHE] X ¥1Ei1EEMMi#Ewww.hnsant.com




fhEl7JE | DRILLING TOOLS §Bu!

FLONTDR

Hole-machinin

ERREHSLIEEEIR

ERREELRBESEROEK , LUSMI K ERE S REEEET.
FERACNCEREDEHL S SHHERTOREFET.

CNCEERRBERMAY L . J) R4 SRR S8 Eh f B 4T
BEEGERTI R EROR , AR ZENRE.

WARNING

Use the High Speed Dril the best to drain water from the
high pressure center to extending inserts life and good
for removing the metal chips

Using CNC Lathe the cutting center f)oint with spindle
center of Machine best to be parallel.

If you need to expand hole when using CNC Lathe,
the outer insert must parallel with the remove angle of
cutter tower.

The inserts have to be checked regularly for wear,and
stop immediately once noise occurred.

SEM °0FZ "LOJS "0ZaAN

LU HI B IR S5

Recommended cutting parameters for u drills

FAZE Hole t

$hEEE Drilling depth FLZYZE Hole tolerance
2XD +0.2/-0.1
3XD ‘ +0.25/-0.1
4XD +0.3/-0.1
5XD | +0.4/-0.1

= - HI R

Recommended drilling and cutting condition

M &R EE HHEE fn(mm/rev)

Materials (m/min) ©12.5-@15 21550215 ©@22-027.5 @34-941 @42-050 @51-@56 @57-P66 @67-@73 @74-080

BRI (-0.3%C) | 480.050 | 0.05-0.08 | 0.06-0.10 | 0.06-0.12 | 0.07-0.13 | 0.08-0.15 0.08-0.16  0.06-0.12  0.08-0.12  0.08-0.12 0.08-0.12
Low carbon steel |
|

BN (0.3%C-) | 180220 | 0.08-0.12 | 0.08-0.15 | 0.10-0.18 | 0.12:0.22 | 0.12-0.24 | 0.13-0.25 | 0.10-0.15 ‘ 0.12-0.18 ‘ 0.12-0.18 |0.12-0.18
arbon steel | | |

{REE S E i 2 B i = j A ¢ % | 0.10-
Low alloy steel 150-220 | 0.06-0.12 | 0.08-0.14 | 0.10-0.18 | 0.12-0.22 | 0.12-0.23 | 0.13-0.24 | 0.08-0.15 | 0.10-0.18 | 0.10-0.18 0.10-0.18

BHasN f ‘ !
High alloy steel | 130-180 | 0.06-0.10 | 0.08-0.15 | 0.10-0.20 | 0.12:023 0.12-024 | 0.13-0.25 0.08-0.15 0.10-0.15 0.10-0.15 0.10-0.15

Stainless stesl 170-240 | 0.05-0.10 | 0.06-0.12 | 0.08-0.15 | 0.09-0.16 | 0.10-0.17 | 0.11-0.19 | 0.06-0.12 | 0.08-0.15 | 0.18-0.15 | 0.08-0.15

Cast Iron 180-250 | 0.06-0.12 | 0.08-0.16 | 0.12-0.20 | 0.15-0.25 | 0.16-0.28 | 0.18-0.30 | 0.12-0.20 ‘ 0.15-0.22 ‘ 0.15-0.22 |0.15-0.22

: 130-200 | 0.06-0.10 | 0.08-0.15 | 0.10-0.18 | 0.12-0.20 | 0.15-0.23 | 0.16-0.25 0.10-0.15 | 0.10-0.20 | 0.10-0.20 | 0.10-0.20
Nodular cast iron

| | | |
330-380 | 0.06-0.14 | 0.08-0.15 | 0.10-0.20 | 0.12-0.22 | 0.14-0.23 | 0.15-0.26 | 0.15-0.22 | 0.15-0.25 ‘ 0.15-0.25 IO.15—U.25

30-80 0.05-0.10 | 0.06-0.14 | 0.08-0.18 | 0.10-0.22 | 0.14-0.23 | 0.15-0.24 | 0.10-0.15 | 0.12-0.16 | 0.12-0.16 |0.12-0.16

=
Numﬁum alloy

Titanium alloy

THREGEFHREEA F #1512 M Miswww. hnsant.com

H=x(=)

CONTENTS

_ IRRS e

SEEESESL TR P216~P221

Collet chuck arbors

p222

Extension bar

BRI TG P223~P224

Power milling chuck arbors

MIE=TI4R P225~P227
Side lock end mill chuck
EX 5T P228~P232

Shell end mill arbors

ERERKHIR P233~P234

Morse taper with tang

Tolm R FCHER P235~P236

Morse taper without tang

. Eﬁﬂ]gﬁﬂﬁ P237~P238

Tool shank for side milling cutter
TERGMHS P239~P245

Tool system accessories
TERFRAGR P246~P252

Tool system technical information



TEZ#% TOOL SYSTEM §AHI §AHI TEZR#% | TOOLSYSTEM

HEEXRILNN W EERLITIMIT)

| | - ‘
= © /\; % 4 P1Y
BERFE BTG s It 3¢ AR )| AEER -
_— (BRFARTA) oD L 98 WA BREEFE 0. HekH

JT30-ER16-70H 30 28 70 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 0.50

-

ER-A ER-UP ER-DM ER-GB

JT30-ER16-100H 30 28 100 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 0.61

JT30-ER25-60H 30 42 60 Hi-Q/ER25 ER25-00A ER25-00UP | ER25-00DM | ER25-00GB E25 0.51

JT40-ER11-100H 40 19 100 Hi-Q/ER11 ER11-00A ER11-00UP | ER11-00DM | ER11-00GB E11P 1.04

0 JT40-ER16-70H 40 28 70 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 1.07
JT40-ER16-100H 40 28 100 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 1.18
ER11 ER25 ER11 ER25 ER11 ER25 ER11 ER25 i B B B
ER16 ER32 ER16 ER32 ER16 ER32 ER16 ER32 JT40-ER16-160H 40 28 160 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 1.36
ER40 ER40 ER40 ER40

| | JT40-ER20-70H 40 34 70 Hi-Q/ER20 ER20-00A ER20-00UP | ER20-00DM | ER20-00GB E20P 1.07

JT40-ER20-100H 40 34 100 Hi-Q/ER20 ER20-000A ER20-00UP | ER20-00DM | ER20-00GB E20P 1.17

JT40-ER25-70H 40 42 70 Hi-Q/ER25 ER25-00A ER25-00UP | ER25-00DM | ER25-00GB E25 1.15
; JT40-ER25-100H 40 42 100 Hi-Q/ER25 ER25-00A ER25-00UP | ER25-00DM | ER25-00GB E25 1.40
/ JT40-ER25-160H 40 42 160 Hi-Q/ER25 ER25-00A ER25-00UP | ER25-00DM | ER25-00GB E25 1.65
JT40-ER32-70H 40 50 70 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 1.17
JT40-ER32-100H 40 i 50 100 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 143

JT40-ER32-160H 40 50 160 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 1.81

/=\ JT40-ER40-80H 40 63 80 Hi-Q/ER40 ER40-00A ER40-00UP | ER40-000DM | ER40-00GB E40 1.41
————
§%§j‘j_i : — g — JT40-ER40-100H 40 63 100 Hi-Q/ER40 ER40-0O00A ER40-00UP | ER40-00DM | ER40-00GB E40 1.70
\\!&!&Efi JT40-ER40-160H 40 63 160 Hi-Q/ER40 ER40-00A ER40-00UP | ER40-00DM | ER40-00GB E40 2.55
! L

ER-AFIER-UPFEEkzh ¥ BBR

» * 718K Sp
FHEE (mm) RABEENE(Mm)
L

d DINGASSNSOT5488 | EReA ER-UP WG BT MU T

12::132 166()() l}ﬁ'ﬁ: P-4 ; ] . 7
3.0~6.0 16.0 0.015 0.010 0.005 ﬁ r

6.0~10.0 25.0
10.0~18.0 40.0

180260 500 0.020 0.010 0.005
26.0~34.0 | 60.0 0.025 0.015 0.010
g . ER-AFMER-UP-F MR X BENEN/NFDIN6499/1SO15488 ¥ KIS K

BRI {E!

THRAKEFBEREHAE X #EEZEMNBwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




TEZ#% TOOL SYSTEM §AHI §AHI TEZR#% | TOOLSYSTEM

CoIIet chck arbore S#EFLTIHE
HORRRLTIMIT) W REERLTIM(BT)

HAERH(mm) HRERE T 4
pr——— —
oD L 35 'ﬂfgz& géﬁit% W+

BT30-ER16-80H | 30 | 28 80 | Hi-Q/ER16 | ER16-O00A | ER16-00UP | ER16-00DM | ER16-00GB E16P 0.57
BT30-ER16-100H | 30 | 28 100 | Hi-Q/ER16 | ER16-O00A | ER16-O00UP | ER16-00DM | ER16-00GB E16P 0.67
BT30-ER20-70H | 30 | 34 70 | Hi-Q/ER20 | ER20-O00A | ER20-O00UP | ER20-O0DM | ER20-00GB E20P 0.57
BER(mm) | e iimrﬂﬂf BT30-ER20-100H | 30 | 34 100 | Hi-Q/ER20 | ER20-O00A | ER20-O00UP | ER20-O00DM | ER20-000GB E20P 0.75
@D - 78 RERTR BRERFE ?ggﬁ-:tg BLFE BT30-ER25-60H | 30 | 42 | 625 | Hi-Q/ER25 | ER25-00A | ER25-000UP | ER25-00DM | ER25-000GB E25 0.57
JT50-ER16-100H 50 28 100 Hi-Q/ER16 ER16-00A | ER16-00UP | ER16-00DM | ER16-00GB | E16P 3.18 BT30-ER25-100H | 30 42 100 Hi-Q/ER25 ER25-0000A | ER25-0000UP | ER25-C100DM | ER25-00C1GB E25 0.79
JT50-ER16-160H | 50 | 28 160 Hi-Q/ER16 ER16-00A | ER16-00UP | ER16-00DM | ER16-00GB | E16P | 3.47 BT40-ER11-100H | 40 19 100 | Hi-Q/ER11 | ER11-O00A | ER11-O00UP | ER11-00DM | ER11-00GB E11P 1.16
JT50-ER20-70H 50 | 34 70 Hi-Q/ER20 ER20-00A | ER20-00UP | ER20-0DM | ER20-0000GB | E20P | 3.30 BT40-ER16-70H 40 | 28 70 Hi-Q/ER16 | ER16-00A | ER16-00UP | ER16-00DM | ER16-00GB E16P 1.12
JT50-ER20-100H | 50 | 34 100 Hi-Q/ER20 ER20-0A | ER20-000UP | ER20-0000DM | ER20-O00GB | E20P | 3.45 BT40-ER16-100H | 40 28 100 | Hi-Q/ER16 | ER16-00A | ER16-000UP | ER16-00DM | ER16-00GB E16P 1.24
JT50-ER32-100H | 50 | 50 100 | HI-Q/ER32 ER32-00A | ER32-00UP | ER32-000DM | ER32-00GB |  E32 3.36 BT40-ER16-160H | 40 | 28 160 | Hi-Q/ER16 | ER16-00A | ER16-00UP | ER16-00DM | ER16-00GB E16P 1.33
JT50-ER32-160H 50 50 160 Hi-Q/ER32 ER32-00A | ER32-00UP | ER32-00DM | ER32-00GB E32 4.25 BT40-ER20-70H 40 34 70 Hi-Q/ER20 ER20-0000A | ER20-0000UP | ER20-000DM | ER20-0000GB E20P 1.13
JT50-ER40-100H | 50 | 63 100 Hi-Q/ER40 ER40-0A | ER40-0IO0UP | ER40-000DM | ER40-0000GB | E40 3.62 BT40-ER20-100H | 40 | 34 100 | Hi-Q/ER20 | ER20-O00A | ER20-00UP | ER20-O00DM | ER20-00GB E20P 1.22
JT50-ER40-160H | 50 | 63 160 Hi-Q/ER40 ER40-00A | ER40-00UP | ER40-00DM | ER40-0000GB | E40 4.20 BT40-ER20-160H | 40 | 34 160 | Hi-Q/ER20 | ER20-O00A | ER20-00UP | ER20-00DM | ER20-00GB E20P 1.74
BT40-ER25-70H | 40 | 42 70 | Hi-Q/ER25 | ER25-00A | ER25-O00UP | ER25-000DM | ER25-00GB E25 1.20
BT40-ER25-100H | 40 | 42 100 | Hi-Q/ER25 | ER25-00A | ER25-00UP | ER25-000DM | ER25-0000GB E25 1.49
BT40-ER25-160H | 40 | 42 160 | Hi-Q/ER25 | ER25-O00A | ER25-O00UP | ER25-00DM | ER25-O00GB E25 1.54
BT40-ER32-70H | 40 | 50 70 | H-Q/ER32 | ER32-O00A | ER32-00UP | ER32-00DM | ER32-0GB E32 1.25
¥ ﬁ% R BN S o WLFE BT40-ER32-100H | 40 | 50 100 | Hi-Q/ER32 | ER32-O0A | ER32-O00UP | ER32-00DM | ER32-000GB E32 1.53
e 22 BT40-ER32-160H | 40 | 50 160 | Hi-Q/ER32 | ER32-O00A | ER32-O00UP | ER32-00DM | ER32-000GB E32 1.74
BT40-ER40-80H | 40 | 63 80 | Hi-Q/ER40 | ER40-OOA | ER40-OOUP | ER40-OODM | ER40-O0GB E40 1.46
BT40-ER40-100H | 40 | 63 100 | Hi-Q/ER40 | ER40-O0A | ER40-OOUP | ER40-0000DM | ER40-O0CGB E40 1.79
BT40-ER40-160H | 40 | 63 160 | Hi-Q/ER40 | ER40-O0A | ER40-OOUP | ER40-O000DM | ER40-O0CGB E40 2.66

* J1E M Spa

BHEERTE M =& WLEFE

THRAKEFBEREHAE X #EEZEMNBwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com

k=t




TEZ#% TOOL SYSTEM §AHI §AHI TEZR#% | TOOLSYSTEM

W EE X ITIM(BT) W 38R LTI (HSK)

EART(mm) FERE SETI BART(mm) HAERE .
BHEE MR -
@b L 2 = WL+ L mwany
nE R mifg AR o0 L ®EB  mEEEE oot %’E’;ﬁﬁ% AT

BT50-ER16-100H 50 28 100 Hi-Q/ER16 ER16-0O00A ER16-00UP | ER16-00DM | ER16-00GB E16P 3.50
HSK-A40-ER16-80H 28 80 Hi-Q/ER16 ER16-0O00A ER16-00UP | ER16-00DM | ER16-00GB E16P 0.35

BT50-ER16-160H 50 28 160 Hi-Q/ER16 ER16-0O0A ER16-00UP | ER16-00DM | ER16-00GB E16P 4.35
-------- HSK-A40-ER25-80H 42 80 Hi-Q/ER25 ER25-00A ER25-00UP | ER25-00DM | ER25-00GB E25 0.51

BT50-ER20-70H 50 34 70 Hi-Q/ER20 ER20-0O00A ER20-00UP | ER20-00DM | ER20-00GB E20P 3.60
HSK-A50-ER16-100H 28 100 Hi-Q/ER16 ER16-0O0A ER16-00UP | ER16-00DM | ER16-00GB E16P 0.69

BT50-ER20-100H 50 34 100 Hi-Q/ER20 ER20-0O00A ER20-00UP | ER20-00DM | ER20-00GB E20P BN
HSK-A50-ER25-80H 42 80 Hi-Q/ER25 ER25-00A ER25-00UP | ER25-00DM | ER25-00GB [E25 068

BT50-ER32-100H 50 50 100 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 4.20
HSK-A50-ER32-100H 50 100 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 0.93

BT50-ER32-160H 50 50 160 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 495
HSK-A63-ER11-100H 19 100 Hi-Q/ER11 ER11-0O00A ER11-00UP | ER11-00DM | ER11-00GB E11P 0.88

BT50-ER40-100H 50 63 100 Hi-Q/ER40 ER40-0O00A ER40-00UP | ER40-00DM | ER40-00GB E40 4.34
HSK-A63-ER16-80H 28 80 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 0.87

BT50-ER40-160H 50 63 100 Hi-Q/ER40 ER40-0O00A ER40-00UP | ER40-O00ODM | ER40-00GB E40 5815
HSK-A63-ER16-100H 28 100 Hi-Q/ER16 ER16-0O00A ER16-00UP | ER16-00DM | ER16-00GB E16P 0.96
HSK-A63-ER20-75H 34 75 Hi-Q/ER20 ER20-0O00A ER20-00UP | ER20-O00ODM | ER20-00GB E20P 0.80
HSK-A63-ER25-80H 42 80 Hi-Q/ER25 ER25-0O00A ER25-00UP | ER25-00DM | ER25-00GB E25 0.93
HSK-A63-ER25-160H 42 160 Hi-Q/ER25 ER25-00A ER25-00UP | ER25-00DM | ER25-00GB E25 1.37

718K Spa

* a Bﬁ# P HSK-A63-ER32-80H 50 80 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 1.04
EE%_F% : HSK-A63-ER32-100H 50 100 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 1.19
M‘H#g HSK-A63-ER32-160H 50 160 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 1.53
HSK-A63-ER40-120H 63 120 Hi-Q/ER40 ER40-0O00A ER40-00UP | ER40-O00ODM | ER40-00OGB E40 1.80
HSK-A63-ER40-160H 63 160 Hi-Q-ER40 ER40-0O0A ER40-0O0UP | ER40-O00ODM | ER40-00GB E40 2.26

* J1E M Spa

RERRE

H 2

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




TEZ#% TOOL SYSTEM §AHI §AHI TEZR#% | TOOLSYSTEM

V4
W EKH M 2B ESLTIMIT)

@D1
a

S
@D

I 4

L1 L

IRERE ERIR
125 RF
G16-ER16-60H 28 16 36.5 60 M8x1 Hi-Q/ER16 E16P 0.18
) AR~ (mm)
G20-ER16-50H 28 20 30.5 50 M12x1 Hi-Q/ER16 E16P 0.18
D
G20-ER16-100H 28 20 30.5 100 M12x1 Hi-Q/ER16 E16P 0.26 JT40-2C20-110L 10
40
G20-ER25-50H 42 20 47.0 50 M12x1 Hi-Q/ER25 E25 0.33 JT40-ZC20-160L 160
20 58 ZC20L- WZC20-L
G20-ER25-100H 42 20 47.0 100 M12x1 Hi-Q/ER25 E25 0.42 JT50-ZC20-110L 50 110
G25-ER25-50H 42 25 470 50 M18x1 Hi-Q/ER25 E25 0.37 AL a0
JT40-2C25-110L 110
G25-ER25-100H 42 25 47.0 100 M18x1 Hi-Q/ER25 E25 0.47 40
JT40-ZC25-160L 160
! g "y 25 65 ZC25L- WZC25-L
G25-ER32-50H 50 25 54.0 50 M18x1.5 Hi-Q/ER32 E32 0.51 JT50-2C25-110L ) 110
5
JT50-2C25-160L 160
JT40-2C32-110L 40 110
JT50-2C32-110L 110
50 32 73 ZC32L- WZC32-L
JT50-ZC32-160L 160
JT60-ZC32-130L 60 130
* 71ELHH% Spare JT50-ZC40-120L s 120
JT50-ZC40-160L 40 88 160 ZC40L- WZC40-L
I B S WeRE JT60-ZC40-130L 60 130
JT50-ZC50-140L 50 140
Pt 50 105 ZC50L- WZC50-L
JT60-ZC50-140L 60 140

* 718 M Spare
B2 i/é \ f

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




TEZ#% TOOL SYSTEM §AHI §AHI TEZR#% | TOOLSYSTEM

SR8k RLT]# Power milling chuck arbors
W 32 h PR L TIHE(BT) W WERTIHJIT)

EH A R~F(mm)
D
BT40-2C20-110L 110
40
BT40-ZC20-160L 160
20 58 ZC20L- WZC20-L
BT50-2C20-110L 5 110
BT50-ZC20-160L 160
BT40-2C25-110L 20 110
BT40-ZC25-160L 160
- 25 65 ZC25L- WZC25-L (GB77-85)
BT50-2C25-110L 110
BT50-ZC25-160L 50 160 JT30-XP12-50 30 12 42 50 M12x16 WH60L A 0.60
BT40-2C32-110L 40 . . 110 N JT30-XP16-75 30 16 48 75 M14x16 WHEO0L A 0.80
BT50-2C32-110L 110 JT30-XP20-75 30 20 52 75 M16x16 WH8OL A 0.98
50 32 73 ZC32L- WZC32-L
BT50-ZC32-160L 160 JT40-XP12-50 40 12 42 50 M12x16 WH60L A 1.10
BT60-ZC32-130L 60 130 JT40-XP16-63 40 16 48 63 M14x16 WH60L A 1.30
BTS0-zC40-120L 50 120 JT40-XP20-63 40 20 52 63 M16x16 WH80L A 1.30
BT50-ZC40-160L 40 88 160 ZC40L- WZC40-L
JT40-XP25-100 40 25 65 100 M18(x2)x20 WH100L B 2.30
BT60-ZC40-130L 60 130
JT40-XP32-100 40 32 72 100 M20(x2)x20 WH100L B 2.50
BT50-ZC50-140L 50 140 | T SR st A o N I
50 105 ZC50L- WZC50-L XP12-
BT60.2C50140L o 140 JT50-XP12-63 50 12 42 63 M12x16 WHB0L A 3.00
JT50-XP16-63 50 16 48 63 M14x16 WH60L A 3.00
JT50-XP20-63 50 20 52 63 M16%16 WH8O0L A 3.10
JT50-XP25-100 50 25 65 100 M18(x2)x20 WH100L B 4.20
* 71EHEF Spa
JT50-XP32-100 50 32 72 100 M20(x2)x20 WH100L B 4.50
JT50-XP40-100 50 40 80 100 M20(x2)x20 WH100L B 4.70
- JT60-XP25-100 60 25 65 100 M18x(2)x16 WH100L B 12.76
ipEe4 i, W
JT60-XP32-100 60 32 72 100 M20x(2)x20 WH100L B 12.96
JT60-XP40-115 60 40 80 115 M20x(2)x20 WH100L B 13.88
JT60-XP50-125 60 50 90 125 M24x(2)x20 WH120L B 14.61
JT60-XP63-150 60 63 120 150 M24x(2)x20 WH120L B 19.65

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




TEZ#% TOOL SYSTEM §AHI §AHI TEZR#% | TOOLSYSTEM

MIE X JI#% Side lock end mill chuck Side lock end mill chuck {lIEXJ]#&

B UE 7I#(BT)

B U E R JI#(HSK)

A9
AR AR ﬂ l : §T8
L
BA! BEY ﬂ JH_ §T 8
FRERE L
AR (mm)
42T wF
0 gmm) AR (mm) HAERE
RF

BT30-XP12-50 30 12 42 50 M12x16 WH60L A 0.67 HEK-Ad0-XP12-T0 12 0 70 WHAOL A 0.61
BT30-XP16-75 30 16 48 75 M14x16 WH60L A 0.92 HSK-ALOXP1675 e e 75 — N "~
BT30-XP20-75 30 20 52 75 M16x16 WH80L A 1.07 HSK-A50-XP12-80 12 4 80 WHSOL A 0.90
BT40-XP12-63 40 12 42 63 M12x16 WH60L A 1.30 - - e - — A e
BT40-XP16-63 40 16 48 63 M14x16 WH60L A 140 | | H SKA50XP2080 """" » | 5 o | WHSOL A 168
BT40-XP20-63 40 20 52 63 M16x16 WH8OL A 140 | T HSKA63XP1280 """" 12 4 o | WH3L A 115
BT40-XP25-90 40 25 65 90 M18(x2)x20 WH100L B 2.20 HSK-AB3-XP16-80 16 48 80 WHG3L A 1929
BT40-XP32-100 40 32 72 100 M20(x2)x20 WH100L B 2.70 HSK-AG3-XP20-80 - - - — A e
BT50-XP12-80 50 12 42 80 M12x16 WH60L A 4.00 HSK-AG3-XP25-110 25 65 10 WHB3L B 299
BT50-XIT16-80 50 16 48 _____,__80 M14x16 " WH60L A _________ 4.00 HSK-A63-XP32-110 32 72 110 WH63L B 2.58
BT50-XP20-80 50 20 52 80 M16x16 WH8OL A 4.10

BT50-X|;25-100 50 25 65 ---"'-1-00 M18(x2)x20 " WH100L B ---------- 4.70

BT50-XP25-165 50 25 65 165 M18(x2)x20 WH100L B 4.95

BT50-XP32-105 50 32 72 105 M20(x2)x20 WH100L B 5.10

BT50-XP32-165 50 32 72 165 M20(x2)x20 WH100L B 6.08

BT50-XP40-125 50 40 80 125 M20(x2)x20 WH100L B 6.45

BT60-XP25-110 60 25 65 110 M18x(2)x16 WH100L B 16.32

BT60-XP32-125 60 32 72 125 M20x(2)x20 WH100L B 15.52

BT60-XP40-125 60 40 80 125 M20x(2)x20 WH100L B 17.44

BT60-XP50-150 60 50 90 150 M24x(2)x20 WH120L B 18.17

BT60-XP63-180 60 63 120 180 M24x(2)x20 WH120L B 23.21

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




TEZ% TOOL SYSTEM §AHI

B £ 71MJIT)

AZY

D1

AR

BE

I
odm

FARE
B R~F(mm) BG2 4o 1247G3
(GB70-85) (GB70-85)

JT30-XM22-45 30 22 45 45 - 10 LDZ22 - - WHS80L CJ10 M4X12 A 1.20

JT30-XM27-60 30 27 60 60 - 12 LDZ27 Dz27 - WH80L CJ12 M4X12 A 1.25

JT40-XM22-75 40 22 45 75 - 10 LDZ22 - - WH80L CJ10 M4X12 A 1.49

JT40-XM27-75 40 27 60 75 - 12 LDZ27 Dz27 - WH100L CJ12 M4X12 A 1.86

JT40-XM32-75 40 32 70 75 - 14 LDZ32 DZ32 - WH100L CJ14 M5X15 A 2.22
WH100L

JT40-XM40-60 40 40 100 60 66.7 16 LDZ40 DZ40 M12x40 CJ16 M5X16 B 2.40
WH170L

- JT50-XM22-75 50 | | 22 ------ 50 75 - 10 LDZ22 - - WH80L CJ10 M4X12 A 3.30

JT50-XM27-75 50 27 60 75 - 12 LDZz27 Dz27 - WH100L CJ12 M4X12 A 3.66

JT50-XM32-75 50 32 70 75 - 14 LDZ32 DZ32 - WH100L CJ14 M5X15 A 3.84
WH100L

JT50-XM40-75 50 40 100 75 66.7 16 LDZ40 DZ40 M12x40 CJ16 M5X16 B 5.90
WH170L

JT50-XM60-75 50 60 137 75 101.6 | 254 - - M16x45 | WH140L | CJ25.4 M12X25 B 6.10

JT60-XM32-75 60 32 70 75 - 14 LDZ32 DZ32 - WH140L CJ14 M5x15 A 13.19

JT60-XM40-90 60 40 70 90 - 16 LDZ40 DZ40 - WH170L CJ16 M5x20 A 14.70

JT60-XM50-120 60 50 90 120 - 18 LDZ50 - - WH190L CJ18 M6x25 A 14.80
WH170L

JT60-XM40-75 60 40 90 75 66.7 16 LDZ40 DZ40 M12x45 CJ16 M5x15 B 21.80
WH100L

JT60-XM60-75 60 60 140 75 101.6 | 254 - - M16x45 | WH140L | CJ25.4 M12x25 B 21.50

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com

§AHI TEZ% | TOOLSYSTEM

H EXBTIWMBT)

AZ g
N ©
tls| =HElEe
ng S ’ S

RERE
EARF(mm) 124TG2 1257G3
(GB70-85) (GB70-85)
BT30-XM27-45 30 27 60 45 - 12 LDZ27 Dz27 - WH100L CJ12 M4X12 A 1.40
BT40-XM22-75 40 22 50 75 - 10 LDZ22 - - WHS80L CJ10 M4X12 A 1.49
BT40-XM27-75 40 27 60 75 - 12 LDZ27 Dz27 - WH100L CJ12 M4X12 A 1.86
BT40-XM32-75 40 32 70 75 - 14 LDZ32 DZ32 - WH100L CJ14 M5X15 A 2.22
WH100L
BT40-XM40-50 40 40 100 50 66.7 16 LDZ40 DZ40 M12x40 CJ16 M5X16 B 2.00
WH170L
BT50-XM22-75 50 22 50 75 - 10 LDZ22 - - WHS80L CJ10 M4X12 A 3.30
BT50-XM27-75 50 27 60 75 - 12 LDZ27 Dz27 - WH100L CJ12 M4X12 A 3.66
BT50-XM32-75 50 32 70 75 - 14 LDZ32 DZ32 - WH100L CJ14 M5X15 A 3.84
WH100L
BT50-XM40-75 50 40 100 75 66.7 16 LDZ40 DZ40 M12x40 CJ16 M5X16 B 5.36
WH170L
BT50-XM60-75 50 60 137 75 101.6 | 254 - - M16x45 | WH140L | CJ25.4 M12X25 B 8.60
BT60-XM32-75 60 32 70 75 - 14 LDZ32 Dz32 - WH140L CJ14 M5x15 A 16.75
BT60-XM40-90 60 40 70 90 - 16 LDZ40 DZ40 - WH170L CJ16 M5x20 A 18.27
BT60-XM50-120 60 50 90 120 - 18 LDZ50 - - WH190L CcJ18 M6x25 A 18.36
WH170L
BT60-XM40-75 60 40 90 75 66.7 16 LDZ40 Dz40 M12x45 CJ16 M5x16 B 25.36
WH100L
BT60-XM60-75 60 60 140 75 101.6 | 254 - - M16x45 | WH140L | CJ25.4 M12x25 B 25.06

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




TEZ#% TOOL SYSTEM §AuI §AHI TEZR#% | TOOLSYSTEM

ERFETI# Shell end mill arbors Shell end mill arbors EXEtTIHR

B kB EXEDHRIT) H kB EXETIHBT)

[0)

G3

Q

G3

-

\‘

D1

gdm EIL
D1

gdm

HRAERLE =
AR~ (mm) BT 1247G3 IRRLE
o1 RF g = B R (mm) E 12571G3
(GB70-85)
JT40-XM22-120 40 22 45 120 10 LDZ22 WHS80L CJ10 M4X12 2.30
BT40-XM22-120 40 22 50 120 10 LDZ22 WH80L CJ10 M4X12 2.43
JT40-XM22-150 40 22 45 150 10 LDZ22 | WH8OL cJ10 M4x12 | 250
BT40-XM22-150 40 22 50 150 10 LDZ22 WH80L CJ10 M4X12 2.65
JT40-XM22-200 40 22 45 200 10 LDZ22 | WH8OL cJ10 M4X12 | 435
BT40-XM22-200 40 22 50 200 10 LDZ22 WH80L CJ10 M4X12 4.50
JT50-XM22-120 50 22 45 120 10 LDZ22 | WH8OL cJ10 M4x12 | 635
BT50-XM22-120 50 22 50 120 10 LDZ22 | WH8OL cJ10 M4X12 6.55
JT50-XM22-150 50 22 45 150 10 LDz22 WH80L CJ10 M4X12 6.80
BT50-XM22-150 50 22 50 150 10 LDZ22 | WH8OL cJ10 M4X12 6.90
JT50-XM22-200 50 22 45 200 10 LDz22 WH80L CJ10 M4X12 7.45
BT50-XM22-200 50 22 50 200 10 LDZ22 | WH8OL cJd10 M4X12 7.55
JT50-XM22-250 50 22 45 250 10 LDZ22 WHS80L CJ10 M4X12 7.80
BT50-XM22-250 50 22 50 250 10 LDZz22 WH80L CJ10 M4X12 8.15
BT50-XM32-200 50 32 70 200 14 LDZ32 WH100L CJ14 M5X15 7.85

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




TEZ#% TOOL SYSTEM §AHI §AHI TEZR#% | TOOLSYSTEM

EX5ET)# Shell end mill arbors Morse taper with tang 5k E 2 K {4

B 51 (S K B HRRERERUT)

AZY L
ARY @ )
=
O
Q
11 A ?ﬂ][ n| El A BEL | L
N4 N J I 'g Q
) BE L= E_-__g
£
he]
[S]

TENIiHR TR M 44
gdm RE IR R HZRR~F(mm)
= $hLER
HSK-A40-XM22-50 22 40 50 FDS22 0.61 (mm) @dm
HSK-A50-XM22-50 22 40 50 FDS22 0.73 JT40-M1-50 40 MT1 3-14 25 12.065 50 A 0.90
HSK-AB0-XM27-65 7 48 65 FDSo7 103 JT40-M1-120 40 MT1 3-14 25 12.065 120 B 1.20
JT40-M2-50 40 MT2 14-23 32 17.78 50 A 0.90
HSK-A50-XM32-65 32 58 65 FDS32 1.22
JT40-M2-120 40 MT2 14-23 32 17.78 120 B 1.60
HSK-A63-XM22-60 22 40 60 FDS22 1.08 JT40-M3-70 40 MT3 23-32 40 23.825 70 A 1.10
HSK-A63-XM27-60 27 48 60 FDS27 128 JT40-M3-135 40 MT3 23-32 40 23.825 135 B 2.20
HSK-AB3-XM32-60 32 5 60 FDS32 150 JT40-M4-95 40 MT4 32-50 63 31.267 95 A 1.90
JT40-M4-165 40 MT4 32-50 63 31.267 165 B 2.80
HSK-A63-XM40-70 40 70 70 FDS40 2.15
JT50-M1-45 50 MT1 3-14 25 12.065 45 A 2.70
JT50-M1-120 50 MT1 3-14 25 12.065 120 B 450
JT50-M1-180 50 MT1 3-14 25 12.065 180 B 4.72
JT50-M2-60 50 MT2 14-23 32 17.78 60 A 2.70
JT50-M2-135 50 MT2 14-23 32 17.78 135 B 3.70
* 71EHi4 Spare JT50-M2-180 50 MT2 14-23 32 17.78 180 B 3.96
JT50-M3-65 50 MT3 23-32 40 23.825 65 A 2.80
JT50-M3-150 50 MT3 23-32 40 23.825 150 B 430
o JT50-M3-180 50 MT3 23-32 40 23.825 180 B 4.56
. / JT50-M4-95 50 MT4 32-50 48 31.267 95 A 3.10
JT50-M4-180 50 MT4 32-50 48 31.267 180 B 5.40
JT50-M5-105 50 MT5 50-75 63 44.399 105 A 3.20
JT60-M3-190 60 MT3 23-32 190 10.10
40 23.825
JT60-M3-250 60 MT3 23-32 250 10.30
JT60-M4-210 60 MT4 32-50 210 10.60
50 31.267 B
JT60-M4-270 60 MT4 32-50 270 10.80
JT60-M5-240 60 MT5 50-75 240 12.40
--------------------------------- 63 44399 |
JT60-M5-300 60 MT5 50-75 300 13.00
JT60-M6-170 60 MT6 77-100 170 A 12.50
) 63.348
JT60-M6-310 60 MT6 77-100 310 B 15.40

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




TEZA% | TOOL SYSTEM

HAREZKHEMBT)

TEZA% | TOOL SYSTEM

Morse taper without tang FCREEFCHER

B = 71 A B o= 71 A

B EREXERKEMRUIT)

. L
- Wm)%
AR I uh—“n [ _ __8
€
e}
Q
L
BE! %
- Y2 g
\ B
€
e}
Q!
IREEE
AR R~F(mm)
o NERE e
2> gre SEE goes
POIVE & AR (mm) 7
K 3 4R (mm)
E7L HEERE
(mm) (GB70-85) (GB77-85)
BT40-M1-50 40 MT1 3-14 25 12.065 50 A 1.10 JT40-MW1-50 40 MT1 6-12 25 12.065 50 M6x25 WH50L - 0.90
e L 40 MT! 14 2 12.065 120 B 120 JT40-MW2-50 40 MT2 14-20 32 17.780 50 M10x25 WH70L s 1.00
BT40-M2-50 40 MT2 14-23 32 17.78 50 A 1.10
. 0 ys as s 1778 120 5 160 JT40-MW3-70 40 MT3 22-36 40 23.825 70 M12x40 WH80L M6X8 1.10
BT40-M3-70 40 MT3 23-32 40 23.825 70 A 1.20 JT40-MW4-95 40 MT4 32-56 63 31.267 95 M16x45 WH120L M5x6 2.00
BT40-M3-135 40 MT3 23-32 40 23.825 135 B 220 JT50-MW1-45 50 MT1 6-12 25 12.065 45 M6x30 WH50L - 2.70
BT40-M4-95 o0 1 MT4 3250 R . 31267 | % A 210 JT50-MW2-60 50 MT2 14-20 32 17.780 60 M10x45 WHSOL - 2.80
BT40-M4-165 40 MT4 32-50 63 31.267 165 B 2.80
- - MT 22- 4 23.82 M - .
BT50.M1.45 5 yo 14 o 12,065 a5 A 360 JT50-MW3-65 50 3 36 0 3.825 65 12x40 WH100L 2.90
BT50-M1-120 50 MT1 3-14 25 12.065 120 B 4.50 JT50-MW4-70 50 MT4 32-56 63 31.267 70 M16x40 WH120L 3.40
BT50-M1-180 50 MT1 3-14 25 12.065 180 B 4.72 JT50-MW5-100 50 MT5 40-63 78 44.399 100 M20x50 WH140L M6X10 4.20
BT50-M2-60 %0 MT2 14-23 %2 1778 e A 3.60 JT60-MW3-100 60 MT3 22-36 40 23.825 100 | M12x100 WH100L . 9.70
BT50-M2-135 50 MT2 14-23 32 17.78 135 B 3.70
. 5 yns 1423 s 1778 180 5 596 JT60-MW4-100 60 MT4 32-56 63 31.267 100 M16x85 WH140L 9.87
BT50-M3-65 50 MT3 23-32 40 23.825 65 A 3.60 JT60-MW5-100 60 MT5 40-63 78 44.399 100 M20x55 WH170L M5x12 9.92
BT50-M3-150 50 MT3 23-32 40 23.825 150 B 4.30 JT60-MW6-150 60 MT6 77-100 90 63.348 150 M24x60 WH170L M5x12 12.10
BT50-M3-180 50 MT3 23-32 40 23.825 180 B 456
BT50-M4-95 50 MT4 32-50 48 31.267 95 A 3.80
BT50-M4-180 50 MT4 32-50 48 31.267 180 B 5.40
BT50-M5-105 50 MT5 50-75 63 44.399 105 A 3.80
BT60-M3-190 60 MT3 23-32 190 13.66
40 23.825
BT60-M3-250 60 MT3 23-32 250 13.86
BT60-M4-210 60 MT4 32-50 210 14.16
50 31.267 B
BT60-M4-270 60 MT4 32-50 270 14.36
BT60-M5-240 60 MT5 50-75 240 15.96
63 44.399
BT60-M5-300 60 MT5 50-75 300 16.56
BT60-M6-170 60 MT6 77-100 170 16.06
90 63.348
BT60-M6-310 60 MT6 77-100 310 18.96

THRAKCEFE RSB X #EEZEEMNEwww.hnsant.com

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




TEZ#% TOOL SYSTEM §AHI §AHI TEZR#% | TOOLSYSTEM

TREEKH#IE Morse taper without tang Tool shank for side milling cutter =E 7§k T]#%

B ftimEXKH#EWBT) B =E78E7I#MJT)

L
12572
% _g 8 £
A
%/\ = RS
S
92471
L1
L
POPVE-S
( EARSH(mm)
(GB70-85) (GB77-85) Ly

BT40-MW1-50 40 MT1 6-12 25 12.065 50 M6x25 WH50L - 0.90

JT40-XS27-75 40 40 27 75 130 7 M24X2 7x7x18 |3J1-310-27 2.01
BT40-MW2-50 40 MT2 14-20 32 17.780 50 M10%x25 WH70L - 1.00

JT40-XS27-120 40 40 27 120 175 7 M24X2 7x7x18 |3J1-310-27 2.65
BT40-MW3-70 40 MT3 22-36 40 23.825 70 M12x40 WH80L M6X8 2.00

JT40-XS32-90 40 46 32 90 150 8 M30X2 8x7x20 |3J1-310-32 2.52
BT40-MW4-95 40 MT4 32-56 63 31.267 95 M16x45 WH120L M5x6 2.70

JT50-XS27-90 50 40 27 90 145 7 M24X2 7x7x18 |3J1-310-27 3.93
BT50-MW1-45 50 MT1 6-12 25 12.065 45 M6x30 WH50L - 2.80

JT50-XS27-135 50 40 27 135 190 7 M24X2 7x7x18 |3J1-310-27 4.46
BT50-MW2-60 50 MT2 14-20 32 17.780 60 M10x45 WHS80L - 2.90

JT50-XS32-90 50 46 32 90 150 8 M30X2 8x7x20 |3J1-310-32 &5
BT50-MW3-65 50 MT3 22-36 40 23.825 65 M12x40 WH100L - 3.40

JT50-XS32-135 50 46 32 135 195 8 M30X2 8x7x20 |3J1-310-32 5.57
BT50-MW4-70 50 MT4 32-56 63 31.267 70 M16x40 WH120L 4.20

JT50-XS40-90 50 55 40 90 156 10 M36X3 10x8x20 |3J1-310-40 5.34
BT50-MW5-100 50 MT5 40-63 78 44.399 100 M20x50 WH140L M6X10 9.70

JT50-XS40-135 50 55 40 135 201 10 M36X3 10x8x20 |3J1-310-40 5.66
BT60-MW3-100 60 MT3 22-36 40 23.825 100 M12x100 WH100L - 13.26

JT50-XS50-90 50 68 50 90 175 12 M42X3 12x8x32 |3J1-310-50 6.10
BT60-MW4-100 60 MT4 32-56 63 31.267 100 M16x85 WH140L 13.43

JT50-XS50-135 50 68 50 135 220 12 M42X3 12x8x32 |3J1-310-50 6.55
BT60-MW5-100 60 MT5 40-63 78 44.399 100 M20x55 WH170L M5x12 13.48

JT60-XS40-135 60 55) 40 135 201 10 M36X3 10x8%x20 |3J1-310-40 14.69
BT60-MW6-150 60 MT6 77-100 90 63.348 150 M24x60 WH170L M5x12 15.66

JT60-XS50-135 60 68 50 135 220 12 M42X3 12x8x32 |3J1-310-50 14.80

JT60-XS60-135 60 84 60 135 240 14 M56X3 14x9x40 |3J1-310-60 15.42

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




TEZ#% TOOL SYSTEM §AHI §AHI TEZR#% | TOOLSYSTEM

ZmJIEETI# Tool shank for side milling cutte
B ERFH(FER)

B =@ 7% 71#(BT)

ER11-0O00OA ER16-0O00A ER20-O00A ER25-000A
F 3B (mm) s FHHEE (mm) S FHHE B (mm) EilR= F 3555 Bl (mm) ns
M 1.00-0.50 ER11-1A 1.00-0.50 ER16-1A 2.00-1.00 ER20-2A 2.00-1.00 ER25-2A
£
A
m = o 23 2.00-1.50 ER11-2A 2.00-1.00 ER16-2A 3.00-2.00 ER20-3A 3.00-2.00 ER25-3A
S
m z 3.00-2.50 ER11-3A 3.00-2.00 ER16-3A 4.00-3.00 ER20-4A 4.00-3.00 ER25-4A
. 4.00-3.50 ER11-4A 4.00-3.00 ER16-4A 5.00-4.00 ER20-5A 5.00-4.00 ER25-5A
1
L 5.00-4.50 ER11-5A 5.00-4.00 ER16-5A 6.00-5.00 ER20-6A 6.00-5.00 ER25-6A
6.00-5.50 ER11-6A 6.00-5.00 ER16-6A 7.00-6.00 ER20-7A 7.00-6.00 ER25-7A
B R (mm) R E 7.00-6.50 ER11-7A 7.00-6.00 ER16-7A 8.00-7.00 ER20-8A 8.00-7.00 ER25-8A
Ly ] = 8.00-7.00 ER16-8A 9.00-8.00 ER20-9A 9.00-8.00 ER25-9A
9.00-8.00 ER16-9A 10.00-9.00 ER20-10A 10.00-9.00 ER25-10A
BT40-XS27-75 40 40 27 75 130 7 M24X2 | 7x7x18 |3J1-310-27| 2.01
10.00-9.00 ER16-10A 11.00-10.00 ER20-11A 11.00-10.00 ER25-11A
5 . 4 4 27 12 17 7 M24X2 | 7x7x1 1-31027| 2.
BT40-XS27-120 0 0 0 ° X7x18 |3J1-310 & 12.00-11.00 ER20-12A 12.00-11.00 ER25-12A
BT40-XS32-90 40 46 32 90 150 8 M30X2 | 8x7x20 |3J1-310-32| 2.52 - ——— - ———
BT50-XS27-135 50 40 27 135 190 7 M24X2 | 7x7x18 |3J1-310-27| 4.46 15.00-14.00 ER25-15A
BT50-XS32-90 50 46 32 90 150 8 M30X2 | 8x7x20 |3J1-310-32| 5.51 16.00-15.00 ER25-16A
BT50-XS32-135 50 46 32 135 195 8 M30X2 | 8x7x20 |3J1-310-32| 5.57 ER32-00A
BT50-XS40-90 50 55 40 90 156 10 M36X3 | 10x8x20 |3J1-310-40| 5.34 KFFEE (mm) FFSEE (mm) S Je45SEE (mm) FHTEE(mm)
BT50.XS40-135 5 5 2 135 201 10 M36X3 | 108x20 |3s1.31040| 5,66 3.00-2.00 ER32-3A 8.00-7.00 ER32-8A 13.00-12.00 ER32-13A 18.00-17.00 ER32-18A
4.00-3.00 ER32-4A 9.00-8.00 ER32-9A 14.00-13.00 ER32-14A 19.00-18.00 ER32-19A
BT50-XS50-90 50 68 50 90 175 12 M42X3 | 12x8x32 |3J1-310-50|  6.10
5.00-4.00 ER32-5A 10.00-9.00 ER32-10A 15.00-14.00 ER32-15A 20.00-19.00 ER32-20A
BT50-XS50-135 50 68 50 135 220 12 M42X3 | 12x8x32 |3J1-310-50  6.55
0 000 A S SO S 6.00-5.00 ER32-6A 11.00-10.00 ER32-11A 16.00-15.00 ER32-16A
BT60-XS40-135 60 55 40 135 201 10 M36X3 | 10x8x20 |3J1-310-40| 18.25
e T 7.00-6.00 ER32-7A 12.00-11.00 ER32-12A 17.00-16.00 ER32-17A
BT60-XS50-135 60 68 50 135 220 12 M42X3 | 12x8x32 |3J1-310-50| 18.36
ER40-0O00A
BT60-XS60-135 60 84 60 135 240 14 M56X3 | 14x9x40 |3J1-310-60| 18.98 o538 (mm) e (mm) me 4535 (mm) SEHE R (mm)
4.00-3.00 ER40-4A 10.00-9.00 ER40-10A 16.00-15.00 ER40-16A 22.00-21.00 ER40-22A
5.00-4.00 ER40-5A 11.00-10.00 ER40-11A 17.00-16.00 ER40-17A 23.00-22.00 ER40-23A
6.00-5.00 ER40-6A 12.00-11.00 ER40-12A 18.00-17.00 ER40-18A 24.00-23.00 ER40-24A
7.00-6.00 ER40-7A 13.00-12.00 ER40-13A 19.00-18.00 ER40-19A 25.00-24.00 ER40-25A
8.00-7.00 ER40-8A 14.00-13.00 ER40-14A 20.00-19.00 ER40-20A 26.00-25.00 ER40-26A
9.00-8.00 ER40-9A 15.00-14.00 ER40-15A 21.00-20.00 ER40-21A

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




B = 71 A B o= 71 A

TEZA% | TOOL SYSTEM

Spring collet &%

TEZA% | TOOL SYSTEM

B ERFE(RHFER

B #l % K =R(ER-DM)

ERTRALTIR

ER11-00UP ER16-00UP ER20-00UP ER25-000UP
F 5B Bl (mm) s F 5B Bl (mm) iR F 356 El(mm) S F 5B El(mm) s
1.00-0.50 ER11-1UP 1.00-0.50 ER16-1UP 2.00-1.00 ER20-2UP 2.00-1.00 ER25-2UP
2.00-1.50 ER11-2UP 2.00-1.00 ER16-2UP 3.00-2.00 ER20-3UP 3.00-2.00 ER25-3UP ER16-C1C0DM ER20-CICIDM ER25-CI1C1DM ER32-C1C1DM
3.00-2.50 ER11-3UP 3.00-2.00 ER16-3UP 4.00-3.00 ER20-4UP 4.00-3.00 ER25-4UP e 453 Bl (mm) e F3EEE (mm) BE Je453E Bl (mm) RS FHSEE (mm) BS
4.00-3.50 ER11-4UP 4.00-3.00 ER16-4UP 5.00-4.00 ER20-5UP 5.00-4.00 ER25-5UP 3.00 h9 ER16-3DM 3.00 h9 ER20-3DM 6.00 h9 ER25-6DM 6.00 h9 ER32-6DM
5.00-4.50 ER11-5UP 5.00-4.00 ER16-5UP 6.00-5.00 ER20-6UP 6.00-5.00 ER25-6UP 4.00 h9 ER16-4DM 4.00 h9 ER20-4DM 8.00-7.50 ER25-8DM 8.00-7.50 ER32-8DM
6.00-5.50 ER11-6UP 6.00-5.00 ER16-6UP 7.00-6.00 ER20-7UP 7.00-6.00 ER25-7UP 5.00-4.50 ER16-5DM 5.00 h9 ER20-5DM 10.00-9.50 ER25-10DM 10.00-9.50 ER32-10DM
7.00-6.50 ER11-7UP 7.00-6.00 ER16-7UP 8.00-7.00 ER20-8UP 8.00-7.00 ER25-8UP 6.00-5.50 ER16-6DM 6.00 h9 ER20-6DM 12.00-11.50 ER25-12DM 12.00-11.50 ER32-12DM
8.00-7.00 ER16-8UP 9.00-8.00 ER20-9UP 9.00-8.00 ER25-9UP 7.00-6.50 ER16-7DM 7.00-6.50 ER20-7DM 14.00-13.50 ER25-14DM 14.00-13.50 ER32-14DM
9.00-8.00 ER16-9UP 10.00-9.00 ER20-10UP 10.00-9.00 ER25-10UP 8.00-7.50 ER16-8DM 8.00-7.50 ER20-8DM 16.00-15.50 ER25-16DM 16.00-15.50 ER32-16DM
10.00-9.00 ER16-10UP 11.00-10.00 ER20-11UP 11.00-10.00 ER25-11UP 9.00-8.50 ER16-9DM 9.00-8.50 ER20-9DM 18.00-17.50 ER32-18DM
12.00-11.00 ER20-12UP 12.00-11.00 ER25-12UP 10.00-9.50 ER16-10DM 10.00-9.50 ER20-10DM 20.00-19.50 ER32-20DM
13.00-12.00 ER20-13UP 13.00-12.00 ER25-13UP 11.00-10.50 ER20-11DM
14.00-13.00 ER25-14UP 12.00-11.50 ER20-12DM
15.00-14.00 ER25-15UP 13.00-12.50 ER20-13DM
16.00-15.00 ER25-16UP
ER32-0000UP
Je 45 E Bl (mm) B Je 4L Bl (mm) il Je%3E Bl (mm) RS FeHF3E Bl (mm)
3.00-2.00 ER32-3UP 8.00-7.00 ER32-8UP 13.00-12.00 ER32-13UP 18.00-17.00 ER32-18UP
4.00-3.00 ER32-4UP 9.00-8.00 ER32-9UP 14.00-13.00 ER32-14UP 19.00-18.00 ER32-19UP
5.00-4.00 ER32-5UP 10.00-9.00 ER32-10UP 15.00-14.00 ER32-15UP 20.00-19.00 ER32-20UP
6.00-5.00 ER32-6UP 11.00-10.00 ER32-11UP 16.00-15.00 ER32-16UP
7.00-6.00 ER32-7UP 12.00-11.00 ER32-12UP 17.00-16.00 ER32-17UP
ER40-O000UP
FFFEE (mm) FHFEE (mm) BE FHEEI(mm) FFFEE (mm)
4.00-3.00 ER40-4UP 10.00-9.00 ER40-10UP 16.00-15.00 ER40-16UP 22.00-21.00 ER40-22UP
5.00-4.00 ER40-5UP 11.00-10.00 ER40-11UP 17.00-16.00 ER40-17UP 23.00-22.00 ER40-23UP
6.00-5.00 ER40-6UP 12.00-11.00 ER40-12UP 18.00-17.00 ER40-18UP 24.00-23.00 ER40-24UP
7.00-6.00 ER40-7UP 13.00-12.00 ER40-13UP 19.00-18.00 ER40-19UP 25.00-24.00 ER40-25UP
8.00-7.00 ER40-8UP 14.00-13.00 ER40-14UP 20.00-19.00 ER40-20UP 26.00-25.00 ER40-26UP
9.00-8.00 ER40-9UP 15.00-14.00 ER40-15UP 21.00-20.00 ER40-21UP

THRAKCEFE RSB X #EEZEEMNEwww.hnsant.com

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




TEZ% TOOL SYSTEM §AHI

B W44k F(ER-GB)

ER16-00GB ER20-0000GB ER25-0000GB
- -
ns %ﬁfffé mres smee me %‘r'ffffé mone EmEE  BS f ER
(mm) (mm)
ER16-4GB 4.0 3.0 1SO,JIS ER20-4GB 4.0 3.15/3.2 I1SO, JIS ER25-4GB 4.0 3.0 1SO,JIS
ER16-5GB 5.0 4.0 1ISO,JIS ER20-5GB 5.0 4.0 I1SO, JIS ER25-5GB 5.0 4.0 1SO,JIS
ER16-6GB 6.0 4.9 DIN ER20-6GB 6.0 4.5/4.9 JIS/DIN ER25-6GB 6.0 4.9 DIN
ER16-7GB 7.0 (545 DIN,JIS ER20-7GB 7.0 5.5 DIN, JIS ER25-7GB 7.0 545 DIN,JIS
ER16-8GB 8.0 6.2/6.3 DIN,ISO ER20-8GB 8.0 6.2/6.3 DIN, JIS ER25-8GB 8.0 6.2/6.3 DIN,ISO
ER16-9GB 9.0 7.0/71 DIN,ISO ER20-9GB 9.0 7.0/71 DIN, ISO | ER25-9GB 9.0 7.0/71 DIN,ISO
ER20-10GB 10 8.0 DIN, ISO | ER25-10GB 10.0 8.0 DIN,ISO
ER20-11GB 11 9.0 DIN ER25-11GB 11.0 9.0 DIN
ER20-12GB 12 9.0 DIN ER25-12GB 12.0 9.0 DIN
ER25-14GB 14.0 11.0/12.0 |DIN,ISO,JIS
ER25-15GB 15.0 12.0 JIS
ER25-16GB 16.0 12.0 DIN
ER32-0000GB ER40-0O000GB
é(iffrf)/é %}gﬁ%ﬁ(%mﬂm) BRI = é(ﬁ*n?){ - m%&ﬁgﬁ(ﬁm) BRI
ER32-4GB 4.0 3.0 1SO,JIS ER40-6GB 6.0 4.9 DIN
ER32-5GB 5.0 4.0 1SO,JIS ER40-7GB 7.0 515 DIN,JIS
ER32-6GB 6.0 4.9 DIN ER40-8GB 8.0 6.2/6.3 DIN,ISO
ER32-7GB 7.0 55 DIN,JIS ER40-9GB 9.0 7.0/71 DIN,ISO
ER32-8GB 8.0 6.2/6.3 DIN,ISO ER40-10GB 10.0 8.0 DIN,ISO
ER32-9GB 9.0 7.0/7.1 DIN,ISO ER40-11GB 11.0 9.0 DIN
ER32-10GB 10.0 8.0 DIN,ISO ER40-12GB 12.0 9.0 DIN
ER32-11GB 11.0 9.0 DIN ER40-14GB 14.0 11.0/12.0 DIN,ISO,JIS
ER32-12GB 12.0 9.0 DIN ER40-15GB 15.0 12.0 JIS
ER32-14GB 14.0 11.0/11.2 DIN,ISO,JIS ER40-16GB 16.0 12.0 DIN
ER32-15GB 15.0 12.0 JIS ER40-17GB 17.0 13.0 JIS
ER32-16GB 16.0 12.0 DIN ER40-18GB 18.0 14.0/14.5 DIN,ISO
ER32-17GB 17.0 13.0 JIS ER40-20GB 20.0 16.0 DIN,ISO
ER32-18GB 18.0 14.0/14.5 DIN,ISO
ER32-20GB 20.0 16.0 DIN,ISO

iE: ER-GBRIMILFZEUDINGRAEAE, JTERHEMIMABERMNLERIMAT R,

THRAKCEFE RSB X #EEZEEMNEwww.hnsant.com

§nuI TEZ% | TOOL SYSTEM

Spring collet &%

BENBXIAERRE

H 7R~ (mm) EHA R~ (mm)
D D
ZC20L-4 4 ZC32L-16 16
ZC20L-5 5 ZC32L-18 18
32 36 65
ZC20L-6 6 ZC32L-20 20
ZC20L-8 8 ZC32L-25 25
ZC20L-10 20 10 23 53 ZC40L-6 6
ZC20L-12 12 ZC40L-8 8
ZC20L-14 14 ZC40L-10 10
ZC20L-16 16 ZC40L-12 12
ZC20L-18 18 ZC40L-14 14
40 44 74
ZC25L-4 4 ZC40L-16 16
ZC25L-5 5 ZC40L-18 18
ZC25L-6 6 ZC40L-20 20
ZC25L-8 8 ZC40L-25 25
ZC25L-10 10 ZC40L-32 32
25 28 60
ZC25L-12 12 ZC50L-6 6
ZC25L-14 14 ZC50L-8 8
ZC25L-16 16 ZC50L-10 10
ZC25L-18 18 ZC50L-12 12
ZC25L-20 20 ZC50L-14 14
ZC32L-5 5 ZC50L-16 50 16 55 85
ZC32L-6 6 ZC50L-18 18
ZC32L-8 8 ZC50L-20 20
32 36 65
ZC32L-10 10 ZC50L-25 25
ZC32L-12 12 ZC50L-32 32
ZC32L-14 ZC50L-40 40

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




TEZA% | TOOL SYSTEM

W RERILTNMARTF

H = 7 A

SMEE me - r i)
A L

E11P 32 95

y E16P 44 145

E20P 52 170
oL
<

E25, WER25-S 65 210

Y E32, WER32:S 75 250

E40, WER40-S 90 290

e

B HSKEX I A#fRF

FDS22

FDS27

FDS32

FDS40

B ENBRLTIMAMTF

S

s L
WZC20-L 55-62
WZC25-L

68-72
WZC32-L
WZC40-L 78-85
WZC50-L 100-100

iE: ERRFREERMITE,

THRAKCEFE RSB X #EEZEEMNEwww.hnsant.com

H = 7 A

B }i%T DIN69872

AR

TEZA% | TOOL SYSTEM

Pull stud #i5]

)fox L2 Ls

od
od1
od2
ods
ds
od4

I

JT40-A 54 26 20 7 23 19 14 M16 17 7 0.07
JT50-A 74 34 25 10 36 28 21 M24 25 1.5 0.2
——
B }i4T MAS403-1975
L
L1
L2
L3 |
N ]
338 I g3
—
¥
S

BT40-45° 60 35 28 6 23 15 10 M16 17 45° 0.06
BT40-60° 60 35 28 6 23 15 10 M16 17 60° 0.06
BT40-90° 60 35 28 6 23 15 10 M16 17 90° 0.06
BT50-45° 85 45 85 10 38 23 17 M24 25 45° 0.26
BT50-60° 85 45 35 10 38 23 17 M24 25 60° 0.26
BT50-90° 85 45 35 10 38 23 17 M24 25 90° 0.26

EHHERHERLTL.

ERENAH, ITHRENEERA. R~FI. BT40-45°W 115,

Hitn BB F §TRIIRIEZE R EH.

THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




TEZ% | TOOL SYSTEM §AHI §AHI TEZ% | TOOL SYSTEM
B iR

KX DIN69IST1-A $#HE MASI03BT W $ERERE

JT30 BT30
47819 HSKiEs#ME X AZI(DING698I3A)
D 19 19 48.4 136 16.3
: N —~
= ad13
5] T Lo :
N wf, = 3L Fan = <11:10
N g 9%/ SIS ngj e .
. —uﬂ f l /
=724 2/[.20 od4 | x ~
35mi | o = &
min ‘:f_, pde — - i—{; - lE,,T,,i,i,g B 3 b _
2 Al R
8 A
60° L r
2 ~ /l
f3
f1
L1 f2
JT40 BT40 \_ W,
68.4 _35.4min
1194 65.4
1.1 16,6
Q d 9 “'|
© :rr\r 228 25 © 3\
S| g = — HSK32 | 7.05 7 9 32 24 17 19 26 37 4 20 35 16 16 32 | 892
~ ?I :‘: N 1 é‘\!%m /§ ‘g 7 |
S 3|9 3| yan) b /A HSK40 | 8.5 9 11 40 30 21 23 34 45 4 20 35 16 20 4 | 1142
SIS \gy 9
! HSK50 | 10.54 | 12 14 50 38 26 29 42 | 59.3 7 26 42 18 25 5 | 14.13
<724/ 32[* : 2
8. 5 HSK63 | 1254 | 16 18 63 48 34 37 53 | 723 7 26 42 18 32 6.3 | 18.13
HSK100 | 20.02 | 20 22 | 100 | 75 53 58 88 |109.75| 7 29 45 20 50 10 | 28.56
JT50 BT50
10175 35min 1018 ros
5 4
N 11_11—9|»1 3b5__377 o) (2
9 1. - S\
= N S =
g & TN 0 N\ #
77 I | sl 4 \ o ~883 -6
g HEE LRI C) = Sl v SIS
[ B N
]I][ 8&8@ J 3 Q
' ) <7:24
<7:24, sl 30 -

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




TEZA% | TOOL SYSTEM

B WERX7IHREN

t1

13

2d4
ds

da(6H)

da(min)

e3(01

)

H = 7 A

e4 es3

e

H = 7 A

B ARERKEHEME

TEZA% | TOOL SYSTEM

Technical information FAR{EE

o

T

@D

FFRIsh sk
6 25 M6 8 18.0 35 8.5 15 Y
HEEE
8 28 M8 10 17 4.5 10 2.5 (mm)
10 35 M10 12 20 5.0 15 4.0 MT1 1/20.047 | 0.04988 1°25'43" 12.065 56 52 5.4 19 1 3.00-14.00
12 42 M12 14 20 6.0 20 5.0 MT2 1/20.047 | 0.04988 1°25'50” 17.780 67 62 6.6 22 1 14.00-23.00
14 44 M12 14 25 . 21 6.0 MT3 1/20.047 | 0.04988 1°26'16” 23.825 84 78 8.2 27 1 23.00-32.00
16 48 M14 16 MT4 1/20.047 | 0.04988 1°29'15” 31.267 107 98 12.2 32 15 32.00-50.00
18 50 M14 16 MT5 1/20.047 | 0.04988 1°30'26" 44.399 135 125 16.2 38 15 50.00-75.00
20 52 M16 18
25 65 M18x2 20
32 72 M20x2 22
Ev H EREXKER
H NE 7] ERT i JE &
I1 It
e1 e1
( z 3 ( 3 z S R c
)_ I S L B S vt =~
1 ! S Q s
M s g
b1 b1 12 - r
by \/450 458 ] e 8“1\8/7/
& Fd1=06-020 &M Fd1=020-063 l2
d1(hs) (") b1("0%) l2('3) e1() h1(h11)
6 36 42 - 18.0 5.1 . JMSEkE
HES D D1 di d2 11 I2 b © e R &35 8 (mm)
8 36 5.5 = 18.0 6.9
MT1 12,065 | 12.240 | 8.972 8.7 62.0 65.5 5.2 8.5 135 5 1.2 3.00-14.00
10 40 7.0 - 20.0 8.5
MT2 17.780 | 18.030 | 14.034 135 75.0 80.0 6.3 10.0 16.0 6 16 14.25-23.00
12 45 8.0 = 22.5 10.4
MT3 | 23.825 | 24.076 | 19.107 185 94.0 99.0 7.9 13.0 20.0 7 2 23.25-31.75
14 45 8.0 - 225 12.7
MT4 | 31.267 | 31.605 | 25.164 24.5 117.5 124.0 11.9 16.0 24.0 8 2.5 32.00-50.50
16 48 10.0 - 24.0 142
MT5 | 44.399 | 44741 | 36.531 35.7 149.5 156.0 15.9 19.0 29.0 10 3 51.00-76.00
18 48 10.0 - 24.0 16.2
20 50 11.0 = 25.0 18.2
&»
= 25 56 12.0 17 32.0 23.0
—
w—f 32 60 14.0 19 35.0 30.0

THREKERFBEREHE] X ¥I151E %6 Miwww.hnsant.com THREGEFBERERE] X #EEEMKMIEwww.hnsant.com




TEZA% | TOOL SYSTEM

B ARISE Technical information

B 7R R X KEHH

MT1
MT2
MT3
MT4
MT5

12.065
17.780
23.825
31.267
44.399

12.240
18.030
24.076
31.605
44.741

@D1

9.396
14.583
19.759
25.943
37.584

H = 7 A

@D

od1
od

60°

14

19

25
25.7

53.5

64
81
102.5
129.5

57
69
86
109
136

Xt RISt T EESEE
(mm)
0.2 M6 16 6.00-12.00
0.2 M10 24 14.00-20.00
06 M12 28 22.00-36.00
1.0 M16 32 32.00-56.00
25 M20 40 40.00-71.00

THRAKCEFE RSB X #EEZEEMNEwww.hnsant.com

H = 7 A

W HsTHE

44

54

74

27

445

65.5

TEZA% | TOOL SYSTEM

Technical information FAR{EE

L
L1 L3, L1
)Y‘ L2 A/E’ L2 L3,
| g 5% B g3 i g/

24

26

34

16.40

25.55

25

8.1

11.15

17.95

10

17 12 8 M12 13 - 0.05
23 19 14 M16 17 7.0 0.07
36 28 21 M24 25 1.5 0.22
17 133 9.3 M12 13 - 0.05
225 18.95 12.95 M16 17 7.0 0.07
36.0 29.10 19.60 M24 25 11.5 0.22

j’il L2 L3

od2
ods
ds
od4

44

54

74

24

26

34

17 13 9 M12 13 - 0.05
23 9 14 M16 17 7.0 0.07
36 28 21 M24 25 1.5 0.20

THREAKEFERIERBE] X #EFEEMMEkwww.hnsant.com




TEZA% | TOOL SYSTEM

#HARIEE Technical information |

REHTAE ANS AS Li?__L';:_L ; g__%".éu" |-: f_&}‘ .
fr el ;
388 p - ——— 5 3
[ BIE=R BILERIH. FHEHN

R{ES3E. BflHER
=79 . z s AR
29 11.80 8.15 2.75 16.5 13.55 9.30 M12 4.15 0.02
‘ 39 16.40 11.15 s el ‘ 225 18.95 12.95 M16 7.35 0.07
60 25.55 17.95 5.25 37.0 29.10 19.60 M24 11.55 0.20

L3

43 23 18 5 16.5 1" 7 M12 125 45° 0.03
43 23 18 5 ‘ 16.5 ‘ 1" 7 M12 12.5 ‘ 60° 0.03
60 35 28 6 23 15 10 M16 17 45° 0.06
60 35 28 6 ‘ 23 ‘ 15 10 M16 17 ‘ 60° 0.06
85 45 35 10 38 23 17 M24 25 45° 0.20
85 45 35 10 ‘ 38 ‘ 23 17 M24 25 ‘ 60° 0.20

_M16
@17 _|

SANT R VIEI ) A AR

ZHUZHOU SANT CUTTING TOOLS CO.,LTD

* &iE:2018-2019FRURMHABSREHERE, EFL2RENH, HFibiin

THREGEFHREHE &R #1552 Miiwww. hnsant.com



	00-封面-1
	01-简介
	02-目录
	03-目录+P1
	04-车刀1（02-37页）
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18

	05-车刀2（38-95页）
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29

	06-P96
	07-铣削(97-162页)
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33

	08-铣削2（163-214页）
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26

	09-P215
	10-铣削3
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19




